Hydraulic Adapters www.lomoflex.com

KAHTYPE f£5PART NO X PAGE
INEIAMZLS O T T s 1E 1
METRIC MALE O-RING
90° /A SMIZLL O fl P TTT % 1E9 2
90°METRIC MALE O-RING
90° 4 2 SO T B - i 9% & 2E9 2
90°METRIC MALE O-RING
DN SIS O T P T 25 4 S 4E 3
METRIC MALE O-RING PLUG
Nl D e o8 9 4
METRIC FEMALE FLAT FACE PLUG

, e o 6E 4
SN O T P 1 25 ot A
METRIC MALE O-RING BULKHEAD
90° /2 il MR L O Y Pl S 111 4% o 1 AR 4 Sk 6E9 5
90°METRIC MALE O-RING BULKHEAD
SN SMIB ST O T B 111 % 1 T R 1 1EH 5
METRIC MALE O-RING
45° I MIE SLO TR F T 5 e T A 1 K R 5 1EH4-0G 6
45°METRIC MALE O-RING/ADJUSTABLE STUD
90° 4 Il HME S O Tl [ - 115 /1] i i K34 7 2R 47 1EH9-0G 6
90°METRIC MALE O-RING/ADJUSTABLE STUD
OSSNSO TR P S T 5 45160° P HE N i i T 241 2 4 1EM 7
METRIC MALE O-RING/60°SEAT BONDED SEAL
A HISMBLLO T /A HE A SIS IEN 7
METRIC MALE O-RING/NPT MALE
S SMB SO TR BBl A 5 SR BT 8
METRIC MALE O-RING/BSPT MALE
INHIAMEZ SO BB P 3 A 1EW 9
METRIC MALE O-RING/BUTT-WELD TUBE
90° /il A MZ Lr O T Pl - Ty 3% ) 5L e i 1EW9 9
90°METRIC MALE O-RING/BUTT-WELD TUBE
SN SNRS O T [ T 0 P MR 0 i 1EZ 10
METRIC MALE O-RING/BSP MALE DIN 3852-2
TYREA
PR PO RS O P Y- 11 5 2WE 11
BUTT-WELD TUBE/METRIC FEMALE O-RING
LTSN SLO R BB T 2 DY 3 2 3 XE 12
METRIC MALE O-RING CROSS
A ML O T PSP T = i 3k AE 12
METRIC MALE O-RING TEE

BE 13

N HISMRELORL B/ 22 1l RSO T3 B =00 425k
METRIC MALE O-RING/METRIC FEMALE TEE

WHIAMRECOML B/ 22t P BRLOT T e ek CE 13
METRIC MALE O-RING/METRIC FEMALE TEE



Hydraulic Adapters www.lomoflex.com

H > INDEX

KATYPE f£5PART NO Tk PAGE

ORI AMZ L O 7Y B ST T 25 b m] I 1) A3 T AR 40 S =0 AEEH-0G 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-
SERIES RUN TEE

NI AR 2 O P S T 5 /] R 1) A EE R A1) ) S =0 AEHE-OG 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES BRANCH TEE

90° > il SR &L O P 11 48 i b 3k AEEGE 15
90°METRIC MALE O-RING BULKHEAD

RUN TEE

I HIANE SO HY B - T 8 i B 43 S =08

METRIC MALE O-RING BULKHEAD AEGEE 15
BRANCH TEE

WNHIAME S 24 ° 5% 25 A%

METRIC MALE 24 1C 16
°L.T.REDUCERS

INHIAMZ S 24 ° 8% 25

METRIC MALE 24°L.T. 1C 17
IR 24 ° B AR5

METRIC MALE 24°H.T. 1D 17
NI AMEL 24 ° E R AR 4%

METRIC MALE 24°H.T. REDUCERS 1D 18
90° /A HIAMEL24° % R 51| 19 19
90°METRIC MALE 24°L.T.

90° 2 B L 24° T 751 1D9 19
90°METRIC MALE 24°H.T.

NI EZ24 ° [N TIAME L 24 ° %2 R %)) 2C 20
METRIC FEMALE 24°/METRIC MALE 24°L.T.

AN IR L 24 ° 1A T AMBE L 24 ° T R Y 2D 21
METRIC FEMALE 24°/METRIC MALE 24°H.T.

90° > 1 P R L 24° 1 A I AR S 24 ° 42 R 5]

90°METRIC FEMALE 24°/METRIC MALE 24°L.T. 2C9 22
90° A thI N AL 24° 13 I AN L24 ° F 2 %)

90°METRIC FEMALE 24°/METRIC MALE 24°H.T. 2D9 22
NI IRE24 ° 42 R 51

METRIC FEMALE 24°L.T. 3C 23
NI IRE24 ° B AR 5 3D 23
METRIC FEMALE 24°H.T.

NEIE L2422 241 13k 4C o4
METRIC MALE 24°L.T. PULG

A HIIRL24 ° H R HIH kK 4D 24
METRIC MALE 24°H.T. PLUG

NHIAMZRS24 ° 4 2 B i B B Sk 6C 25

METRIC MALE 24°L.T. BULKHEAD

NHIAMREL24 ° TR IR
METRIC MALE 24°H.T. BULKHEAD 6D 25

90° A HIAMRL 245 ZH L bk
90°METRIC MALE 24°L.T. BULKHEAD 6C9 26



Hydraulic Adapters www.lomoflex.com

KB TYPE 5 PART NO JUR  PAGE
90° /A A ML 24° T ZH LA 6D9 26
90°METRIC MALE 24°H.T. BULKHEAD

NHE LR 8C 27
METRIC LOCK NUT

I RS04 ° 1% BB L oC 28
METRIC FEMALE 24°L.T. PLUG

NP IR L24 ° T Z 1)1 3 9D 28
METRIC FEMALE 24°H.T. PLUG

N THIAMIE S0 24 ° 1% A A HEAS SMIZLL60° 1CN 29
METRIC MALE 24°L.T./NPT MALE 60°

IS 24 ° T R AT HERS SMEL60° 1DN 30
METRIC MALE 24°H.T./NPT MALE 60°

90° A HISMZLL24° % 25 A HEFF HMIZL60° 1CN9 31
90°METRIC MALE 24°L.T./NPT MALE 60°

90° il SRS 24° 5 22 41 141 HE B HMIE4r60° 1DN9 32
90°METRIC MALE 24°H.T./NPT MALE 60°

INRIAMEBLL24 ° 1% ZH [ PHEAS SMZL60° 1CT 33
METRIC MALE 24°L.T./.BSPT MALE 60°

AN HIAMEL24 ° 5 R 5 1SR SMEL60° 1DT 34
METRIC MALE 24°H.T./BSPT MALE 60°

90° /A HISMBLL24° 1% Z B [ Je AT HMZLL60° 1CT9 35
90°METRIC MALE 24°L.T./BSPT MALE 60°

90° /A AL 24° 5 A HMBLI60° T F2 41 1DT9 36
90°METRIC MALE 24°/BSPT MALE 60° H.T.
/A\%U&I‘iﬁ%g‘(24oi%%yU/Q%QE&EZGOO%EEgE%QZJ% 1CB 37
METRIC MALE 24°SEAL L.T./.BSP MALEDOUBLE 60°SEAT BONDED

SEAL

NSRS 24 ° TR 5 /95 IR S a6 0°HE T B4 A TR s 1DB 38

METRIC MALE 24°SEALH.T./BSP MALEDOUBLE 60°SEAT
BONDED SEAL

90° A HIHMELL24° %% R [ YL IR LL60°HiE TH % 4 1CB9 39
90°METRIC MALE 24°L.T./BSP MALE 60°CONE

90° A il SRLL24° FL AR HI /LA IR SL60°HE [ 3

90°METRIC MALE 24°H.T./BSP MALE BSP MALE 60°CONE 1DB9 40
INHIAMEZ 24 ° 58 25 [DEAE WA L60° P HE [T Bl s 2 2% &
METRIC MALE 24°L.T./BSP THREAD WITH CAPTIVE SEAL 1CB-WD 41

N THIANERE24 ° TR H /S BREU60° A HE T e H a7 s

METRIC MALE 24°H.T./BSP THREAD WITH CAPTIVE SEAL 1DB-WD 42
AHISMRL24 ° 15 F AL SRS ORL P % 3 1CG 43
METRIC MALE 24°L.T./BSP MALE O-RING
A BISMRA24 " T RS R O DG 2
METRIC MALE 24°H.T./BSP MALE O-RING
A5° YL WRLL24 ° % R4 AT I [) AT 3 1CG4-0G 45

45°BSP THREAD 24°L.T.ADJUSTABLE STUD.



Hydraulic Adapters www.lomoflex.com

Ky TYPE £5PART NO Tk PAGE
45°BERFWR L1 24 ° T 25 AT R ) FF g 1DG4-0G 45
45°BSP THREAD 24°H.T.ADJUSTABLE STUD.

Q0° YL WAL 24 ° % Z 41 I 1) 413 1CG9-0G 46
90°BSP THREAD 24°L.T.ADJUSTABLE STUD

Q0° LA UL 24 ° T Z 1 AT A 1) K 1DGO-0G 46

90°BSP THREAD 24°H.T.ADJUSTABLE STUD.

I HRISMREL24 5 RN S i 17T O Y ] s
METRIC MALE 24°L.T/METRIC MALE WITH O-RING

DN HIANESI24° T R IIANESUN 1 T O i 2% 3 1DH 48
METRIC MALE 24°H.T./METRIC MALE WITH O-RING

1CH 47

45° /M E24 15 Z 5 AT R 1CH4-0G 49
45°METRIC MALE 24°L.T.ADJUSTABLE STUD

A5° N HIAMRS24 ° T A 41 AT R 1) KT 3 1DH4-0G 49
45°METRIC MALE 24°H.T.ADJUSTABLE STUD

90° I AN L 24° 47 22 4 AT Y i) KT i 1CH9-0G 50
90°METRIC MALE 24°L.T.ADJUSTABLE STUD

90° /A IS MIE Lr24° T A S T [ 13 1DH9-0G 50
90°METRIC MALE 24°H.T.ADJUSTABLE STUD

DN IMIBLL24 0% A6 I JICT A 55 1CJ 51
METRIC MALE 24°L.T./JIC 74°CONE SEAL

INHISNEL24° T R BN CTAHE % % 1DJ 52
METRIC MALE 24°H.T.JIC 74°CONE SEAL

INEISME L2415 25160 ° P HE I B A1 5 3 1M 53
METRIC MALE 24°L.T./60°CONE BONDED SEAL

ONTHIAML24 1% 711160 ° P 4k T e H5 ds 1CM-WD 54
METRIC MALE 24°L.T./60°CONE CAPTIVE SEAL

I HIAMBLI24 T FH1/60° Py HETT k4L 2 He i s 1DM 55
METRIC MALE 24°H.T./60°CONE BONDED SEAL

SATHISMIBSI24 ° T 251160 ° P 4l T i 2 1DM-WD -
METRIC MALE 24°H.T./60°CONE CAPTIVE SEAL

INTHISMIZ L2415 FH 1 I AME S O Bl 5 & 1CO 56
METRIC MALE 24°L.T./SAE MALE O-RING

INEIMEL24 ° T F A2 S MBSO B % 4 1DO 57
METRIC MALE 24°H.T./SAE MALE O-RING

90° /A IS ML 24° % Z 1) 126 SN ST T K 1C09-0G 58
90°METRIC 24°L.T./SAE MALE ADJUSTABLE STUD

90° /A Hhl YR 424 ° T F 51125 fhll S g o0 v 1R 1 A 1D09-0G

90°METRIC 24°H.T./SAE MALE ADJUSTABLE STUD 58
ATHISMERE24 % R Rk 1CW 59
METRIC MALE 24°L.T./WELD FITTINGS

ONHISMBSI24 ° T R 5 Bk 1DW 59

METRIC MALE 24°H.T./WELD FITTINGS



Hydraulic Adapters www.lomoflex.com

F 5k INDEX

KAHTYPE f£5PART NO Tk PAGE

Iy THIBRE024 5 R 9 SR L0680 HE T 2 7 2 2BC-WD 60
METRIC FEMALE 24°L.T./BSP MALEDOUBLE 60°SEAT BONDED
SEAL

ISR L 24 ° B R A 9L IR L6 0 HE T 4 S % &
METRIC FEMALE 24°H.T./BSP MALEDOUBLE 60°SEAT BONDED  2BD-WD 60
SEAL

SRRIIIC 74 HERT B/ 24 T g R L4 HEO A P8 55 42 A 41 0
JIC 74°CONE SEALING/METRIC FEMALE 24°CONE O-RING SEALING
L.T.

FKHIIIC 74 °HER B2 ] PR LL24° HEO T Pl 5 ) T R 5

C 61

2JD 62
JIC 74°CONE SEALING/METRIC FEMALE 24°CONE O-RING SEALING

H.T.

INHIEL 24 ° %2 R AV HEOTY B /9 i IR g OB | % & 2GC 63
METRIC FEMALE 24°L.T.CONE O-RING/BSP MALEO-RING
NHIBRE24 ° H R B HEOR P8l /TR 4. O B %5 % 2GD 63
METRIC FEMALE 24°H.T.CONE O-RING/BSP MALEO-RING

N T S 0 1 ON A P MR S0 24 ° HETHI O 7 8l 2% 4 2% R 51 2MC-WD 64
METRIC THREAD /METRIC FEMALE24°CONE O-RING SEAL L.T.

5 TR SR Jaf 13 1] P RS0 24 © HE T O 74 [ 2% 4t 7t R 1)

METRIC THREAD /METRIC FEMALE24°CONE O-RING SEAL H.T.  2MD-WD 64
AN HIRI24 B RV 9B scB -
METRIC MALE 24°L.T./BSP

FEMALE

INHNBL24° 5 R 5 [HEE N IBLL SDB 66
METRIC MALE 24°H.T./BSP FEMALE

ISR L24 ° 5% B A1 I PR &L

METRIC MALE 24°L.T/METRIC FEMALE 5CM 67
N HIBRE24 ° FEZ B 1 ) N BRLL SDM 67
METRIC MALE 24°H.T./METRIC FEMALE

AHIBMEL24" R i AC 68
METRIC MALE 24°L.T. TEE

NEISNBEL24° F R Y =il AD 68
METRIC MALE 24°H.T. TEE

I IRL24° A HIINBL24 1 R A = BC 60
METRIC FEMALE 24°/METRIC MALE 24°L.T. TEE

O BRE24 ° 1N I AMB 424 ° R Y =1 BD 69

METRIC FEMALE 24°/METRIC MALE 24°H.T. TEE

IHRIAMEEC24°1 A R K R4 5 A
METRIC MALE 24°/METRIC FEMALE 24°L.T. TEE CcC 70

NHISNERL24 1 2 N IREI24 °F AR 51 0

METRIC MALE 24°/METRIC FEMALE 24°H.T. TEE cD 70
INEIAME S 24 ° 5 2 51 DU TE XC 71
METRIC MALE 24°L.T. CROSS
ABISMRS24 TR AN 0 .
METRIC MALE 24°H.T. CROSS
A THISMRL24 ° 1 4 AT ) A ) 37— ACHC-0G 72

METRIC MALE 24°L.T.ADJUSTABLE STUD BRADCH TEE



Hydraulic Adapters www.lomoflex.com

Ky TYPE 5 PART NO Tk PAGE
INHIAMESL24 T Z 51 ATV )R 4y 30 ADHD-OG 72
METRIC MALE 24°H.T.ADJUSTABLE STUD BRADCH TEE

INRIAME L 24 1% 24 AT A3 2 =0l ACCH-OG 73
METRIC MALE 24°L.T.ADJUSTABLE STUD RUN TEE

A ISR L24° T R 5 T R 50 ADDH-OG 3
METRIC MALE 24°H.T.ADJUSTABLE STUD RUN TEE

NN 24 5 T 5 AV R 2 7 ACCG-0G 74
METRIC MALE 24°L.T./.BSP MALE ADJUSTABLE STUD RUN

TEE

ATHISMERLL24 ° T ZR A A R 1) AT S =l ADDG-0G 74
METRIC MALE 24°H.T./.BSP MALE ADJUSTABLE STUD RUN

TEE

DN AMLL 24 © 15 F 1 9 T U i K3 4 S =3 ACGC-0OG 75
METRIC MALE 24°L.T./.BSP MALE ADJUSTABLE STUD

BRANCH TEE

N ISR E 24 ° A B HE4E 0 ) A 43 52 =08 ADGD-0G 75
METRIC MALE 24°H.T./.BSP MALE ADJUSTABLE STUD

BRANCH TEE

Syt 243 ZR B/ BT Y 1 R S ACCO-0G 76
METRIC MALE 24°L.T./SAE MALE ADJUSTABLE STUD RUN

TEE

o N

ONTH124 5T 251126 6 T VA i R S =5 ADDO.OG -
METRIC MALE 24°H.T./SAE MALE ADJUSTABLE STUD RUN

TEE

2N 124 28 RIS AT R 1) A 4 52 08 ACOC-0G 77
METRIC MALE 24°L.T./SAE MALE ADJUSTABLE STUD

BRANCH TEE

O Hl24° T ZRA /2 BT VR 1 R 4y S0 ADOD-0G 77
METRIC MALE 24°H.T./SAE MALE ADJUSTABLE STUD

BRANCH TEE

NI L024° 15 R BRSSPk 1CL-B 78

METRIC MALE 24°L.T./BSP BANJO

I HIMRE24 ° T 5 GRS P S
METRIC MALE 24°H.T./BSP BANJO 1DL-B 78

NHIRE24 ° i RN TR

METRIC MALE 24°L.T./METRIC BANJO 1cL 79
INHIRE24 ° T R Y1 FINR SR B Sk IDL

METRIC MALE 24°H.T./METRIC BANJO &
PR et 1208 50
BSP BOLT

S VB g AR 700M 80
METRIC BOLT

REWEREE R NL 81
RETAINING NUTS L.T.

KEBBRTE R NS 81
RETAINING NUTS H.T.

RERRT RL 82
CUTTING RING L.T.

REET R RS 82

CUTTING RING H.T.



Hydraulic Adapters www.lomoflex.com

KAHTYPE £5PART NO Tk PAGE
INHIAMELTA A 1Q 83
METRIC MALE 74°CONE

OISR LT A e RS 3 4Q 84
METRIC MALE 74°CONE PLUG

INBIINZ LT A SN AR 1 3L 6Q 85
METRIC MALE 74°CONE BULKHEAD

90° /A HIAMIE LT 4° HNHE B B 3 6Q9 86
90°METRIC MALE 74°CONE BULKHEAD

ISR L0T 4 SNE AT HE S MIZ S 10N 87
METRIC MALE 74°CONE/NPT MALE

A5° N I SMIZ LT 4 ° SN HERS SIS 1ON4 88
45°METRIC MALE 74°CONE/NPT MALE

90° /At IMIBEL T 4° HINAHE /A 4 5 SMIB £ 1QN9 89
90°METRIC MALE 74°CONE/NPT MALE

ONRIAMB LT A HIHE RS SMIZEL 1QT 90
METRIC MALE 74°CONE/BSPT MALE

90° /A il SRS T 4° HINAHE IEAE 5 HMIE £ 1QT9 91
90°METRIC MALE 74°CONE/BSPT MALE

ONHIAMB LT A HNHE S5 S B L060° Py HEE A # 3k T 401 3 g 1QB 92
METRIC MALE 74°CONE/BSP MALE DOUBLE FOR 60°SEAT

BONDED SEAL

INHITAC YN SR SN SO Y 10G 03
METRIC 74°CONE/BSP MALE O-RING

Q0° /74 M /55 HMIZ L O 0 s 7T 38 1 1QG9-0G 93
90°METRIC 74°CONE/BSP MALE O-RING ADJUSTABLE STUD

ONHITAC AL A EL 1QH 94
METRIC 74°CONE/METRIC MALE

Q0° il 74  HMHES 2N I Z MBS AT R [ A it 1QH9-0G 94
90°METRIC 74°CONE/METRIC MALE ADJUSTABLE STUD

INHEIAMBLCT A ANEL S S5 SR SL60° PR HE B0 A T 201 4 B i 1QM 95
METRIC MALE 74°CONE/METRIC MALE DOUBLE FOR 60°SEAT BONDED SEAL

INHIAMEBLST A4 ° SMHEISAESMEZELLO ! 8] 1Q0 96
METRIC MALE74°CONE/SAE MALE O-RING

90° A HISMBLLT A HMHEISAE SR L O [ 1008-0G 9
90°METRIC MALE74°CONE/SAE MALE O-RING

ADJUSTABLE STUD

90° N ISR LT 4° HMHEL 43 T P MR L0 T 4° P A 2Q9 97
90°METRIC MALE 74°CONE/METRIC FEMALE 74°SEAT

INHIAME LT A SNE = 3 AQ 97
METRIC MALE 74°CONE TEE

ONHRIAMB LT A SNETT I 1) RS 4 S 50 AQHQ.OG o8
METRIC MALE74°CONE/ADJUSTABLE STUD BRANCH TEE

ONHIANZLT A SR e 3 S = AQQH-0G 98

METRIC MALE74°CONE/ADJUSTABLE STUD RUN TEE



Hydraulic Adapters www.lomoflex.com

H sINDEX
FKHTYPE ££5PART NO Tk PAGE
F A2 AN Z60° 44 1K 99
JIS METRIC MALE60° CONE
90° H A 2 M2 406 0° 4 4E 2K9 99
90°JIS METRIC MALE60° CONE
H A A I A MZE60° S HERE Sk 4K 100
JIS METRIC MALE60° CONE PLUG
H A< 28 1] Py B2 80 4 HEGO° 9K 100
JIS METRIC FEMALE 60°SEAT PLUG
A ISR E60° &M /A7 4B FMIB AL 1KN 101
JIS METRIC MALE 60°CONE/NPT MALE
H AN HIAMEL60° SME A Tl AMBEL60° % 3 T 2 A 2 1KM 101
JIS METRIC MALE60° CONE/METRIC MALE 60° CONE BONDED
SEAL
H A 23 I AMZS060° /5 HE T AMZ L 1IKT 102

JIS METRIC MALE60°CONE/BSPT MALE
FIAR 2 HISMERLS60° SME 22 il MR LR 3R 5

JIS METRIC MALE60° CONE/METRIC MALE S-SERIES 1KH 102
90° H A2 Tl AMEZELL60° FMIE/ 23 il Z L R i 1) 4 i 1KH9-0G 103
90°JIS METRIC MALE 60°CONE/METRIC ALE ADJUSTABLE STUD

FI A I AMEL60° M98 AR 4 O 1Y e 1KG 104
JIS METRIC MALE 60°CONE/BSP MALE O-RING

00° FI 5 4 1M ECB0° 46 4R SO i T 4 K5 (G806 104

90°JIS MERIC MALE/BSP MALE O-RING ADJUSTABLE STUD

F A2 il SR E60° 4 =18 AK 105
JIS METRIC MALE60° CONE TEE

H A A I ANEEZr60° SMHES H A 2 il R 460 P 44y 37 = 3l BK
JIS METRIC MALE60° CONE/JIS METRIC FEMALE 60°SEAT 105
BRANCH TEE

] A 2 SIS R0 S 50 O 8 Pl i 3 e ki 7 =3
JIS METRIC MALE/BSP MALE O-RING RUN TEE ADJUSTABLE
STUD

1 2 2 SIS S060° SN/ AN STV K3 3 =l AKKH-OG 107
JIS METRIC MALE 60°CONE/ADJUSTABLE STUD RUN

TEE

1 A A MG 5 S L O FT R e bt % = AKGK-0G 107
JIS METRIC MALE/BSP MALE O-RING ADJUSTABLE STUD

BRANCH TEE

1 A 2 1AM BREC60° SN/ 4 il SMEL ST i K 4 32 =58 AKHK-OG 108
JIS METRIC MALE 60°CONE/ADJUSTABLE STUD

BRANCHTEE

I HRISMELTA P HETH 1V
METRIC MALE 74°CONE SEAT

I THIAMNR LT 4 © P HETH S HE R SRS

METRIC MALE 74°CONE SEAT/BSPT MALE VT 109
H AL FMEL60° 41 HE

JIS GAS MALE 60°CONE 1S 110

H A 98 SR E60° S fE b K
JIS GAS MALE 60°CONE PLUG 48 110

AKKG-0G 106

109



Hydraulic Adapters www.lomoflex.com

KAHTYPE £5PART NO Tk PAGE
AR G4 Y IRE060° PN HERY Sk 9s 111
JIS GAS FEMALE 60°SEAT PLUG

A 945 AN 60° Sk it A2 3% 6S 111
JIS GAS MALE 60°CONE BULKHEAD

H A A5 AMIB £060° 4l /35 4 A% A MIB 2 18T 112
JIS GAS MALE 60°CONE/BSPT MALE

45° 1A 345 SN SL60° SME M HERS S 4t 1574 113
45°JIS GAS MALE 60°CONE/BSPT MALE

90° [ A 4L S5 60° U HEHEHERF Sh i 1ST9 114
90°JIS GAS MALE 60°CONE/BSPT MALE

FIAS 245 A BEEL60° SNHE /A HE 5 SIS 1SN 115
JIS GAS MALE 60°CONE/NPT MALE

45° H A G248 HMNZ L 60° S MNIE A HE S AMIZ L 1SN4 116
45°J1S GAS MALE 60°CONE/NPT MALE

90° H A S i AMIZE L 60° 4 ME AT HE 4MZ L 1SN9 117
90°JIS GAS MALE 60°CONE/NPT MALE

H A DA SR L 60° HMNHE/ DL AR L O ] 18G 118
JIS GAS MALE 60°CONE/BSP MALE O-RING

90° H A AMZLU60° SMIE/ A5 HMZLL60° O FE ] i [ F: 3 15G9- 118
90°JIS GAS MALE 60°CONE/BSP MALE O-RING ADJUSTABLE STUD 0G

A 5 A BE60° /M — it AS 119
JIS GAS FEMALE 60°SEAT TEE

AR 5 AR EI60° AMHE/ H A 3555 P 12 20600 HES X =38 BS 119
JIS GAS MALE 60°CONE/JIS GAS FEMALE 60°SEAT BRANCH TEE

B A &S MRL60° 5 il B AR ERIRL60° M E X =58 cs 120
JIS GAS MALE 60°CONE/JIS GAS FEMALE 60°SEAT RUN TEE

AR ERNIRL60°NHE =8 DS 120
JIS GAS FEMALE 60°SEAT TEE

BARE EHMEL60° /M HE/EE /MBS OB R AR EIH S X =R ASGS- 121
JIS GAS MALE 60°CONE/BSP MALEO-RING ADJUSTABLE STUD oG

BRANCH TEE

B AR &S RL60° 5 i/ E B SIS L OB B AN A X = 1 ASSG- 121
JIS GAS MALE 60°CONE/BSP MALEO-RING ADJUSTABLE STUD ENDOG

RUN TEE

3 SV ZL60 P HE B A M S T 41 & 10T Bt 1B 122
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL

A5° B E SV IR 4060 ° N4 1B4 123
45°BSP MALE 60°SEAT

90°HE ESMREL60° NHE 1B9 124
90°BSP MALE 60°SEAT

O SMRL60 ° PHE SN T 4 A TR /5 B IR L060 ° AT oB 125
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL /BSP FEMALE 60

°CONE

45° B E HMIBL60 ° P/ B NIRL60° 44t 2B4 126

45°BSP MALE 60°SEAT/BSP FEMALE 60°CONE



Hydraulic Adapters www.lomoflex.com

KATYPE £ EPART NO R PAGE
90°E E M R L60° N HE/H B NIRL60°41 4 2B9 127
90°BSP MALE 60°SEAT/BSP FEMALE 60°CONE

FEERNIRL60° 54 3B 128
BSP FEMALE 60°CONE

45° EENIRL60 S HE 3B4 129
45°BSP FEMALE 60°CONE

90° 2 B PR LL60° S 4l 389 129
90°BSP FEMALE 60°CONE

S SMRLC60 ° P S £ B AL A ST B 4B 130
BSP MALE DOUBLE FOR 60°SEAT OR BONDED SEAL PLUG

HEERNIRL60 5 oL 9B 130
BSP FEMALE 60°CONE PLUG

B SMRL60 ° I HE AR 6B 131
BSP MALE 60°SEAT BULKHEAD

90°FE E /MR 60° NHE L HriE Lk 6B9 131
90°BSP MALE 60°SEAT BULKHEAD

EERL U 8B

BSP LOCK NUT 132
S SMRLG0 " P BN A IR 41 &5 O 2 B MR 18T 133
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/BSPT MALE

A5° B SV IR L4060 ° AL/ HEE SR AL 1BT4 134
45°BSP MALE 60°SEAT /BSPT MALE

90° B FMRL60° PHE/ ZEHEE SMEBLL 1BT9 135
90°BSP MALE 60°SEAT /BSPT MALE

S RL60° PRI A IR T Al & 55 B4 B SR 1BN 136
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/NPT MALE

45°EEHMRL60 ° M HE/ A HEE SR 1BN4 137
45°BSP MALE 60°SEAT /NPT MALE

90°HE E S MRL60° N HE/ Ak B S R AL 138
90°BSP MALE 60°SEAT /NPT MALE 1BN9

G SMRL60° PR A TR 41 & A BB S IMRLO B 1BG 139
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/BSPT MALE O-

RING

45° SR AVIRL60° PO HE /35 B SV RO R B AT I 1 4% 85 s 140
45°BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD

END

90°H B SMRLL60° P4 /5 & SMIRLL ORI B AT i X 83 1BGY- 121
90°BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD 0G

END

HESMRL60° RS A AT A A 8 B A FI MBS R 5 1BH 142
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/METRIC MALE

L-SERIES

45° B AR L60 ° /4 HI SRS R B 1BH4-0G 143
45°BSP MALE 60 °SEAT/METRIC MALE 0-RING

90°Z EHMRL60° NHE/ A HI SRS R 5 1BH9-0G 144

90°BSP MALE 60°SEAT/METRIC MALE 0-RING



Hydraulic Adapters www.lomoflex.com

KATYPE KEPART NO R PAGE
FEEHIRL60° NS R AIRE 4 S BB EH/EHIIIC SR L 74 544 1BJ 145
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC MALE 74

°CONE

HESRL60 ° RS N ATRE AL & T £/EHIJIC HRL74 4h 4

BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC MALE 74 1BJ 146
°CONE

45° 3 S 5 IR 2060 ° P HE/ZE I JICHMRLLTA° 544t 1BJ4 147
45°BSP MALE 60°SEAT/JIC MALE 74°CONE

90° KBS BLL60° P HE/ZE HIICHMEL74° S A 1BJ9 148
90°BSP MALE 60°SEAT/JIC MALE 74°CONE

H G SMRL60 P A I AL & B/ A SMRL60° 1 1BM 149

HERABREA S BEE
BSP MALE 60°SEAT DOUBLE 60°SEAT BONDED SEAL
/METRIC MALE DOUBLE 60°SEAT BONDED SEAL

B SMBL60 ° PIHE S A IR A & AT 5/ HISAE 1BO 150
PIRL ORI B R 5
BSP MALE 60°SEAT BONDED SEAL/SAE O-RING BOSS L-
SERIES
EEHMRL60° NS A B IR E A S R E R 1BW 151
BSP MALE 60°SEAT BONDED SEAL/BUTT-WELD TUBE
P R AR L60° S A 2WB 151
BUTT-WELD TUBE/BSP FEMALE 60°CONE
HESMRLO0° W R AARE & B EEN BB - 152
BSP MALE 60°SEAT BONDED SEAL/BSP MALE CAPTIVE SEAL
B SMBL60 ° PIHE SR R T2 & AT /241 CIERL T4 P A 2B 153
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC FEMALE 74
°SEAT
- e 2BJ- 154
EE MG H/EHJIICRIELT74° AHE WD
BSP MALE CAPTIVE SEAL/JIC FEMALE 74 °SEAT
B SV IR B R AC60° 5 4 2TB 155
BSPT MALE/BSP FEMALE 60°CONE
45° RHEESMRIUR B NIRL60° SM 4k 2TB4 156
45°BSPT MALE/BSP FEMALE 60°CONE
00° B HE & SMB L/ B NIRL60° M 2TB9 156
90°BSPT MALE/BSP FEMALE 60°CONE
FHE & MRS/ B IR L60° 51 4 2NB 157
NPT MALE/BSP FEMALE 60°CONE
A45° i SR/ S IR L60° 5N A 2NB4 158
45°NPT MALE/BSP FEMALE 60°CONE

2NB9
00° 5 HE B SR/ B RABLL60° 5 AfE 159
90°NPT MALE/BSP FEMALE 60°CONE
- S . 4BN- 160
EENMRALGR AT H NN B E L WD
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
HEN R A fHiE sk 4B- 160
BSP MALE CAPTIVE SEAL PLUG WD

T EHYMRL60 °RHESL N IR TE 4 & T B3 B IR
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/BSP FEMALE 58 161



Hydraulic Adapters www.lomoflex.com

KAHTYPE KEPART NO TR PAGE
90°H B ¥ R L60° N HE/HE B RIRLL 5B9 162
90°BSP MALE 60°SEAT/BSP FEMALE

S SR L060 ° HESR 7S B T 41 & HEE B/ 25 AR AL R 5BN 163
BSP MALE DOUBLE FOR 60°EATBONEDE SEAL/NPT FEMALE

SR 2060 ° PHE SR A A IR T 41 & TS B/ R 5BT 163
BSP MALE DOUBLE FOR 60°EATBONEDE SEAL/BSPT FEMALE

o g o IR AR E 243

BSP MALE CAPTIVE SEAL/BSP FEMALE

FE S RL ORI B/ E NIRLL 5GB 165
BSP MALE O-RING/BSP FEMALE

FHEE IR/ B IR L60° S 7TB 165
BSPT FEMALE/BSP FEMALE 60°CONE

RENIRL 7B 166
BSP FEMALE

90°HENIRLL 7B9 167
90°BSP FEMALE

EENIRL=E GB 167
BSP FEMALE TEE

B G HMBL60° NS A AB 168
BSP MALE 60°SEAT TEE

H B SRL60° PR S IR S =5 BB 168
BSP MALE 60°SEAT/BSP FEMALE 60°CONE BRANCH TEE

FESEL60 ° N/ EERIRLMEE X =8 CB 169
BSP MALE 60°SEAT/BSP FEMALE 60°CONE RUN TEE

EERNRIIME= 8 DB 169
BSP FEMALE 60°CONE TEE

EERNIRL60 M/ EENIRL60° NN T =8 EB 170
BSP FEMALE 60°CONE/BSP MALE 60° BRANCH TEE

S NIZL60 S/ S S IEL60° NN K =58 FB 170
BSP FEMALE 60°CONE/BSP MALE 60°BRANCH TEE

HEFMRL60 ° HE/E S SMRLOB E T i AL I £ X =38 ABBG- e
BSP MALE 60°SEAT/BSP MALEO-RING ADJUSTABLE STUD END oG

RUN TEE

BEESMRL60 R/ EEIMELOR B MRS X =R ABGB- 171
BSP MALE 60°SEAT/BSP MALEO-RINGADJUSTABLE STUD END OG

BRANCH TEE

FHEE SMBLL 1T 172
BSPT MALE

45° B4 SMRLL 1T4 173
45°BSPT MALE

90 FEHEE SMRLL 1T9 173
90°BSPT MALE

I L s AN

BSPT MALE PLUG



Hydraulic Adapters www.lomoflex.com

B X INDEX
KATYPE KEPART NO R PAGE
EHESMALNINAEE K 4TN 174
BSPT MALE HOLLOW HEX
PLUG 5T 175
BLAE B SR LB B AR AL
BSPT MALE/BSPT FEMALE sTo
176

Q0° HHEE H1M R LU/ HE T IRLL
90°BSPT MALE/BSPT FEMALE 7T 177
HEHERIRL
BSPT FEMALE 7T9 178
90°EHEE NIRLL
90°BSPT FEMALE GT 178
EHENIRL =& 179
BSPT FEMALE TEE ZT
EHEE R &
BSPT FEMALE CROSS
HEENRL OB B/ ZHEE NIRLL 5GT 179
BSP MALE O-RING/BSPT
FEMALE
EHITHEE MRS 1N 180
NPT MALE
45° EH R HEE SMRLL N4 181
45°NPT MALE

N 181
90°EFl fHEE S IRLL
90°NPT MALE

ANN 182
EFIfMHEE RN AE L
NPT MALE HOLLOW HEX PLUG N 182
EFIfHEE SMREUE L
NPT MALE PLUG EN 183
EHIAHEE S R LA HEE RIRLL
NPT MALE/NPT FEMALE 5N4 184
45° EH ik E s R L/ HEE RIRLL
45°NPT MALE/NPT FEMALE 5N9 184
90° = il fn HE B SR LU/ A HE B IR AL
90°NPT MALE/NPT FEMALE
SHIRHEE NIRA 7N 185
NPT FEMALE
90° 3 il i HE B IR L 7N9 186
90°NPT FEMALE
EHIHEENRSUE L 9N-CAP 186
NPT FEMALE PLUG
S HISAE SR OB B/ 2 5175 HE B SMABLL NO 187
NPT MALE/SAE O-RING BOSS

2NU 188

i HfEE SRS EHINPSMPIERL60° S} 4E
NPT MALE/NPSM FEMALE 60°CONE



Hydraulic Adapters www.lomoflex.com

B s INDEX

KATYPE KEPART NO TR PAGE
45° f i B SR L/ ZE HINPSM AR 60 ° 41 4 2NU4 189
45°NPT MALE/NPSM FEMALE 60°CONE
90° 7 4l B SMZ L/ HINPSM PIEE 460 ° 54 4t 2NU9 190
90°NPT MALE/NPSM FEMALE 60°CONE
£ | 9198 5L O B B/ 2 175 B R 5GN 191
BSP MALE O-RING/NPT FEMALE
B SMR LU TR B2 A HE S AR SHN 192
METRIC MALE L-SERIES/NPT FEMALE
P O T T T SMN 192
METRIC MALE WITH BONDED SEAL/NPT
FEMALE 5NO 193
S 4 7 4 1 SV RS2 HISAE IRERLL
NPT MALE/SAE FEMALE
S 4ISAE S IR SLO R Bl 7% T 51/ 2 il k5 PR 4L 50N 194
SAE O-RING BOSS L-SERIES/NPT FEMALE
FHEE SRS/ = H R HEE IR AL 5TN 195
BSPT MALE/NPT FEMALE
S 4 1 4k PR 4 PR ZN 195
NPT FEMALE CROSS
F P RR L 2 HINP MR L60° 51 A N 196
NPT FEMALE/NPSM FEMALE 60°CONE AN
EH S = 197
NPT MALE TEE

. GN 197
TS PR =R
NPT FEMALE TEE

‘ ‘ X JN 198

EH T S RIR LA BB N =
NPT FEMALE/NPT MALE BRANCH TEE HN 198
£ I A HE R IR AR E E SMR E R =B
NPT FEMALE/NPT MALE RUN TEE 1J 199
£ HJICHMBLTA SV A
JIC MALE 74 CONE 1J4 200
45° EFJICH IR L7441
45°JIC MALE 74° CONE 1J9 200
90°ZEHIJICH RLT74° 5} HE
90°JIC MALE 74° CONE
90° = HIJICHMR L 74° 4\ 4 1J9 200
90°JIC MALE 74° CONE
EHIJICHERZ74° 5V HEIJICTRER S 74° R4 2J 201
JIC MALE 74°CONE/JIC FEMALE 74°SEAT
45° £ 51JICH IR L T4° 5V HE/JICIRERLLT4° N HE 2J4 202
45°JIC MALE 74°CONE/JIC FEMALE 74°SEAT
90° 2 HIJICHMB LT 491 E/JICIRER LT 4° R 4E 2J9 203

90°JIC MALE 74°CONE/JIC FEMALE 74°SEAT



Hydraulic Adapters www.lomoflex.com

KATYPE £ EPART NO TR PAGE
EHIJICRLRL74° NHE 3J 204
JIC FEMALE 74°SEAT

45°EF|JICRIRZ74° RHE 3J4 204
45°JIC FEMALE 74°SEAT

90°ZE HJICRIIBL 74° R4k 3J9 205
90°JIC FEMALE 74°SEAT

2 51JICHMRLITA SV HEEE K 4 205
JIC MALE 74°CONE PLUG

EHJICHIRL/EFIJICHRIRLL 5 206
JIC MALE/JIC FEMALE

EHJICH R T74° 51 4 MRSk 6J 207
JIC MALE 74°CONE BULKHEAD

45° £ HIJICHIRL74° SV HET ARk 6J4 207
45°JIC MALE 74 °CONE BULKHEAD

90°EHJICHIRL74° Sh i #r 3k 6J9 208
90°JIC MALE 74 °CONE BULKHEAD

EHIJICH B

JIC LOCK NUT aJ 208
EHIJICRIRL74° R4k K

JIC FEMALE 74°SEAT PLUG 9J 209
JIC74° NIRE3E 3k

JIC 74°FEMALE PLUG 9J-CAP 209
JICHMIREL74 ° ShHE/ZEAE B SR AL T 210
JIC MALE 74°CONE/BSPT MALE

45°JICHVMIRLL T4 o\ 4k M B SV R 4L 1JT4 211
45°JIC MALE 74°CONE/BSPT MALE

90°JICHMBLIT74 ° ML/ HEE SR L 1JT9 212
90°JIC MALE 74°CONE/BSPT MALE

JICHMIREL74 ° 54 HE 4l B SM IR AL 1JN 213
JIC MALE 74 °CONE/NPT MALE

45°JICHMRL 74 o)k FT HE B SMB AL 1JN4 214
45°JIC MALE 74°CONE/NPT MALE

90°JICHMBLTA SV HE/ A HE B MR L 1JN9 215
90°JIC MALE 74°CONE/NPT MALE

90°JICHMRELLT4 ° 14/ MNK T il B SM IR 4L 1UNG-L 216
90°JIC MALE 74°CONE/LONG NPT MALE

90°JICHMRLTA SV HE/ 5 1 Fr HEE HMRLL 1JNO- 217
90°JIC MALE 74°CONE/LONGGER NPT LL

MALE

S HIJICHMBLITA° 51 HE/E & PIEL60° S 2JB 218
JIC MALE 74°CONE/BSP FEMALE 60°CONE

EHIJICHIRL T4 N HEE B SMRL OB E 1JG 219

JIC MALE 74°CONE/BSP MALE O-RING



Hydraulic Adapters www.lomoflex.com

KAHTYPE KEPART NO TR PAGE
45° EHIJICHIB L 74° SV HE I B HMBEL ORI E] 1JG4-0G 220
45°JIC MALE 74°CONE/BSP MALE O-RING

Q0°EHIJICHMRL74° S L/ E SR L ORIE 1JG9-0G 221
90°JIC MALE 74°CONE/BSP MALE O-RING

EHIJICHIRLT4° 51 4E/ORFSHMELL 1JF 222
JIC MALE 74°CONE/ORFS MALE

JICHMBLTA°FhHE/ 2N HI SR L OB B £ 1JH 223
JIC MALE 74°CONE/ METRIC MALE END O-

RING

45° 241 JICHMRLTA° SIHE 4 HI SR LT 1 B AL 5 1JH4-0G 224
45°J1C MALE 74°CONE/METRIC MALEADJUSTABLE STUD END

90°ZEHIJICHMEL74° SV HE/4 HI 41 8R4 AT B A 3 1JH9-0G 225
90°JIC MALE 74°CONE/METRIC MALEADJUSTABLE STUD END

JICHMBLTA° 514/ SIS RL60° P HE R A R IS T4 & AT St 1M 226
JIC MALE 74°CONE/METRIC MALE DOUBLEUSE FOR 60°SEAT OR BONDED SEAL

JICHR LT 4 ° 9142 1 51 SR 4 Bk 4 55 1JM-WD 227
JIC MALE 74°CONE/METRIC MALE CAPTIVE SEAL

EHJICHMIZL T4 SMEISAE SMEL ORI E 1J0 228
JIC MALE 74°CONE/SAE O-RING BOSS

£ HIJICHMIBLTA S HE/SAESME LU ORI 1JO 229

JIC MALE 74°CONE/SAE O-RING BOSS
MK EHIJICH R L 74° 54 HE/SAEFMB L 1 O Y ]

1JO-L 229
LONG JIC MALE 74°CONE/SAE O-RING BOSS
45°JICHMRL T4 SN HE/ISAESMR L T OZY ] 1J04-0G 230
45°JIC MALE 74°CONE/SAE O-RING BOSS
90°JICHMRL74 M HE/SAESMRL T OB B 1J0O9-0G 231
90°JIC MALE 74 °CONE/SAE O-RING BOSS
90°E H|JICHMRLT4° S /NI K SAESMR L O [ 1JO9-OG/L 232
90°JIC MALE 74°CONE/LONG SAE O-RING BOSS
BE MBS B AER $H/JICHMBLI T4 SV HE 1BJ-WD 233
BSP MALE CAPTIVE SEAL/JIC MALE 74°CONE
HHEESMELIICRRL T4 N oTJ 034
BSPT MALE/JIC FEMALE 74°SEAT
A HE & VIR LU I CIRIRLECT4° P N 035
NPT MALE/JIC FEMALE 74°SEAT
HEESMRYOREICHIRLTA HEE 2GJ 236
BSP MALE O-RING/JIC FEMALE 74°CONE
S HISAESMBLUH ORI B/ JICERLIT4° Pk 20J 237
SAE O-RING BOSS/JIC FEMALE 74°SEAT
Ji b 125 I JIC R A7 4° IR AE
BUTT-WELD TUBE/JIC FEMALE 74°SEAT 2WJ 237

EHIJICHIRL T4 oM HEI R B RIRLL
JIC MALE 74°CONE/BSP FEMALE 5JB 238



Hydraulic Adapters www.lomoflex.com

B X INDEX
KAHTYPE KEPART NO TR PAGE
24 I CHMBLLTA° 1l /3 4k 5 PRBR AL 5JT 239
JIC MALE 74°CONE/BSPT FEMALE
S H1JICHMRLLTA° SV HE/ A 4l & RIRAL 5IN 240
JIC MALE 74°CONE/NPT FEMALE
90° 24 JICHMBLI74° SV 4/ HE & RIS L 5JN9 241

90°JIC MALE 74°CONE/NPT FEMALE
S HINPTIMRLUSERIJICHMRL ML AR L

NPT MALE/JIC MALE 74°CONE BULKHEAD 6N 242
7 B RIRLUICAREIT A" N 242
NPT FEMALE/JIC FEMALE 74°SEAT

EHIJICHIRL T4 S E=E AJ 243
JIC MALE 74°CONE TEE

EHJIICHIRL T4 N HE/EFIIICRIEL T4 NER X =& BJ 243
JIC MALE 74° CONE/JIC FEMALE BRANCH TEE

EFIIICHIRA74° M EIEFIIICRIRL 74 AHEE X =8 cJ 244
JIC MALE 74° CONE/JIC FEMALE 74°SEAT RUN TEE

EHIJICRIRL74° RHE =8 DJ 244
JIC FEMALE 74°SEAT TEE

EHIJICTRIBLT4° NHE/ZEHIJICHMEL T4 NN K =B EJ 245
JIC FEMALE 74° SEAT/JIC MALE 74°CONE BRANCH TEE

EFRJICRIRL 74 AHE/ERIJICHIRL T4 NN T =& FJ 245
JIC FEMALE 74° SEAT/JIC MALE 74°CONE BRANCH TEE

EHICHRATA S A B SMRU S X =38 AINY 046
JIC MALE 74°CONE/NPT MALE BRANCH TEE

EFICHIRL T4 B IMBEU T =8 AJIN 247
JIC MALE 74°CONE/NPT MALE RUN TEE

EHJICHIRL T4 NS IR IELE R =8 AJJ6] 248
JIC MALE 74 °CONE BULKHEAD RUN TEE

EHJICHIRL 74 NMET IR L S =8 AJBJJ 248
JIC MALE 74°CONE BULKHEAD BRANCH TEE

EHIJICHIRL 74 /A B IR D X =8 KJNJ 249
JIC MALE 74°CONE/NPT FEMALE BRANCH TEE

FEHIJICHEL T4 SV A NIBL E X =18 LJIN 250
JIC MALE 74°CONE/NPT FEMALE RUN TEE

£ HIJICHMBLTA SV ISAESMEL OB E S X =38 AJOJ-0G 251
JIC MALE 74°CONE/SAE O-RING BOSS BRANCH TEE

EHJICHHIRL T4 E/SAESMRLCTTOR B X X =& AJJO-OG 259
JIC MALE 74°CONE/SAE O-RING BOSS RUN TEE

JICHMEL T4 M EENMRLORB A X =R AJGJ-OG 253
JIC MALE 74°CONE/BSP MALE O-RING BRANCH TEE

JICHMRA 74 SV I EENMELOR B EXZ =& AJJG-0G 253

JIC MALE 74°CONE/BSP MALE O-RING RUN TEE



Hydraulic Adapters www.lomoflex.com

KATYPE KEPART NO R PAGE
EHIJICHRL T4 SN/ A FISMBL AT M A IR E X =8 AJJH-0OG 254
JIC MALE 74°CONE/METRIC MALE ADJUSTABLE STUD END
JICA &I E NB500 255
JIC METRIC SLEEVE
JICKHIEHE NB300 256
JIC INCH SLEEVE
E41JICT O & LIEE 00TSUM-NB 256
JIC FLARE TUBE END NUT
£HORFSSMELOL BT EE & 17 257
ORFS MALE O-RING

1F4
45° £ H|ORFSHMRL OB BT EE 5 258
45°0ORFS MALE O-RING
90°¥%UORFS7*1$&O¥EFE@§‘ 1F9 258
90°0ORFS MALE O-RING
S HIORFS#MZL OB B T E % $#/ORFS ARLL 2F 259
ORFS MALE O-RING/ORFS FEMALE
45°EH|ORFSHMRL OF BT & & /ORFS AR 2F4 260
45°0ORFS MALE O-RING/ORFS FEMALE
90° £ #|ORFSHMREL O R B F E % #/ORFS NERAL 2F9 260
90°0ORFS MALE O-RING/ORFS FEMALE
EHIORFSRHRAL 3F
ORFS FEMALE 261
£ H|ORFSIMRYO LB TP EE 4k AF
ORFS MALE O-RING PLUG 261
EH|ORFSHMEL OB BT EH EHd 4R 1% L oF 062
ORFS MALE O-RING BULKHEAD
45° X HORFSHMRLOR B T m & 3 1L ik 6F4 262
45°0ORFS MALE O-RING BULKHEAD
90° X HIORFSHMRLO R B T m 2 Hid iRk 6F9 263
90°0ORFS MALE O-RING BULKHEAD
EHORFSH 8F 264
ORFS LOCK NUT
EHORFSHIRLHE 9F 264
ORFS FEMALE PLUG
% $|ORFSHME L OR B T EE £/ FaH G MR 1FN 265
ORFS MALE O-RING/NPT MALE
45° £ H|ORFSHMBLL OB BT EH £ /A HE 5 5MRLL 1FN4 266
45°0ORFS MALE O-RING/NPT MALE

1FN9
90° % #IORFS#ME L ORI B T 2 /77 4l 5V BLL 267
90°0ORFS MALE O-RING/NPT MALE

1FH 268

X HORFSHMRLOR [ F E 7 /2l SRS
ORFS MALE O-RING/METRIC MALE O-RING



Hydraulic Adapters www.lomoflex.com

KATYPE KEPART NO TR PAGE
45° £ H|ORFSHMRLOR! B E 2 £/ Fl S+ R LU Rl 1 R A S 1FH4-0G 269
45°0ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

90° £ 4I|ORFSHM RSO B! B [ 25 #1/40 Hl S 4R 40 AT P A 1FH9-0G 269
90°0ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

E4|ORFSHMEL OB B EE $/E I /MBS ORBERS 1FO 270
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES

45° = 4| ORFS S ML ORI B T E & $/2 1S L ORI E & % 51 1FO4-0G 271
45°0RFS MALE O-RING/SAE O-RING BOSS S-SERIES

90° 2 #IORFS 7S£ OB Bl T 2 /2 S MBL O BB E R 51 1FO9-0G 212
90°0ORFS MALE O-RING/SAE O-RING BOSS S-SERIES

X HORFSHMRLORLE T E % /K EHMRLORE 1FG 273
ORFS MALE O-RING/BSP MALE O-RING

45°EH|ORFSHMRL OB B FE % #/HE B4 MR8 OB B 1FG4-0G 274
45°0ORFS MALE O-RING/BSP MALE O-RING

90° £ #|ORFSHMELIO R B T E % £/ B4 R L OB E 1FG9-0G 275
90°ORFS MALE O-RING/BSP MALE O-RING

£4ISAESMRL OB EE RFI/ORFS RIRLL 20F 276
SAE O-RING BOSS S-SERIES/ORFS FEMALE

£$IORFSIMRLOR BT AT Sl gL EX =i AFF6F 277
ORFS MALE O-RING BULKHEAD RUN TEE

£ HIORFSAMRLORB T EH S ARIE L H X = i AF6FF 21t
ORFS MALE O-RING BULKHEAD BRANCH TEE

EHIORFSHMEL OB B FEE I/ ENMELOVBE TR =8 AFFG-0G 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

EHORFSHMRLUORE BT EE H/KE/MRLORB N X =8 AFGF-OG 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

£ $|ORFSHMEL ORI BT EE #/EHISAESMELFORBES X=8  AFOF-0G 279
ORFS MALE O-RING/SAE O-RING BOSS BRANCH TEE
FEH|ORFSHMEL OB BT EZ H/EHISAEIMBELHORBEX=E AFFO-0G 280
ORFS MALE O-RING/SAE O-RING BOSS RUN TEE
E£HIORFSIMRUONBT EH H/AFSMBL A A EX=E  AFFH-OG 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

RUN TEE

£4|ORFSIMELORBEMB /A FSMEL A MRS % =E  AFHF-OG 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

BRANCH TEE

EEIMELORIE 1G 282
BSP MALE O-RING

HEENZL ORI B L 4G 282
BSP MALE O-RING PLUG

B SRS OB B/ H AL B SR AL 1GT 283
BSP MALE O-RING/BSPT MALE

A FISRLUE R F 4 K 4HN 283

METRIC MALE L-SERIES HOLLOW HEX PLUG



Hydraulic Adapters www.lomoflex.com

KATYPE KEPART NO R PAGE
NFISMRLUE R 1H 284
METRIC MALE L-SERIES

NFI MRS R EE L 4H 284
METRIC MALE L-SERIES PLUG

ANEIHMEL60 °RHES A B IRE 4 A B 5 ™ 285
METRIC MALE DOUBLE FOR 60°CONE SEAT BONDED SEAL

SN SRE60 ° PUHESL A B S A1 & B S 3L 4M 286
METRIC MALE DOUBLE FOR 60°CONE SEAT BONDED

SEAL PLUG

AHISMBLUR T E PR AMN-WD 286
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG

EHISAESMZEL ORI B 10 287
SAE O-RING BOSS

EHISAES R L ORI B/ LB SR L 10T 287
SAE O-RING BOSS/BSPT MALE

SAESMEL O B/ HINPSM N 24060 ° 414k 20U 288
SAE O-RING BOSS /NPSM FEMALE 60°CONE

EHISAESMRLOT ORI B S L 40 289
SAE O-RING BOSS PLUG

EHISAESMRLH OB BN A H 3% L 40N 289
SAE O-RING BOSS HOLLOW HEX PLUG

EFISAESRL90° S 4E 1P 290
SAE MALE 90°CONE

EHISAESMRLI0°FMHEHE 4p 290
SAE MALE 90°CONE PLUG

BRIk FL 201
L-SERIES SPLIT FLANGE CLAMPS

BRI Ak FS 291
S-SERIES SPLIT FLANGE CLAMPS

BRHNEEKE K FL-W 292
L-SERIES WHOLE FLANGE CLAMPS

BERIIEEKE K FS-W 292
S-SERIES WHOLE FLANGE CLAMPS

NHERELREX/BFRIES 1CFL 293
METRIC MALE BITE TYPE/L-SERIES FLANGE

NENIELRERIFRIIE 1DFL 293
METRIC MALE BITE TYPE/L-SERIES FLANGE

90° A HINE LR E R/ RFE 1CFLO 294
90°METRIC MALE BITE TYPE/L-SERIES FLANGE

90 A HIRLFEX/ERIE= 1DFL9 294
90°METRIC MALE BITE TYPE/L-SERIES

FLANGE

NHERELREX/ERIE= 1DFS 295

METRIC MALE BITE TYPE/S-SERIES
FLANGE



Hydraulic Adapters www.lomoflex.com

B XINDEX
KATYPE £ EPART NO R PAGE
QA HIRAUFEX/ERFE = 1DFS9 295
90°METRIC MALE BITE TYPE/S-SERIES FLANGE
EHIORFSHMELOR B TFEZ £#H/ERFE - 1FFL 296
ORFS MALE O-RING/L-SERIES FLANGE
90°EHORFSHMEL OB BT EZ £/ R &% 1FFL9 296

90°ORFS MALE O-RING/L-SERIES FLANGE
EHORFSHMRELORIE T EE £/ ERIE

ORFS MALE O-RING/S-SERIES FLANGE IFES 296
90°EFIORFSHMEL ORI B FEZ £/ ERIE S LFFS9 297
90°ORFS MALE O-RING/S-SERIES FLANGE

JIC MALE 74°CONE/L-SERIES FLANGE

45°EHIJICHIBL T4 N HEF R FIE 2 1JFL4 208
45°JIC MALE 74°CONE/L-SERIES FLANGE

90°E=HIJICHMRL 745Vl R B %K = 1JFL9 299

90°JIC MALE 74 °CONE/L-SERIES FLANGE

EHICHMRLTA N HE/ER TR = 300
JIC MALE 74°CONE/S-ERIES FLANGE 1JFS

45° K FIJICHMEL T4 S B RFIE
45°JIC MALE 74°CONE/S-ERIES FLANGE

90°ZHIJICHMBLTA S HE/ BRI % -

1JFS4 301

90°JIC MALE 74°CONE/S-ERIES FLANGE 1JFS9

BRIGEZIES 1FLW 303
L-SERIES FLANGE/BUTT-WELD TUBE

BRIEL/EE 1FSW 304
S-SERIES FLANGE/BUTT-WELD TUBE

BRRIE L 4FL 305
L-SERIES FLANGE PLUG

BRIIE 2 4FS 305
S-SERIES FLANGE PLUG

B R FEE Lk 4FL-M 306
L-SERIES FLANGE PLUG

FRFmEEEE L 4FS-M 306

S-SERIES FLANGE PLUG



Hydraulic Adapters www.lomoflex.com

. 1E

AHSMROOR B T EE

. W IR METRIC MALE O-RING

s1
= 40 THREADE N '} DIMENSIONS
PART NO. E A S1 L
1E-12 M12x1.5 11 14 28
1E-14 M14x1.5 11 17 28
1E-16 M16x1.5 11 17 28
1E-18 M18x1.5 11 19 28
1E-22 M22x1.5 12 24 32
1E-27 M27x1.5 13 30 35
1E-30 M30x1.5 14 32 38
1E-36 M36x2 16 36 43
1E-39 M39x2 18 41 48
1E-45 M45x2 20 46 53
1E-52 M52x2 22 55 59
1E-60 M60x2 24 65 65
1E-64 M64x2 28 70 73




Hydraulic Adapters

www.lomoflex.com

E
/._
= 1E9
%
| | Q0° 4 IS MB O I8 T i
— 90°METRIC MALE O-RING
A S1
Fo 1240 THREADE JU  sf DIMENSIONS
PART NO. E A S1
1E9-12 M12x1.5 25 1
1E9-14 M14x1.5 27 14
1E9-16 M16x1.5 29 17
1E9-18 M18x1.5 32 19
1E9-22 M22x1.5 37 22
1E9-27 M27x1.5 41 27
1E9-30 M30x1.5 49 33
1E9-36 M36x2 47 33
1E9-39 M39x2 57 44
1E9-45 M45x2 55 44
1E9-52 M52x2 59 55
="
2E9
7 y -
90° /A IR S O 7Y P °F- 1f] %% &
| | 90°METRIC MALE O-RING
A S1
e 240 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2E9-14 M14x1.5 | M14x1.5 29 9 14 19
2E9-16 M16x1.5 | M16x1.5 30 9.5 17 22
2E9-18 M18x1.5 | M18x1.5 33 9.5 19 24
2E9-22 M22x1.5 | M22x1.5 37 10 22 27
2E9-27 M27x1.5 | M27x1.5 41 10.5 27 32
2E9-30 M30x1.5 | M30x1.5 49 11.5 33 36
2E9-36 M36x2 M36x2 47 13.5 33 41
2E9-39 M39x2 M39x2 57 13.5 44 46
2E9-45 M45x2 M45x2 55 15.5 44 55
2E9-52 M52x2 M52x2 59 17.5 55 60




Hydraulic Adapters www.lomoflex.com

ml 4E

P SN L O P~ i 8 B 4 Sk

2 R METRIC MALE O-RING PLUG
S1

K5 24 THREADE JU  ~] DIMENSIONS
PART NO. E A Sl L
4E-12 M12x1.5 11 14 17
4E-14 M14x1.5 " 17 17
4E-16 M16x1.5 " 17 17
4E-18 M18x1.5 1 19 17
4E-22 M22x1.5 12 24 20
4E-27 M27x1.5 13 30 22
4E-30 M30x1.5 14 32 24
4E-36 M36x2 16 41 28
4E-39 M39x2 18 41 30
4E-45 M45x2 20 46 33
4E-52 M52x2 22 55 37
4E-60 M60x2 24 65 41
4E-64 M64x2 28 70 45




Hydraulic Adapters

www.lomoflex.com

S1

2

OE

O3 T PBRECT T Sk
METRIC FEMALE FLAT FACE

PLUG
C
R 240  THREADE JU  +] DIMENSIONS
PART NO. E C S1
9E-12 M12x1.5 8 14
9E-14 M14x1.5 8 17
9E-16 M16x1.5 8 19
9E-18 M18x1.5 8.5 22
9E-22 M22x1.5 10 27
9E-27 M27x1.5 10.5 32
9E-30 M30x1.5 11 36
9E-36 M36x2 13 41
9E-39 M39x2 13 46
9E-45 M45x2 15 55
9E-52 M52x2 17 60
L
A B 6 E
7|V I I A MRE SO R P 7 1 8 s A Sk
/% METRIC MALE O-RING
BULKHEAD
S1
R 124 THREADE JU_ 5I DIMENSIONS
PART NO. E A B S L
B6E-12 M12x1.5 11 | 315 | 14 48.5
B6E-14 M14x1.5 11 | 325 | 17 49.5
6E-16 M16x1.5 1M1 325 | 17 495
6E-18 M18x1.5 11 33 | 19 50
6E-22 M22x1.5 12 | 355 | 24 55
6E-27 M27x1.5 13 37 | 30 59
6E-30 M30x1.5 14 38 | 32 62
6E-36 M36x2 16 | 42 | 41 70
6E-39 M39x2 18 | 44 | 41 74
B6E-45 M45x2 20 | 46 | 46 79
6E-52 M52x2 22 | 49 | 55 86

WAL 58, A5 JS LN J16E-30LN

NO.,for example 6E-30LN.

In case if you are interested to order the adapter with lock nut,please insert suffix"LN" after our part

-4 -




Hydraulic Adapters

www.lomoflex.com

E

1

6E9

y
{ | 90° A il MR AT O 1Y Bl - 11 2% 5 1 A% Sk
5{) 90°METRIC MALE O-RING
A st BULKHEAD
= 1240 THREADE| OZY[E(/MEXEZ1E) JU < DIMENSIONS
PART NO. E Eif A B sl
6E9-12 M12x1.5 8x1.9 25 | 445 | 1
6E9-14 M14x1.5 10x1.9 27 | 465 | 14
6E9-16 M16x1.5 11x1.9 29 48 17
6E9-18 M18x1.5 13x1.9 32 50 19
6E9-22 M22x1.5 16x2.4 37 54 22
6E9-27 M27x1.5 18x2.4 41 | 585 | 27
6E9-30 M30x1.5 24x2.4 49 | 615 | 33
6E9-36 M36x2 30x3.1 47 71 33
6E9-39 M39x2 32x3.1 57 76 44
6E9-45 M45x2 38x3.1 55 81 44
6E9-52 M52x2 40x3.1 59 86 55
L
- - 1EH
" N HIAME S O Y P Y- 11 %5 )
NHISMESE RS
v W METRIC MALE O-RING
st/
= 84 THREADE JU 5| DIMENSIONS
PART NO. E F A B S1 L
1EH-12-10 | M12x1.5| M10x1 11 11 14 28
1EH-14-12 | M14x1.5 | M12x1.5 11 11 17 28
1EH-16-14 | M16x1.5 | M14x1.5 11 11 19 28
1EH-18-16 | M18x1.5 | M16x1.5 11 11 22 29
1EH-22-18 | M22x1.5 | M18x1.5 12 11 24 31
1EH-27-22 | M27x1.5 | M22x1.5 13 | 12 30 34
1EH-30-27 | M30x1.5 | M27x1.5 14 13 32 37




Hydraulic Adapters

www.lomoflex.com

S2
1EH4-0OG
% 45° i HME S O ] - [ %5 )/
| T 1 R R A
45°METRIC MALE O-
A \s1 RING/ ADJUSTABLE
STUD
fou 1240 THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s
1EH4-12- M12x1.5 | M10x1 20 | 255 | 11 | 14
1EHT-14- M14x1.5 | M12x1.5 22 | 30 | 14 | 17
1ERZ16- M16x1.5 | M14x1.5 22 |305 | 17 | 19
1ERZ 18- M18x1.5 | M16x1.5 24 | 34 | 19 | 22
1BHT22- M22x1.5 | M18x1.5 27 | 38 | 22 | 24
1BH727- M27x1.5 | M22x1.5 33 | 405 | 27 | 27
7EFZ.30- M30x1.5 | M27x1.5 33 | 48 | 27 | 32
7EFT 36- M36x2 | M33x2 37 | 495 | 33 | 41
TEFT-30- M39x2 | M33x2 41 | 52 | 44 | 41
TEFIZ.45- M45x2 | M42x2 41 | 54 | 44 | 50
1ER-52- M52x2 | M48x2 47 | 585 | 53 | 55
280G
s 1EH9-0OG
2
77 ‘ 90° 2 il #MR L O 7Y ] - 1 %% 4t/
' ' T [ AL TR A
J<J 90°METRIC MALE O-
v RING/ ADJUSTABLE
A S1 STUD
foE 4, THREADE R -} DIMENSIONS
PART NO. E F A | B | st | s
1EH9-12-10 | M12x1.5| M10x1 25 | 285 | 11 | 14
1EH9-14-12 | M14x1.5 | M12x1.5 29 [ 332 | 14 | 17
1EH9-16-14 | M16x1.5 | M14x1.5 30 | 36 | 17 | 19
1EH9-18-16 | M18x1.5 | M16x1.5 33 | 39 | 19 | 22
1EH9-22-18 | M22x1.5 | M18x1.5 37 | 44 | 22 | 24
1EH9-27-22 | M27x1.5 | M22x1.5 41 | 48 | 27 | 32
1EH9-30-27 | M30x1.5 | M27x1.5 41 | 57 | 27 | a1
1EH9-36-33 | M36x2 | M33x2 49 | 605 | 33 | 41
1EH9-39-33 | M39x2 | M33x2 57 | 64 | 44 | 44
1EH9-45-42 | M45x2 | M42x2 57 | 675 | 44 | 50
1EH9-52-48 | M52x2 | M48x2 59 | 735 | 55 | 55




Hydraulic Adapters www.lomoflex.com

L

A 5 1EM
i{ I8 I AME SO T B Y- [ % d
| 60 ° P kN A 3 T 41 £ 44 P
%/ 22 METRIC MALE O-RING/

7 60°SEAT BONDED SEAL
foe 124 THREADE ]~} DIMENSIONS
PART NO. E F A B S1 L
1EM-14-12 | M14x1.5 | M12x1.5 11 10 17 28
1EM-14 M14x1.5 | M14x1.5 11 11 19 28
1EM-22-16 | M22x1.5 | M16x1.5 11 12 22 30
1EM-22-18 | M22x1.5 | M18x1.5 11 12 24 31
1EM-22 M22x1.5 | M22x1.5 12 14 27 35

L
A B

(?ﬁ 1EN

P AMRLLOTY B /AT HE SR L

| |
? ’{ 7 METRIC MALE O-RING/NPT MALE
\ F
S

K5 24 THREADE JU  ~] DIMENSIONS
PART NO. E F A B Sl L
1EN-14-04 | M14x1.5 | Z1/4" 11 14 | 17 31
1EN-14-06 | M14x1.5| Z3/8" 1 14 | 19 31
1EN-16-04 | M16x1.5 [ Z1/4" 11 14 | 17 31
1EN-16-08 | M16x1.5 | Z1/2" 1 19 | 24 38
1EN-18-06 | M18x1.5 | Z3/8" 11 14 | 19 31
1EN-22-08 | M22x1.5 | Z1/2" 12 | 19 | 24 39
1EN-24-08 | M24x1.5 | Z1/2" 13 | 19 | 30 41
1EN-27-12 | M27x1.5| Z3/4" 13 | 195 | 32 42.5
1EN-30-12 | M30x1.5 | Z3/4" 14 | 195 | 32 435
1EN-36-16 | M36x2 z1" 16 | 24 | 41 52
1EN-39-16 | M39x2 z1" 18 | 24 | 41 54
1EN-45-20 | M45x2 | Z1.1/4" 20 | 25 | 46 58
1EN-52-20 | M52x2 | Z1.1/4" 22 | 25 | 55 62
1EN-60-24 | M60x2 | Z1.1/2"




Hydraulic Adapters

www.lomoflex.com

A B
I 1ET
%/ AL A TSRS OB Pl [ HE R HMERE L
J ['\_F M§IEIC MALE O-RING/BSPT
S1
gz 124 THREADE JU I DIMENSIONS
PART NO. E F A B S1 L
1ET-14-04 | M14x1.5| ZG1/4" 11 14 17 31
1ET-14-06 | M14x1.5| ZG3/8" 11 14 19 31
1ET-16-04 | M16x1.5| ZG1/4" 11 14 17 31
1ET-16-08 | M16x1.5| ZG1/2" 11 19 24 38
1ET-18-06 | M18x1.5| ZG3/8" 11 14 19 31
1ET-22-08 | M22x1.5| ZG1/2" 12 19 24 39
1ET-27-08 | M24x1.5| ZG1/2" 13 19 27 41
1ET-27-12 | M27x1.5| ZG3/4" 13 | 195 | 32 425
1ET-30-12 | M30x1.5| ZG3/4" 14 195 | 32 43.5
1ET-36-16 M36x2 ZG1" 16 24 41 52
1ET-39-16 M39x2 ZG1" 18 24 41 54
1ET-45-20 M45x2 | ZG1.1/4" 20 25 46 58
1ET-52-20 M52x2 | ZG1.1/4" 22 25 55 62
1ET-60-24 M60x2 | ZG1.1/2" 24 25 70 66




Hydraulic Adapters www.lomoflex.com

) 1EW

O A MR SO [ T 1 8 B R

< METRIC MALE O-RING/BUTT-WELD
TUBE
S1
o= 1240 THREADE U sF DIMENSIONS
PART NO. E A B D S L
1EW-12-06 | M12x1.5 11 8 6 14 25
1EW-14-08 | M14x1.5 11 8 8 17 25
1EW-16-10 | M16x1.5 11 8 10 17 25
1EW-18-12 | M18x1.5 11 12 12 19 29
1EW-22-14 | M22x1.5 12 12 14 24 | 32
1EW-27-18 | M27x1.5 13 | 12 18 30 | 34
1EW-30-22 | M30x1.5 14 | 14 | 22 | 32 | 38
1EW-36-28 | M36x2 16 | 16 28 | 41 | 44
1EW-39-30 | M39x2 18 | 16 30 | # 46
1EW-45-38 | M45x2 20 | 18 38 | 46 | 51
1EW-52-42 | M52x2 22 | 18 | 42 | 55 | 55
D
1EW9
7
& | Q0 4 A MBLL O WA T i B 1
% 90°METRIC MALE O-
RING/ BUTT-WELD
A S1 TUBE
fre i24  THREADE JU s DIMENSIONS
PART NO. E A B D S
1EW9-12-06 | M12x1.5 25 | 165 | 6 11
1EW9-14-08 | M14x1.5 29 | 175 | 8 14
1EW9-16-10 | M16x1.5 30 | 195 | 10 17
1EW9-18-12 | M18x1.5 33 | 25 12 19
1EW9-22-14 | M22x1.5 37 | 27 14 22
1EW9-27-18 | M27x1.5 41 | 295 | 18 27
1EW9-30-22 | M30x1.5 41 | 335 | 22 | 27
1EW9-36-28 | M36x2 47 | 39 28 | 33
1EW9-39-30 | M39x2 57 | 43 30 | 44
1EW9-45-38 | Md45x2 57 | 475 | 38 | 44
1EW9-52-42 | M52x2 59 | 50 42 | 55




Hydraulic Adapters

www.lomoflex.com

s 3
s

1EZ

2 TIAME SO R ST %
P IRAU A b
METRIC MALE O-RING/
BSP MALE

) #2140 THREADE U <} DIMENSIONS
PART NO. E F A B S L
1EZ-14-04 | M14x1.5 | G1/4"X19 11 | 12 19 | 29
1EZ-16-04 | M16x1.5 | G1/4"X19 11 | 12 19 | 29
1EZ-16-06 | M16x1.5 | G3/8"X19 11 | 12 22 | 30
1EZ-18-06 | M18x1.5 | G3/8"X19 11 | 12 22 | 30
1EZ-18-08 | M18x1.5 | G1/2"X14 11 | 14 27 | 34
1EZ-22-08 | M22x1.5 | G1/2"X14 12 | 14 27 | 35
1EZ-27-08 | M27x1.5 | G1/2"X14 13 | 14 27 | 36
1EZ-27-12 | M27x1.5 | G3/4"X14 13 | 16 32 | 39
1EZ-30-12 | M30x1.5 | G3/4"X14 14 | 16 32 | 40
1EZ-30-16 | M30x1.5 | G1"X11 14 | 18 41 | 44
1EZ-36-16 | M36x2 | G1"X11 16 | 18 41 | 46

-10 -




Hydraulic Adapters

www.lomoflex.com

S1

)

2WE

FR PR 123 1) P9 BRSO TR P i
BUTT-WELD TUBE/METRIC FEMALE
O-RING

c

R 24 THREADE| 4 7 B4 JU  ~] DIMENSIONS
PART NO. E TUBE c | D S1
2WE-06-12 | M12x1.5 O.Dg 8 6 14
2WE-08-14 | M14x1.5 8 8 8 17
2WE-10-16 | M16x1.5 10 8 | 10 19
2WE-12-18 | M18x1.5 12 85 | 12 22
2WE-14-22 | M22x1.5 14 10 | 14 27
2WE-18-27 | M27x1.5 18 105 | 18 32
2WE-22-30 | M30x1.5 22 11 | 22 36
2WE-28-36 | M36x2 28 13 | 28 41
2WE-30-39 | M39x2 30 13 | 30 46
2WE-38-52 | M52x2 38 17 | 38 60
2WE-42-52 | M52x2 42 17 | 42 60
2WE-50-60 | M60x2 50 20 | 50 70
2WE-52-64 | M64x2 52 23 | 52 75

-11 -




Hydraulic Adapters

www.lomoflex.com

4’
S1

411

XE

O3 TS MR ORI ] 1 U 2 5
METRIC MALE O-RING CROSS

o i#2r  THREADE JU  sf DIMENSIONS
PART NO. E A S1
XE-14 M14x1.5 22,5 14
XE-16 M16x1.5 24 17
XE-18 M18x1.5 26 19
XE-22 M22x1.5 29 22
XE-27 M27x1.5 32,5 27
XE-30 M30x1.5 35.5 30
XE-36 M36x2 42 33
XE-39 M39x2 475 41
XE-45 M45x2 52.5 46
XE-52 M52x2 57 55
E
AE
- 7
| | A TSNS SO R F| V- 1 % 5 =3 42 3k
| \ | METRIC MALE O-RING TEE
A [ \gg
o I24r THREADE JU <} DIMENSIONS
PART NO. E A S1
AE-12 M12x1.5 25 11
AE-14 M14x1.5 27 14
AE-16 M16x1.5 29 17
AE-18 M18x1.5 31 19
AE-22 M22x1.5 34 22
AE-27 M27x1.5 40 27
AE-30 M30x1.5 40 27
AE-36 M36x2 46 33
AE-39 M39x2 57 44

-12 -




Hydraulic Adapters

www.lomoflex.com

E
‘ ? S2
BE
ié 11 A TIAMERESORY B A A
| BRSO T 1 = K
A METRIC MALE O-RING
A \st IMETRIC FEMALE TEE
ks 1240 THREADE R 5] DIMENSIONS
PART NO. E F A C S1 S2
BE-12 M12x1.5 | M12x1.5 25 8 11 17
BE-14 M14x1.5 | M14x1.5 27 9 14 19
BE-16 M16x1.5 | M16x1.5 29 9.5 17 22
BE-18 M18x1.5 | M18x1.5 31 9.5 19 24
BE-22 M22x1.5 | M22x1.5 34 10 22 27
BE-27 M27x1.5 | M27x1.5 40 10.5 27 32
BE-30 M30x1.5 | M30x1.5 40 1.5 27 36
BE-36 M36x2 M36x2 46 13.5 33 41
BE-39 M39x2 M39x2 57 13.5 44 46
—
< CE
i ' INISMB SO A R
- W ALY T A B = 4 Sk
" &1 %S O Il\q/III’E\ITGRIC MALE O-
IMETRIC FEMALE TEE
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
CE-12 M12x1.5 | M12x1.5 25 8 1 17
CE-14 M14x1.5 | M14x1.5 27 9 14 19
CE-16 M16x1.5 | M16x1.5 29 9.5 17 22
CE-18 M18x1.5 | M18x1.5 31 9.5 19 24
CE-22 M22x1.5 | M22x1.5 34 10 22 27
CE-27 M27x1.5 | M27x1.5 40 10.5 27 32
CE-30 M30x1.5 | M30x1.5 40 1.5 27 36
CE-36 M36x2 M36x2 46 13.5 33 41
CE-39 M39x2 M39x2 57 13.5 44 46

- 13-




Hydraulic Adapters

www.lomoflex.com

1 19

S

) |

AEEH-OG

N ISR SLORY PE -1 2 N I AMRSL
] ) A B R A 357 =08 METRIC
MALE O-RING/

Y
\: METIRC MALE ADJUSTABLE
A >TB STUD S-SERIES RUN
TEE
foe 24 THREADE ]~} DIMENSIONS
PART NO. E F A | B | st | s2
AEEH-12-12- | M12x1.5| M10x1 25 285 | 11 | 14
AEER-14-14- | M14x1.5 | M12x1.5 27 332 | 14 | 17
AEER-16-16- | M16x1.5 | M14x1.5 20 | 36 | 17 | 19
AEER-18-18- | M18x1.5 | M16x1.5 31 | 39 | 19 | 22
ABER-22-22- | M22x1.5 | M18x1.5 34 | 44 | 22 | 24
ABER-27-27- | M27x1.5 | M22x1.5 40 | 48 | 27 | 27
AEER-30-30- | M30x1.5 | M27x1.5 40 | 57 | 27 | 32
AEER-36-36- M36x2 | M33x2 46 | 605 | 33 | 41
REER-39-39- M39x2 | M33x2 57 | 64 | 44 | 41
33006
E
| AEHE-OG
2
| ZZF ABISMBESOTIE I #E 2 HISMBLL
% / AL () £ R 203 3 =18 METRIC
! ! MALE O-RING/
\ METIRC MALE ADJUSTABLE STUD
\_ S-SERIES BRANCH TEE
A A
R BRAL U < DIMENSIONS
PART NO. E F Al B sl s
AEHE-12-10- | M12x1.5| M10x1 25 | 285 | 11 | 14
AEPE-14-12- | M14x1.5| M12x1.5 27 | 332 | 14 | 17
AEPE-16-14- | M16x1.5| M14x1.5 29 | 36 | 17 | 19
ABPE-18-16- | M18x1.5| M16x1.5 31 | 39 | 19 | 22
ABPE22-18- | M22x1.5 | M18x1.5 34 | 44 | 22 | 24
AEPE-27-22- | M27x1.5 | M22x1.5 40 | 48 | 27 | 27
AEPE-30-27- | M30x1.5 | M27x1.5 40 | 57 | 27 | 32
REFIE-36-33- M36x2 | M33x2 46 | 605 | 33 | 41
RBERE-39-33- M39x2 | M33x2 57 | 64 | 44 | 41
SY0G

-14 -



Hydraulic Adapters

www.lomoflex.com

E
7
Pl% AEEGE
I
| 90 ° A il FMER AT O Y [~ [f 4% Faf o K4 Sk
90°METRIC MALE O-RING BULKHEAD
B RUN TEE
A
o i#4. THREADE JU <} DIMENSIONS
PART NO. E A B S1
AEEGE-12 | M12x1.5 25 445 | 11
AEEGE-14 | M14x1.5 27 | 465 | 14
AEEGE-16 | M16x1.5 29 | 48 17
AEEGE-18 | M18x1.5 31 50 19
AEEGE-22 | M22x1.5 34 | 54 22
AEEBE-27 | M27x1.5 40 | 585 | 27
AEEGE-30 | M30x1.5 40 | 615 | 27
AEEGE-36 | M36x2 46 | 71 33
AEEGE-39 | M39x2 57 | 76 44
E
AEGEE
S
2|
12 i P HIAMBESLO R R - % 1 B 43 3 =l
| | METRIC MALE O-RING
BULKHEAD BRANCH
TEE
A A
=] 22y THREADE JU  sf DIMENSIONS
PART NO. E A B S1
AEBEE-12 | M12x1.5 25 | 445 | 11
AEGEE-14 | M14x1.5 27 | 465 | 14
AEGEE-16 | M16x1.5 29 | 48 17
AEGEE-18 | M18x1.5 31 50 19
AEGEE-22 | M22x1.5 34 | 54 22
AEBEE-27 | M27x1.5 40 | 585 | 27
AEGEE-30 | M30x1.5 40 | 615 | 27
AEGEE-36 | M36x2 46 | 7 33
AEGEE-39 | M39x2 57 | 76 44

-15-




Hydraulic Adapters www.lomoflex.com

A - B
- 1C
\%'V ' \ BSR4 RV
| METRIC MALE 24°L.T. REDUCERS
S
fo= 240 THREADE | #14M% TUBE JU | DIMENSIONS
PART NO. E O.Dp D A B S1 L
1C-12-14 | M12x1.5| M14x15| 6 § 10 | 10 | 14 26
1C-12-16 M12x1.5 | M16x1.5 6 10 10 11 17 27
1C-12-18 M12x1.5 | M18x1.5 6 12 10 11 19 27
1C-14-16 M14x1.5 | M16x1.5 8 10 11 11 17 28
1C-14-18 M14x1.5 | M18x1.5 8 12 11 11 19 28
1C-16-18 M16x1.5 | M18x1.5 10 12 11 11 19 28
1C-16-22 M16x1.5 | M22x1.5 10 15 11 12 24 30
1C-16-26 M16x1.5 | M26x1.5 10 18 11 12 27 33
1C-18-22 M18x1.5 | M22x1.5 12 15 11.5 12 24 31
1C-18-26 M18x1.5 | M26x1.5 12 18 11.5 12 27 32
1C-18-30 M18x1.5 | M30x2 12 22 11.5 14 32 35.5
1C-22-26 M22x1.5 | M26x1.5 15 18 12.5 12 27 33
1C-22-30 M22x1.5 | M30x2 15 22 12.5 14 32 36.5
1C-26-30 M26x1.5 | M30x2 18 22 12 14 32 37
1C-26-36 M26x1.5 | M36x2 18 28 12 14 36 37
1C-30-36 M30x2 M36x2 22 28 14 14 36 39
1C-30-45 M30x2 M45x2 22 35 14 16 46 43
1C-33-45 M33x2 M45x2 25 35 16 16 46 45
N R E LR EIR R EIT B, W AE A5 )5 IN"RN", 41"1C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1C-22-26RN.

-16 -



Hydraulic Adapters www.lomoflex.com

L
A - A
=i 1C
N HISMEL24° %% 25
METRIC MALE 24°L.T.
S
fe I#4r  THREADE| # 14M%  TUBE JU ] DIMENSIONS
PART NO. E 0.Dp A St L
1C-12 M12x1.5 8 10 12 26
1C-14 M14x1.5 8 11 14 28
1C-16 M16x1.5 10 11 17 28
1C-18 M18x1.5 12 11.5 19 29
1C-22 M22x1.5 15 12.5 24 33
1C-26 M26x1.5 18 12 27 34
1C-30 M30x2 22 14 32 39
1C-36 M36x2 28 16 36 43
1C-45 M45x2 35 16 46 45
1C-52 M52x2 42 16 55 49
L
A A
1D
A THISMRL24° T R Y|
METRIC MALE 24°H.T.
s
e I#2r  THREADE | i 14M% TUBE JU -] DIMENSIONS
PART NO. E 0.Dp A S1 L
1D-14 M14x1.5 6 12 14 30
1D-16 M16x1.5 8 12 17 30
1D-18 M18x1.5 10 12 19 30
1D-20 M20x1.5 12 12 22 31
1D-22 M22x1.5 14 14 24 36
1D-24 M24x1.5 16 14 27 38
1D-30 M30x2 20 16 32 43
1D-36 M36x2 25 18 36 47
1D-42 M42x2 30 20 46 52
1D-52 M52x2 38 22 55 61

TR T R B KR BRI 0, WS EAR S 5 D "RN", 1" 1D-22RN" ([ L)

necessary to insert suffix"RN" arter our part NO.,for example 1D-22RN. (the same with above)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

-17 -




Hydraulic Adapters www.lomoflex.com

A - B
— 1D
\%'V ' \ ABISMELA TR
%‘, | METRIC MALE 24°H.T. REDUCERS
sy
;e R4 THREADE| &7 4M%2 TUBE R '} DIMENSIONS
PART NO. E O.Dp D A B S1 L
1D-14-16 | M14x1.5| M16x1.5| 6 § 12 | 12 | 17 30
1D-14-18 M14x1.5 | M18x1.5 6 10 12 12 19 30
1D-14-20 M14x1.5 | M20x1.5 6 12 12 12 22 32
1D-16-18 M16x1.5 | M18x1.5 8 10 12 12 19 30
1D-16-20 M16x1.5 | M20x1.5 8 12 12 12 22 32
1D-18-20 M18x1.5 | M20x1.5 10 12 12 12 22 32
1D-18-22 M18x1.5 | M22x1.5 10 14 12 14 24 34
1D-18-30 M18x1.5| M30x2 10 20 12 16 32 39
1D-20-22 M20x1.5 | M22x1.5 12 14 12 14 24 34
1D-20-24 M20x1.5 | M24x1.5 12 16 12 14 27 36
1D-20-30 M20x1.5| M30x2 12 20 12 16 32 39
1D-22-24 M22x1.5 | M24x1.5 14 16 14 14 27 38
1D-24-30 M24x1.5| M30x2 16 20 14 16 32 41
1D-24-36 M24x1.5| M36x2 16 25 14 18 36 43
1D-30-36 M30x2 M36x2 20 25 16 18 36 45
1D-30-42 M30x2 M42x2 20 30 16 20 46 48
1D-36-42 M36x2 M42x2 25 30 18 20 46 50
1D-42-52 M42x2 M52x2 30 38 20 22 55 59
AL WA R LR B RS AEAC S )5 RN, 41"1D-22-24RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D-22-24RN.

-18 -



Hydraulic Adapters www.lomoflex.com

E
‘ D1
%:
) 1C9
4TV
‘ | 90° A IS MBL24° F: R 5l
5\, 90°METRIC MALE 24°L.T.
A S1
= 4  THREADE| % 14kM% TUBE JU  ~] DIMENSIONS
PART NO. E 0.Dp A s1
109-12 | M12x15 8 25 11
1C9-14 M14x1.5 8 29 14
1C9-16 M16x1.5 10 30 17
1C9-18 M18x1.5 12 33 19
1C9-22 M22x1.5 15 37 22
1C9-26 M26x1.5 18 41 27
1C9-30 M30x2 25 41 27
1C9-36 M36x2 28 46 33
1C9-45 M45x2 35 55 44
1C9-52 M52x2 42 59 55
E
‘ D1
) 1D9
ﬁTV .
{ | L] 90° /A IS ZLr24° T 2 H
90°METRIC MALE 24°H.T.
A S1
fo R4 THREADE| % T14M% TUBE N '} DIMENSIONS
PART NO. E D A S1
1D9-14 | M14x15 6 29 14
1D9-16 M16x1.5 8 30 17
1D9-18 M18x1.5 10 33 19
1D9-20 M20x1.5 12 37 22
1D9-22 M22x1.5 14 37 22
1D9-24 M24x1.5 16 33 24
1D9-30 M30x2 20 41 27
1D9-42 M42x2 30 57 44
1D9-52 M52x2 38 59 50
T R S R IR R AT B W AEAC S /5 I "RN", 41" 1D9-22RN" ([ L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D9-22RN.(the same with above)

-19-



Hydraulic Adapters

www.lomoflex.com

S2

S1

2C

KN IRE24°1 3 I S MR L4 R
METRIC FEMALE 24°/METRIC MALE
24°L.T.

C
= 4 THREADE| #74M% TUBE N '} DIMENSIONS
PART NO. E F 0.Dp C S1 S2
2C12 | M12x15| M12x15| 6 2 12 | 17
2C-12-14 M12x1.5 | M14x1.5 6 3.5 14 19
2C-12-16 M12x1.5 | M16x1.5 6 3.5 14 22
2C-14 M14x1.5 | M14x1.5 8 3.5 14 19
2C-14-16 M14x1.5 | M16x1.5 8 3.5 14 22
2C-14-18 M14x1.5 | M18x1.5 8 35 17 24
2C-16 M16x1.5 | M16x1.5 10 3.5 17 22
2C-16-18 M16x1.5 | M18x1.5 10 35 17 24
2C-16-22 M16x1.5 | M22x1.5 10 3 22 27
2C-18 M18x1.5 | M18x1.5 12 35 17 24
2C-18-22 M18x1.5 | M22x1.5 12 3 22 27
2C-12-26 M12x1.5 | M26x1.5 6 35 24 32
2C-22-26 M22x1.5 | M26x1.5 15 35 24 32
2C-26 M26x1.5 | M26x1.5 18 3.5 24 32
2C-26-30 M26x1.5| M30x2 18 45 30 36
2C-26-36 M26x1.5| M36x2 18 4.5 36 41
2C-30 M30x2 M30x2 22 4.5 30 36
2C-30-36 M30x2 M36x2 22 45 36 41
2C-30-45 M30x2 M45x2 22 55 46 55
2C-36-45 M36x2 M45x2 28 55 46 55
2C-45 M45x2 M45x2 35 55 46 55
2C-45-52 M45x2 M52x2 35 6.5 55 60
2C-52 M52x2 M52x2 42 6.5 55 60
LT R SRR AT B WA S 5 N "RN", 41"2C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 2C-22-26RN.

-20 -




Hydraulic Adapters

www.lomoflex.com

S2

S1

|

2D

NI NIRE24° 1 A ISR 24° F R )
METRIC FEMALE 24°/METRIC MALE

24°H.T.
C
= 124 THREADE| & 74M% TUBE N '} DIMENSIONS

PART NO. E F 0.Dp C Sl S2
2D-14-16 | M14x1.5 | M16x1.5| 6 35 14 | 22
2D-14-18 M14x1.5 | M18x1.5 6 3 17 24
2D-14-20 M14x1.5 | M20x1.5 6 3 19 27
2D-16-18 M16x1.5 | M18x1.5 8 3 17 24
2D-16-20 M16x1.5 | M20x1.5 8 3 19 27
2D-16-22 M16x1.5 | M22x1.5 8 25 22 27
2D-18-20 M18x1.5 | M20x1.5 10 3 19 27
2D-18-22 M18x1.5 | M22x1.5 10 25 22 27
2D-20-22 M20x1.5 | M22x1.5 12 25 22 27
2D-16-24 M16x1.5 | M24x1.5 8 3.5 22 30
2D-18-24 M18x1.5 | M24x1.5 10 35 22 30
2D-20-24 M20x1.5 | M24x1.5 12 3.5 22 30
2D-20-30 M20x1.5 | M30x2 12 45 30 36
2D-22-24 M22x1.5 | M24x1.5 14 35 22 30
2D-22-30 M22x1.5| M30x2 14 45 30 36
2D-24-30 M24x1.5| M30x2 16 45 27 36
2D-30-36 M30x2 M36x2 20 3.5 36 41
2D-30-42 M30x2 M42x2 20 5.5 41 50
2D-33-42 M33x2 M42x2 22 5.5 41 50
2D-33-52 M33x2 M52x2 22 7 50 60
2D-42-52 M42x2 M52x2 30 7 50 60

TR RS SRS BRI T 0, M 76 4R 55 RN, 11"2D-22-30RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 2D-22-30RN.

-21 -




Hydraulic Adapters www.lomoflex.com

E
7 S
s 2C9
90° Al N RLr24°/
f A HISMNZL24 1 R
90°METRIC FEMALE 24°/
METRIC MALE 24°L.T.
A S1
foe I#240  THREADE| ¥ 74M2  TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A o] S1 S2
2C9-12 M12x1.5 | M12x1.5 8 25 2 11 17
2C9-14 M14x1.5 | M14x1.5 8 29 | 35 14 19
2C9-16 M16x1.5 | M16x1.5| 10 30 | 35 17 22
2C9-18 M18x1.5 | M18x1.5| 12 33 | 35 19 24
2C9-22 M22x1.5 | M22x1.5| 15 37 3 22 27
2C9-26 M26x1.5 | M26x1.5| 18 41 | 35 27 32
2C9-30 M30x2 | M30x2 22 41 | 45 27 36
2C9-36 M36x2 | M36x2 28 46 | 45 33 41
2C9-45 M45x2 | M45x2 35 55 | 55 44 55
2C9-52 M52x2 | M52x2 42 59 | 6.5 55 60
E
7 /\ﬁsz
I 2D9
90° Al N igELa24°/
H ATHIAMRL24 °H F 5
90°METRIC FEMALE 24°/
A S1 METRIC MALE 24°H.T.
e 24 THREADE| % 74142 TUBE JU 5| DIMENSIONS
PART NO. E F D A o] S1 S2
2D9-14 M14x1.5 | M14x1.5 6 29 3 14 19
2D9-16 M16x1.5 | M16x1.5 8 30 35 | 17 22
2D9-18 M18x1.5| M18x1.5| 10 33 3 19 24
2D9-20 M20x1.5 | M20x1.5| 12 37 3 22 27
2D9-22 M22x1.5 | M22x1.5| 14 37 | 25 | 22 27
2D9-30 M30x2 | M30x2 20 41 45 | 27 36
2D9-36 M36x2 | M36x2 25 46 35 | 33 41
2D9-42 M42x2 | M42x2 30 55 55 | 44 50
2D9-52 M52x2 | M52x2 38 59 7 55 60

T R E AR BEET O, WS TEAR S 5 N "RN", 11"2D9-22RN" (JF] 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 2D9-22RN.(the same with above)

-22 -



Hydraulic Adapters

www.lomoflex.com

S$1 S1

27 |

3C

NHINIRL24 1 25

N2 A, METRIC FEMALE 24°L.T.
c| ¢
=) 1240 THREADE | &-F4M% TUBE JU I DIMENSIONS
PART NO. E 0.Dp C S1
3c-12 | M12x1.5 8 2 | 17
3C-14 M14x1.5 8 35 | 19
3C-16 M16x1.5 10 35 | 22
3C-18 M18x1.5 12 35 | 24
3C-22 M22x1.5 15 3 27
3C-26 M26x1.5 18 35 | 32
3C-30 M30x2 22 45 | 36
3C-36 M36x2 28 45 | 41
3C-45 M45x2 35 55 | 55
3C-52 M52x2 42 65 | 60
S1 S1
3D
\ JWH \ A HBRE24° TR
) 7 METRIC FEMALE 24°H.T.
cl c
o 14 THREADE| & 14M2 TUBE N - DIMENSIONS
PART NO E 0.0p C Sl
3D-14 | M14x1.5 8 3 | 19
3D-16 M16x1.5 8 35 | 22
3D-18 M18x1.5 10 3 24
3D-20 M20x1.5 12 3 27
3D-22 M22x1.5 14 25 | 27
3D-24 M24x1.5 16 35 | 30
3D-30 M30x2 20 45 | 36
3D-36 M36x2 25 35 | 41
3D-42 M42x2 30 55 | 50
3D-52 M52x2 38 7 60

-23 -




Hydraulic Adapters

www.lomoflex.com

L
A

;
¥

4C

N TIRS24 % R A Bk
METRIC MALE 24°L.T. PULG

e 240 THREADE| % T4M# TUBE JU___ I DIMENSIONS
PART NO. E D A S1 L
4C-12 M12x1.5 8 10 12 16
4C-14 M14x1.5 8 11 14 17
4C-16 M16x1.5 10 11 17 17
4C-18 M18x1.5 12 11.5 19 17.5
4C-22 M22x1.5 15 12.5 24 20
4C-26 M26x1.5 18 12 27 22
4C-30 M30x2 22 14 32 25
4C-36 M36x2 28 16 36 27
4C-45 M45x2 35 18 46 31
4C-52 M52x2 42 19 55 36
L
A
H 4D
l IS THIMRE24 ° 7 A 51 43k
METRIC MALE 24°H.T. PLUG
S1

=] %4 THREADE| #¥4Mt TUBE JU  ~F DIMENSIONS
PART NO. E O0.Dp A S1 L
4D-14 | M14x1.5 8 12 14 18
4D-16 M16x1.5 8 12 17 18
4D-18 M18x1.5 10 12 19 18
4D-20 M20x1.5 12 12 22 19
4D-22 M22x1.5 14 14 24 22
4D-30 M30x2 20 16 32 26
4D-36 M36x2 25 18 36 29
4D-42 M42x2 30 20 46 32
4D-52 M52x2 38 22 55 39

ol il R SR B IR R T 58, WP AEAC S 5 RN, 41"4D-22RN" ([7] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 4D-22RN. (the same with above)

-24 -




Hydraulic Adapters

www.lomoflex.com

A S1

7

Ll s

6C

N IANRE24 R AL Sk
METRIC MALE 24°L.T. BULKHEAD

o i240 THREADE| % 74M% TUBE R I DIMENSIONS
PART NO. E 0.Dp A S1
6C-12 M12x1.5 8 10 12
6C-14 M14x1.5 8 11 14
6C-16 M16x1.5 10 11 17
6C-18 M18x1.5 12 115 19
6C-22 M22x1.5 15 12.5 24
6C-26 M26x1.5 18 12 27
6C-30 M30x2 22 14 32
6C-33 M33x2 25 16 36
6C-45 M45x2 35 18 46
6C-52 M52x2 42 19 55
A s1

o

6D

I RIAMRL24° 251 1Ak
METRIC MALE 24°H.T. BULKHEAD

foe I#20  THREADE | #74Mf TUBE JU <} DIMENSIONS
PART NO. E O0.Dp A S1
6D-14 M14x1.5 8 12 14
6D-16 M16x1.5 8 12 17
6D-18 M18x1.5 10 12 19
6D-20 M20x1.5 12 12 22
6D-22 M22x1.5 14 14 24
6D-24 M24x1.5 16 14 27
6D-30 M30x2 20 16 32
6D-36 M36x2 25 18 36
6D-42 M42x2 30 20 46
6D-52 M52x2 38 22 55

JO"LN", a1"6D-22LN"([F]_)

BV M TE R MRS RS I 5 EE A S 5 RN, 1"6D-22RN" . 155

HUEITH, WHEA

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D-22RN.order the

adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D-22LN"(the same with above)

-25-




Hydraulic Adapters www.lomoflex.com

E
D1
T 6C9
=
| F‘W ) 00° /3 1ML 24 s F B S
. 90°METRIC MALE 24°L.T. BULKHEAD
fou 124, THREADE R/ DIMENSIONS
PART NO. E Hpphie [TUBE A s1
6C9-12 | M12x1.5 6 e 25 11
6C9-14 | M14x1.5 8 29 14
6C9-16 | M16x1.5 10 30 17
6C9-18 | M18x1.5 12 33 19
6C9-22 | M22x1.5 15 37 22
6C9-26 | M26x1.5 18 41 27
6C9-30 M30x2 22 41 27
6C9-36 M36x2 28 46 33
6C9-45 M45x2 35 55 44
6C9-52 M52x2 42 59 55
E

D1

- 6D9

90° ~ HlAMEREL24 ° H AR H A% Sk
90°METRIC MALE 24°H.T.

v/

R

| .
| ”_ SB1U LKHEAD
A

e 240  THREADE | & 74Mf TUBE JU  sf DIMENSIONS
(=2 oM
PART NO E : A St
6D9-14 | M14x1.5 6 29 14
6D9-16 M16x1.5 8 30 17
6D9-18 M18x1.5 10 33 19
6D9-20 M20x1.5 12 37 22
6D9-22 M22x1.5 14 37 22
6D9-30 M30x2 20 41 27
6D9-36 M36x2 25 41 27
6D9-42 M42x2 30 55 44
6D9-52 M52x2 38 59 55
Fl R R R B R O WS TEAC S 5 N "RN", 41"6D9-22RN" iy i BRI 3%, i EAS R
JN"LN", {16 D9-22LN"(I7]_I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffixX"RN" arter our part NO.,for example 6D9-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D9-22L.N"(the same with above)

- 26 -



Hydraulic Adapters www.lomoflex.com

S1

I
B 8C

2 HIR U R
7 METRIC LOCK NUT
A

o i24 THREADE | DIMENSIONS
PART NO. E A s1
8C-10 M10x1 6 14
8C-12 M12x1.5 75 17
8C-14 M14x1.5 75 19
8C-16 M16x1.5 75 22
8C-18 M18x1.5 75 24
8C-20 M20x1.5 8 27
8C-22 M22x1.5 8 27
8C-24 M24x1.5 8 30
8C-26 M26x1.5 8 32
8C-27D | M27x1.5 10 32
8C-30 M30x2 10 36
8C-30D | M30x1.5 10 36
8C-36 M36x2 10 41
8C-38 M38x2 10 46
8C-42 M42x2 10 50
8C-45 M45x2 10 55
8C-52 M52x2 10 60

- 27 -




Hydraulic Adapters www.lomoflex.com

S1
9C
O N RS 24 082 R A Sk
& % METRIC FEMALE 24°L.T. PLUG
C

foe I#240  THREADE| ¥ 74M2  TUBE JU <} DIMENSIONS
PART NO. E 0.Dp C S1

9C-12 | M12x1.5 é 2 | 14

9C-14 M14x1.5 8 2 17

9C-16 M16x1.5 10 2 19

9C-18 M18x1.5 12 25 22

9C-22 M22x1.5 15 3 27

9C-26 M26x1.5 18 35 32

9C-30 M30x2 22 35 36

9C-36 M36x2 28 4 41

9C-45 M45x2 35 5 55

9C-52 M52x2 42 6 60

S1
oD
3 N R L 24 ° F R A B Sk
% % METRIC FEMALE 24°H.T. PLUG
C

foe I#20  THREADE | #74M: TUBE JU <} DIMENSIONS
PART NO. E 0.Dp C S1

9D-16 | M16x1.5 8 2 | 19

9D-18 M18x1.5 10 2 22

9D-20 M20x1.5 12 3 24

9D-22 M22x1.5 14 25 27

9D-24 M24x1.5 16 3 30

9D-30 M30x2 20 35 36

9D-36 M36x2 25 3 41

9D-42 M42x2 30 5 50

9D-52 M52x2 38 6.5 60

- 28 -



Hydraulic Adapters www.lomoflex.com

A - B
as 1CN
| ATISMBE24° k% R/
22 AT HER SMIRZ60°
7 \_F_ METRIC MALE 24°L.T.
/NPT MALE 60°
=] 124 THREADE #HF4HME TUBE N '} DIMENSIONS
PART NO. E F D A B S1 L
1CN-12-02 | M12x1.5| Z1/8"X27 6 10 10 12 26
1CN-12-04 | M12x1.5| Z1/4"X18 6 10 14 14 31
1CN-14-04 | M14x1.5| Z1/4"X18 8 11 14 14 31
1CN-16-04 | M16x1.5| Z1/4"X18 10 11 14 17 32.5
1CN-16-06 | M16x1.5| Z3/8"X18 10 11 14 17 32.5
1CN-18-04 | M18x1.5| Z1/4"X18 12 11.5 14 19 31.5
1CN-18-06 | M18x1.5| Z3/8"X18 12 11.5 14 19 31.5
1CN-18-08 | M18x1.5| Z1/2"X14 12 11.5 19 22 38
1CN-22-08 | M22x1.5| Z1/2"X14 15 125 19 24 39
1CN-22-20 | M22x1.5|Z1.1/4"X11.5 15 12.5 25 46 50.5
1CN-26-08 | M26x1.5 | Z1/2"X14 18 12 19 27 40
1CN-26-12 | M26x1.5 | Z3/4"X14 18 12 19.5 27 40
1CN-30-08 M30x2 | Zz1/2"X14 22 14 19 32 43
1CN-30-12 M30x2 | Z3/4"X14 22 14 19.5 32 43.5
1CN-36-16 M36x2 | Z1"X11.5 28 16 24 36 51
1CN-36-20 M36x2 |Z1.1/4"X11.5 28 16 25 46 54
1CN-45-20 M45x2 (Z1.1/4"X11.5 35 18 25 46 56
1CN-52-20 M52x2 |Z1.1/4"X11.5 42 19 25 55 61
1CN-52-24 M&2x2 |Z1.1/2"X11.5 42 19 25 55 61
FAL TR B R R IR R B, WS 7E A S 5 I "RN", 41" 1CN-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CN-22-08RN.

-29 -




Hydraulic Adapters

www.lomoflex.com

A _ B
as 1DN
| AHISMRG24° TR
22 ATHER SMIRZL60 °
7 N\ & METRIC MALE 24°H.T.
/NPT MALE 60°
= I#4r  THREADE F4MzE  TUBE R ' DIMENSIONS
PART NO. E F D A B S1 L
1DN-14-04 | M14x1.5| Z1/4"X18 8 12 14 14 32
1DN-16-04 | M16x1.5| Z1/4"X18 8 12 14 17 32
1DN-18-04 | M18x1.5| Z1/4"X18 10 12 14 19 32
1DN-18-06 | M18x1.5| Z3/8"X18 10 12 14 19 32
1DN-20-04 | M20x1.5| Z1/4"X18 12 12 14 22 33
1DN-20-06 | M20x1.5| Z3/8"X18 12 12 14 22 33
1DN-20-08 | M20x1.5| Zz1/2"X14 12 12 19 22 38
1DN-22-08 | M22x1.5| Z1/2"X14 14 14 19 24 41
1DN-24-08 | M24x1.5| Z1/2"X14 16 14 19 27 42
1DN-30-12 M30x2 | Z3/4"X14 20 16 19.5 32 455
1DN-36-16 M36x2 | Z1"X11.5 25 18 24 36 53
1DN-42-16 M42x2 | Z1"X11.5 30 20 24 46 57
1DN-42-20 M42x2 |Z1.1/4"X11.5 30 20 25 46 58
1DN-52-24 M52x2 |Z21.1/2"X11.5 38 22 25 55 64
B E R S BB BT BE, WS /EAC S J5 RN, 411 DN-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DN-22-08RN.

-30 -




Hydraulic Adapters www.lomoflex.com

E
D1
= 1TCN9
%’ 90° N HIFMRLL24° 42 R A/
AT HER SMIRZI60°
% 90°METRIC MALE 24°L.T.
A /NPT MALE 60°
5 ¥4 THREADE | % 74Mz TUBE JU s} DIMENSIONS
PART NO. E F 0.0p A B S1
1CN9-12-02 | M12x1.5| Z1/8"X27 8 25 25 11
1CN9-12-04 | M12x1.5| Z1/4"X18 6 27 29 14
1CN9-14-04 | M14x1.5| Z1/4"X18 8 27 29 14
1CN9-16-06 | M16x1.5| Z3/8"X18 10 29 30 17
1CN9-18-04 | M18x1.5| Z1/4"X18 12 33 33 19
1CN9-18-06 | M18x1.5| Z3/8"X18 12 33 33 19
1CN9-18-08 | M18x1.5| Z1/2"X14 12 37 37 22
1CN9-22-06 | M22x1.5| Z3/8"X18 15 37 37 22
1CN9-22-08 | M22x1.5| Z1/2"X14 12 37 37 22
1CN9-26-08 | M26x1.5| Z1/2"X14 18 41 41 27
1CN9-26-12 | M26x1.5 | Z3/4"X14 18 41 41 27
1CN9-30-12 | M30x2 | Z3/4"X14 22 41 41 27
1CN9-30-16 | M30x2 | Z1"X11.5 22 49 49 33
1CN9-36-16 | M36x2 | Z1"X11.5 28 46 46 33
1CN9-45-20 | M45x2 |Z1.1/4"X11.5 35 55 55 44
1CN9-52-24 | M52x2 |Z1.1/2"X11.5 42 57 60 55
TR A KRR T 5, M 26 4G 55 RN, 41" CN9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CN9-22-08RN.

- 31 -



Hydraulic Adapters

www.lomoflex.com

E
D1
1DN9
=
%’ 90° T SMIRL24° T R 51
I HEE SMIRZI60°
&_Sl 90°METRIC MALE 24°H.T.
A /NPT MALE 60°
Fo X4 THREADE | #74M2 TUBE JU <} DIMENSIONS

PART NO. E F O.0p A B S
1DN9-14-04 | M14x1.5 | Z1/4"X18 8 27 | 29 | 14
1DN9-16-04 | M16x1.5 | Z1/4"X18 8 29 | 30 | 17
1DN9-18-06 | M18x1.5 | Z3/8"X18 10 33 | 33 | 19
1DN9-20-04 | M20x1.5 | Z1/4"X18 12 37 | 37 | 22
1DN9-20-06 | M20x1.5 | Z3/8"X18 12 37 | 37 | 22
1DN9-22-06 | M22x1.5 | Z3/8"X18 14 37 | 37 | 22
1DN9-22-08 | M22x1.5 | Z1/2"X14 14 37 | 37 | 22
1DN9-24-06 | M24x1.5 | Z3/8"X18 16 37 | 33 | 24
1DN9-24-08 | M24x1.5 | Z1/2"X14 16 33 | 37 | 24
1DN9-30-08 | M30x2 | Zz1/2"X14 20 4 | 40 | 27
1DN9-30-12 | M30x2 | Zz3/4"X14 20 4 | 40 | 27
1DN9-36-16 | M36x2 | Z1"X11.5 28 49 | 49 | 33
1DN9-42-16 | M42x2 | Z1"X11.5 30 57 | 57 | 44
1DN9-42-20 | M42x2 (Z1.1/4"X11.5| 30 57 | 57 | 44
1DN9-52-20 | M52x2 (Z1.1/4"X11.5| 38 56 | 60 | 55
1DN9-52-24 | M52x2 (Z1.1/2"X11.5| 38 56 | 60 | 55

FVE AN R & REIR R B, W /EAC S /5 01 "RN", 41" 1DN9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DN9-22-08RN.

-32-




Hydraulic Adapters

www.lomoflex.com

—

A B
1CT
| INHIINEBL24°5 R A
%/ %, YRR SMIRZ60°
77 \ & METRIC MALE 24°L.T ./
s/ BSPT MALE 60°
= 4 THREADE ET4ME TUBE R ' DIMENSIONS
PART NO. E F 0.0 A B S1 L
1CT-12-02 | M12x1.5| ZG1/8"X28 6 10 10 12 26
1CT-12-04 | M12x1.5| ZG1/4"X19 6 10 14 14 31
1CT-14-04 | M14x1.5| ZG1/4"X19 8 11 14 14 31
1CT-16-04 | M16x1.5| ZG1/4"X19 10 11 14 17 325
1CT-16-06 | M16x1.5| ZG3/8"X19 10 11 14 17 325
1CT-18-04 | M18x1.5| ZG1/4"X19 12 11.5 14 19 31.5
1CT-18-06 | M18x1.5| ZG3/8"X19 12 11.5 14 19 31.5
1CT-18-08 | M18x1.5| zG1/2"X14 12 11.5 19 22 38
1CT-22-08 | M22x1.5| ZG1/2"X14 15 12.5 19 24 39
1CT-22-20 | M22x1.5 | ZG1.1/4"X11 15 125 25 46 50.5
1CT-26-08 | M26x1.5| ZG1/2"X14 18 12 19 27 40
1CT-26-12 | M26x1.5 | ZG3/4"X14 18 12 19.5 27 40
1CT-30-08 M30x2 | ZG1/2"X14 22 14 19 32 43
1CT-30-12 M30x2 | ZG3/4"X14 22 14 19.5 32 43.5
1CT-36-16 M36x2 ZG1"X11 28 16 24 36 51
1CT-36-20 M36x2 | ZG1.1/4"X11 28 16 25 46 54
1CT-45-20 M45x2 | ZG1.1/4"X11 35 18 25 46 56
1CT-52-20 M52x2 | ZG1.1/4"X11 42 19 25 55 61
1CT-52-24 M52x2 | ZG1.1/2"X11 42 19 25 55 61
LT R S R RERE T B WA S J5 N "RN", 41"1 CT-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

-33-




Hydraulic Adapters

www.lomoflex.com

|
=

1DT

NHISMEL24°H AR5/
JHEE SMRL60°
METRIC MALE 24°H.T./

SJ/ BSPT MALE 60°
e 4 THREADE B14AME TUBE R s} DIMENSIONS
PART NO. E F D A B S1 L

1DT-14-04 | M14x1.5| ZG1/4"X19 8 12 14 14 32
1DT-16-04 | M16x1.5| ZG1/4"X19 8 12 14 17 32
1DT-18-04 | M18x1.5| ZG1/4"X19 10 12 14 19 32
1DT-18-06 | M18x1.5| ZG3/8"X19 10 12 14 19 32
1DT-20-04 | M20x1.5| ZG1/4"X19 12 12 14 22 33
1DT-20-06 | M20x1.5| ZG3/8"X19 12 12 14 22 33
1DT-20-08 | M20x1.5| zG1/2"X14 12 12 19 22 38
1DT-22-08 | M22x1.5| ZG1/2"X14 14 14 19 24 41
1DT-24-08 | M24x1.5| ZG1/2"X14 16 14 19 27 42
1DT-30-12 M30x2 | Z2G3/4"X14 20 16 19.5 32 455
1DT-36-16 M36x2 ZG1"X11 25 18 24 36 53
1DT-42-16 M42x2 ZG1"X11 30 20 24 46 57
1DT-42-20 M42x2 | ZG1.1/4"X11 30 20 25 46 53
1DT-52-24 M52x2 | ZG1.1/4"X11 38 22 25 55 64

L AT R S R R B WAL S J5 N "RN", 41"1 CT-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

- 34 -




Hydraulic Adapters

www.lomoflex.com

E
| D1
= 1CT9
%’ 90° AR 24 ° 82 KA/
JEHEE SR L60°
% 90°METRIC MALE 24°L.T./
A BSPT MALE 60°
=) 840 THREADE | % T74M% TUBE U~} DIMENSIONS
PART NO. E F 0.0p A B S1
1CT9-12-02 | M12x1.5| ZG1/8"X28 8 25 25 | 1
1CT9-12-04 | M12x1.5| ZG1/4"X19 6 27 29 | 14
1CT9-14-04 | M14x1.5| ZG1/4"X19 8 27 29 | 14
1CT9-16-06 | M16x1.5 | ZG3/8"X19 10 29 30 | 17
1CT9-18-04 | M18x1.5| ZG1/4"X19 | 12 33 33 | 19
1CT9-18-06 | M18x1.5| zG3/8"X19 | 12 33 33 | 19
1CT9-18-08 | M18x1.5 | ZG1/2"X14 12 37 37 22
1CT9-22-06 | M22x1.5| zG3/8"X19 | 15 37 37 22
1CT9-22-08 | M22x1.5| ZG1/2"X14 | 12 37 37 22
1CT9-26-08 | M26x1.5| ZG1/2"X14 | 18 41 41 27
1CT9-26-12 | M26x1.5 | ZG3/4"X14 18 41 41 27
1CT9-30-12 | M30x2 | ZG3/4"X14 22 41 41 27
1CT9-30-16 | M30x2 | ZG1"X11 22 49 | 49 33
1CT9-36-16 | M36x2 | ZG1"X11 28 46 | 46 33
1CT9-45-20 | M45x2 | zG1.1/4"X11| 35 55 55 | 44
1CT9-52-24 | M52x2 | ZzG1.1/2"X11| 42 57 60 55

FVE AN R AR EIR PR AT B, WP AEACS 5 N "RN", 41" 1 CT9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CT9-22-08RN.

-35-




Hydraulic Adapters

www.lomoflex.com

E
| D1
= 1DT9
%’ 90° A iR L24°/
JHEE SMIRL60 R S
% 90°METRIC MALE 24°/
A BSPT MALE 60° H.T.
;e 4 THREADE HIME TUBE N '} DIMENSIONS
PART NO. E F O.p A B S1

1DT9-14-04 | M14x1.5| ZG1/4"X19 8 27 29 14
1DT9-16-04 | M16x1.5 | ZG1/4"X19 8 29 30 17
1DT9-18-06 | M18x1.5| ZG3/8"X19 10 33 33 19
1DT9-20-04 | M20x1.5 | ZG1/4"X19 12 37 37 22
1DT9-20-06 | M20x1.5| ZG3/8"X19 12 37 37 22
1DT9-22-06 | M22x1.5 | ZG3/8"X19 14 37 37 22
1DT9-22-08 | M22x1.5| ZG1/2"X14 14 37 37 22
1DT9-24-06 | M24x1.5| ZG3/8"X19 16 37 33 24
1DT9-24-08 | M24x1.5| ZG1/2"X14 16 33 37 24
1DT9-30-08 | M30x2 | ZG1/2"X14 20 40 40 27
1DT9-30-12 | M30x2 | ZG3/4"X14 20 40 40 27
1DT9-36-16 | M36x2 ZG1"X11 25 49 49 33
1DT9-42-16 | M42x2 ZG1"X11 30 57 57 44
1DT9-42-20 | M42x2 | ZG1.1/4"X11 30 57 57 44
1DT9-52-20 | M52x2 | ZG1.1/4"X11 38 56 60 55
1DT9-52-24 | M52x2 | ZG1.1/2"X11 38 56 60 55

VR R R R B IR R 5, M AEAC S S5 RN, 41" 1DT9-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1DT9-22-08RN.

- 36 -




Hydraulic Adapters

www.lomoflex.com

- i 1CB
| AHISMBL4" R RIIICHIBLL
o SR60 4 [ 411 £ 4 2 f
S % METRIC MALE 24°SEAL L.T./BSP
J MALE DOUBLE 60°SEAT
1 BONDED SEAL
= 1240 THREADE |4 74M% TUBE N '} DIMENSIONS
PART NO. E F O.Dp A B S1 L
1CB-12-02 | M12x1.5| G1/8"X28 é 10 10 14 26
1CB-12-04 | M12x1.5| G1/4"X19 6 10 12 19 28
1CB-14-02 | M14x1.5| G1/8"X28 8 11 10 14 27
1CB-14-04 | M14x1.5| G1/4"X19 8 11 12 19 29
1CB-14-06 | M14x1.5| G3/8"X19 8 11 13.5 22 32
1CB-16-04 | M16x1.5| G1/4"X19 10 11 12 19 29
1CB-16-06 | M16x1.5| G3/8"X19 10 11 13.5 22 325
1CB-16-08 | M16x1.5| G1/2"X14 10 11 16 27 37
1CB-18-04 | M18x1.5| G1/4"X19 12 11.5 12 19 29.5
1CB-18-06 | M18x1.5| G3/8"X19 12 115 | 13.5 22 32
1CB-18-08 | M18x1.5| G1/2"X14 12 11.5 16 27 36
1CB-18-12 | M18x1.5| G3/4"X14 12 115 | 18.5 32 40
1CB-22-06 | M22x1.5| G3/8"X19 15 125 | 135 22 33
1CB-22-08 | M22x1.5| G1/2"X14 15 125 16 27 37
1CB-26-08 | M26x1.5| G1/2"X14 18 12 16 27 37
1CB-26-12 | M26x1.5| G3/4"X14 18 12 18.5 32 415
1CB-30-12 M30x2 | G3/4"X14 22 14 18.5 32 425
1CB-36-16 M36x2 G1"X11 28 16 20.5 41 48.5
1CB-45-20 M45x2 | G1.1/4"X11 35 18 20.5 50 55.5
1CB-52-24 M52x2 | G1.1/2"X11 42 19 23 55 59
LT R L R AT B W AEAC S )5 N "RN", 41"1CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN.

-37 -




Hydraulic Adapters

www.lomoflex.com

- i 1DB
| ﬁﬁ%‘J%éﬁ%&ZMﬁ%ﬁﬂ/%%ﬁ%ﬁ
78 560 °HH M Bl 7 BV da
< % METRIC MALE 24 °SEALH.T./BSP
J MALE DOUBLE 60°SEAT
St BONDED SEAL
fRE 124 THREADE |%¥ 4% TUBE N '} DIMENSIONS
PART NO. E F D A B S1 L
1DB-14-04 | M14x1.5| G1/4"X19 é 12 12 19 30
1DB-16-04 | M16x1.5| G1/4"X19 8 12 12 19 30
1DB-16-06 | M16x1.5| G3/8"X19 8 12 | 135 22 33
1DB-18-04 | M18x1.5| G1/4"X19 10 12 12 19 30
1DB-18-06 | M18x1.5| G3/8"X19 10 12 | 135 22 33
1DB-18-08 | M18x1.5| G1/2"X14 10 12 16 27 37
1DB-20-04 | M20x1.5| G1/4"X19 12 12 12 22 31
1DB-20-06 | M20x1.5| G3/8"X19 12 12 | 135 22 33
1DB-20-08 | M20x1.5| G1/2"X14 12 12 16 27 37
1DB-22-08 | M22x1.5| G1/2"X14 14 14 16 27 39
1DB-24-06 | M24x1.5| G3/8"X19 16 14 | 135 27 36
1DB-24-08 | M24x1.5| G1/2"X14 16 14 16 27 39
1DB-24-12 | M24x1.5| G3/4"X14 16 14 | 185 32 425
1DB-30-12 M30x2 | G3/4"X14 20 16 18.5 32 44.5
1DB-36-16 M36x2 G1"X11 25 18 20.5 41 50.5
1DB-42-20 M42x2 | G1.1/4"X11 30 20 | 205 50 57.5
1DB-52-24 M52x2 | G1.1/2"X11 38 22 23 55 62
ol R R IR R 5, WEAE A S 5 N "RN", 41" 1DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

- 38 -




Hydraulic Adapters www.lomoflex.com

E
1CB9
7 /% ;
T 90°®%H9Fé§&24f%%9ﬂ/
YR 260 °HE [ % &
%& 90°METRIC MALE 24°L.T.
B St /BSP MALE 60°CONE
foe I#2r THREADE | #F4Mf TUBE U~} DIMENSIONS

PART NO. E F 0.Dp A B S1
1CB9-12-04 | M12x1.5| G1/4"X19 é 29 27 | 14
1CB9-14-04 | M14x1.5 | G1/4"X19 8 29 27 | 14
1CB9-14-06 | M14x1.5 | G3/8"X19 8 30 29 | 17
1CB9-16-04 | M16x1.5 | G1/4"X19 10 30 29 | 17
1CB9-16-06 | M16x1.5 | G3/8"X19 10 30 29 | 17
1CB9-16-08 | M16x1.5 | G1/2"X14 10 37 37 22
1CB9-18-04 | M18x1.5 | G1/4"X19 12 33 33 19
1CB9-18-06 | M18x1.5 | G3/8"X19 12 33 33 19
1CB9-18-08 | M18x1.5| G1/2"X14 12 37 37 22
1CB9-22-06 | M22x1.5| G3/8"X19 15 37 37 22
1CB9-22-08 | M22x1.5| G1/2"X14 15 37 37 22
1CB9-26-08 | M26x1.5| G1/2"X14 18 41 41 27
1CB9-30-12 | M30x2 | G3/4"X14 22 40 | 40 27
1CB9-36-16 | M36x2 G1"X11 28 46 | 46 33
1CB9-45-20 | M45x2 | G1.1/4"X11 35 55 55 44
1CB9-52-24 | M52x2 | G1.1/2"X11 42 61 57 55

FVEAn R AR EIR PR EIT I, WIS AE AT )5 IN"RN", 101"1CB9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB9-22-08RN.

-39 -




Hydraulic Adapters

www.lomoflex.com

1DB9

p7
L 90° A HilFME L 24° F R4/
YLEFHRL60 4t i
Xt 90°METRIC MALE 24°H.T./
B S1 BSP MALE BSP MALE
60°CONE
fo %2y THREADE |4 74M% TUBE JU <} DIMENSIONS

PART NO. E F 0.Dp A B S1
1DB9-14-04 | M14x1.5| G1/4"X19 é 29 27 14
1DB9-16-04 | M16x1.5| G1/4"X19 8 30 29 17
1DB9-16-06 | M16x1.5| G3/8"X19 8 30 29 17
1DB9-18-04 | M18x1.5| G1/4"X19 10 33 33 19
1DB9-18-06 | M18x1.5| G3/8"X19 10 33 33 19
1DB9-18-08 | M18x1.5| G1/2"X14 10 37 37 22
1DB9-20-04 | M20x1.5| G1/4"X19 12 37 37 22
1DB9-20-06 | M20x1.5| G3/8"X19 12 37 37 22
1DB9-20-08 | M20x1.5| G1/2"X14 12 37 37 22
1DB9-22-08 | M22x1.5| G1/2"X14 14 37 37 22
1DB9-24-06 | M24x1.5| G3/8"X19 16 37 33 24
1DB9-24-08 | M24x1.5| G1/2"X14 16 37 33 24
1DB9-24-12 | M24x1.5 | G3/4"X14 16 41 41 27
1DB9-30-12 M30x2 G3/4"X14 20 41 41 27
1DB9-36-08 | M36x2 G1/2"X14 25 49 49 33
1DB9-36-12 M36x2 G3/4"X14 25 49 49 33
1DB9-36-16 | M36x2 G1"X11 25 49 49 33
1DB9-42-20 | M42x2 | G1.1/4"X11 30 55 55 44
1DB9-52-24 | M52x2 | G1.1/2"X11 38 61 57 55

ol sl R LRI R EIT 58, W AEAQ S 5 N "RN", 41" 1DB9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB9-22-08RN.

- 40 -




Hydraulic Adapters

www.lomoflex.com

i B 1CB-WD
N IMRL24° %% RN HREL
60 ° P i i s flg F s 3
i METRIC MALE 24°L.T./BSP
< THREAD WITH CAPTIVE
s1 SEAL
RE A2 THREADE | #4M% TUBE JU ] DIMENSIONS

PART NO. E F 0.Dp A B S1
1CB-12-02WD M12x1.5| G1/8"X28 6 10 10 12
1CB-12-04WD M12x1.5| G1/4"X19 6 10 12 19
1CB-12-06WD M12x1.5| G3/8"X19 6 10 | 135 | 22
1CB-14-02WD M14x1.5| G1/8"X28 8 11 10 14
1CB-14-04WD M14x1.5| G1/4"X19 8 11 12 19
1CB-14-06WD M14x1.5| G3/8"X19 8 11 [ 135 | 22
1CB-16-04WD M16x1.5| G1/4"X19 10 11 12 19
1CB-16-06WD M16x1.5 | G3/8"X19 10 11 [ 135 | 22
1CB-16-08WD M16x1.5| G1/2"X14 10 11 16 27
1CB-18-04WD M18x1.5| G1/4"X19 12 115 | 12 19
1CB-18-06WD M18x1.5| G3/8"X19 12 115 | 135 | 22
1CB-18-08WD M18x1.5| G1/2"X14 12 115 | 16 27
1CB-22-04WD M22x1.5| G1/4"X19 15 125 | 12 22
1CB-22-06WD M22x1.5| G3/8"X19 15 125 | 135 | 22
1CB-22-08WD M22x1.5| G1/2"X14 15 125 | 16 27
1CB-22-12WD M22x1.5| G3/4"X14 15 125 | 185 | 32
1CB-26-08WD M26x1.5| G1/2"X14 18 12 16 27
1CB-26-12WD M26x1.5 | G3/4"X14 18 12 | 185 | 32
1CB-30-12WD M30x2 | G3/4"X14 22 14 | 185 | 32
1CB-36-16WD M36x2 G1"X11 28 16 | 205 | 41
1CB-45-20WD M45x2 | G1.1/4"X11| 35 18 | 205 | 50
1CB-52-24WD M52x2 | G1.1/2"X11 | 42 19 23 55

ol sl R MR EIRREE T 58, WA S 5 N "RN", 41" 1CB-22-08 WD/RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08WD/RN.

- 41 -




Hydraulic Adapters www.lomoflex.com

i B 1DB-WD

I HISNEL24° T R SIS
60° P it %

) METRIC MALE 24°H.T./BSP
%

THREAD WITH CAPTIVE

SEAL
foe I#20  THREADE | % T4M% TUBE JU <} DIMENSIONS
PART NO. E F D A B S1
1DB-14-04W0 M14x1.5| G1/4"X19 6 12 12 19
1DB-16-04WD0 M16x1.5| G1/4"X19 8 12 12 19
1DB-16-06WD0 M16x1.5| G3/8"X19 8 12 13.5 22
1DB-18-04WDQ M18x1.5| G1/4"X19 10 12 12 19
1DB-18-06WD M18x1.5| G3/8"X19 10 12 13.5 22
1DB-18-08WD M18x1.5 | G1/2"X14 10 12 16 27
1DB-20-04WD M20x1.5| G1/4"X19 12 12 12 22
1DB-20-06WD0 M20x1.5| G3/8"X19 12 12 13.5 22
1DB-20-08WD0 M20x1.5| G1/2"X14 12 12 16 27
1DB-22-08WD0 M22x1.5| G1/2"X14 14 14 16 27
1DB-24-06WD0 M24x1.5| G3/8"X19 16 14 13.5 27
1DB-24-08WD M24x1.5 | G1/2"X14 16 14 16 27
1DB-24-12WD M24x1.5 | G3/4"X14 16 14 18.5 32
1DB-30-12WD M30x2 | G3/4"X14 20 16 18.5 32
1DB-42-20WD M42x2 | G1.1/4"X11 30 20 20.5 50
1DB-52-24W0 M52x2 | G1.1/2"X11 38 22 23 55
LW R L R AT B W AEAC S )5 N "RN", 41" 1DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

- 42 -



Hydraulic Adapters

www.lomoflex.com

- B 1CG
NHISMREG24° 5 R A/
YA AMREL O B
% METRIC MALE 24°L.T./
BSP MALE O-RING
fRE 124 THREADE |% T74M% TUBE IN '} DIMENSIONS
PART NO. E F O.Dp A B S1 L

1CG-12-02 | M12x1.5| G1/8"X28 6 10 9 14 25
1CG-12-04 | M12x1.5| G1/4"X19 6 10 12 14 28
1CG-14-04 | M14x1.5| G1/4"X19 8 11 12 14 29
1CG-14-06 | M14x1.5| G3/8"X19 8 11 135 22 32
1CG-14-08 | M14x1.5| G1/2"X14 8 11 16 27 36
1CG-16-04 | M16x1.5| G1/4"X19 10 11 12 19 29
1CG-16-06 | M16x1.5| G3/8"X19 10 11 135 22 32
1CG-16-08 | M16x1.5| G1/2"X14 10 11 16 27 36
1CG-18-06 | M18x1.5| G3/8"X19 12 11.5 | 135 22 32
1CG-18-08 | M18x1.5| G1/2"X14 12 11.5 16 27 36
1CG-22-06 | M22x1.5| G3/8"X19 15 125 | 135 22 33
1CG-22-08 | M22x1.5| G1/2"X14 15 12.5 16 27 37
1CG-22-12 | M22x1.5| G3/4"X14 15 125 | 185 32 41
1CG-26-08 | M26x1.5| G1/2"X14 18 12 16 27 37
1CG-26-12 | M26x1.5| G3/4"X14 18 12 18.5 32 40.5
1CG-30-12 M30x2 | G3/4"X14 22 14 18.5 32 42.5
1CG-30-16 M30x2 G1"X11 22 14 20.5 41 46.5
1CG-36-16 M36x2 G1"X11 28 16 20.5 41 48.5
1CG-45-20 M45x2 | G1.1/4"X11 35 18 20.5 50 55
1CG-52-20 M52x2 | G1.1/4"X11 42 19 20.5 55 56.5
1CG-52-24 M52x2 | G1.1/2"X11 42 19 23 55 59
1CG-52-32 M52x2 G2 42 19 25.5 70 62.5

FA TR B R E IR R T B A EAC S /5 I"RN", 41"1CG-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CG-22-08RN.

- 43 -




Hydraulic Adapters

www.lomoflex.com

bl

1DG

NIINRE24° AR

P AR L O [

METRIC MALE 24°H.T./
BSP MALE O-RING

foe I#20 THREADE | % T4M% TUBE JU <} DIMENSIONS
PART NO. E F D A B S1 L

1DG-14-04 | M14x1.5| G1/4"X19 6 12 12 19 30
1DG-16-04 | M16x1.5| G1/4"X19 8 12 12 19 30
1DG-18-04 | M18x1.5| G1/4"X19 10 12 12 19 30
1DG-18-06 | M18x1.5| G3/8"X19 10 12 13.5 22 33
1DG-20-06 | M20x1.5| G3/8"X19 12 12 13.5 22 33
1DG-20-08 | M20x1.5| G1/2"X14 12 12 16 27 37
1DG-22-06 | M22x1.5| G3/8"X19 14 14 13.5 24 35
1DG-22-08 | M22x1.5| G1/2"X14 14 14 16 27 39
1DG-24-08 | M24x1.5| G1/2"X14 16 14 16 27 39
1DG-30-12 M30x2 | G3/4"X14 20 16 18.5 32 445
1DG-36-16 M36x2 G1"X11 25 18 20.5 41 51.5
1DG-42-16 M42x2 G1"X11 30 20 | 20.5 46 53.5
1DG-42-20 M42x2 | G1.1/4"X11 30 20 | 20.5 50 57.5
1DG-52-24 M52x2 | G1.1/2"X11 38 22 23 55 62

FE T R SRR BT B W AEAC S )5 N "RN", 41"1DG-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1DG-22-08RN.

- 44 -




Hydraulic Adapters

www.lomoflex.com

S2
1CG4-0G
\ Ais 45 SR S04 R T VA R
45°BSP THREAD 24°L.T.ADJUSTABLE
A \g STUD.
s 240 THREADE | % 74M% TUBE R <] DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1CG4-12- M12x1.5 | G1/8"X28 é 20 | 24 | 11 | 14
1CGE-14- M14x1.5 | G1/4"X19 8 22 | 27 | 14 | 19
1Cd4-16- M16x1.5| G1/4"X19 | 10 2 | 27 | 17 | 19
1Cd4-16- M16x1.5 | G3/8"X19 | 10 2 | 30 | 17 | 22
1e54-18- M18x1.5| G3/8"X19 | 12 24 | 31 | 19 | 22
e84 22 M22x1.5 | G1/2"°X14 | 15 27 | 36 | 22 | 27
1e34-26- M26x1.5| G1/2"X14 | 18 33 |375 | 27 | 27
1ee4-26- M26x1.5 | G3/4"X14 | 18 33 | 42 | 27 | 32
1€62-30- M30x2 | G3/4"X14 | 22 33 |425 | 27 | 32
1€64-36- M36x2 | G1"X11 28 37 |445 | 33 | 41
1867-45- M45x2 | G1.1/4"X11| 35 41 |505 | 44 | 50
2006
S2
1DG4-0G
i
i 45 FFAREL 24T 781 T AT
— 45°BSP THREAD 24°H.T.ADJUSTABLE
P ® STUD.
=] ¥4 THREADE |4 F4M% TUBE JU  sf DIMENSIONS
PART NO. E F D A B | st | s2
1DG4-14-040G M14x1.5 | G1/4"X19 6 22 | 27 | 14 | 19
1DG4-16- M16x1.5 | G1/4"X19 8 22 | 27 | 17 | 19
1DG4-18- M18x1.5| G3/8"X19 | 10 24 | 31 | 19 | 22
YBS4-20- M20x1.5| G3/8"X19 | 12 27 | 31 | 22 | 22
1BG4-22- M22x1.5 | G1/2"X14 | 14 27 | 36 | 22 | 27
1DG4-30- M30x2 | G3/4"X14 | 20 33 | 425 | 27 | 32
10G2-36- M36x2 | G1'X11 25 37 | 445 | 33 | 41
1BG7-42- M42x2 | G1.1/4"X11 | 30 41 | 475 | 44 | 50
g%%%%FE&FE%E%EW%M%ER%EMWW@WD@szoamw I 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DG4-22-080G/RN. (the
same with above)

- 45 -




Hydraulic Adapters www.lomoflex.com

F

= 1CG9-0G
’ J{& Q0°HLEFIAL24 % R A ] i 17 Kbt
1

90°BSP THREAD 24°L.T.ADJUSTABLE

g
i

S STUD
o 240 THREADE |% 74M% TUBE |. R~} DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1CG9-12- M12x1.5 | G1/8"X28 é 25 [ 262 | 11 | 14
1€G8-14- M14x1.5 | G1/4"X19 8 29 (313 | 14 | 19
1CG8-16- M16x1.5| G1/4"X19 | 10 30 |325 | 17 | 19
1C39-16- M16x1.5| G3/8"X19 | 10 30 |358 | 17 | 22
1839 18- M18x1.5| G3/8"X19 | 12 33 | 368 | 19 | 22
183922 M22x1.5| G1/2’X14 | 15 37 | 432 | 22 | 27
1e8-26- M26x1.5| G1/2X14 | 18 41 | a6 | 27 | 27
1ee8-30- M30x2 | G3/4"X14 | 22 40 | 52 | 27 | 32
1€58-36- M36x2 |  G1"X11 28 46 | 56 | 33 | 41
18638-45- M45x2 | G1.1/4"X11| 35 55 | 63 | 44 | 50
1C0Y-52- M52x2 | G1.1/2"X11| 42 59 | 685 | 55 | 55
2400 E
S
2

1] 1DG9-0G
’ J{& 00° S AU £r24° T 4] ] i 3
1

iia

90°BSP THREAD 24°H.T.ADJUSTABLE

A S STUD
e 40 THREADE |4 74M% TUBE JU  sf DIMENSIONS

PART NO. E F D A B | sl | s2
1DG9-14-040G M14x1.5 | G1/4"X19 6 29 | 313 | 14 | 19
1DG9-16- M16x1.5 | G1/4"X19 8 30 | 325 | 17 | 19
1DGY-18- M18x1.5| G3/8"X19 | 10 33 | 368 | 19 | 22
YBSY-20- M20x1.5| G3/8"X19 | 12 37 | 368 | 22 | 22
1BeY-22- M22x1.5| G1/2'X14 | 14 37 | 432 | 22 | 27
1BGY-30- M30x2 | G3/4"X14 | 20 40 | 52 | 27 | 32
10G8-36- M36x2 |  G1"X11 25 46 | 56 | 33 | 41
1Be8-42- M42x2 | G1.1/4"X11 | 30 55 | 58 | 44 | 50
b R AR REREEAT 5, MU AE A 5 AIPRN®, 11 DG9-22-080G/RN"([ 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DG9-22-080G/RN. (the
same with above)

- 46 -



Hydraulic Adapters

www.lomoflex.com

. =
7

1CH

N ANRE24° 8 R 511

7N Fi i 111 O 7Y Pl 7
METRIC MALE 24°L.T./
METRIC MALE WITH O-
RING

S1
= 124 THREADE| % 14M% TUBE N '} DIMENSIONS
PART NO. E F 0.Dp A B S L
1CH-12-10 | M12x1.5| M10x1 é 10 8.5 12 24.5
1CH-14 M14x1.5 | M14x1.5 8 11 11 19 28
1CH-14-12 | M14x1.5 | M12x1.5 8 11 11 17 28
1CH-16-14 | M16x1.5 | M14x1.5 10 11 11 19 28
1CH-18-14 | M18x1.5 | M14x1.5 12 11.5 11 19 28.5
1CH-14-18 | M14x1.5 | M18x1.5 8 11 11 24 30
1CH-16 M16x1.5 | M16x1.5 10 11 11 22 29
1CH-16-18 | M16x1.5 | M18x1.5 10 11 11 24 30
1CH-18-16 | M18x1.5 | M16x1.5 12 11.5 11 22 30
1CH-22-16 | M22x1.5 | M16x1.5 12 125 11 24 31
1CH-22-18 | M22x1.5| M18x1.5 15 12.5 11 24 31
1CH-16-22 | M16x1.5 | M22x1.5 10 11 12 27 32
1CH-22-20 | M22x1.5 | M20x1.5 15 12.5 12 27 33
1CH-22 M22x1.5 | M22x1.5 12 12.5 12 27 33
1CH-26-22 | M26x1.5 | M22x1.5 18 12 12 27 33
1CH-26 M26x1.5 | M26x1.5 18 12 13 32 35
1CH-26-27 | M26x1.5| M27x2 18 12 13 32 35
1CH-30-22 M30x2 | M22x1.5 22 14 12 32 36
1CH-30-27 M30x2 M27x2 22 14 13 32 37
1CH-30 M30x2 M30x2 22 14 14 36 39
1CH-36-27 M36x2 M27x2 28 16 13 36 40
LT R L R REE T B ARG S 5 N "RN", 411 CH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CH-22-08RN.

- 47 -




Hydraulic Adapters

www.lomoflex.com

ur
by

1DH

NHIAMRL24° AR/
ML F i ] O 7R Pl 2
METRIC MALE 24°H.T./
METRIC MALE WITH O-

RING
S1
foe I#40  THREADE | #F4M: TUBE JU <} DIMENSIONS
PART NO. E F O.Dp A B S L
1DH-14 M14x1.5 | M14x1.5 8 12 11 19 29
1DH-14-12 | M14x1.5 | M12x1.5 6 12 11 17 29
1DH-16-14 | M16x1.5 | M14x1.5 8 12 11 19 29
1DH-18-16 | M18x1.5 | M16x1.5 10 12 11 22 30
1DH-20-14 | M20x1.5 | M14x1.5 12 12 11 22 30
1DH-20-16 | M20x1.5 | M16x1.5 12 12 11 22 30
1DH-20-18 | M20x1.5 | M18x1.5 12 12 11 24 31
1DH-20-22 | M20x1.5 | M22x1.5 12 12 12 27 33
1DH-24-22 | M24x1.5 | M22x1.5 16 14 12 27 35
1DH-30 M30x2 M30x2 20 16 14 36 41
1DH-30-27 M30x2 M27x2 20 16 13 32 39
1DH-36-27 M36x2 M27x2 25 18 13 36 42
VA RS B AR RERE AT 8, W6 4G 5 5 RN, 11" DH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DH-22-08RN.

- 48 -




Hydraulic Adapters www.lomoflex.com

S2
T{ﬁ A5° )N AMZ S 24 ° 5 Z2 41 B i [A] A v
45°METRIC MALE 24°L.T.ADJUSTABLE
e 22, THREADE| % T-4M% TUBE R ] DIMENSIONS
PART NO. E F 0.Dp A B Sl S2
1CH4-12- M12x1.5 | M10x1 é 20 | 255 | 11 | 14
18P Z-14- M14x15| M12x1.5| 8 2 | 30 | 14 | 17
1€F3-16- M16x1.5 | M14x1.5| 10 22 | 305 | 17 | 19
1EP% 18- M18x1.5 | M16x1.5| 12 24 | 34 | 19 | 22
18P Z-22- M22x1.5 | M18x1.5| 15 27 | 38 | 22 | 24
18R% 26- M26x1.5 | M22x1.5| 18 33 | 405 | 27 | 27
1EFIZ-30- M30x2 | M27x2 | 25 33 | 48 | 27 | 32
7ERZ-36- M36x2 | M33x2 | 28 37 | 495 | 33 | 41
1CFIF-45- M45x2 | M4a2x2 | 35 41 | 55 | 44 | s0
420G
S2
Juis | .
45° N IR L 24 ° T 22 4 A 1R 1) A i
45°METRIC MALE 24°H.T.ADJUSTABLE
A \s1 STUD
o 182 THREADE| # I4M% TUBE R/ DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1DH4-14- M14x1.5 | M12x1.5| &€ 22 | 30 | 14 | 17
16R%-16- M16x1.5 | M14x15| 8 22 | 305 | 17 | 19
1DPE-18- M18x1.5 | M16x1.5| 10 24 | 34 | 19 | 22
1BRE-20- M20x1.5 | M18x1.5| 12 27 | 37 | 22 | 24
1BPE-24- M24x15 | M22x1.5| 16 33 | 40 | 27 | 27
1BFI%-30- M30x2 | M27x2 | 20 33 | 48 | 27 | 32
1bFIZ-36- M36x2 | M33x2 | 25 37 | 495 | 33 | 41
TBFI%-42- M42x2 | M42x2 | 30 41 | 54 | 44 | 50
%%%%%FE&P%%ﬂ%%ﬂﬁ%%@ﬁ%ﬁ%mwwmDm&mnoamﬁﬁi)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DH4-24-220G/RN. (the
same with above)

- 49 -



Hydraulic Adapters www.lomoflex.com

|

1CH9-0G
4« ’ ){k 90° /i AN AL 24 ° 4 F 41 AT I 1) AT i
1

90°METRIC MALE 24°L.T. ADJUSTABLE

A s STUD

o8 1240 THREADE| 4 f4M% TUBE R/ DIMENSIONS

PART NO. E F 0.Dp A B S1 S2
1CHY-12- M12x1.5 | M10x1 é 25 | 265 | 11 | 14
1CRG-14- M14x1.5 | M12x1.5| 8 29 | 32 | 14 | 17
1EPig-16- M16x1.5 | M14x1.5| 10 30 | 3¢ | 17 | 19
1CPig18- M18x1.5 | M16x1.5| 12 33 | 36 | 19 | 22
18P 22- M22x1.5 | M18x1.5| 15 37 | 395 | 22 | 24
18P 26- M26x1.5 | M22x1.5| 18 41 | 435 | 271 | 27
1€F5-30- M30x2 | M27x2 | 25 40 | 50 | 27 | 32
7RG 36- M36x2 | M33x2 | 28 46 | 54 | 33 | 41
330G

.

L 1DH9-0G
’ )‘{& 90° /i AN AL 24 ° L Z 41 AT I 17 AT i
1

-

1

il

90°METRIC MALE 24°H.T. ADJUSTABLE

A S STUD

o= 40  THREADE | % 14M%  TUBE JU I DIMENSIONS

PART NO. E F 0.Dp A B S1 S2
1DH9-14- M14x1.5 | M12x1.5 é 29 | 32 14 17
10P5-16- M16x1.5 | M14x1.5| 8 30 | 34 | 17 | 19
1DHG-18- M18x1.5 | M16x1.5| 10 3 | 36 | 19 | 22
1BF-20- M20x1.5 | M18x1.5| 12 37 | 37 | 22 | 24
1BPg-22- M22x1.5 | M20x1.5| 14 37 | 40 | 22 | 27
TDFY-24- M24x1.5 | M22x1.5| 16 37 | 375 | 24 | 27
7DF5-30- M30x2 | M27x2 | 20 41 | 50 | 27 | 32
7DF9-36- M36x2 | M33x2 | 25 46 | 54 | 33 | 41
S9BH9-420G | Ma2x2 | m42x2 | 30 55 | 572 | 44 | 50
BT RS R R ESIT 52, /AR 2 5 ID"RN", 4171 CB-22-08RN"(Jf L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN. (the same with above)

-50 -



Hydraulic Adapters

www.lomoflex.com

1CJ

INHIAMRL24 ° 1% 25
[ZERIINCT 4 o4k 35 )

METRIC MALE 24°L.T./

JIC 74°CONE SEAL

foe I#2r THREADE | & 14M% TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A B S1 L
1CJ-12-04 | M12x1.5| U7/16"X20 6 10 14 14 30
1CJ-14-04 | M14x1.5 | U7/16"X20 8 11 14 14 31
1CJ-14-06 | M14x1.5| U9/16"X18 8 11 14 | 17 31
1CJ-16-06 | M16x1.5| U9/16"X18 10 11 14 | 17 31
1CJ-18-06 | M18x1.5| U9/16"X18 12 115 | 14 | 19 31.5
1CJ-18-08 | M18x1.5| U3/4"X16 12 115 [ 167 | 22 35
1CJ-22-08 | M22x1.5| U3/4"X16 15 125 | 167 | 24 37
1CJ-22-10 | M22x1.5| U7/8"X14 15 125 | 195 | 24 40
1CJ-26-10 | M26x1.5| U7/8"X14 18 12 | 195 | 27 40
1CJ-26-12 | M26x1.5| U1.1/16"X12 18 12 [ 195 | 30 41.5
1CJ-30-12 M30x2 | U1.1/16"X12 22 14 22 | 32 46
1CJ-36-16 M36x2 | U1.5/16"X12 28 16 23 | 36 50
1CJ-45-20 M45x2 | U1.5/8"X12 35 18 | 245 | 46 55.5
1CJ-52-20 M52x2 | U1.5/8"X12 42 19 | 245 | 55 60.5
1CJ-52-24 M52x2 | U1.7/8"X12 42 19 | 275 | 55 63.5

FA T B R RTINS ZE A S 5 I "RN", 41" 1CJ-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CJ-22-08RN.

-51 -




Hydraulic Adapters

www.lomoflex.com

L
s 2 1DJ
NHIAMEL24° H AR 5
1 TIJICT4HE %
%/‘ 7 METRIC MALE 24°H.T./
SJ/ JIC 74°CONE SEAL
RE 22 THREADE | #T4M2 TUBE JU ] DIMENSIONS
PART NO. E F O0.0p A B Sl L
1DJ-14-04 | M14x1.5| U7/16"X20 6 12 | 14 | 14 32
1DJ-16-04 | M16x1.5 | U7/16"X20 8 12 | 14 | 17 32
1DJ-16-06 | M16x1.5 | U9/16"X18 8 12 | 14 | 17 32
1DJ-18-04 | M18x1.5| U7/16"X20 | 10 12 | 14 | 19 32
1DJ-18-06 | M18x1.5| U9/16"X18 | 10 12 | 14 | 19 32
1DJ-20-06 | M20x1.5 | U9/16"X18 | 12 12 | 14 | 22 33
1DJ-20-08 | M20x1.5| U3/4"X16 12 12 | 167 | 22 36
1DJ-22-08 | M22x1.5| U3/4"X16 14 14 | 16.7 | 24 38
1DJ-24-08 | M24x1.5| U3/4"X16 16 14 | 16.7 | 27 39
1DJ-24-10 | M24x1.5| U7/8"X14 16 14 | 195 | 30 425
1DJ-30-12 M30x2 |U1.1/16"X12| 20 16 | 22 | 32 48
1DJ-36-16 M36x2 |U1.5/16"X12| 25 18 | 23 | 32 52
1DJ-42-20 M42x2 | U1.5/8"X12 | 30 20 | 245 | 46 57.5
1DJ-52-24 | M52x2 | U1.7/8"X12 | 38 22 | 275 | 55 66.5

FVEAN T R AR EIR R AT B, WS AEAC S )5 N "RN", 71" 1DJ-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DJ-22-08RN.

-52-




Hydraulic Adapters

www.lomoflex.com

1CM

NFIINRL24 1 R B

160 ° P HE 17 2 2

PR
HHEE

METRIC MALE 24°L.T.
/60°CONE BONDED SEAL

=] 4 THREADE| % 14M% TUBE JU  sf DIMENSIONS
PART NO. E F D A B S1 L
1CM-14-12 | M14x1.5| M12x1.5 8 11 10 17 29
1CM-14-18 | M14x1.5| M18x1.5 8 11 12 24 33
1CM-16-14 | M16x1.5 | M14x1.5 10 11 11 19 30
1CM-16-16 | M16x1.5| M16x1.5 10 11 12 22 32
1CM-16-18 | M16x1.5| M18x1.5 10 11 12 24 33
1CM-16-22 | M16x1.5 | M22x1.5 10 11 14 27 36
1CM-18-14 | M18x1.5| M14x1.5 12 11.5 11 19 30.5
1CM-18-16 | M18x1.5| M16x1.5 12 11.5 12 22 33
1CM-18-18 | M18x1.5 | M18x1.5 12 11.5 12 24 33
1CM-18-22 | M18x1.5 | M22x1.5 12 11.5 14 27 36
1CM-22-16 | M22x1.5| M16x1.5 15 125 12 22 34
1CM-22-18 | M22x1.5| M18x1.5 15 125 12 24 34
1CM-22 M22x1.5 | M22x1.5 15 125 14 27 37
1CM-26-18 | M26x1.5| M18x1.5 18 12 12 24 34
1CM-26-22 | M26x1.5 | M22x1.5 18 12 14 27 37
1CM-30-22 M30x2 | M22x1.5 22 14 14 30 39
1CM-36-33 M36x2 | M33x2 28 16 18 41 49
LW R SRR BT B W AEAC S )5 N "RN", 41"1CM-18-16RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16RN.

-53-




Hydraulic Adapters www.lomoflex.com

i 1CM-WD

A HIIMBE24° 75

1 160° Py HE T K e

C METRIC MALE 24°L.T./
60°CONE CAPTIVE SEAL

S1
foe ¥4 THREADE| % 141M% TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A B S1
1CM-14- M14x1.5 | M12x1.5 8 11 10 17
e
-16- M16x1.5 | M12x1.5| 10 11 10 17
1eWe- M16x1.5 | M14x1.5| 10 11 | 11 | 19
D)
1cW=t6- M16x1.5 | M18x1.5| 10 11 | 12 | 24
1EM 8- M18x1.5 | M16x1.5| 12 115 | 12 | 22
"9¢M-18wD | M18x1.5| M18x1.5| 12 115 | 12 | 24
1CM-18- M18x1.5 | M22x1.5| 12 15 | 14 27
TEM=22- M22x1.5 | M18x1.5| 15 125 | 12 | 24
"98M-22wD | M22x1.5 | M22x1.5| 15 125 | 14 | 27
1CM-26- M26x1.5 | M22x1.5| 18 12 14 27
W
GIE MR R A RS T 5 I AE A 5 U5 JI"RNY, 1171 CM-18-16WD/RN®
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16WD/RN.

- 54 -



Hydraulic Adapters www.lomoflex.com

: i 1DM

NHISMRL24 RS

160° A HE 7 B 2 % 3
% %/ Z 21 METRIC MALE 24°H.T./
7 60°CONE BONDED SEAL
=] 24 THREADE | & 74Mf  TUBE U sf DIMENSIONS
PART NO. E F D A B S1 L
1DM-14-12 | M14x1.5 | M12x1.5 é 12 10 17 30
1DM-16-14 | M16x1.5 | M14x1.5 8 12 11 19 31
1DM-18-16 | M18x1.5 | M16x1.5 10 12 12 22 33
1DM-20-18 | M20x1.5 | M18x1.5 12 12 12 24 34
1DM-20-22 | M20x1.5 | M22x1.5 12 12 14 27 37
1DM-24-18 | M24x1.5| M18x1.5 16 14 12 27 37
1DM-24-22 | M24x1.5 | M22x1.5 16 14 14 27 39
LT R SRR BT B WA AEAC S J5 N "RN", 41"1DM-20-22RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-22RN.

5 B 1DM-WD

NHISMRL24° H R )
160° P HE I BB 3

2 METRIC MALE 24°H.T./
60°CONE CAPTIVE SEAL
foe I#Z40  THREADE | #F4M% TUBE JU <} DIMENSIONS

PART NO. E F 0.Dp A B S1
1DM-14- M14x1.5 | M12x1.5| 6 12 | 10 | 17
1oMH6- M16x1.5 | M14x1.5| 8 12 | 11 | 19
1DWMHs- M18x1.5 | M16x1.5| 10 12 | 12 | 22
1BWE0- M20x1.5 | M18x1.5| 12 12 | 12 | 24
1BWVE4- M24x1.5 | M22x1.5| 14 14 | 14 | 27

yv A - 0 by N S " " " "
G Rt bt 2 R MR RS T 5, MU 4% 53 PR, 0 DM-20-18WD/RN
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-18WD/RN.

-55.



Hydraulic Adapters

www.lomoflex.com

bl

1CO

RNHISMEL24 5 RS
I AISNRELOM el 8
METRIC MALE 24°L.T /

SAE MALE O-RING

foe X2 THREADE | #F4Mf TUBE JU <} DIMENSIONS
PART NO. E F O.Dp A B S| L
1C0O-14-04 | M14x1.5| U7/16"X20 8 11 10 14 27
1C0O-16-04 | M16x1.5 | U7/16"X20 10 11 10 17 27
1C0O-18-06 | M18x1.5| U9/16"X18 12 11.5 12 19 29.5
1C0O-18-08 | M18x1.5| U3/4"X16 12 11.5 12 24 31
1CO-18-10 | M18x1.5| U7/8"X14 12 115 | 13.5 27 34
1C0-22-08 | M22x1.5| U3/4"X16 15 125 12 24 32
1C0-22-10 | M22x1.5| U7/8"X14 15 125 | 135 27 35
1C0-22-12 | M22x1.5 | U1.1/16"X12 15 12.5 16 32 38.5
1C0O-26-08 | M26x1.5| U3/4"X16 18 12 12 27 33
1C0-26-10 | M26x1.5| U7/8"X14 18 12 13.5 27 34
1C0O-30-08 M30x2 U3/4"X16 22 14 12 32 36
1C0O-30-10 M30x2 u7/8"X14 22 14 13.5 32 37.5
1C0O-30-12 M30x2 | U1.1/16"X12 22 14 16 32 40
1C0O-30-16 M30x2 | U1.5/16"X12 22 14 17 41 43
1C0O-36-16 M36x2 | U1.5/16"X12 28 16 17 41 45
1C0O-45-16 M45x2 | U1.5/16"X12 35 18 17 46 48
1C0-45-20 M45x2 | U1.5/8"X12 35 18 18 50 53
1C0O-52-20 M45x2 | U1.5/8"X12 42 19 18 55 54
AT R B R REE T B A EAC S /5 I "RN", 41"1CO-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CO-22-08RN.

- 56 -




Hydraulic Adapters

www.lomoflex.com

bl

1DO

NHISNRL24 ° FE AR

I3RS MERLOM ] # £

METRIC MALE 24°H.T./
SAE MALE O-RING

fLE 1240 THREADE | & TF4M% TUBE N '} DIMENSIONS
PART NO. E F O.0p A B S| L
1DO-16-04 | M16x1.5 | U7/16"X20 8 12 10 17 28
1DO-18-06 | M18x1.5| U9/16"X18 10 12 12 19 30
1D0-20-06 | M20x1.5| U9/16"X18 12 12 12 22 31
1D0O-20-08 | M20x1.5| U3/4"X16 12 12 12 24 32
1D0-24-08 | M24x1.5| U3/4"X16 16 14 12 24 34
1D0O-24-10 | M24x1.5| U7/8"X14 16 14 13.5 27 36
1DO-30-08 M30x2 U3/4"X16 20 16 12 32 38
1D0O-30-10 M30x2 u7/8"X14 20 16 13.5 32 39.5
1D0O-30-12 M30x2 | U1.1/16"X12 20 16 16 32 42
1D0O-36-16 M36x2 | U1.5/16"X12 25 18 17 41 47
1D0-42-16 M42x2 | U1.5/16"X12 30 20 17 46 50
1D0-42-20 M42x2 | U1.5/8"X12 30 20 18 50 55
1D0O-52-20 M52x2 | U1.5/8"X12 38 22 18 55 57
FA TR B R RRE T B A EAC S /5 I "RN", 41" 1DO-24-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DO-24-08RN.

- 57 -




Hydraulic Adapters www.lomoflex.com

-
1C0O9-0G
S2
f/ =
7 90° A HIAMBL24° % Z 51
‘Qﬁ | 5 I MR R RS
_— 90°METRIC 24°L.T.
A ){@ /SAE MALE ADJUSTABLE STUD
foe I#4r  THREADE |# 7*4M% TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A B S1 )
1C09-12- M12x1.5 | U7/16"X20 | 6 25 (272 | 11 | 17
1C08-14- M14x1.5 | U9/16"X18 | 8 29 | 318 | 14 | 19
1808-16- M16x1.5 | U9/16"X18 | 10 30 | 333 17 | 19
18'35.18- M18x1.5| U3/4"X16 | 12 33 | 375 | 19 | 24
120922 M22x1.5 | U3/4"X16 | 15 37 | 44 | 22 | 27
1€09-22- M22x1.5 | U7/8"X14 | 15 37 | 395 | 22 | 24
1898-26- M26x1.5 |U1.1/16"X12| 18 41 | 51 | 27 | 32
1€38-30- M30x2 [U1.1/16"X12| 22 41 535 | 27 | 32
1€08-36- M36x2 |U1.516"X12| 28 49 | 575 | 33 | 41
1€08-45- M45x2 | U1.5/8"X12 | 35 55 | 63 | 44 | 50
1008-52- M52x2 | U1.7/8"X12 | 42 59 | 705 | 55 | 55
240G F
S2 % 1 DOQ'OG
4
R~
7 90° Al HMEL24° F R 5|
f/( ‘ I3 MR 8 1 A
\ 90°METRIC 24°H.T.
A ){& /SAE MALE ADJUSTABLE STUD
fo= 22y THREADE |#14M%: TUBE ] I DIMENSIONS
PART NO. E F O.Dp A B S1 S2
1D09-14-040G M14x1.5 | U7/16"X20 | @ 29 | 30 | 14 | 17
1D09-16- M16x1.5 | U9/16"X18 | 8 30 333 | 17 | 19
1B09-18- M18x1.5 | U9/16"X18 | 10 33 335 | 19 | 19
1BJ8-20- M20x1.5 | U3/4"X16 | 12 37 [375 | 22 | 24
1B09-24- M24x1.5 | U7/8"X14 | 16 37 465 | 24 | 27
1B38-30- M30x2 [U1.1/16"X12| 20 41 | 535 | 27 | 32
1008-36- M36x2 [U1.5/16"X12| 25 49 | 575 | 33 | 41
1B08-42- M42x2 | U1.5/8"X12 | 30 57 | 595 | 44 | 50
eV R A R SRR AT 5 U8 55 "R, 41" DO9-20-08RN" () L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D09-20-08RN. (the same with above)

-58 -



Hydraulic Adapters www.lomoflex.com

— 1CW

% A HISMEL24° 4% R AN HRHE K
% METRIC MALE 24°L.T./WELD
J FITTINGS
S1
=] ¥4 THREADE |4 74M% TUBE JU I DIMENSIONS
PART NO. E D D A B D S1 L
1CW-12-06 | M12x1.5 6 6 10 | 7 | 10| 12| 23
1CW-14-08 | M12x1.5 8 8 11 8 12 14 25
1CW-16-10 | M16x1.5 10 10 1" 8 14 17 25
1CW-18-12 | M18x1.5 12 12 11.5 8 16 19 255
1CW-22-15 | M22x1.5 15 15 125 10 19 22 30
1CW-26-22 | M26x1.5 18 22 12 10 27 27 32
1CW-30-22 M30x2 22 22 14 12 27 32 37
1CW-30-25 M30x2 22 25 14 12 31 32 37
1CW-36-28 M36x2 28 28 16 12 32 36 39
1CW-45-35 M45x2 35 35 18 14 40 46 45
1CW-52-42 M52x2 42 42 19 16 46 55 52
L
A B
— 1DW
% KNHIIMRLS24 ° R Rk
% METRIC MALE 24°H.T./WELD
J FITTINGS
S1
=] g THREADE | & F#M% TUBE JU  ~F DIMENSIONS
PART NO. E 0.Dp D A B D S1 L
1DW-14-06 | M14x1.5 6 6 12 | 7 | 11 | 14 | 25
1DW-16-08 | M16x1.5 8 8 12 8 13 17 26
1DW-18-10 | M18x1.5 10 10 12 8 15 19 26
1DW-20-12 | M20x1.5 12 12 12 10 17 22 29
1DW-24-16 | M24x1.5 16 16 14 10 21 27 33
1DW-30-20 M30x2 20 20 16 12 26 32 38
1DW-36-25 M36x2 25 25 18 12 31 41 42
1DW-42-30 M42x2 30 30 20 14 36 46 47
1DW-52-38 M52x2 38 38 22 16 44 55 55
BV R R IR RERET 5, U 46 4R 5 RN, 41" DW-20-12RN" ([ 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DW-20-12RN. (the same with above)

-59-




Hydraulic Adapters www.lomoflex.com

S2

2BC-WD
| INHIBRE24 8 RN HEATIRAL
W Y 604 4L £ Hy 2
7 METRIC FEMALE 24°L.T./BSP
cl s/

MALE DOUBLE 60°SEAT

BONDED SEAL
o 24 THREADE | % 14M% TUBE R~} DIMENSIONS
PART NO. E F 0.Dp A o] S1 S2
2BC-02-12WD0 G1/8"X28 | M12x1.5 é 10 2 14 17
2BC-04-14WD0 G1/4"X19 | M14x1.5 8 12 | 35 | 19 19
2BC-04-16WD0 G1/4"X19 | M16x1.5| 10 12 | 35 | 19 22
2BC-06-18WD0 G3/8"X19 | M18x1.5| 12 135 | 35 | 22 24
2BC-08-22WD G1/2"X14 | M22x1.5| 15 16 3 27 27
2BC-08-26WD0 G1/2"X14 | M26x1.5| 18 16 | 35 27 32
2BC-12-30WD0  G3/4"X14 | M30x2 22 185 | 45 32 36
2BC-16-36WD0  G1"X11 M36x2 28 205 | 45 | 41 41
2BC-20-45WD G1.1/4"X11 | M45x2 35 205 | 55 50 55
2BC-24-52WD0 G1.1/2"X11 | M52x2 42 23 | 65 55 60

S2

2BD-WD
| A HIBL24° T R SIS R
W Y 60 i £ 5
7 METRIC FEMALE 24°H.T./BSP

MALE DOUBLE 60°SEAT
BONDED SEAL

=] 40 THREADE |4 F4M% TUBE JU  sf DIMENSIONS
PART NO. E F D A C S1 S2
2BD-04-14WD0 G1/4"X19 | M14x1.5 6 12 3 19 19
2BD-04-16WD0 G1/4"X19 | M16x1.5 8 12 | 35 | 19 22
2BD-06-18WD G3/8"X19 | M18x1.5| 10 135 | 3 22 | 24
2BD-06-20WD0 G3/8"X19 | M20x1.5| 12 135 | 3 22 | 27
2BD-08-22WD G1/2"X14 | M22x1.5| 14 16 | 25 | 27 | 27
2BD-08-24WD G1/2"X14 | M24x1.5| 16 16 | 35 | 27 30
2BD-12-30WD0 G3/4"X14 | M30x2 20 185 | 4.5 32 36
2BD-16-36W0  G1'X11 | M36x2 25 205 | 35 | 41 41
2BD-20-42W0 G1.1/4"X11| M42x2 30 205 | 55 50 50
2BD-24-52W0 G1.1/2"X11| M52x2 38 23 7 55 | 60

-60 -



Hydraulic Adapters

www.lomoflex.com

S2 A
/ 2JC

\ | SETHIIIC TA°HEBE 323 1 A 12
W a L4 HEO L I 1 2 151

K 2 ' JIC 74°CONE SEALING/METRIC

c o/ FEMALE 24°CONE O-RING SEALING
LT.

foe I#20  THREADE |4 74M2 TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A c S1 S2
2JC-04-12 U7/16"X20 | M12x1.5 é 14 2 14 17
2JC-04-14 U7/16"X20 | M14x1.5 8 14 3.5 14 19
2JC-05-14 U1/2"X20 | M14x1.5 8 14 3.5 14 19
2JC-05-16 U1/2"X20 | M16x1.5 10 14 3.5 17 22
2JC-06-14 U9/16"X18 | M14x1.5 8 14 3.5 17 19
2JC-06-16 U9/16"X18 | M16x1.5 10 14 3.5 17 22

2JC-06-18 uU9/16"X18 | M18x1.5 12

14 3.5 17 24

2JC-08-18 U3/4"X16 | M18x1.5 12

16.7 3.5 22 24

2JC-08-22 U3/4"X16 | M22x1.5 15

16.7 3 22 27

2JC-10-22 U7/8"X14 | M22x1.5 15

19.5 3 24 27

2JC-10-26 U7/8"X14 | M26x1.5 18

19.5 3.5 27 32

2JC-12-26 |U1.1/16"X12| M26x1.5 18

22 3.5 27 32

2JC-12-30 |U1.1/16"X12| M30x2 22

22 4.5 30 36

2JC-16-36 |U1.5/16"X12| M36x2 28

23 4.5 36 41

2JC-16-45 |U1.5/16"X12| M45x2 35

23 5.5 46 55

2JC-20-45 | U1.5/8"X12 | M45x2 35

245 | 55 46 55

2JC-20-52 | U1.5/8"X12 | Mb52x2 42

245 | 6.5 50 60

2JC-24-52 | U1.7/8"X12 | M52x2 42

275 | 6.5 50 60

- 61 -




Hydraulic Adapters

www.lomoflex.com

S2

=

2

2JD

FHIIIC 74 a4/ 22 1 P IR
Z24° O [l % B T AR 5

JIC 74°CONE SEALING/METRIC
FEMALE 24°CONE O-RING SEALING

H.T.
foe I#20  THREADE | & 14M% TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A C Sl 2
2JD-04-14 | U7/16"X20 | M14x1.5 8 14 3 14 19
2JD-04-16 | U7/16"X20 | M16x1.5 8 14 | 35 | 17 22
2JD-04-18 | U7/16"X20 | M18x1.5| 10 14 17 24
2JD-05-18 | U1/2"X20 | M18x1.5| 10 14 17 24
2JD-06-16 | U9/16"X18 | M16x1.5 8 14 | 35 | 17 22
2JD-06-18 | U9/16"X18 | M18x1.5| 10 14 3 17 24
2JD-06-20 | U9/16"X18 | M20x1.5| 12 14 19 27
2JD-06-22 | U9/16"X18 | M22x1.5| 14 14 | 25 | 22 | 27
2JD-08-22 | U3/4"X16 | M22x1.5| 14 16.7 | 25 | 22 | 27
2JD-08-24 | U3/4"X16 | M24x1.5| 16 16.7 | 35 | 24 | 30
2JD-10-30 | U7/8"X14 | M30x2 20 195 | 45 | 30 | 36
2JD-10-36 | U7/8"X14 | M36x2 25 195 | 35 | 36 | 41
2JD-12-30 |U1.1/16"X12| M30x2 20 22 | 45 | 30 | 36
2JD-12-36  |U1.1/16"X12| M36x2 25 22 | 35 | 36 | 41
2JD-16-42 |U1.5/16"X12| M42x2 30 23 | 55 | 41 50
2JD-20-42 | U1.5/8"X12 | M42x2 30 245 | 55 | 46 | 50
2JD-20-52 | U1.5/8"X12 | M52x2 38 245 | 7 50 | 60
2JD-24-52 | U1.7/8"X12 | M52x2 38 275 50 | 60

- 62 -




Hydraulic Adapters

www.lomoflex.com

=

2GC

N HIBRE24 ° % R A HEO R el /

JEIREL O%Y Pl
METRIC FEMALE 24°L.T.CONE O-
RING/
c BSP MALEO-RING
o5 B84 THREADE |#7T4M% TUBE JU - DIMENSIONS
PART NO. E F D A C Sl 2
26C-02-12 | G1/8"X28 | M12x1.5| 6 9 2 14 | 17
2GC-04-14 | G1/4"X19 | M14x1.5| 8 12 | 35 | 19 | 19
2GC-04-16 | G1/4"X19 | M16x1.5| 10 12 | 35 | 19 | 22
2GC-06-18 | G3/8"X19 | M18x1.5| 12 135 | 35 | 22 | 24
2GC-08-22 | G1/2"X14 | M22x1.5| 15 16 3 27 | 27
2GC-08-26 | G1/2"X14 | M26x1.5| 18 16 | 35 | 27 | 32
2GC-12-30 | G3/4"X14 | M30x2 22 185 | 45 | 32 | 36
2GC-16-36 G1"X11 | M36x2 28 205 | 45 | 41 | 41
2GC-20-45 | G1.1/4"X11| M45x2 35 205 | 55 | 50 | 55
2GC-24-52 | G1.1/2"X11| M52x2 42 23 | 65 | 55 | 60
S2 S1
[ [ A
i 2GD
l I NHIIREI24 ° T 2 51 HEO R e/
M JUEIRGL O Bl Bt
METRIC FEMALE 24°H.T.CONE O-
RING/
C BSP MALEO-RING
e 24 THREADE | T4Mf TUBE JU  +] DIMENSIONS
PART NO. E F 0.Dp A C S1 S2
2GD-04-14 | G1/4'X19 | M14x15| & 12 3 19 | 19
2GD-04-16 | G1/4"X19 | M16x1.5| 8 12 | 35 | 19 | 22
2GD-06-18 | G3/8"X19 | M18x1.5| 10 13.5 22 | 24
2GD-06-20 | G3/8"X19 | M20x1.5| 12 13.5 22 | 27
2GD-08-22 | G1/2"'X14 | M22x1.5| 14 16 | 25 | 27 | 27
2GD-08-24 | G1/2"X14 | M24x1.5| 16 16 | 35 | 27 | 30
2GD-12-30 | G3/4"X14 | M30x2 20 185 | 45 | 32 | 36
2GD-16-36 G1"X11 | M36x2 25 205 | 35 | 41 | 41
2GD-20-42 | G1.1/4"X11| M42x2 30 205 | 55 | 50 | 50
2GD-24-52 | G1.1/2"X11| M52x2 38 23 7 55 | 60

-63 -




Hydraulic Adapters

www.lomoflex.com

S2

A
/)) IR SR A B A ) R 24
A ) HE O A 35 5 21
o J METRIC THREAD /METRIC
S1 FEMALE
24°CONE O-RING SEAL L.T.
= 24 THREADE| & 141M% TUBE JU <} DIMENSIONS
PART NO. E F O.Dp A C S1 S2
2MC-12- M12x1.5 | M14x15| 8 10 | 35 | 17 | 19
INMC14- M14x1.5 | M16x1.5| 10 1 | 35 | 19 | 22
hétrs. M16x1.5 | M18x1.5| 12 12 | 35 | 22 | 24
ks M18x1.5| M22x1.5| 15 12 3 | 24 | 27
SRIC20- M22x1.5 | M26x1.5| 18 14 | 35 | 27 | 32
Z20WD
S2
A
@' IR B R B 24 ©
22 e O 6 41 5 51
o J METRIC THREAD /METRIC
S1 FEMALE
24°CONE O-RING SEAL H.T.
fon 4 THREADE| % T4}% TUBE R -} DIMENSIONS
PART NO. E F D A c | s1 ] s
2MD-12- M12x15| M1ax1.5| & 10 3 | 17 | 19
MO4- M14x15| Mi6x1.5| 8 11 | 35 | 19 | 22
R 6- M16x1.5 | M18x1.5| 10 12 3 | 22| 24
SR 8- M18x15 | M20x1.5| 12 12 3 | 24 | 27
R o- M22x15 | M22x1.5| 16 14 | 35 | 27 | 30
24WD

- 64 -




Hydraulic Adapters www.lomoflex.com

A
5CB
/L NHIMREL24 ° e B [9eE AIREL
W METRIC MALE 24°L.T./BSP FEMALE
s
foe ¥4 THREADE | 74M%2 TUBE JU <} DIMENSIONS
PART NO. E F O.Dp A S|
5CB-12-02 | M12x1.5| G1/8"X28 é 10 14
5CB-12-04 | M12x1.5| G1/4"X19 6 10 19
5CB-14-04 | M14x1.5| G1/4"X19 8 11 19
5CB-14-06 | M14x1.5| G3/8"X19 8 11 24
5CB-14-08 | M14x1.5| G1/2"X14 8 11 27
5CB-16-04 | M16x1.5| G1/4"X19 10 11 19
5CB-16-06 | M16x1.5| G3/8"X19 10 11 24
5CB-16-08 | M16x1.5| G1/2"X14 10 11 27
5CB-18-04 | M18x1.5| G1/4"X19 12 11.5 19
5CB-18-06 | M18x1.5| G3/8"X19 12 11.5 24
5CB-18-08 | M18x1.5| G1/2"X14 12 11.5 27
5CB-22-06 | M22x1.5| G3/8"X19 15 12.5 24
5CB-22-08 | M22x1.5| G1/2"X14 15 12.5 27
5CB-26-08 | M26x1.5| G1/2"X14 18 12 27
5CB-30-12 M30x2 | G3/4"X14 22 14 36
5CB-36-16 M36x2 G1"X11 28 16 41
5CB-45-20 M45x2 | G1.1/4"X11 35 18 55
5CB-52-24 M52x2 | G1.1/2"X11 42 19 60
LW R L R R B W AEAC S )5 N "RN", 41"5CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 5CB-22-08RN.

- 65 -



Hydraulic Adapters

www.lomoflex.com

-

5DB

W HIIRE24° H R DR IR
METRIC MALE 24°H.T./BSP

At FEMALE
st/
= 124 THREADE |%7T4M%: TUBE IN '} DIMENSIONS
PART NO. E F D A S1
5DB-14-04 | M14x1.5| G1/4"X19 é 12 19
5DB-16-04 | M16x1.5| G1/4"X19 8 12 19
5DB-18-06 | M18x1.5| G3/8"X19 10 12 24
5DB-20-06 | M20x1.5| G3/8"X19 12 12 24
5DB-20-08 | M20x1.5| G1/2"X14 12 12 24
5DB-22-08 | M22x1.5| G1/2"X14 14 14 30
5DB-24-08 | M24x1.5| G1/2"X14 16 14 30
5DB-30-12 M30x2 | G3/4"X14 20 16 36
5DB-36-16 M36x2 G1"X11 25 18 41
5DB-42-20 M42x2 | G1.1/4"X11 30 20 55
5DB-52-24 M52x2 | G1.1/2"X11 38 22 60
FE N R E LR EIR PR EIT B, W AE AT )5 IN"RN", 41"5DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 5DB-22-08RN.

- 66 -




Hydraulic Adapters

www.lomoflex.com

A

-

5CM

INHIRE24 5 R I IREL
METRIC MALE 24°L.T./METRIC

9% FEMALE
s
= 124 THREADE| & 14M% TUBE N '} DIMENSIONS
PART NO. E F O.Dp A S|
5CM-12-10 | M12x15| M10xt | 6 10 14
5CM-14-12 | M14x1.5 | M12x1.5 8 11 17
5CM-16-14 | M16x1.5 | M14x1.5 10 11 19
5CM-18-16 | M18x1.5| M16x1.5 12 11.5 22
5CM-22-18 | M22x1.5 | M18x1.5 15 12.5 24
5CM-26-22 | M26x1.5 | M22x1.5 18 12 30
5CM-30-26 M30x2 | M26x1.5 22 14 32
5CM-36-33 M36x2 M33x2 28 16 41
5CM-45-42 M45x2 M42x2 35 18 55
5CM-52-48 M52x2 M48x2 42 19 60
A
SDM
| A TIURE24 5 F B T YIS
% METRIC MALE 24°H.T./METRIC
7% FEMALE
s
o BRAL & T4ME TUBE R <} DIMENSIONS
PART NO. E F 0.Dp A S1
5DM-14-12 | M14x1.5 | M12x1.5 8 12 17
5DM-16-14 | M16x1.5 | M14x1.5 8 12 19
5DM-18-16 | M18x1.5 | M16x1.5 10 12 22
5DM-20-18 | M20x1.5 | M18x1.5 12 12 24
5DM-22-20 | M22x1.5 | M20x1.5 14 14 27
5DM-24-22 | M24x1.5 | M22x1.5 16 14 30
5DM-30-27 M30x2 | M27x1.5 20 16 36
5DM-36-33 M36x2 M33x2 25 18 41
5DM-42 M42x2 M42x2 30 20 55
5DM-52-48 M52x2 M48x2 38 22 60
FVE A R AR EIR PR EAT B, WIS AE AT 5 IN"RN", 201"5DM-20-18RN"(I] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 5DM-20-18RN. (the same with above)

- 67 -




Hydraulic Adapters www.lomoflex.com

E
D3
[ m—
i AC
/;
I n ke
NHIANRE 245 R 1) 3l
\ METRIC MALE 24°L.T. TEE
A \s1,
foe I#240  THREADE| % 141M% TUBE JU <} DIMENSIONS
PART NO. E B4p2,03 A S1
AC-12 M12x1.5 6 23 11
AC-14 M14x1.5 8 27 14
AC-16 M16x1.5 10 29 17
AC-18 M18x1.5 12 32 19
AC-22 M22x1.5 15 33 22
AC-26 M26x1.5 18 40 27
AC-30 M30x2 22 40 27
AC-36 M36x2 28 46 33
E
D3
—
n AD
./

AISMRG24°F R Y| =1

\ METRIC MALE 24°H.T. TEE
A \gA

fLE 124 THREADE| % 14M% TUBE N '} DIMENSIONS

PART NO. E B4p2,03 A Sl

AD-14 M14x1.5 6 27 14

AD-16 M16x1.5 8 29 17

AD-18 M18x1.5 10 32 19

AD-20 M20x1.5 12 33 22

AD-22 M22x1.5 14 33 22

AD-24 M24x1.5 16 33 24

AD-30 M30x2 20 40 27

AD-33 M33x2 22 46 33

AD-42 M42x2 30 57 44
LT R SRR BT B ARG S J5 N "RN", W1"AD-22RN"([] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example AD-22RN. (the same with above)

-68 -



Hydraulic Adapters www.lomoflex.com

F
S _ :
2\ !
BC
— AT BRZ24 °1 2 il Mg
{ | | ‘ £24°1% F5| =3l
X METRIC FEMALE
\_ 24°/METRIC MALE
x Stz 24°L.T. TEE
R I#24  THREADE| ¥ 74M2  TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp D A C S1 S2
BC-12 M12x1.5 | M12x15| & 8 23 2 11 17
BC-14 M14x1.5 | M14x1.5| 8 8 27 | 35 | 14 | 19
BC-16 M16x1.5 | M16x1.5| 10 10 29 | 35 | 17 | 22
BC-18 M18x1.5 | M18x1.5| 12 12 32 35 | 19 | 24
BC-22 M22x1.5 | M22x1.5| 15 15 33 3 22 | 27
BC-26 M26x1.5 | M26x1.5| 18 18 40 | 35 | 27 | 32
BC-30 M30x2 | M30x2 | 22 22 40 | 45 | 27 | 36
BC-36 M36x2 | M36x2 | 28 28 46 | 45 | 33 | 41
F
Y e/l

BD

fiTV NI BELL24 °1 )8 I A E
| ! { Lr24°F Z 51| it

\ METRIC FEMALE
\_ 24°/METRIC MALE
A St 24°H.T. TEE
=] I#4r  THREADE | & 74Mf TUBE JU  sf DIMENSIONS
PART NO. E F O.Dp D A C S1 S2
BD-14 | M14x1.5| M14x15| & 6 27 | 3 | 14 | 19
BD-16 M16x1.5 | M16x1.5 8 8 29 35 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 25 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 35 24 30
BD-30 M30x2 M30x2 20 20 40 45 27 36
BD-36 M36x2 M36x2 25 25 46 3.5 33 41
BD-42 M42x2 M42x2 30 30 57 5.5 44 50
LT R SRR R B AR S )5 N "RN", 41"BD-22RN"([] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example BD-22RN. (the same with above)

- 69 -



Hydraulic Adapters

www.lomoflex.com

=

CC

NHISNMRL24° 12 A
BRLr24° k2 R Y| =1

\ METRIC MALE
A \g vy 24°/METRIC FEMALE
24°L.T. TEE
RE A2 THREADE | ¥ 74M%2 TUBE JU ] DIMENSIONS
PART NO. E F 0.Dp D A C S1 S2
cc-12 | M12x1.5| M12x15| @ 8 23 | 2 | 11 | 17
CC-14 M14x1.5 | M14x1.5 8 8 27 | 35 14 19
CC-16 M16x1.5 | M16x1.5| 10 10 29 | 35 17 22
cC-18 M18x1.5 | M18x1.5| 12 12 32 | 35 19 24
CC-22 M22x1.5 | M22x1.5| 15 15 33 3 22 27
CC-26 M26x1.5 | M26x1.5| 18 18 40 | 35 27 | 32
CC-30 M30x2 | M30x2 22 22 40 | 45 27 | 36
CC-36 M36x2 | M36x2 28 28 46 | 45 33 | #
E
D2
CD
c
g 2
fjv %" ANHISMEL24°1 A HIN
{ | - WRL24° T R i
\ METRIC MALE
A \g vd 24°/METRIC FEMALE
24°H.T. TEE
R 22 THREADE| & 1'4M%  TUBE JU ] DIMENSIONS
PART NO. E F 0.Dp D A o] S1 S2
BD-14 M14x1.5 | M14x1.5 6 8 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 | 35 | 17 22
BD-18 M18x1.5 | M18x1.5| 10 10 32 19 24
BD-20 M20x1.5 | M20x1.5| 12 12 33 22 | 27
BD-22 M22x1.5 | M22x1.5| 14 14 33 | 25 | 22 | 27
BD-24 M24x1.5 | M24x1.5| 16 16 33 | 35 | 24 | 30
BD-30 M30x2 | M30x2 20 20 40 | 45 | 27 | 36
BD-36 M36x2 | M36x2 25 25 46 | 35 | 33 | 41
BD-42 M42x2 | M42x2 30 30 57 | 55 | 44 | 50

VR R R R R IR BT B WG RS S5 RN, W"BD-22RN" (] |
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example BD-22RN.

(the same with above)

- 70 -




Hydraulic Adapters www.lomoflex.com

XC

NFIIMEL24° 5 R 51 VU3E
METRIC MALE 24°L.T. CROSS

A

o ##4r  THREADE| & 74Mf  TUBE JU I DIMENSIONS
PART NO. E 0.Dp A S1
XC-12 M12x1.5 6 23 11
XC-14 M14x1.5 8 27 14
XC-16 M16x1.5 10 29 17
XC-18 M18x1.5 12 32 19
XC-22 M22x1.5 15 33 22
XC-26 M26x1.5 18 40 27
XC-30 M30x2 22 40 27
XC-33 M33x2 25 46 33

XD

NSRS 24 °F R 5 PUIE
METRIC MALE 24°H.T. CROSS

A

foe I#40  THREADE| #14M% TUBE JU <} DIMENSIONS

PART NO. E 0.Dp A S1

XD-14 M14x1.5 6 27 14

XD-16 M16x1.5 8 29 17

XD-18 M18x1.5 10 32 19

XD-20 M20x1.5 12 32 19

XD-22 M22x1.5 14 33 22

XD-24 M24x1.5 16 33 24

XD-30 M30x2 20 40 27

XD-33 M33x2 22 46 33

XD-42 M42x2 30 57 44
LT R S R BT B WA S 5 I "RN", 1"XD-22RN" ([ D
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example XD-22RN. (the same with above)

-71 -



Hydraulic Adapters www.lomoflex.com

.
> ACHC-0OG
ﬁf/ Iy ISR Sr24 s RV S 4 3
- METRIC MALE
A \siA 24°L. T.ADJUSTABLE
STUD BRADCH TEE
=] B4 THREADE|® F4M% TUBE OF!J8| N '} DIMENSIONS
PART NO. E F |ODp O-RING | A B S1 S2
ACHC-12-10- | M12x1.5| M10x1 6 81x16 | 23 | 265 | 11 | 14
ACPR-14-12- | M14x1.5| M12x1.5| 8 93x24 | 27 | 32 | 14 | 17
ACPR-16-14- | M16x1.5| M14x1.5| 10 11.3x24 | 29 | 34 | 17 | 19
ATHR-18-16- | M18x1.5| M1ex1.5| 12 13.3x24 | 32 | 36 | 19 | 22
ATAR-22-18- | M22x1.5 | M18x1.5| 15 15.3x2.4 | 33 | 395 | 22 | 24
ACAC-26-22- | M26x1.5 | M22x1.5| 18 19.3x2.4 | 40 | 435 | 37 | 27
ATAR-30-27- M30x2 | M27x2 | 22 235x3 | 40 | 50 | 27 | 32
RCAR-36-33- M36x2 | M33x2 | 28 295x3 | 46 | 54 | 33 | 41
36006
F
> ADHD-OG
! s NN INISMBE24° T R 51 ATV A ) 52—
T METRIC MALE
A \s1 A 24°H.T.ADJUSTABLE
STUD BRADCH TEE
foe ¥4  THREADE|® 141M% TUBE O g JU <} DIMENSIONS
PART NO. E F |0Dp O-RING| A B S1 S2
ADHD-14-12- | M14x1.5| M12x15| & 93x24 | 27 | 32 | 14 | 17
ADPDB-16-14- | M16x1.5| M14x1.5| 8 113x24 | 29 | 34 | 17 | 19
ADPDB-18-16- | M18x1.5| M16x1.5| 10 133x24 | 32 | 36 | 19 | 22
ADPDB-20-18- | M20x1.5| M18x1.5| 12 15.3x2.4 | 33 | 37 | 22 | 24
ADAD-24-22- | M24x1.5| M22x1.5| 16 19.3x24 | 33 | 375 | 24 | 27
ADPID-30-27- M30x2 | M27x2 | 20 235x3 | 40 | 50 | 27 | 32
RDAD-36-33- M36x2 | M33x2 | 25 295x3 | 46 | 54 | 33 | 41
RDPID-42-42- Md2x2 | M42x2 | 30 385x3 | 57 | 572 | 44 | 50
4@%’:1111%% RE K- REBREE 57, W75 )5 I "RN", W1"ADHD-20-180G/RN" ([ )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADHD-20-180G/RN. (the same with above)

-72 -



Hydraulic Adapters

www.lomoflex.com

ACCH-0G

RNHISMELS24 % R 5| )

R T A S =T

METRIC MALE 24°L.T.

A | 1 g ADJUSTABLE STUD RUN
TEE
o 40 THREADE |# 4% TUBE | omipg R | DIMENSIONS
PART NO. E F |0Dp O-RING | A B S1 S2
ACCH-12-12- | M12x1.5| M10x1 8 81x16 | 23 [265 | 11 | 14
ACCR-14-14- | M14x1.5| M12x15| 8 93x24 | 27 | 32 | 14 | 17
ACCR-16-16- | M16x1.5 | M14x1.5| 10 11.3x2.4 | 29 | 34 | 17 | 19
ACCR18-18- | M18x1.5| M16x1.5| 12 133x2.4 | 32 | 36 | 19 | 22
AECP22.22- | M22x1.5| M18x1.5| 15 15.3x2.4 | 33 [395 | 22 | 24
AECP-26-26- | M26x1.5 | M22x1.5| 18 19.3x2.4 | 40 |435 | 27 | 27
ACCR-30-30- M30x2 | M27x2 | 22 235x3 | 40 | 50 | 27 | 32
ACCRI-36-36- M36x2 | M33x2 | 28 295x3 | 46 | 54 | 33 | 41
3306
E
D1
. ADDH-0G
y 2
‘*/T? /2 INHIAMNES 24 ° 8 2 5 A]
QZMWI A [ A B o S 0
\ METRIC MALE 24°H.T.
A | S1g ADJUSTABLE STUD RUN
TEE
foe I#Z0  THREADE (i 74M2  TUBE O g JU <} DIMENSIONS
PART NO. E F ©ODp O-RING | A B Sl S2
ADDH-14-14- | M14x1.5| M12x15| & 93x24 | 27 | 32 | 14 | 17
ADDR-16-16- | M16x1.5| M14x15| 8 113x2.4 | 29 | 34 | 17 | 19
ADDR-18-18- | M18x1.5| M16x1.5| 10 133x2.4 | 32 | 36 | 19 | 22
ADDR-20-20- | M20x1.5 | M18x1.5| 12 153x2.4 | 33 | 37 | 22 | 24
ADDR-24-24- | M24x1.5| M22x15| 16 19.3x2.4 | 33 | 375 | 24 | 27
ADDRI-30-30- M30x2 | M27x2 | 20 235x3 | 40 | 50 | 27 | 32
ADDRI-36-36- M36x2 | M33x2 | 25 205x3 | 46 | 54 | 33 | 41
RDDR-42-42- M42x2 | M42x2 | 30 385x3 | 57 | 572 | 44 | 50

400G, . . . .

BVt F A SR LSRR T 5 W75 {8 535 "R, 41"ADDH-20-20-180G/RN" ([l 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
necessary to insert suffix"RN" arter our part NO.,for example ADDH-20-20-180G/RN. (the same with above)

nut,it is

-73-




Hydraulic Adapters www.lomoflex.com

E
D
: ACCG-0G
S2
T / - AHISMRL4 R
| ngj S AT 1 8 S =
: METRIC MALE 24°L.T.
A \st 5 /BSP MALE ADJUSTABLE STUD RUN
TEE
= %4 THREADE |¥F4M% TUBE IN ' DIMENSIONS
PART NO. E F O.Dp A B S1 S2
ACCG-12-12- | M12x1.5| G1/8"X28 8 23 [ 262 | 11 | 14
RCCB-14-14- | M14x1.5| G1/4"X19 8 27 [ 313 | 14 | 17
RCCB-16-16- | M16x1.5| G1/4"X19 | 10 29 325 | 17 | 19
RCCB-18-18- | M18x1.5| G3/8"X19 | 12 32 368 | 19 | 22
RCEB-22.22- | M22x1.5| G1/2"x14 | 15 33 |432 | 22 | 24
ACTG-26-26- | M26x1.5| G1/2'X14 | 18 33 | 465 | 27 | 27
ACTB-30-30- M30x2 | G3/4"X14 | 22 40 | 52 | 27 | 32
ACCB-36-36- | M36x2 | G1"X11 28 46 | 56 | 33 | 41
100G
E
D
ADDG-0G
S2
T Z % AHISNREA RS
‘ JH:‘HE (A AT [ g 2 S =08
N METRIC MALE 24°H.T.
A \st1 g /BSP MALE ADJUSTABLE STUD RUN
TEE
foe I#2  THREADE |#14Mf TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
ADDG-14-14- | M14x1.5| G1/4"X19 é 27 [ 313 | 14 | 19
RDDG-16-16- | M16x1.5| G1/4"X19 8 29 | 325 | 17 | 19
RDDG-18-18- | M18x1.5| G3/8"X19 | 10 32 [368 | 19 | 22
ADDG-20-20- | M20x1.5| G3/8"X19 12 33 (368 | 22 | 22
ADDG-22-22- | M22x1.5| G1/2'x14 | 14 33 432 | 22 | 27
ABDG-24-24- | M24x1.5| G12'x14 | 16 33 | 44 | 24 | 27
ADDBG-30-30- M30x2 | G3/4"X14 | 20 40 | 52 | 27 | 32
ADDB-36-36- M36x2 |  G1"X11 25 46 | 56 | 33 | 41
ABDG-42-42- M42x2 | G1.1/4"X11 | 30 57 | 58 | 44 | s0
RTEMIA A B SRR LT 0, 5 14 55 RN, f1"ADDG-20-20-060G/RN" (il I-)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADDG-20-20-060G/RN.(the same with above)

- 74 -



Hydraulic Adapters

www.lomoflex.com

W
%

ACGC-0G

RHISMEL24° 5 R
PO A A b 7 S 38
METRIC MALE 24°L.T.

A \EA /BSP MALE ADJUSTABLE STUD BRANCH
TEE
o 40  THREADE |#74M% TUBE JU I DIMENSIONS

PART NO. E F O0.Dp A B S1 S2
ACGC-12-02- | M12x1.5| G1/8"X28 8 23 (262 | 11 | 14
ACEE-14-04- | M14x1.5| G1/4"X19 8 27 313 | 14 | 19
ACGC-16-04- | M16x1.5| G1a"x19 | 10 29 [ 325 | 17 | 19
A& 18-06- | M18x1.5| G3/g"X19 | 12 32 |368 | 19 | 22
A& 22.08- | M22x15| G12x14 | 15 33 |432 | 22 | 27
ACGT-26-08- | M26x1.5| G1/2'X14 | 18 33 | 465 | 27 | 27
ATGC-30-12- M30x2 | G3/4"X14 | 22 40 | 52 | 27 | 32
RCGT-36-16- M36x2 | G1"X11 28 46 | 56 | 33 | 41
360G

.
o ? % — A ISNBL4° T F 5
y s L PR T KR 4 S
N METRIC MALE 24°H.T.
A \EA /BSP MALE ADJUSTABLE STUD BRANCH
TEE
=] 40  THREADE |#14M% TUBE JU  sf DIMENSIONS

PART NO. E F O0.Dp A B S1 S2
ADGD-14-04- | M14x1.5| G1/4"X19 é 27 313 | 14 | 19
ADGD-16-04- | M16x1.5| G1/4"X19 8 29 | 325 | 17 | 19
ADGD-18-06- | M18x1.5| G3/8"X19 | 10 32 (368 | 19 | 22
ADGD-20-06- | M20x1.5| G3/8"™x19 | 12 33 | 368 | 22 | 22
ADGD-22-08- | M22x1.5| G1/2"X14 | 14 33 | 432 | 22 | 27
ADGD-24-08- | M24x1.5| G1/2'x14 | 16 33 | 44 | 24 | 27
ADGD-30-12- M30x2 | G3/4"X14 | 20 40 | s2 | 27 | 32
ADGD-36-16- M36x2 |  G1"X11 25 46 | 56 | 33 | 41
ADGD-42-20- Ma2x2 | G1.1/4"X11 | 30 57 | 58 | 44 | 50
RV R R AR BT O, WU AR 55 DIPRN®, i "ADGD-20-06-200G/RN" ([l 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADGD-20-06-200G/RN.(the same with above)

-75 -




Hydraulic Adapters www.lomoflex.com

2 ACCO-0G
it / W%_ ' 245 RS

| I PRI o 3 e =
1] METRIC MALE 24°L.T.
A \5—1 B /SAE MALE ADJUSTABLE STUD RUN
TEE
o8 24 THREADE |1 74M% TUBE R <[ DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
ACCO-12-12- | M12x1.5| U7/116"x20 | & 23 272 | 11 | 17
RCCO-14-14- | M14x1.5| U9M16"X18 | 8 27 | 318 | 14 | 19
AECD-16-16- | M16x1.5| U916"X18 | 10 29 [333 | 17 | 19
ATCD-18-18- | M18x1.5| U3/4"X16 | 12 32 | 375 | 19 | 24
ACCD-22-22- | M22x1.5| U7/8"X14 | 15 33 | 44 | 22 | 27
ACTD-26-26- | M26x1.5 [U1.1/16"X12| 18 40 | 51 | 27 | 32
ACTD-30-30- | M30x2 |Ut.1/16"X12| 22 40 | 535 | 27 | 32
ACCD-36-36- | M36x2 |U1.5/16"X12| 28 46 | 575 | 33 | 41
16006
E
D1
2 ADDO-0G
7
ﬁ/f % AN f24° FE R A
I PRI o S e =
1] METRIC MALE 24°H.T.
A \8—1 B /SAE MALE ADJUSTABLE STUD RUN
TEE
s 4 THREADE | 74M? TUBE R I DIMENSIONS
PART NO. E F O0.Dp A B S1 S2
ADDO-14-14- | M14x1.5| U7/16"X20 | @ 27 | 30 | 14 | 17
ADDD-16-16- | M16x1.5| U9/116"X18 | 8 29 (333 | 17 | 19
ADDO-18-18- | M18x1.5| U9/16"X18 | 10 32 | 335 | 19 | 19
ADDD-20-20- | M20x1.5| U34"x16 | 12 33 375 | 22 | 24
ADDO-22-22- | M22x1.5| U7/8"X14 | 14 33 | 44 | 22 | 27
ADDD-24-24- | M24x1.5| U7/8"x14 | 16 33 | 465 | 24 | 27
ADD®-30-30- M30x2 |U1.1/16"X12| 20 40 | 535 | 27 | 32
ADDD-36-36- M36x2 |U1.5/16"X12| 25 46 | 575 | 33 | 41
ABDD-42-42- M42x2 | U1.5/8"X12 | 30 57 | 595 | 44 | 50
RTVE A R A RS T 8 I AE A 5 U5 JI"RN”, 1" ADDO-20-20-080G/RN" (il 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADDO-20-20-080G/RN.(the same with above)

-76 -



Hydraulic Adapters www.lomoflex.com

2 ACOC-0G

777, = A ipI24° RS
' L AR R 4 %
METRIC MALE 24°L.T.

A \gA /SAE MALE ADJUSTABLE STUD BRANCH
TEE
o 4. THREADE | T4M# TUBE R I DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
ACOC-12-04- | M12x1.5| U7/16"X20 | & 23 |272 | 11 | 17
ACOE-14-06- | M14x1.5] vgte'x18 | 8 27 | 318 | 14 | 19
ACOC-16-06- | M16x1.5| U9M6™X18 | 10 29 | 333 | 17 | 19
ACBC-18-08- | M18x1.5| U3Max16 | 12 32 | 375 | 19 | 24
AEOE-22-10- | M22x1.5| U7e™X14 | 15 33 | a4 | 22 | 27
ACOT-26-12- | M26x1.5 |U1.1/16"X12| 18 40 | 51 | 27 | 32
ACOT-30-12- M30x2 |U1.1/16"X12| 22 40 | 535 | 27 | 32
RCOC-36-16- M36x2 |U1.5/16"X12| 28 46 | 575 | 33 | 41
360G
F
' ADOD-0G
,%7’ — O iH124° 5 £ 4
gul Iy AT B 45 %3
Y METRIC MALE 24°H.T.
A \gA /SAE MALE ADJUSTABLE STUD BRANCH
TEE
fou 124 THREADE |4 f4M% TUBE R I DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
ADOD-14-04- | M14x1.5| U7/16"X20 | @ 27 | 30 | 14 | 17
ADOD-16-06- | M16x1.5| U9/16"X18 | 8 29 (333 | 17 | 19
A8D-18-06- | M18x1.5| ugiex18 | 10 32 |335 | 19 | 19
ADOD-20-08- | M20x1.5| U3/4"x16 | 12 33 | 375 | 22 | 24
ADOD-22-10- | M22x1.5| U7/8"X14 | 14 33 | 44 | 22 | 27
ADOD-24-10- | M24x1.5| U7/8"X14 | 16 33 | 465 | 24 | 27
ADYB-30-12- M30x2 |U1.1/16"X12| 20 40 | 535 | 27 | 32
RDOB-36-16- M36x2 |U1.516"X12| 25 46 | 575 | 33 | 41
RDOB-42-20- M42x2 | U1.5/8"X12 | 30 57 | 595 | 44 | 50
YT T A AR B AT 8, 28 5 DIPRN”, L1"ADOD-20-08-200G/RN" ([l I-)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADOD-20-08-200G/RN. ( the same with
above)

-77 -



Hydraulic Adapters www.lomoflex.com

\ A
1 1CL-B
i L] | o
Wz NHIMREL24 °F R [ MR K
4 METRIC MALE 24°L.T./BSP BANJO
= ¥4 THREADE | % 14M%2 TUBE e JU ] DIMENSIONS
PART NO. E 0.Dp BOLT A d D H
1CL-12-B02 | M12x1.5 8 720B-02 | 10 9.9 22 16
1CL-14-B04 | M14x1.5 8 720B-04 | 11 13.3 24 15
1CL-16-B04 | M16x1.5 10 720B-04 | 11 13.3 24 15
1CL-18-B06 | M18x1.5 12 720B-06 | 11.5 | 16.7 29 20
1CL-22-B08 | M22x1.5 15 720B-08 | 12.5 21 38 25
1CL-26-B08 | M26x1.5 18 720B-08 | 12 21 38 25
1CL-30-B12 M30x2 22 720B-12 | 14 26.5 46 31
. A
1DL-B
Pl ‘
. - N IR EL24 ° T R[S B R LB Rk
g METRIC MALE 24°H.T./BSP BANJO
foe I#240  THREADE | ¥ 74M2  TUBE TiC FH A JU <} DIMENSIONS
PART NO. E O.Dp BOLT A d D H
1DL-14-B04 | M14x1.5 8 720B-04 | 12 | 133 | 24 | 15
1DL-16-B04 | M16x1.5 8 720B-04 | 12 13.3 24 15
1DL-18-B06 | M18x1.5 10 720B-06 | 12 16.7 29 20
1DL-20-B06 | M20x1.5 12 720B-06 | 12 16.7 29 20
1DL-22-B08 | M22x1.5 14 720B-08 | 14 21 38 25
1DL-24-B08 | M24x1.5 16 720B-08 | 14 21 38 25
1DL-30-B12 M30x2 20 720B-12 | 16 26.5 46 31
LT R SRR AT B M AEAC S )5 N "RN", 41" 1DL-20-BO6/RN" ([ 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DL-20-B06/RN. (the same with above)

_78 -




Hydraulic Adapters

www.lomoflex.com

. A
H 1CL
N |
v N TR L2408 TR SUBE %k
j METRIC MALE 24°L.T./METRIC BANJO
= ¥4 THREADE | % 14M%2 TUBE e JU ] DIMENSIONS

PART NO. E 0.Dp BOLT A d D H
1CL-12-10 M12x1.5 é 700M-10 | 10 10 22 13
1CL-14-12 M14x1.5 8 700M-12 | 11 12 22 12
1CL-16-14 M16x1.5 10 700M-14 | 11 14 24 14
1CL-18-16 M18x1.5 12 700M-16 | 11.5 16 28 18
1CL-22-18 M22x1.5 15 700M-18 | 12.5 18 36 22
1CL-26-22 M26x1.5 18 700M-22 | 12 22 46 30

A
> 1DL
B N IMRL24° R B 10 IR SO e Sk
METRIC MALE 24°H.T./METRIC
BANJO
d
) #2140 THREADE |#F4M% TUBE | jafiizis R < DIMENSIONS
PART NO. E D BOLT | A d D H
1DL-14-12 | M14x1.5 8 700M-12 | 12 | 12 | 22 | 12
1DL-16-14 | M16x1.5 8 700M-14 | 12 | 14 | 24 | 14
1DL-18-16 | M18x1.5 10 700M-16 | 12 | 16 | 28 | 18
1DL-20-18 | M20x1.5 12 700M-18 | 12 | 18 | 36 | 22
1DL-22-18 | M22x1.5 14 700M-18 | 14 | 20 | 36 | 22
1DL-24-22 | M24x1.5 16 700M-22 | 14 | 22 | 46 | 30

VR T R R R B IR R 5, WEAEAC S J5 RN, 01" 1DL-22-18RN" (7] 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DL-22-18RN. (the same with above)

-79 -



Hydraulic Adapters www.lomoflex.com

C A
JEfl B R IRAR
BSP BOLT
S
=] 124 THREADE JU I DIMENSIONS
PART NO. E A B c N
720B-02 | G1/8"-28 295 | 4.8 5 14
720B-04 | G1/4"-19 28.5 6 6 19
720B-06 | G3/8"-19 38.5 9 7 22
720B-08 | G1/2"-14 44 13 | 85 27
720B-10 | G5/8"-14 485 | 15 10 30
720B-12 | G3/4"-14 56 18 10 32
720B-16 G1"-11 685 | 22 | 125 | 41
C A
AT R
METRIC BOLT
S1
foe 24 THREADE JU <} DIMENSIONS
PART NO. E A B C St
700M-10 M10x1 19 5 6 14
700M-12 | M12x1.5 24 6 6 17
700M-14 | M14x1.5 26 8 7 19
700M-16 | M16x1.5 28 9 7.5 22
700M-18 | M18x1.5 32 11 8 24
700M-22 | M22x1.5 39 14 9 27
700M-26 | M26x1.5 45 18 10 32
700M-30 M30x2 51 2 | 1M 38

-80 -



Hydraulic Adapters www.lomoflex.com

S1

.
— NL

REREERRT

2 RETAINING NUTS L.T.
foe 124 THREADE| % 14M% TUBE JU I DIMENSIONS
PART NO. E 0.Dp d S
NL-12 M12x1.5 8 6 | 14
NL-14 M14x1.5 8 8 17
NL-16 M16x1.5 10 10 19
NL-18 M18x1.5 12 12 22
NL-22 M22x1.5 15 15 27
NL-26 M26x1.5 18 18 32
NL-30 M30x2 22 22 36
NL-33 M33x2 25 25 41
NL-36 M36x2 28 28 41
NL-52 M52x2 42 42 60

S1

.
T NS

REIRREE RS

& RETAINING NUTS H.T.
R 240 THREADE| % 14M2 TUBE JU ] DIMENSIONS
PART NO. E 0.Dp d S
NS-14 | M14x1.5 8 6 | 17
NS-16 M16x1.5 8 8 19
NS-18 M18x1.5 10 10 | 22
NS-20 M20x1.5 12 12 24
NS-22 M22x1.5 14 14 | 27
NS-24 M24x1.5 16 16 | 30
NS-30 M30x2 20 20 | 36
NS-36 M36x2 25 25 | 46
NS-52 M52x2 38 38 | 60

-81-



Hydraulic Adapters www.lomoflex.com

RL

RER RS
L CUTTING RING L.T.

= B r4ME  TUBE

PART NO. 0.Dp

RL-06 é

RL-08 8

RL-10 10

RL-12 12

RL-15 15

RL-18 18

RL-22 22

RL-28 28

RL-35 35

RL-42 42

RS
KERERY
o CUTTING RING H.T.

5 ET4ME TUBE
PART NO. 0.Dp

RS-06 8

RS-08 8

RS-10 10

RS-12 12

RS-14 14

RS-16 16

RS-20 20

RS-25 25

RS-30 30

RS-38 38

-82 -



Hydraulic Adapters

www.lomoflex.com

1

;

K 7/
st

1Q

I ISNRETA° 5 HE
METRIC MALE 74°CONE

o #2140 THREADE U <} DIMENSIONS
PART NO. E A B | sI L
1Q-10 M10x1 12 | 12 | 12 30
1Q-12 M12x1.5 16 | 16 | 14 38
1Q-14 M14x1.5 17 | 17 | 17 40
1Q-16 M16x1.5 18 | 18 | 17 42
1Q-18 M18x1.5 18 | 18 | 19 42
1Q-22 M22x1.5 195 | 195 | 24 47
1Q-24 M24x1.5 20 | 20 | 27 49
1Q-27 M27x1.5 20 | 20 | 30 49
1Q-30 M30x1.5 23 | 23 | 32 56
1Q-30X2 | M30x2 26 | 26 | 32 62
1Q-33 M33x2 26 | 26 | 36 63
1Q-36 M36x2 26 | 26 | 36 63
1Q-39 M39x2 26 | 26 | 41 64
1Q-42 M42x2 285 | 285 | 46 70
1Q-45 M45x2 285 | 285 | 46 70

-83 -




Hydraulic Adapters www.lomoflex.com

A
N HISMBETA° SR Sk
METRIC MALE 74°CONE PLUG
s
e i#4r  THREADE R -] DIMENSIONS
PART NO. E A st L
4Q-10 M10x1 12 12 18
4Q-12 M12x1.5 16 14 22
4Q-14 M14x1.5 17 17 23
4Q-16 M16x1.5 18 17 24
4Q-18 M18x1.5 18 19 24
4Q-22 M22x1.5 19.5 24 27
4Q-24 M24x1.5 20 27 29
4Q-27 M27x1.5 20 30 29
4Q-30 M30x1.5 23 32 33
4Q-30E M30x2 26 32 36
4Q-33 M33x2 26 36 37
4Q-36 M36x2 26 36 37
4Q-39 M39x2 26 41 38
4Q-42 M42x2 285 46 415
4Q-45 M45x2 285 46 415

-84 -



Hydraulic Adapters

www.lomoflex.com

S
€
N\

N THIAMBZTA° M BBz Sk
METRIC MALE 74°CONE

6Q

BULKHEAD

= 24 THREADE JU <} DIMENSIONS
PART NO. E A B S1 L
6Q-10 M10x1 12 34 | 12 52
6Q-12 M12x1.5 16 38 | 14 60
6Q-14 M14x1.5 17 | 40 | 17 63
6Q-16 M16x1.5 18 | 41 17 65
6Q-18 M18x1.5 18 | 43 | 19 67
6Q-22 M22x1.5 195 | 44 | 24 71
6Q-24 M24x1.5 20 | 45 | 27 74
6Q-27 M27x1.5 20 | 48 | 30 77
6Q-30 M30x1.5 23 | 53 | 32 86
6Q-33 M33x2 26 | 55 | 36 92
6Q-36 M36x2 26 | 56 | 36 93
6Q-39 M39x2 26 | 58 | 41 96
6Q-42 M42x2 285 | 59 | 46 100.5
6Q-45 M45x2 285 | 60 | 46 101.5

R T A B RET 52, TS AE 4SS 5 I "LN", W16Q-18LN;

suffix"LN"after our part NO.,for example 6Q-18LN.

Remark:In case if you are interested to order the adapter with lock nut,please insert

-85 -




Hydraulic Adapters www.lomoflex.com

6Q9

90° /3 I FMR L 74 ° S HERL B % Sk
90°METRIC MALE 74°CONE

BULKHEAD

fo 124 THREADE N '} DIMENSIONS
PART NO. E A B S1
6Q9-12 M12x1.5 25 56 11
6Q9-14 M14x1.5 29 56 14
6Q9-16 M16x1.5 30 58 17
6Q9-18 M18x1.5 33 62 19
6Q9-22 M22x1.5 37 64 22
6Q9-27 M27x1.5 40 72 27
6Q9-30 M30x1.5 40 72 27
6Q9-33 M33x2 49 82 33
6Q9-36 M36x2 46 82 33
6Q9-39 M39x2 57 88 44
6Q9-42 M42x2 57 88 44
6Q9-45 M45x2 55 96 50

PN A B R B, WS AEAU S )5 N "LN", 4n6Q9-18LN;

Remark:In case if you are interested to order the adapter with lock nut,please insert

suffix"LN"after our part NO.,for example 6Q9-18LN.

-86 -




Hydraulic Adapters www.lomoflex.com

A B
- 1QN
A1
<4/W | | N TISNBECTASME A HE R SR
(% W METRIC MALE 74°CONE/NPT MALE
S
o #2247  THREADE R 5] DIMENSIONS
PART NO. E F A B S1 L
1QN-12-02 | M12x1.5| Z1/8"X27 16 10 14 32
1QN-12-04 | M12x1.5| Z1/4"X18 16 14 14 36
1QN-14-02 | M14x1.5| Z1/8"X27 17 10 17 33
1QN-14-04 | M14x1.5| Z1/4"X18 17 14 17 37
1QN-16-04 | M16x1.5| Z1/4"X18 18 14 17 38
1QN-16-06 | M16x1.5| Z3/8"X18 18 14 17 38
1QN-18-04 | M18x1.5| Z1/4"X18 18 14 19 38
1QN-18-06 | M18x1.5| Z3/8"X18 18 14 19 38
1QN-18-08 | M18x1.5| Z1/2"X14 18 19 22 44
1QN-22-06 | M22x1.5| Z3/8"X18 19.5 14 24 41
1QN-22-08 | M22x1.5| Z1/2"X14 19.5 19 24 46
1QN-27-06 | M27x1.5| Z3/8"X18 20 14 30 43
1QN-27-08 | M27x1.5| Z1/2"X14 20 19 30 48
1QN-27-12 | M27x1.5| Z3/4"X14 20 19.5 30 48.5
1QN-27-16 | M27x1.5| Z1"X11.5 20 24 36 55
1QN-30-12 M30x2 | Z3/4"X14 23 | 19.5 32 52.5
1QN-33-12 M33x2 | Z3/4"X14 26 | 19.5 36 56.5
1QN-36-16 M36x2 Z1"X11.5 25 24 41 61
1QN-39-16 M39x2 Z1"X11.5 26 24 41 62
1QN-45-16 M45x2 | Z1"X11.5 28.5 24 46 65.5
1QN-45-20 M45x2 |Z1.1/4"X11.5 28.5 25 46 66.5
1QN-45-24 M45x2 21.1/2"X11.5 28.5 25 50 70.5
1QN-52-20 M52x2 21.1/4"X11.5 30 25 55 72

- 87 -



Hydraulic Adapters www.lomoflex.com

.
1QN4
45/ RISMRECTA S T SMB AL
45°METRIC MALE 74°CONE/NPT
A S1 MALE

=2 #2240 THREADE R~ DIMENSIONS
PART NO. E F A B S1
1QN4-12-02 | M12x1.5 | Z1/8"X27 20 20 1
1QN4-14-02 | M14x1.5 | Z1/8"X27 22 22 14
1QN4-14-04 | M14x1.5| Z1/4"X18 22 22 14
1QN4-16-06 | M16x1.5| Z3/8"X18 22 22 17
1QN4-18-06 | M18x1.5| Z3/8"X18 24 24 19
1QN4-22-08 | M22x1.5 | Z1/2"X14 27 27 22
1QN4-27-08 | M27x1.5 | Z1/2"X14 33 33 27
1QN4-27-12 | M27x1.5 | Z3/4"X14 33 33 27
1QN4-30-12 | M30x1.5 | Z3/4"X14 37 37 33
1QN4-36-16 M36x2 Z1"X11.5 37 37 33
1QN4-39-16 M39x2 Z1"X11.5 40 40 44
1QN4-42-20 M42x2 (Z1.1/4"X11.5 40 40 44

- 88 -



Hydraulic Adapters www.lomoflex.com

60°

. il
1QN9
90° 2 I AMER LT 4 HIMEE i HE S SRS
| 59 90°METRIC MALE 74°CONE/NPT
R s MALE
foe 24 THREADE U~} DIMENSIONS
PART NO. E F A B S1
1QN9-12-02 | M12x1.5| Z1/8"X27 25 | 25 | 11
1QN9-12-04 | M12x1.5| Z1/4"X18 29 | 27 | 14
1QN9-14-02 | M14x1.5 | Z1/8"X27 29 | 27 | 14
1QN9-14-04 | M14x1.5| Z1/4"X18 29 | 27 | 14
1QN9-16-04 | M16x1.5 | Z1/4"X18 30 | 28 | 17
1QN9-16-06 | M16x1.5 | Z3/8"X18 30 | 28 | 17
1QN9-16-08 | M16x1.5 | Z1/2"X14 37 | 37 | 22
1QN9-18-04 | M18x1.5| Z1/4"X18 33 | 33 | 19
1QN9-18-06 | M18x1.5| Z3/8"X18 33 | 33 | 19
1QN9-22-06 | M22x1.5| Z3/8"X18 37 | 37 | 22
1QN9-22-08 | M22x1.5| Z1/2"X14 37 | 37 | 22
1QN9-27-08 | M27x1.5| Z1/2"X14 M 41 27
1QN9-27-12 | M27x1.5 | Z3/4"X14 41 M 27
1QN9-27-16 | M27x1.5| Z1"X11.5 49 | 49 | 33
1QN9-30-12 | M30x1.5 | Z3/4"X14 40 | 40 | 27
1QN9-36-16 | M36x2 | Z1"X11.5 46 | 46 | 33
1QN9-39-16 | M39x2 | Z1"X11.5 57 | 57 | 44
1QN9-42-20 | M42x2 [Z1.1/4"X11.5 57 | 57 | 44
1QN9-45-16 | M45x2 | Z1"X11.5 55 | 55 | 44
1QN9-45-20 | M45x2 [Z1.1/4"X11.5 55 | 55 | 44
1QN9-45-24 | M45x2 [Z1.1/2"X11.5 60 | 57 | 55

-89 -



Hydraulic Adapters www.lomoflex.com

A B
q ] 1QT
Q/W | NHIFMRELT A ° SNHE/FEHERE SMIR S
/% METRIC MALE 74°CONE/BSPT MALE
sy
foe 24 THREADE ]~} DIMENSIONS
PART NO. E F A B Sl L
1QT-12-02 | M12x1.5| R1/8"X28 16 | 10 | 14 32
1QT-12-04 | M12x1.5| R1/4"X19 16 | 14 | 14 36
1QT-14-02 | M14x1.5| R1/8"X28 17 | 10 | 17 33
1QT-14-04 | M14x1.5| R1/4"X19 17 | 14 | 17 37
1QT-16-04 | M16x1.5 | R1/4"X19 18 | 14 | 19 38
1QT-16-06 | M16x1.5 | R3/8"X19 18 | 14 | 19 38
1QT-18-04 | M18x1.5| R1/4"X19 18 | 14 | 19 38
1QT-18-06 | M18x1.5| R3/8"X19 18 | 14 | 19 38
1QT-18-08 | M18x1.5| R1/2"X14 18 | 19 22 44
1QT-22-06 | M22x1.5| R3/8"X19 195 | 14 24 4
1QT-22-08 | M22x1.5| R1/2"X14 195 | 19 24 46
1QT-27-06 | M27x1.5| R3/8"X19 20 | 14 30 43
1QT-27-08 | M27x1.5| R1/2"X14 20 | 19 30 48
1QT-27-12 | M27x1.5| R3/4"X14 20 [ 195 | 30 48.5
1QT-27-16 | M27x1.5| R1"X11 20 | 24 | 36 55
1QT-30-12 | M30x2 | R3/4"X14 23 | 195 | 32 52.5
1QT-33-12 | M33x2 | R3/4"X14 26 | 195 | 36 56.5
1QT-36-16 | M36x2 | R1"X11 25 | 24 | 41 61
1QT-39-16 | M39x2 | R1"X11 26 | 24 | 41 62
1QT-45-16 | M45x2 | R1"X11 285 | 24 | 46 65.5
1QT-45-20 | M45x2 | R1.1/4"X11 285 | 25 | 46 66.5
1QT-45-24 | M45x2 | R1.1/2"X11 285 | 25 | 50 70.5
1QT-52-20 | M52x2 | R1.1/4"X11 30 | 25 | 55 72

-90 -



Hydraulic Adapters

www.lomoflex.com

1QT9

90° Al AMERLLTA° SMHEI TR SMREL
90°METRIC MALE 74°CONE/BSPT

MALE
o 22 THREADE JU <} DIMENSIONS

PART NO. E F A B S1
1QT9-12-02 | M12x1.5| R1/8"X28 25 |25 11
1QT9-12-04 | M12x1.5 | R1/4"X19 29 | 27 | 14
1QT9-14-02 | M14x1.5| R1/8"X28 29 | 27 | 14
1QT9-14-04 | M14x1.5 | R1/4"X19 29 | 27 | 14
1QT9-16-04 | M16x1.5| R1/4"X19 30 | 28 | 17
1QT9-16-06 | M16x1.5| R3/8"X19 30 | 28 | 17
1QT9-16-08 | M16x1.5| R1/2"X14 37 | 37 | 22
1QT9-18-04 | M18x1.5| Z1/4"X19 33 | 33 | 19
1QT9-18-06 | M18x1.5| R3/8"X19 33 | 33 | 19
1QT9-22-06 | M22x1.5| R3/8"X19 37 | 37 | 22
1QT9-22-08 | M22x1.5| R1/2"X14 37 | 37 | 22
1QT9-27-08 | M27x1.5| R1/2"X14 41 41 27
1QT9-27-12 | M27x1.5 | R3/4"X14 41 41 27
1QT9-27-16 | M27x1.5| R1"X11 49 | 49 | 33
1QT9-30-12 | M30x1.5 | R3/4"X14 40 | 40 | 27
1QT9-36-16 | M36x2 R1"X11 46 | 46 | 33
1QT9-39-16 | M39x2 R1"X11 57 | 57 | 44
1Q79-42-20 | M42x2 | R1.1/4"X11 57 | 57 | 44
1QT9-45-16 | M45x2 R1"X11 55 | 55 | 44
1QT9-45-20 | M45x2 | R1.1/4"X11 55 | 55 | 44
1QT9-45-24 | M45x2 | R1.1/2"X11 60 | 57 | 55

-91 -




Hydraulic Adapters

www.lomoflex.com

1

e
s

1QB

N THISMRET4 HHE S SRS
60° A HE SN S i [T A1 i
METRIC MALE 74°CONE/BSP MALE
DOUBLE FOR 60°SEAT BONDED

SEAL

foi 1240 THREADE JU  sf DIMENSIONS
PART NO. E F A B S1 L
1QB-12-02 M12x1.5| G1/8"X28 16 10 14 32
1QB-14-04 | M14x1.5| G1/4"X19 17 12 19 35
1QB-16-06 | M16x1.5| G3/8"X19 18 13.5 22 39
1QB-18-06 | M18x1.5| G3/8"X19 18 13.5 22 39
1QB-22-08 | M22x1.5| G1/2"X14 19.5 16 27 44
1QB-24-10 | M24x1.5| G5/8"X14 20 17.5 30 46.5
1QB-27-12 M27x1.5| G3/4"X14 20 18.5 32 48.5
1QB-30-12 | M30x1.5| G3/4"X14 23 18.5 32 51.5
1QB-30E-12 M30x2 | G3/4"X14 26 18.5 32 54.5
1QB-33-16 M33x2 G1"X11 26 20.5 41 58.5
1QB-39-16 M39x2 G1"X11 26 20.5 41 58.5
1QB-45-20 M45x2 | G1.1/4"X11 28.5 | 205 50 66

-92-



Hydraulic Adapters www.lomoflex.com

A B
q 1QG
%7/% I HITA® SNBSS O Y
METRIC 74°CONE/BSP MALE O-RING
e
foE 124, THREADE JU -} DIMENSIONS
PART NO. E F A | B | sl L
10G-14-04 | M14x1.5| G1/4"X19 17 | 12 | 17 35
1QG-16-06 | M16x1.5| G3/8"X19 18 | 135 | 22 39
1QG-18-06 | M18x1.5| G3/8"X19 18 | 135 | 22 39
1QG-18-08 | M18x1.5| G1/2"X14 18 | 16 | 27 43
10G-22-08 | M22x1.5| G1/2"X14 195 | 16 | 27 44
10G-27-12 | M27x1.5 | G3/4"X14 20 185 | 32 485
1QG-30-12 | M30x1.5| G3/4"X14 23 | 185 | 32 51.5
10G-39-16 | M39x2 | G1"X11 26 | 205 | 41 58.5
10G-45-20 | M45x2 | G1.1/4"X11 285 | 205 | 50 66
F
g = 1QG9-0G
90° il 74° At/
YL MRS O P ] 1 ) A g
\ 1N 90°METRIC 74°CONE/
A S1 BSP MALE O-RING ADJUSTABLE
STUD
on 124, THREADE JU -} DIMENSIONS
PART NO. E F A | B | st | s2
1QGY-14- M14x1.5 | G1/4"X19 27 | 313 ] 14 | 19
1Q38-16- M16x1.5 | G3/8"X19 20 358 | 17 | 22
18138-18-060G M18x1.5 | G3/8"X19 32 | 368 19 | 22
1QGY-18- M18x1.5 | G1/2"X14 32 | 432 | 19 | 27
1038822 M22x1.5 | G1/2"X14 37 | 432 | 22 | 27
10G3-27- M27x1.5 | G3/4"X14 41 | 493 | 27 | 32
1068-30- M30x1.5 | G3/4"X14 40 | 52 | 27 | 32
1868-30- M39x2 | G1'X11 57 | 58 | 44 | a1
18G-45- M45x2 | G1.1/4"X11 55 | 63 | 44 | 50

200G

-903 -



Hydraulic Adapters

www.lomoflex.com

A B
q 1QH
%7/% NI A S A ISR
< METRIC 74°CONE/METRIC MALE
S1
= 24 THREADE JU <} DIMENSIONS
PART NO. E F A | B | sl L
1QH-14-12 | M14x1.5 | M12x1.5 17 | 11 |7 34
1QH-16-14 | M16x1.5 | M14x1.5 18 | 11 | 19 35
1QH-18-16 | M18x1.5 | M16x1.5 18 | 11 | 22 36
1QH-22-18 | M22x1.5 | M18x1.5 195 | 11 | 24 38
1QH-27-22 | M27x1.5 | M22x1.5 20 | 12 | 27 41
1QH-30-27 | M30x1.5 | M27x1.5 23 | 13 | 32 46
1QH-3327 | M33x2 | M27x1.5 26 | 13 | 32 49
F
2 g = 1QH9-0OG
_L|
90° /A Hl74° 4 MHE/
ON T R AT 1 [ A i
,__5<) 90°METRIC 74°CONE/
S1 METRIC MALE ADJUSTABLE
A STUD
R 24 THREADE JU ] DIMENSIONS
PART NO. E F A | B | st | s
1QH9-14- M14x1.5 | M12x1.5 27 | 32 | 14 | 17
1QP8-16- M16x1.5 | M14x1.5 29 [ 355 | 17 | 19
1QP8-18- M18x1.5 | M16x1.5 32 | 36 | 19 | 22
18P8-22- M22x1.5 | M18x1.5 37 | 395 | 22 | 24
1QF8-27- M27x1.5 | M22x1.5 41 | 435 | 27 | 27
1QFI8-30- M30x1.5 | M27x1.5 40 | 50 | 27 | 32
1QFI9-33- M33x2 | M27x1.5 49 | 52 | 33 | a2
7QFI9-36- M36x2 | M33x2 49 | 54 | 33 | 41
TOFI-30- M39x2 | M33x2 57 | 572 | 44 | a1
1QFIG-45- M45x2 | M42x2 55 | 61 | 44 | 50
42006

-94 -



Hydraulic Adapters

www.lomoflex.com

1

) |
A
J

1QM

I THISMRLT A HMHE I I AMREC
60 P HE N S i [T 411 i
METRIC MALE 74°CONE/METRIC

MALE

DOUBLE FOR 60°SEAT BONDED

s1
SEAL
foe 24 THREADE ]~} DIMENSIONS
PART NO. E F A B S1 L
1QM-12 | M12x1.5 | M12x1.5 16 10 17 34
1QM-14 | M14x1.5| M14x1.5 17 11 19 36
1QM-14-12 | M14x1.5 | M12x1.5 17 | 10 17 35
1QM-14-16 | M14x1.5 | M16x1.5 17 12 22 38
1QM-16 | M16x1.5| M16x1.5 18 12 22 39
1QM-16-14 | M16x1.5 | M14x1.5 18 11 19 37
1QM-18 | M18x1.5| M18x1.5 18 12 24 40
1QM-18-16 | M18x1.5 | M16x1.5 18 12 22 39
1QM-22 | M22x1.5| M22x1.5 195 | 14 | 27 44.5
1QM-22-18 | M22x1.5 | M18x1.5 195 | 12 24 39

-95-




Hydraulic Adapters www.lomoflex.com

- B 1Q0

I HIAMELST 4 HMHE
@ SAESMEL O [
% METRIC MALE74°CONE/
SAE MALE O-RING
R 22 THREADE JU I DIMENSIONS
PART NO. E F A B S1 L
1Q0-16-06 | M16x1.5 | U9/16"X18 18 12 17 36
1Q0-18-08 | M18x1.5| U3/4"X16 18 12 22 37
1Q0-22-10 | M22x1.5| U7/8"X14 19.5 | 135 27 42
1Q0-27-12 M27x1.5 |U1.1/16"X12 20 16 32 46
1Q0-30-12 | M30x1.5 |U1.1/16"X12 23 16 32 49
1Q0-33-16 M33x2 [U1.5/16"X12 26 17 41 55
1Q0-39-16 M39x2 [U1.5/16"X12 26 17 41 55
1Q0-42-20 M42x2 | U1.5/8"X12 28.5 18 50 63.5
E

= 1Q09-0G
5

‘ 90° Al HME L7 4° 4k
SAE/MEZLOM &
)L 90°METRIC MALE74°CONE/
A— SAE MALE O-RING ADJUSTABLE
A $1 STUD
e 22 THREADE JU ] DIMENSIONS
PART NO. E F A | B | sl | s
1Q09-16- M16x1.5 | U9/16"X18 30 [ 318 17 | 19
10008-18- M18x1.5 | U3/4"X16 37 | 368 | 22 | 24
1008-22- M22x1.5 | U7/8"X14 37 | 44 | 22 | 27
1Q08-27- M27x1.5 |U1.1/16"X12 41 | 51 | 27 | 32
1808-30- M30x1.5 |U1.1/16"X12 40 | 53 | 27 | 32
1808-33- M33x2 |U1.5/16"X12 49 | 545 | 33 | 41
1808-30- M39x2 |U1.5/16"X12 49 | 595 | 44 | 41
1808-42- M42x2 | U1.5/8"X12 49 | 50 | 44 | 50

200G

- 96 -



Hydraulic Adapters

www.lomoflex.com

>

S

Ner

2Q9

90° A I SMRLT4° ShiE/
AHINERET4° N HE
90°METRIC MALE
74°CONE/ METRIC
FEMALE 74°SEAT

foe 24 THREADE JU <} DIMENSIONS
PART NO. E A C sl 2
2Q9-14 M14x1.5 29 9 14 | 19
2Q9-16 M16x1.5 30 | 95 | 17 | 22
2Q9-18 M18x1.5 33 | 95 | 19 | 24
2Q9-22 M22x1.5 37 | 10 22 | 27
2Q9-27 M27x1.5 41 | 105 | 27 | 32
2Q9-30 M30x1.5 40 | 115 | 27 | 36
2Q9-33 M33x2 49 | 145 | 33 | 41
2Q9-36 M36x2 46 | 135 | 33 | 41
2Q9-39 M39x2 57 | 135 | 44 | 46
2Q9-45 M52x2 55 | 155 | 44 | 55

S1

7.

7

>l

|

<)

A A

AQ

N HISNRLIT4° S =l
METRIC MALE 74°CONE TEE

e 22 THREADE U <F DIMENSIONS
PART NO. E A S
AQ-14 | M14x15 27 14
AQ-16 M16x1.5 29 17
AQ-18 M18x1.5 32 19
AQ-22 M22x1.5 33 22
AQ-27 M27x1.5 40 27
AQ-30 M30x1.5 40 27
AQ-33 M33x2 49 33

-97-




Hydraulic Adapters www.lomoflex.com

.
S
2 AQHQ-0OG
% INHIAMELT4°MHES
AT ) A g ) S 38
\ METRIC MALE74°CONE/
A \st , ADJUSTABLE STUD
BRANCH TEE

o 24 THREADE O [ JU_ ~] DIMENSIONS

PART NO. E F ORING | A B | st | &
AQHQ-14-12- | M14x1.5 | M12x1.5 93x24 | 27 | 32 | 14 | 17
AQHQ-16-14- | M16x1.5 | M14x1.5 113x24 | 29 [ 355 | 17 | 19
AQHQ-18-16- | M18x1.5 | M16x1.5 133x2.4 | 32 | 36 | 19 | 22
AQHQ-22-18- | M22x1.5 | M18x1.5 15.3x2.4 | 33 | 395 | 22 | 24
AQHQ-27-22- | M27x1.5 | M22x1.5 19.3x2.4 | 40 | 435 | 27 | 27
AQHQ-30-27- | M30x1.5 | M27x1.5 235x3 | 40 | 50 | 27 | 32
AQHQ-33-27- | M33x2 | M27x1.5 235x3 | 49 | 52 | 33 | 32
AQHQ-36-33- | M36x2 | M33x2 205x3 | 46 | 54 | 33 | 41
AQHQ-39-33- | M39x2 | M33x2 205x3 | 57 | 57.2 | 44 | 41
oIV

E

. AQQH-0OG

Nz
INHIAMELT4°HMHE
— | o £ S
\_ METRIC MALE74°CONE/
X Si— ADJUSTABLE STUD
RUN TEE
1o 24 THREADE O] R <} DIMENSIONS
PART NO. E F ORING | A B | sl | s2
AQQH-14-14- | M14x1.5 | M12x1.5 93x2.4 | 27 | 32 | 14 | 17
AQQH-16-16- | M16x1.5 | M14x1.5 11.3x2.4 | 29 | 355 | 17 | 19
AQQP-18-18- | M18x1.5| M16x1.5 133x24 | 32 | 36 | 19 | 22
AQQH-22-22- | M22x1.5 | M18x1.5 153x2.4 | 33 | 395 | 22 | 24
AQQH-27-27- | M27x1.5 | M22x1.5 19.3x2.4 | 40 | 435 | 27 | 27
AQQH-30-30- | M30x1.5 | M27x1.5 235x3 | 40 | 50 | 27 | 32
AQQH-33-33- | M33x2 | M27x1.5 235x3 | 49 | 52 | 33 | 32
AQQH-36-36- | M36x2 | M33x2 205x3 | 36 | 54 | 33 | 41
AQQH-39-39- | M39x2 | M33x2 205x3 | 57 | 572 | 44 | 41

SoUG

-08-



Hydraulic Adapters www.lomoflex.com

A B
= i 1K
H A2 I AMZL60 ° 1
7 % JIS METRIC MALE6G0° CONE
sy
R %2 THREADE JU <} DIMENSIONS
PART NO. E A B S1 L
1K-14 M14x1.5 17 17 17 40
1K-16 M16x1.5 18 18 17 42
1K-18 M18x1.5 18 18 19 42
1K-20 M20x1.5 20 20 22 47
1K-22 M22x1.5 20 20 24 48
1K-24 M24x1.5 215 | 215 27 52
1K-30 M30x1.5 26 26 32 62
1K-33 M33x1.5 30 30 36 71
1K-36 M36x1.5 33 33 41 78
1K-42 M42x1.5 36 36 46 85
=
@— 2K9
90° H A/ TR £60° 1k
90°JIS METRIC MALEG0° CONE
A S1
R 24 THREADE JU I DIMENSIONS
PART NO. E F A C S1 S2
2K9-14 M14x1.5 | M14x1.5 29 12 14 19
2K9-16 M16x1.5 | M16x1.5 30 9.5 17 22
2K9-18 M18x1.5 | M18x1.5 33 1 19 24
2K9-22 M22x1.5 | M22x1.5 37 14 22 27
2K9-24 M24x1.5 | M24x1.5 37 13.5 24 32
2K9-30-24 M30x1.5 | M24x1.5 40 13.5 27 32
2K9-30 M30x1.5 | M30x1.5 40 20 27 36
2K9-33 M33x1.5 | M33x1.5 49 20.5 33 41

-99-



Hydraulic Adapters www.lomoflex.com

= 4K

H A2 il SR80 ° S Sk
JIS METRIC MALE60° CONE PLUG

s1

foe 22 THREADE JU 51 DIMENSIONS
PART NO. E A Sl L
4K-14 M14x1.5 17 14 23
4K-16 M16x1.5 18 17 24
4K-18 M18x1.5 18 19 24
4K-20 M20x1.5 20 22 27
4K-22 M22x1.5 20 24 28
4K-24 M24x1.5 215 27 30
4K-30 M30x1.5 26 32 36
4K-33 M33x1.5 30 36 41

9K

% A A I 4Py HE6O®
%V JIS METRIC FEMALE 60°SEAT
PLUG

e 22y THREADE JU  sf DIMENSIONS
PART NO. E C S1 2
9K-14 M14x1.5 12 19 19
9K-16 M16x1.5 95 | 19 22
9K-18 M18x1.5 11 24 | 24
9K-22 M22x1.5 14 27 | 27
9K-24 M24x1.5 135 | 32 | 32
9K-30 M30x1.5 20 | 36 | 36
9K-33 M33x1.5 205 | 41 41

- 100 -



Hydraulic Adapters

www.lomoflex.com

A B
I ] 1KN
@ | H AN T AMZE L0600 ° 7Nk AR HE R MRS
J% JIS METRIC MALE 60°CONE/NPT
MALE
=
S1
= 24 THREADE U~} DIMENSIONS
PART NO. E F A B S1 L
1KN-14-04 | M14x1.5| Z1/4"X18 17 14 | 14 37
1KN-14-06 | M14x1.5| Z3/8"X18 17 14 | 17 37
1KN-16-06 | M16x1.5| Z3/8"X18 18 14 | 17 38
1KN-18-06 | M18x1.5| Z3/8"X18 18 14 | 19 38
1KN-20-06 | M20x1.5| Z3/8"X18 20 14 22 | #
1KN-22-06 | M22x1.5| Z3/8"X18 20 14 24 | 42
1KN-22-08 | M22x1.5| Z1/2"X14 20 19 | 24 | 47
1KN-24-12 | M24x1.5 | Z3/4"X14 215 | 195 | 27 | 50
1KN-30-12 | M30x1.5 | Z3/4"X14 26 | 195 | 32 | 555
1KN-33-16 | M33x1.5| Z1"X11.5 30 | 24 36 | 65
1KN-36-20 | M36x1.5 |21.1/4"X11.5 33 | 25 46 | 71
1KN-42-24 | M42x1.5 |21.1/2"X11.5 36 | 25 50 | 78
L
g i 1KM
LA
l H A I HMEL60°41ME/
| A HISMBAI60 H B4 £ 4
G %, JIS METRIC MALE60° CONE/
% ’ METRIC MALE 60° CONE BONDED
/ SEAL
s1
R R JU <} DIMENSIONS
PART NO. EHREADE F A B S1 L
1KM-14-12 | M14x1.5 | M12x1.5 17 10 17 35
1KM-14 | M14x1.5 | M14x1.5 17 11 19 36
1KM-22-16 | M22x1.5 | M16x1.5 20 | 12 22 | 41
1KM-22-18 | M22x1.5 | M18x1.5 20 | 12 24 | 42
1KM-22 | M22x1.5 | M22x1.5 20 | 14 27 | 45

- 101 -



Hydraulic Adapters

www.lomoflex.com

A B
I e 1KT
FIAS S I AMES60 ©/ Sk AR L
%, JIS METRIC MALE60°CONE/BSPT
MALE
=
S1
s 4 THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1KT-14-04 M14x1.5| R1/4"X19 17 14 17 37
1KT-16-06 M16x1.5| R3/8"X19 18 14 19 38
1KT-18-06 M18x1.5| R3/8"X19 18 14 19 38
1KT-22-06 M22x1.5| R3/8"X19 20 14 24 42
1KT-22-08 M22x1.5| R1/2"X14 20 19 24 47
1KT-30-12 M30x1.5| R3/4"X14 26 19.5 32 55.5
1KT-33-16 M33x1.5 R1"X11 30 24 36 65
1KT-36-20 M36x1.5 | R1.1/4"X11 33 25 46 71
1KT-42-24 M42x1.5 | R1.1/2"X11 36 25 50 78
L
- ] 1KH
/ﬂ/ :k E[ZI-‘/L\\?BMI\E%%&GOWI‘%/
A BIAMBL T R B
“Z %/ JIS METRIC MALEG0°
CONE/ METRIC MALE
S-SERIES
S1
o 22 THREADE JU ] DIMENSIONS
PART NO. E F A B S1 L
1KH-14-12 M14x1.5 | M12x1.5 17 1 17 34
1KH-14 M14x1.5 | M14x1.5 17 1 19 34
1KH-16-14 M16x1.5 | M14x1.5 18 1 19 35
1KH-18-14 M18x1.5 | M14x1.5 18 1 19 35
1KH-18-16 M18x1.5 | M16x1.5 18 1 22 36
1KH-18-20 M18x1.5 | M20x1.5 18 12 27 39
1KH-20-18 M20x1.5 | M18x1.5 20 1 24 39
1KH-22-20 M22x1.5 | M20x1.5 20 12 27 41
1KH-24-20 M24x1.5 | M20x1.5 21.5 12 27 42
1KH-24-22 M24x1.5 | M22x1.5 21.5 12 27 42
1KH-30-27 M30x1.5 | M27x1.5 26 13 32 49

- 102 -




Hydraulic Adapters

www.lomoflex.com

n

s2 Y

T

ﬁ
=

1KH9-0G

90° H A2 il SMERL60° 51 HE/

O\ A ME AT ) A g
\/ 90°JIS METRIC MALE 60°CONE/
METRIC ALE ADJUSTABLE
STUD
= 24  THREADE O g JU  sf DIMENSIONS

PART NO. E F O-RING| A B | sl | s2

1KH9-14- M14x1.5 | M12x1.5 93x24 | 27 |335 | 14 | 17

T4RH0-140G | M14x1.5 | M14x1.5 11.3x2.4 | 27 | 345 | 14 | 19

1KH9-16- M16x1.5 | M14x1.5 113x24 | 29 | 355 | 17 | 19

1KHG 18- M18x1.5 | M14x1.5 113x24 | 32 | 375 | 19 | 19

KRG 18- M18x1.5 | M16x1.5 13.3x2.4 | 32 | 395 | 19 | 22

1RPG 18- M18x1.5 | M20x1.5 17.3x2.4 | 37 | 44 | 22 | 27

TRAG-20- M20x1.5 | M18x1.5 15.3x2.4 | 37 | 425 | 22 | 24

1RAG 22- M22x1.5 | M20x1.5 17.3x2.4 | 37 | 455 | 22 | 27

TRAG-24- M24x1.5 | M20x1.5 17.3x2.4 | 37 | 47 | 24 | 27

TRAG-24- M24x1.5 | M22x1.5 19.3x2.4 | 37 | 47 | 24 | 27

TRHY-30- M30x1.5 | M27x1.5 235x3 | 40 | 57 | 27 | 32

“/KH9-330G | M33x1.5 | M33x1.5 295x3 | 49 | 59 | 33 | 41

1KHY-36- M36x1.5 | M33x1.5 295x3 | 46 | 605 | 33 | 41
33006

- 103 -




Hydraulic Adapters

www.lomoflex.com

- i 1KG
— |
H AR 23 i A ME L0600 © FHE/
T AME LSO ]
N [//%/ JIS METRIC MALE
9 60°CONE/ BSP MALE
O-RING
S1
fon 24, THREADE R I DIMENSIONS
PART NO. E F A | B | st | L
1KG-14-04 | M14x1.5| G1/4"X19 17 | 12 | 19 | 35
1KG-14-06 | M14x1.5| G3/8"X19 17 | 135 | 22 | 38
1KG-16-06 | M16x1.5| G3/8"X19 18 | 135 | 22 | 39
1KG-18-06 | M18x1.5| G3/8"X19 18 | 135 | 22 | 39
1KG-22-08 | M22x1.5| G1/2"X14 20 | 16 | 27 | 45
1KG-30-12 | M30x1.5 | G3/4"X14 26 | 185 | 32 | 545
1KG-33-12 | M33x1.5| G3/4"X14 30 | 185 | 36 | 595
1KG-33-16 | M33x1.5| G1"X11 30 | 205 | 41 | 625
F
S2 —
s 1KG9-0G
‘ 90° H A A il AR S60°/
) SEEP AR SO e TR
90°JIS MERIC MALE/
A S1 BSP MALE O-RING ADJUSTABLE
STUD
foe 240 THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s2
1KGO-14- M14x1.5 | G1/4"X19 29 | 313 | 14 | 19
1RGG-14- M14x1.5 | G3/8"X19 30 | 358 | 17 | 22
TRG8-16- M16x1.5 | G3/8"X19 30 | 358 | 17 | 22
TRGY-18- M18x1.5 | G3/8"X19 33 | 37 | 19 | 22
TRGG-22- M22x1.5 | G1/2"X14 37 | 432 | 22 | 27
TRGG-24- M24x1.5 | G1/2"X14 37 | 46 | 24 | 27
TRGY-24- M24x1.5 | G3/4"X14 41 | 493 | 27 | 32
1KG9-30- M30x1.5 | G3/4"X14 40 | 53 | 27 | 32
1KGY-33- M33x1.5| G1"X11 49 | 53 | 33 | 41
1RE8.42- M42x1.5 | G1.1/4"X11 57 | 59 | 44 | 50
20006

- 104 -




Hydraulic Adapters

www.lomoflex.com

7D,

2| o

AK

H A2 ISR E60 ° S HE =3
JIS METRIC MALEG60° CONE

\ TEE
A \st A
R i24  THREADE JU s} DIMENSIONS
PART NO. E A Sl
AK-14 M14x1.5 27 14
AK-16 M16x1.5 29 17
AK-18 M18x1.5 32 19
AK-22 M22x1.5 33 22
AK-24 M24x1.5 33 24
AK-30 M30x1.5 40 27
AK-33 M33x1.5 49 33
F S2
L 7 t BK
% 72 H A I AMRE60° M/
H AR 22 1l A SR Z060 A HE 7y > =18
\ JIS METRIC MALEG60° CONE/
A \g A JIS METRIC FEMALE 60°SEAT BRANCH
TEE
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
BK-14 M14x1.5 | M14x1.5 27 12 14 19
BK-16 M16x1.5 | M16x1.5 29 | 95 | 17 22
BK-18 M18x1.5 | M18x1.5 32 11 19 24
BK-22 M22x1.5 | M22x1.5 33 14 22 | 27
BK-24 M24x1.5 | M24x1.5 33 | 135 | 24 | 32
BK-30 M30x1.5 | M30x1.5 40 20 | 27 | 36
BK-33 M33x1.5 | M33x1.5 49 | 205 | 33 | 41

- 105 -




Hydraulic Adapters

www.lomoflex.com

§30°

7

AKKG-0G

/ J FUAS S I AR S 55 A ME
\ l& O B ] 2 5
\s4 JIS METRIC MALE/BSP MALE O-
A 8 RING RUN TEE ADJUSTABLE
STUD
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S 2
AKKG-14-14- | M14x1.5 | G1/4"X19 27 | 313 | 14 | 19
040G
AKKG-14-14- | M14x1.5 | G3/8"X19 29 | 358 | 17 | 22
AKKG-16-16- | M16x1.5 | G3/8"X19 29 | 358 | 17 22
AKKG-18-18- | M18x1.5 | G3/8"X19 32 37 | 19 22
AKKG-22-22- | M22x1.5| G1/2"X14 33 | 432 | 22 | 27
UoULUG
AKKG-24-24- | M24x1.5 | G1/2"X14 33 | 46 | 24 | 27
AKKG-24-24- | M24x1.5| G3/4"X14 4 | 493 | 27 | 32
AKKG-30-30- | M30x1.5| G3/4"X14 40 | 53 | 27 | 32
AKKG-33-33- | M33x1.5| G1"X11 49 53 | 33 | 41

4
[l wie]

- 106 -




Hydraulic Adapters www.lomoflex.com

E
=
s AKKH-OG
2
: H AR 23 | A MZEL60 ©ANHE A il Ak
/ —- S5 500 o i 2
\_ JIS METRIC MALE
A $4 60°CONE/ ADJUSTABLE
B STUD RUN TEE
e 124, THREADE o R -} DIMENSIONS
PART NO. E F O-RING| A B | sl | s2
AKKH-14-14- | M14x1.5 | M12x1.5 93x24 | 27 |335 | 14 | 17
T2 ARKH-140G | M14x1.5 | M14x1.5 11.3x2.4 | 27 | 345 | 14 | 19
AKKH-16-16- | M16x1.5 | M14x1.5 11.3x2.4 | 29 | 355 | 17 | 19
AKKE-18-18- | M18x1.5 | M16x1.5 13.3x2.4 | 32 | 395 | 19 | 22
AKRE-18-18- | M18x1.5 | M20x1.5 173x2.4 | 33 | 44 | 22 | 27
AKKE-20-20- | M20x1.5 | M18x1.5 153x2.4 | 33 | 425 | 22 | 24
AKRB-22-22- | M22x1.5 | M20x1.5 17.3x2.4 | 33 | 455 | 22 | 27
ARKH-24-24- | M24x1.5 | M20x1.5 17.3x2.4 | 33 | 47 | 24 | 27
ARKE-24-24- | M24x1.5 | M22x1.5 19.3x2.4 | 33 | 47 | 24 | 27
ARKE-30-30- | M30x1.5 | M27x1.5 235x3 | 40 | 57 | 27 | 32
<" RARKH-330G | M33x1.5 | M33x1.5 295x3 | 49 | 59 | 33 | 41
AKKH-36-36-330/GM36x1.5 | M33x1.5 295x3 | 46 | 605 | 33 | 41
F
'n% AKGK-0OG
%ﬁ
2 | LK A BISMR L B hi
SO ] U ) A3 73 3¢ =08
v JIS METRIC MALE/BSP MALE O-
\g RING ADJUSTABLE STUD
A A BRANCH TEE
s 240 THREADE R I DIMENSIONS
PART NO. E F A B | sl | s2
AKGK-14-04- | M14x1.5| G1/4"X19 27 (313 | 14 | 19
AKGR-14-06- | M14x1.5| G3/8"X19 29 |358 | 17 | 22
AKGK-16-06- | M16x1.5| G3/8"X19 29 | 358 | 17 | 22
AKGK-18-06- | M18x1.5| G3/8"X19 32 | 37 | 19 | 22
AKGR-22-08- | M22x1.5| G1/2"X14 33 | 432 | 22 | 27
AKGR-24-08- | M24x1.5| G1/2"X14 33 | 46 | 24 | 27
AKGR-24-12- | M24x1.5| G3/4"X14 40 | 493 | 27 | 32
AKGR-30-12- | M30x1.5| G3/4"X14 40 | 53 | 27 | 32
RKGR-33-16- | M33x1.5| G1"X11 49 | 53 | 33 | 41

SoUG

- 107 -



Hydraulic Adapters

www.lomoflex.com

.

L= AKHK-OG

4 FIAR S I AMZL60 © AN A Ak

WE LR U ) A g A S

v JIS METRIC MALE

N \S1 4 60°CONE/ ADJUSTABLE

STUD BRANCHTEE
s 24, THREADE Ol R I DIMENSIONS

PART NO. E F ORNG| A | B | st | s2
AKHK-14-12- | M14x1.5 | M12x1.5 93x2.4 | 27 |335 | 14 | 17
T ARHK-140G | M14x1.5 | M14x1.5 11.3x2.4 | 27 | 345 | 14 | 19
AKHK-16-14- | M16x1.5 | M14x1.5 11.3x2.4 | 29 | 355 | 17 | 19
AXPR-18-14- | M18x1.5 | M14x1.5 11.3x2.4 | 32 [ 375 | 19 | 19
AKAR-18-16- | M18x1.5 | M16x1.5 133x2.4 | 32 | 395 | 19 | 22
AKAR-18-20- | M18x1.5 | M20x1.5 173x2.4 | 33 | 44 | 22 | 27
ARPR-20-18- | M20x1.5 | M18x1.5 15.3x2.4 | 33 | 425 | 22 | 24
AKAR-22-20- | M22x1.5 | M20x1.5 17.3x2.4 | 33 | 455 | 22 | 27
ARAR-24-20- | M24x1.5 | M20x1.5 17.3x2.4 | 33 | 47 | 24 | 27
AKAR-24-22- | M24x1.5 | M22x1.5 19.3x2.4 | 33 | 47 | 24 | 27
AKAR-30-27- | M30x1.5 | M27x1.5 235x3 | 40 | 57 | 27 | 32
SV RARHK-330G | M33x1.5| M33x1.5 295x3 | 49 | 59 | 33 | 41

- 108 -




Hydraulic Adapters

www.lomoflex.com

_AF A

m

1V

ifq L Lo
- | //l/} INRIANELCTA P HE T
% METRIC FEMALE 74°CONE SEAT

o 24 E THREADE R < DIMENSIONS

PART NO. E A S L

1V-14 M14X1 5 8 14 22

1V-16 M16X1 5 85 17 23

1V-18 M18X1 5 85 19 23

1V-22 M22X1 5 9 24 26

1V-27 M27X1 5 85 30 26

1V-30 M30X1 5 8 32 26

1V-36 M36X2 9 41 30

1V-39 M39X2 9 41 30

1V-45 M45X2 9 46 31

1V-52 M52X2 9 55 35

1V-64 MB4X2 12 65 41

L
1VT
N i ‘ s
N THIANERSCT 4 ° P4 HE T HE S SN SL
METRIC FEMALE 74°CONE SEAT/BSPT
MALE

e i24r E THREADE U~} DIMENSIONS

PARTNO. | m14K1 5 F A B 14 18
VI-14-04 | \igx15 | 461419 85 14 19 285
1VT-18-06 | \1o9x1 5 ZG3/8"-19 9 19 o4 26
1VT-22:08 | w30%1 5 2G1/2"14 8 195 32 375
1VT-30-12 M39X2 ZG3/4"-14 o4 41 45
1VT-39-16 MA45X2 ZG1"-11 8 46 47
1VT-45-20 M52X2 ZG1.1/4"11 25 55 51
1VT-52-24 MEAX? ZG1.1/2"11 9 25 65 58
1VT-64-32 2G2"-11 2

- 109 -




Hydraulic Adapters www.lomoflex.com

=TT 1S

H A58 SMIRE60° 41

) \
2z X%/ Y248 JIS GAS MALE 60°CONE
s/

R i240 THREADE K~ DIMENSIONS
PART NO. E A sl L
1S-04 G1/4"X19 15 14 36
15-06 G3/8"X19 16 17 38
1S-08 G1/2"X14 19 22 45
1S-12 G3/4"X14 23 30 55
15-16 G1"X11 25 36 61
1S-20 G1.1/4"X11 29 46 71
1S-24 G1.1/2"X11 30 50 77
1S-32 G2"X11 35 70 88
L
A

T 4S

H AT SMRL60° S HE B Sk
JIS GAS MALE 60°CONE PLUG

S1

R 124 THREADE ]~ DIMENSIONS
PART NO. E A S1 L
48-04 G1/4"X19 15 14 21
43-06 G3/8"X19 16 17 22
4s-08 G1/2"X14 19 22 26
48-12 G3/4"X14 23 30 32
4s-16 G1"X11 25 36 36
48-20 G1.1/4"X11 29 46 42
48-24 G1.1/2"X11 30 50 47
48-32 G2"X11 35 70 53

- 110 -



Hydraulic Adapters

www.lomoflex.com

S1 S2

-

9S

FIATLE A IRZ60° A HEHS Sk
JIS GAS FEMALE 60°SEAT PLUG

-C._
o 124 THREADE JU < DIMENSIONS
PART NO. E C S1 )
9S-04 G1/4"X19 8 17 19
9S-06 G3/8"X19 85 | 19 22
9S-08 G1/2"X14 105 | 22 27
98-12 G3/4"X14 14 32 32
9S-16 G1"X11 145 | 36 41
9S-20 G1.1/4"X11 16 50 50
9S-24 G1.1/2"X11 18 55 55
98-32 G2"X11 24 70 70
L
A B

| r
[//% %
J

6S

H AR S SR E060 ° 4 A 4 Sk
JIS GAS MALE 60°CONE

BULKHEAD
S1
fre 24 THREADE JU 5| DIMENSIONS
PART NO. E A B S1 L
6S-04 G1/4"X19 15 32 19 53
6S-06 G3/8"X19 16 36 22 59
6S-08 G1/2"X14 19 40 27 68
6S-12 G3/4"X14 23 41 32 74
6S-16 G1"X11 25 45 41 82
AV A A BT B U RS LN, 16S-04LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert
suffix"LN"after our part NO.,for example 6S-04LN.

- 111 -



Hydraulic Adapters

www.lomoflex.com

B

1

—

) |

1ST

H AL SMIRZ60 ° S M/ T4 SR

JIS GAS MALE 60°CONE/BSPT MALE

foe 24 THREADE ]~} DIMENSIONS
PART NO. E F A B Sl L
1ST-04 G1/4"X19 | R1/4"X19 15 | 14 | 17 35
18T-04-02 | G1/4"X19 | R1/8"X28 15 | 10 | 17 31
1ST-04-06 | G1/4"X19 | R3/8"X19 15 | 14 | 19 35
1ST-04-08 | G1/4"X19 | R1/2"X14 15 | 19 22 41
1ST-06 G3/8"X19 | R3/8"X19 16 | 14 | 19 36
1ST-06-04 | G3/8"X19 | R1/4"X19 16 | 14 | 19 36
1ST-06-08 | G3/8"X19 | R1/2"X14 16 | 19 22 42
1ST-08 G1/2"X14 | R1/2"X14 19 | 19 22 45
1ST-08-04 | G1/2"X14 | R1/4"X19 19 | 14 22 40
1ST-08-06 | G1/2"X14 | R3/8"X19 19 | 14 22 40
18T-08-12 | G1/2"X14 | R3/4"X14 19 | 195 | 27 47.5
18T-12 G3/4"X14 | R3/4"X14 23 | 195 | 30 51.5
1ST-12-08 | G3/4"X14 | R1/2"X14 23 | 19 30 51
18T-12-16 | G3/4"X14 | R1"X11 23 | 24 | 36 58
18T-16 G1"X11 R1"X11 25 | 24 | 36 60
18T-16-12 G1"X11 | R3/4"X14 25 | 195 | 36 55.5
18T-20 G1.1/4"X11 | R1.1/4"X11 29 | 25 | 46 67
18T-24 G1.1/2"X11 | R1.1/2"X11 30 | 25 | 50 68
18T-32 G2"X11 R2"X11 35 | 29 | 70 81

-112 -




Hydraulic Adapters

www.lomoflex.com

.
1ST4
45° H AR SMEL60°
AINHE e HE A AN EL
—] 45°JIS GAS MALE 60°
A St CONE/BSPT MALE
= i#4r THREADE R - DIMENSIONS

PART NO. E F A B S1

1ST4-04 G1/4"X19 R1/4"X19 22 22 14
1ST4-04-02 G1/4"X19 R1/8"X28 22 22 14
1ST4-04-06 G1/4"X19 R3/8"X19 22 22 17
1ST4-04-08 G1/4"X19 R1/2"X14 27 27 22

1ST4-06 G3/8"X19 R3/8"X19 22 22 17
1ST4-06-04 G3/8"X19 R1/4"X19 22 22 17
1ST4-06-08 G3/8"X19 R1/2"X14 27 27 22

1ST4-08 G1/2"X14 R1/2"X14 27 27 22
1ST4-08-06 G1/2"X14 R3/8"X19 27 27 22

1ST4-12 G3/4"X14 R3/4"X14 33 33 27
1ST4-12-08 G3/4"X14 R1/2"X14 33 33 27

1ST4-16 G1"X11 R1"X11 37 37 33
1ST4-16-12 G1"X11 R3/4"X14 37 37 33

1ST4-20 | G1.1/4"X11 | R1.1/4"X11 40 | 40 | 44

18ST4-24 G1.1/2"X11 | R1.1/2"X11 47 47 53

1ST4-32 G2"X11 R2"X11 55 55 65

- 113 -




Hydraulic Adapters

www.lomoflex.com

60°

Y

F

1ST9

90° H A 5 SMIEL60°
~<H AL M EHERE SMRLL
' 90°JIS GAS MALE 60°
A S1 CONE/BSPT MALE
o i24 THREADE R - DIMENSIONS
PART NO. E F A B S1
1ST9-04 G1/4"X19 | R1/4"X19 29 | 27 | 14
1ST9-04-02 | G1/4"X19 | R1/8"X28 29 | 27 | 14
1ST9-04-06 | G1/4"X19 | R3/8"X19 29 | 30 | 17
1ST9-06 G3/8"X19 | R3/8"X19 30 | 28 | 17
1ST9-06-04 | G3/8"X19 | R1/4"X19 30 | 28 | 17
1ST9-06-08 | G3/8"X19 | R1/2"X14 37 | 37 | 22
1ST9-08 G1/2'X14 | R1/2"X14 37 | 37 | 22
1ST9-08-06 | G1/2'X14 | R3/8"X19 37 | 37 | 22
1ST9-08-12 | G1/2'X14 | R3/4"X14 41 | 41 | 27
1ST9-12 G3/4"X14 | R3/4"X14 41 | 41 | 27
1ST9-12-08 | G3/4"X14 | R1/2"X14 41 | 41 | 27
1ST9-12-16 | G3/4"X14 | R1"X11 49 | 49 | 33
1ST9-16 G1"X11 R1"X11 49 | 49 | 33
1ST9-20 | G1.1/4"X11 | R1.1/4"X11 57 | 57 | 44
18T9-24 | G1.1/2"X11 | R1.1/2"X11 57 | 57 | 48
1ST9-32 G2"X11 R2"X11 66 | 63 | 65

114 -




Hydraulic Adapters

www.lomoflex.com

1

<z

1SN

H AL SR 60 ° S HE/ A HE T SMREL
JIS GAS MALE 60°CONE/NPT MALE

= 124 THREADE ]~} DIMENSIONS
PART NO. E F A B S1 L
1SN-04 G1/4"X19 | Z1/4"X18 15 | 14 | 17 35
1SN-04-02 | G1/4"X19 | Z1/8"X27 15 10 | 17 31
1SN-04-06 | G1/4"X19 | Z3/8"X18 15 14 | 19 35
1SN-04-08 | G1/4"X19 | Z1/2"X14 15 19 22 41
1SN-06 G3/8"X19 | Z3/8"X18 16 | 14 | 19 36
1SN-06-04 | G3/8"X19 | Z1/4"X18 16 14 | 19 36
1SN-06-08 | G3/8"X19 | Z1/2"X14 16 19 22 42
1ST-08 G1/2"X14 | Z1/2"X14 19 | 19 22 45
1SN-08-04 | G1/2"X14 | Z1/4"X18 19 14 22 40
1SN-08-06 | G1/2"X14 | Z3/8"X18 19 14 22 40
1SN-08-12 | G1/2"X14 | Z3/4"X14 19 195 | 27 47.5
1SN-12 G3/4"X14 |  Z3/4"X14 23 | 195 | 30 51.5
1SN-12-08 | G3/4"X14 | Z1/2"X14 23 | 19 30 51
1SN-12-16 | G3/4"X14 | Z1"X11.5 23 | 24 | 36 58
1SN-16 G1"X11 | Z1"X11.5 25 | 24 | 36 60
1SN-16-12 G1"X11 | Z3/4"X14 25 | 195 | 36 55.5
1SN-20 G1.1/4"X11|Z1.1/4"X11.5 29 | 25 | 46 67
1SN-24 G1.1/2"X11|Z1.1/2"X11.5 30 | 25 | 50 68
1SN-32 G2'X11 | Z2"X11.5 35 | 29 | 70 81

- 115 -



Hydraulic Adapters www.lomoflex.com

1SN4

45° H AR SMEL60°
ANHE/AT HEE SMREL
—] 45°JIS GAS MALE 60°
A St CONE/NPT MALE
= i#4r THREADE R - DIMENSIONS
PART NO. E F A B S1
1SN4-04 G1/4"X19 Z1/4"X19 22 22 14
1SN4-04-02 G1/4"X19 Z1/8"X27 22 22 14
1SN4-04-06 G1/4"X19 Z3/8"X18 22 22 17
1SN4-04-08 G1/4"X19 Z1/2"X14 27 27 22
1SN4-06 G3/8"X19 Z3/8"X18 22 22 17
1SN4-06-04 G3/8"X19 Z1/4"X19 22 22 17
1SN4-06-08 G3/8"X19 Z1/2"X14 27 27 22
1SN4-08 G1/2"X14 Z1/2"X14 27 27 22
1SN4-08-06 G1/2"X14 Z3/8"X18 27 27 22
1SN4-12 G3/4"X14 Z3/4"X14 33 33 27
1SN4-12-08 G3/4"X14 Z1/2"X14 33 33 27
1SN4-16 G1"X11 Z1"X11.5 37 37 33
1SN4-16-12 G1"X11 Z3/4"X14 37 37 33
1SN4-20 | G1.1/4"X11 |Z1.1/4"X11.5 40 | 40 | 44
1SN4-24 G1.1/2"X11 |Z21.1/12"X11.5 47 47 53
1SN4-32 G2"X11 Z2"X11.5 55 55 65

- 116 -



Hydraulic Adapters

www.lomoflex.com

60°

Y

F

1SN9

90° H AT AMRL60°
HNHEN AT HEE SMREL
90°JIS GAS MALE 60°
CONE/NPT MALE

o #2240 THREADE &~} DIMENSIONS
PART NO. E F A B S1
1SN9-04 G1/4"X19 | Z1/4"X18 29 | 27 | 14
I1SN9-04-02 | G1/4"X19 | Z1/8"X27 29 | 27 | 14
1SN9-04-06 | G1/4"X19 | Z3/8"X18 29 | 30 | 17
1SN9-06 G3/8"X19 | Z3/8"X18 30 | 28 | 17
1SN9-06-04 | G3/8"X19 | Z1/4"X18 30 | 28 | 17
1SN9-06-08 | G3/8"X19 | Z1/2"X14 37 | 37 | 22
1SN9-08 G1/2"X14 | Z1/2"X14 37 | 37 | 22
1SN9-08-06 | G1/2'X14 | Z3/8"X18 37 | 37 | 22
1SN9-08-12 | G1/2"X14 | Z3/4"X14 41 | 41 | 27
1SN9-12 G3/4"X14 | Z3/4"X14 41 | 41 | 27
1SN9-12-08 | G3/4"X14 | Z1/2"X14 41 | 41 | 27
1SN9-12-16 | G3/4"X14 | Z1"X11.5 49 | 49 | 33
1SN9-16 G1"X11 | Z1"X11.5 49 | 49 | 33
1SN9-20 | G1.1/4"X11|Z1.1/4"X11.5 57 | 57 | 44
1SN9-24 | G1.1/2"X11|Z1.1/2"X11.5 57 | 57 | 48
1SN9-32 G2'X11 | Z2"'X11.5 66 | 63 | 65

- 117 -




Hydraulic Adapters www.lomoflex.com

i B 1SG
/ﬂ ' H A SMRL60° M/
Y AMRS O
o JIS GAS MALE
60°CONE/ BSP
MALE O-RING
S1
e 14 THREADE R <} DIMENSIONS
PART NO. E F A B S1 L
18G-04 G1/4"X19 | G1/4"X19 15 12 19 33
18G-06 G3/8"X19 | G3/8"X19 16 135 22 37
1SG-08 G1/2"X14 | G1/2"X14 19 16 27 44
1SG-12 G3/4"X14 | G3/4"X14 23 185 32 51.5
18G-16 G1"X11 G1"X11 25 20.5 41 57.5
1S8G-20 G1.1/4"X11 | G1.1/4"X11 29 20.5 50 66.5
18G-24 G1.1/2"X11 | G1.1/2"X11 30 23 55 70
18G-32 G2"X11 G2"X11 35 25.5 70 78.5
F
= 1SG9-0G
1)
y 90° H A JL 4 SMRL60° HME/
%Y ‘ A SR80 ° O 5 P T U o K
T ] 90°JIS GAS MALE 60°CONE/
BSP MALE O-RING ADJUSTABLE
A S1 STUD
1o 40 THREADE R 5] DIMENSIONS
PART NO. E F A B S1 S2
18G9-040G | G1/4"X19 | G1/4"X19 29 31.3 14 19
18G9-060G | G3/8"X19 | G3/8"X19 30 35.8 17 22
1SG9-080G | G1/2"X14 | G1/2"X14 37 | 43.2 22 27
1SG9-120G | G3/4"X14 | G3/4"X14 41 49.3 27 32
18G9-160G G1"X11 G1"X11 49 53 33 41
18G9-200G | G1.1/4"X11 | G1.1/4"X11 57 59 44 50
18G9-240G | G1.1/2"X11 | G1.1/2"X11 57 65 48 55

- 118 -




Hydraulic Adapters

www.lomoflex.com

5@

v

AS

b 22 H A SMZEL60° 40k — 1l
N \ 0 JIS GAS FEMALE 60°SEAT TEE
A \_SJ A
R 124 THREADE R~ DIMENSIONS
PART NO. E F A S1
AS-04 G1/4"X19 G1/4"X19 27 14
AS-06 G3/8"X19 G3/8"X19 29 17
AS-08 G1/2"X14 G1/2"X14 33 22
AS-12 G3/4"X14 G3/4"X14 40 27
AS-16 G1"X11 G1"X11 49 33
F S2
g== BS
o A 49 BEL60° 1 i
H AR NIRZ 60N X =8
\ J JIS GAS MALE 60°CONE/
\ : JIS GAS FEMALE 60°SEAT BRANCH
A \s1 TEE
e 124 THREADE R < DIMENSIONS
PART NO. E F A C S1 S2
BS-04 G1/4"X19 G1/4"X19 27 8 14 19
BS-06 G3/8"X19 G3/8"X19 29 8.5 17 22
BS-08 G1/2"X14 G1/2"X14 33 10.5 22 27
BS-12 G3/4"X14 G3/4"X14 40 14 27 32
BS-16 G1"X11 G1"X11 49 14.5 33 41

- 119 -




Hydraulic Adapters

www.lomoflex.com

5@,

C

<
. N
||| S
! \ Ebjk{ A BT SMEAL60° Ml FI A 55
A \s1 Jisz HZ60° M AHEE S =il JIS GAS
MALE 60°CONE/
JIS GAS FEMALE 60°SEAT RUN
TEE
fon 14 THREADE R </ DIMENSIONS
PART NO. E F A C S1 S2
CS-04 G1/4"X19 G1/4"X19 27 8 14 19
CS-06 G3/8"X19 G3/8"X19 29 8.5 17 22
CS-08 G1/2"X14 G1/2"X14 33 10.5 22 27
CS-12 G3/4"X14 G3/4"X14 40 14 27 32
CS-16 G1"X11 G1"X11 49 14.5 33 41
E s2
== DS
< <
20 .
A1

=

\s1

-
o

HAS TS Y IREL60° ) HE 3l
JIS GAS FEMALE 60°SEAT TEE

o i24; THREADE ] <} DIMENSIONS
PART NO. E F c st | s2
DS-04 G1/4"X19 | G1/4"X19 8 | 14 | 19
DS-06 G3/8"X19 | G3/8"X19 85 | 17 | 22
DS-08 G1/2'X14 | G1/2"X14 105 | 22 | 27
DS-12 G3/4"X14 | GB3/4"X14 14 | 27 | 32
DS-16 G1"X11 G1"X11 145 | 33 | 41

- 120 -




Hydraulic Adapters

www.lomoflex.com

‘= ASGS-0G
T H AR 5 SME L0680 ° HME S 45 4
BRI O P T 8 A 4
JIS GAS MALE 60°CONE/BSP MALE
5 O-RING ADJUSTABLE STUD
A A BRANCH TEE
o i24 THREADE ] <} DIMENSIONS
PART NO. E F A B S1 S2
ASGS-040G| G1/4"X19 G1/4"X19 27 31.3 14 19
ASGS-060G| G3/8"X19 G3/8"X19 29 35.8 17 22
ASGS-080G| G1/2"X14 G1/2"X14 33 43.2 22 27
ASGS-120G| G3/4"X14 G3/4"X14 40 49.3 27 32
ASGS-160G G1"X11 G1"X11 49 54.5 33 41
ASGS-200G| G1.1/4"X11 | G1.1/4"X11 57 59 44 50
E
i ASSG-0G
/ .
I ASEE AR L60° I 5 5
! — AL O B T K3 2 =
. JIS GAS MALE 60°CONE/BSP MALE
= O-RING ADJUSTABLE STUD END
A B RUN TEE
=) #24. THREADE ] < DIMENSIONS
PART NO. E F A B S1 S2
ASSG-040G| G1/4"X19 G1/4"X19 27 31 14 19
ASSG-060G| G3/8"X19 G3/8"X19 29 35.5 17 22
ASSG-080G| G1/2"X14 G1/2"X14 33 | 435 22 27
ASSG-120G| G3/4"X14 G3/4"X14 40 49.5 27 32
ASSG-160G| G1"X11 G1"X11 49 54.5 33 41
ASSG-200G| G1.1/4"X11 | G1.1/4"X11 57 59 44 50

-121 -



Hydraulic Adapters

www.lomoflex.com

’ 1B
Y AMZEZ60° N HE
BN A g 1 4 B
% Z BSP MALE DOUBLE FOR
o 60°SEAT BONDED SEAL

foE 24 THREADE R -} DIMENSIONS
PART NO. E F A B S1 L

1B-02 G1/8"X28 G1/8"X28 10 10 14 26
1B-02-04 G1/8"X28 G1/4"X19 10 12 19 28
1B-02-06 G1/8"X28 G3/8"X19 10 13.5 22 315
1B-02-08 G1/8"X28 G1/2"X14 10 16 27 34

1B-04 G1/4"X19 G1/4"X19 12 12 19 30
1B-04-06 G1/4"X19 G3/8"X19 12 13.5 22 33
1B-04-08 G1/4"X19 G1/2"X14 12 16 27 36
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 30 38.5

1B-06 G3/8"X19 G3/8"X19 13,5 | 135 22 35
1B-06-08 G3/8"X19 G1/2"X14 13.5 16 27 375
1B-06-10 G3/8"X19 G5/8"X14 135 | 175 30 40
1B-06-12 G3/8"X19 G3/4"X14 13,5 | 185 32 42

1B-08 G1/2"X14 G1/2"X14 16 16 27 40
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 30 42.5
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 32 44

1B-10 G5/8"X14 G5/8"X14 175 | 175 30 44
1B-10-12 G5/8"X14 G3/4"X14 17.5 | 185 32 46
1B-10-16 G5/8"X14 G1"X11 17.5 | 20.5 41 50

1B-12 G3/4"X14 G3/4"X14 18.5 | 185 32 47
1B-12-16 G3/4"X14 G1"X11 18.5 | 20.5 41 49
1B-12-20 G3/4"X14 | G1.1/4"X11 18.5 | 20.5 50 56

1B-16 G1"X11 G1"X11 20.5 | 20.5 41 53
1B-16-20 G1"X11 G1.1/4"X11 20.5 | 20.5 50 57
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 55 60

1B-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 20.5 50 58
1B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 23 55 61

1B-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63
1B-24-32 G1.1/2"X11 G2"X11 23 255 70 66

1B-32 G2"X11 G2"X11 255 | 255 70 69

-122 -




Hydraulic Adapters

www.lomoflex.com

Ly

1B4

R&Z
45° B HMIEZ60° P HE
— 45°BSP MALE 60°SEAT
A S1
= 124 THREADE N 7 DIMENSIONS
PART NO. E F A B S1
1B4-02-04 G1/8"X28 G1/4"X19 22 22 14
1B4-04 G1/4"X19 G1/4"X19 22 22 14
1B4-04-06 G1/4"X19 G3/8"X19 22 22 17
1B4-06 G3/8"X19 G3/8"X19 22 22 17
1B4-06-08 G3/8"X19 G1/2"X14 27 27 22
1B4-08 G1/2"X14 G1/2"X14 27 27 22
1B4-08-12 G1/2"X14 G3/4"X14 33 33 27
1B4-10 G5/8"X14 G5/8"X14 27 27 22
1B4-10-12 G5/8"X14 G3/4"X14 33 33 27
1B4-12 G3/4"X14 G3/4"X14 33 33 27
1B4-12-16 G3/4"X14 G1"X11 37 37 33
1B4-16 G1"X11 G1"X11 37 37 33
1B4-16-20 G1"X11 G1.1/4"X11 40 40 44
1B4-20 G1.1/4"X11 | G1.1/4"X11 40 40 44
1B4-20-24 G1.1/4"X11 | G1.1/2"X11 47 47 53
1B4-24 G1.1/2"X11 | G1.1/2"X11 47 47 53
1B4-32 G2"X11 G2"X11 55 55 65

- 123 -




Hydraulic Adapters

www.lomoflex.com

< F Y
A 1B9
) ‘
| 90°JEAF HMZL60° Py HE
] ){/ 90°BSP MALE 60°SEAT
A S1
e %2 THREADE U~} DIMENSIONS
PART NO. E F A B S1
1B9-02-04 G1/8"X28 G1/4"X19 27 29 14
1B9-04 G1/4"X19 G1/4"X19 29 27 14
1B9-04-06 G1/4"X19 G3/8"X19 28 30 17
1B9-06 G3/8"X19 G3/8"X19 30 28 17
1B9-06-08 G3/8"X19 G1/2"X14 37 37 22
1B9-08 G1/2"X14 G1/2"X14 37 37 22
1B9-08-12 G1/2"X14 G3/4"X14 41 41 27
1B9-10 G5/8"X14 G5/8"X14 37 37 22
1B9-10-12 G5/8"X14 G3/4"X14 41 41 27
1B9-12 G3/4"X14 G3/4"X14 41 41 27
1B9-12-16 G3/4"X14 G1"X11 49 49 33
1B9-16 G1"X11 G1"X11 49 49 33
1B9-16-20 G1"X11 G1.1/4"X11 57 57 44
1B9-20 G1.1/4"X11 | G1.1/4"X11 57 57 44
1B9-20-24 G1.1/4"X11 | G1.1/2"X11 57 57 48
1B9-24 G1.1/2"X11 | G1.1/2"X11 57 57 48
1B9-32 G2"X11 G2"X11 66 63 65

124 -




Hydraulic Adapters

www.lomoflex.com

N|»

2B

L HMERL60° A HE SN S I AL G
B WIREL60 ° Mt
BSP MALE DOUBLE FOR
60 °SEAT BONDED SEAL /BSP
FEMALE 60°CONE

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2B-02 G1/8"X28 | G1/8"X28 10 | 55 | 14 14
2B-02-04 G1/8"X28 | G1/4"X19 10 | 55 | 14 19
2B-04 G1/4"X19 | G1/4"X19 12 | 55 | 19 19
2B-04-06 G1/4"X19 | G3/8"X19 12 | 65 | 19 22
2B-04-08 G1/4"X19 | G1/2"X14 12 8 19 27
2B-06 G3/8"X19 | G3/8"X19 135 | 65 | 22 | 22
2B-06-08 G3/8"X19 | G1/2"X14 135 | 8 22 | 27
2B-06-10 G3/8"X19 | G5/8"X14 135 | 105 | 22 | 30
2B-08 G1/2"X14 | G1/2"X14 16 8 27 | 27
2B-08-06 G1/2"X14 | G3/8"X19 16 | 65 | 27 | 27
2B-10 G5/8"X14 | G5/8"X14 175 | 105 | 30 | 30
2B-10-08 G5/8"X14 | G1/2"X14 175 | 8 30 | 27
2B-10-12 G5/8"X14 | G3/4"X14 175 | 115 | 30 | 32
2B-12 G3/4"X14 | G3/4"X14 185 | 115 | 32 | 32
2B-12-10 G3/4"X14 | G5/8"X14 185 [ 105 | 32 | 30
2B-12-16 G3/4"X14 | G1"X11 185 | 115 | 32 | 41
2B-16 G1"X11 G1"X11 205 | 115 | 41 M
2B-16-12 G1"X11 | G3/4"X14 205 | 115 | 41 32
2B-16-20 G1"X11 | G1.1/4"X11 205 | 12 | 41 50
2B-20 G1.1/4"X11 | G1.1/4"X11 205 | 12 50 | 50
2B-20-16 | G1.1/4"X11|  G1"X11 205 | 115 | 50 | 41
2B-20-24 | G1.1/4"X11| G1.1/2"X11 205 | 13 50 | 55
2B-24 G1.1/2"X11 | G1.1/2"X11 23 | 13 55 | 55
2B-32 G2"X11 G2"X11 255 | 16 | 70 | 70

- 125 -




Hydraulic Adapters

www.lomoflex.com

2B4

S2
T 45° ST SMRLEL60° Py )
Y N IRZI60 A
C_ 45°BSP MALE 60°SEAT/
A S1 BSP FEMALE
60°CONE
K5 24 THREADE U~ DIMENSIONS

PART NO. E F A C S1 | S2
2B4-04 G1/4"X19 | G1/4"X19 22 | 55 | 14 | 19
2B4-04-06 | G1/4"X19 | G3/8"X19 22 | 65 | 17 | 22
2B4-06 G3/8"X19 | G3/8"X19 22 | 65 | 17 | 22
2B4-06-04 | G3/8"X19 | G1/4"X19 22 | 55 | 17 | 19
2B4-08 G1/2"X14 | G1/2"X14 27 8 22 | 27
2B4-08-06 | G1/2"'X14 | G3/8"X19 27 | 65 | 22 | 22
2B4-10 G5/8"X14 | G5/8"X14 27 | 105 | 22 | 30
2B4-10-08 | G5/8"X14 | G1/2"X14 27 8 22 | 27
2B4-12 G3/4"X14 | G3/4"X14 33 | 115 | 27 | 32
2B4-16 G1"X11 G1"X11 37 | 115 | 33 | 41
2B4-20 G1.1/4"X11 | G1.1/4"X11 4 | 12 | 44 | 50
2B4-24 G1.1/2"X11 | G1.1/2"X11 47 | 13 53 | 55
2B4-32 G2"X11 G2"X11 5 | 16 | 65 | 70

- 126 -




Hydraulic Adapters

www.lomoflex.com

S2

=1

2B9

90° JLE SR LL60° A HE/

T N IRLL60 Ak
] 90°BSP MALE 60°SEAT/
A s1 BSP FEMALE
60°CONE
e 22 THREADE U sf DIMENSIONS
PART NO. E F A C S1 S2
2B9-02 G1/8"X28 | G1/8"X28 23 | 55 11 14
2B9-04 G1/4"X19 | G1/4"X19 29 | 55 14 19
2B9-04-06 | G1/4"X19 | G3/8"X19 30 | 65 17 22
2B9-06 G3/8"X19 | G3/8"X19 30 | 65 17 22
2B9-06-04 | G3/8"X19 | G1/4"X19 30 | 55 17 19
2B9-08 G1/2"X14 | G1/2"X14 37 8 22 | 27
2B9-08-06 | G1/2"X14 | G3/8"X19 37 | 65 22 | 22
2B9-10 G5/8"X14 | G5/8"X14 37 | 105 | 22 | 30
2B9-10-08 | G5/8'X14 | G1/2"X14 37 8 22 | 27
2B9-12 G3/4"X14 | G3/4"X14 41 |15 | 27 | 32
2B9-16 G1"X11 G1"X11 49 | 115 | 33 | 41
2B9-20 G1.1/4"X11 | G1.1/4"X11 57 | 12 44 | 50
2B9-24 G1.1/2"X11 | G1.1/2"X11 57 | 13 48 | 55
2B9-32 G2"X11 G2"X11 66 | 16 65 | 70

- 127 -




Hydraulic Adapters

www.lomoflex.com

S1

S2

>

1,

3B

L N IRZ60°HME

K BSP FEMALE 60°CONE

A c
=] 124 THREADE JU I DIMENSIONS
PART NO. E F A C S1 S2
3B-02 G1/8"X28 | G1/8"X28 55 | 55 | 14 14
3B-02-04 G1/8"X28 | G1/4"X19 55 | 55 | 14 19
3B-04 G1/4"X19 | G1/4"X19 55 | 55 | 19 19
3B-04-06 G1/4"X19 | G3/8"X19 55 | 65 | 19 22
3B-04-08 G1/4"X19 | G1/2"X14 5.5 8 19 27
3B-06 G3/8"X19 | G3/8"X19 65 | 65 | 22 22
3B-06-08 G3/8"X19 | G1/2"X14 6.5 8 22 27
3B-08 G1/2"X14 | G1/2"X14 8 8 27 27
3B-08-10 G1/2"X14 | G5/8"X14 8 |105 | 27 30
3B-08-12 G1/2"X14 | G3/4"X14 8 | 115 | 27 32
3B-10 G5/8"X14 | G5/8"X14 10.5 | 10.5 | 30 30
3B-10-12 G5/8"X14 | G3/4"X14 105 | 11.5 | 30 32
3B-12 G3/4"X14 | G3/4"X14 115 | 115 | 32 32
3B-12-16 G3/4"X14 G1"X11 115 | 115 | 32 41
3B-16 G1"X11 G1"X11 115 | 115 | 41 41
3B-16-20 G1"X11 | G1.1/4"X11 115 | 12 41 50
3B-20 G1.1/4"X11 | G1.1/4"X11 12 12 50 50
3B-24 G1.1/2"X11 | G1.1/2"X11 13 13 55 55
3B-32 G2"X11 G2"X11 16 16 70 70

- 128 -




Hydraulic Adapters www.lomoflex.com

3B4

45° LT IR ZI60° /M E
45°BSP FEMALE 60°CONE

= 24 THREADE JU 5| DIMENSIONS
PART NO. E C S1 S2
3B4-02 G1/8"X28 55 1 14
3B4-04 G1/4"X19 55 1 19
3B4-06 G3/8"X19 6.5 17 22
3B4-08 G1/2"X14 8 19 27
3B4-10 G5/8"X14 10.5 22 30
3B4-12 G3/4"X14 11.5 27 32
3B4-16 G1"X11 11.5 33 41
3B4-20 G1.1/4"X11 12 44 50
3B4-24 G1.1/2"X11 13 50 55
3B4-32 G2"X11 16 65 70
E
S
Z
— 7 3B9
G
- 90° HL 4 PN IR L60° M
‘ 90°BSP FEMALE 60°CONE
_CZJ/S 3

e 24 THREADE JU I DIMENSIONS
PART NO. E C S1 S2
3B9-02 G1/8"X28 55 1 14
3B9-04 G1/4"X19 55 1 19
3B9-06 G3/8"X19 6.5 17 22
3B9-08 G1/2"X14 8 19 27
3B9-10 G5/8"X14 10.5 22 30
3B9-12 G3/4"X14 11.5 27 32
3B9-16 G1"X11 11.5 33 41
3B9-20 G1.1/4"X11 12 44 50
3B9-24 G1.1/2"X11 13 50 55
3B9-32 G2"X11 16 65 70

- 129 -



Hydraulic Adapters

www.lomoflex.com

A
- 4B
YL HMRZ60° N HESLS
Ui 7 FH 2 5 4085 b Sk
BSP MALE DOUBLE FOR 60°
s1 SEAT OR BONDED SEAL PLUG
= 1240 THREADE I DIMENSIONS
PART NO. E A S1 L
4B-02 G1/8"X28 10 14 16
4B-04 G1/4"X19 12 19 18
4B-06 G3/8"X19 135 | 22 21
4B-08 G1/2"X14 16 27 | 24
4B-10 G5/8"X14 175 | 30 27
4B-12 G3/4"X14 185 | 32 28
4B-16 G1"X11 205 | 41 32
4B-20 G1.1/4"X11 205 | 50 37
4B-24 G1.1/2"X11 23 | 55 | 40
4B-32 G2"X11 255 | 70 | 43
S1
9B
(> Y /A L N IRZ060 °HMELE K
% BSP FEMALE 60°CONE PLUG
el
e 24 THREADE JU I DIMENSIONS
PART NO. E C S1
9B-04 G1/4"X19 55 | 17
9B-06 G3/8"X19 6 22
9B-08 G1/2"X14 7 27
9B-10 G5/8"X14 85 | 27
9B-12 G3/4"X14 9 32
9B-16 G1"X11 11 38
9B-20 G1.1/4"X11 11 50
9B-24 G1.1/2"X11 12 55
9B-32 G2"X11 15 70

- 130 -




Hydraulic Adapters

www.lomoflex.com

A B 6 B
| YU AMRL60° Py HE I AR
Z BSP MALE 60°SEAT BULKHEAD
%
e 22 THREADE U~ DIMENSIONS
PART NO. E A B S1 L

6B-02 G1/8"X28 10 33 14 49

6B-04 G1/4"X19 12 35 19 53

6B-06 G3/8"X19 13.5 35 22 56

6B-08 G1/2"X14 16 39 27 63

6B-10 G5/8"X14 17.5 40 30 67.5

6B-12 G3/4"X14 18.5 42 32 70

6B-16 G1"X11 20.5 50 41 83

6B-20 G1.1/4"X11 20.5 52 50 89.5

6B-24 G1.1/2"X11 23 55 55 95

6B-32 G2"X11 25.5 55 70 98.5
A U BT B, W AE AQS S LN, W16B-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert suffix"LN"after
our part NO.,for example 6B-12LN.

E

1

6B9

y
A | Q0 35/ AR 60° P H i 45 3K
__SC 90°BSP MALE 60°SEAT BULKHEAD
A S1

foe 24 THREADE JU <} DIMENSIONS

PART NO. E A B S1

6B9-04 G1/4"X19 29 51 14

6B9-06 G3/8"X19 30 | 535 | 17

6B9-08 G1/2"X14 37 | 585 | 22

6B9-12 G3/4"X14 41 64 27

6B9-16 G1"X11 49 71 33

FyE T A B RET 52, TS £E A5 5 LN, 416B9-12LN;

our part NO.,for example 6B9-12LN.

Remark:In case if you are interested to order the adapter with lock nut,please insert suffix"LN"after

- 131 -




Hydraulic Adapters www.lomoflex.com

" 8B

' SRS
A BSP LOCK NUT

o #2240 THREADE U~} DIMENSIONS
PART NO. E A S1
8B-02 G1/8"X28 55 14
8B-04 G1/4"X19 6.5 19
8B-06 G3/8"X19 7 22
8B-08 G1/2"X14 9 27
8B-10 G5/8"X14 9 30
8B-12 G3/4"X14 10.5 32
8B-16 G1"X11 10.5 41
8B-20 G1.1/4"X11 10.5 50
8B-24 G1.1/2"X11 10.5 55
8B-32 G2"X11 10.5 70

- 132 -



Hydraulic Adapters www.lomoflex.com

1BT

T HMEEI60° P HE B A i
2 R B S SRS
BSP MALE DOUBLE FOR
60 °SEAT BONDED
SEAL/BSPT MALE

o i24; THREADE < DIMENSIONS
PART NO. E F A s1 L
1BT-02 G1/8"X28 | R1/8"X28 10 | 10 | 14 26
1BT-02-04 | G1/8"X28 | R1/4"X19 10 | 14 | 14 30
1BT-04 G1/4"X19 | R1/4"X19 12 | 14 | 19 32
1BT-04-02 | G1/4"X19 | R1/8"X28 122 | 10 | 19 28
1BT-04-06 | G1/4"X19 | R3/8"X19 12 | 14 | 19 32
1BT-06 G3/8"X19 | R3/8"X19 135 | 14 | 22 35
1BT-06-04 | G3/8"X19 | R1/4"X19 135 | 14 | 22 35
1BT-06-08 | G3/8"X19 | R1/2"X14 135 | 19 | 22 41
1BT-08 G1/2'X14 | R1/2"X14 16 | 19 | 27 45
1BT-08-06 | G1/2"X14 | R3/8"X19 16 | 14 | 27 40
1BT-08-12 | G1/2'X14 | R3/4"X14 16 | 195 | 27 45
1BT-10-08 | G5/8"X14 | R1/2"X14 175 | 19 | 30 45
1BT-10-12 | G5/8"X14 | R3/4"X14 175 | 195 | 30 47
1BT-12 G3/4"X14 | R3/4"X14 185 | 195 | 32 48
1BT-12-08 | G3/4"X14 | R1/2"X14 185 | 19 | 32 47
1BT-12-16 | G3/4"X14 | R1"X11 185 | 24 | 36 53
1BT-16 G1"X11 R1"X11 205 | 24 | 41 58
1BT-16-12 G1"X11 | R3/4"X14 205 | 195 | 41 53
1BT-16-20 G1"X11 | R1.1/4"X11 205 | 25 | 46 59
1BT-20 | G1.1/4"X11 | R1.1/4"X11 205 | 25 | 50 62
1BT-20-16 | G1.1/4"X11|  R1"X11 205 | 24 | 50 61
1BT-20-24 | G1.1/4"X11 | R1.1/2"X11 205 | 25 | 50 62
1BT-24 | G1.1/2"X11 | R1.1/2"X11 23 | 25 | 55 65
1BT-24-16 | G1.1/2"X11|  R1"X11 23 | 24 | 55 61
1BT-24-20 | G1.1/2"X11 | R1.1/4"X11 23 | 25 | 55 65
1BT-24-32 | G1.1/2"X11|  R2"X11 23 | 29 | 65 69
1BT-32 G2"X11 R2"X11 255 | 29 | 70 72
1BT-32-24 G2'X11 | R1.1/2"X11 255 | 25 | 70 68

- 133 -




1BT4

Y,
| A5° YA HMELI60° P HE SRS SRR LL
45°BSP MALE 60°SEAT /BSPT MALE
R 24 THREADE R~ DIMENSIONS
PART NO. E F A S1
1BT4-02 G1/8"X28 R1/8"X28 17 17 1
1BT4-04 G1/4"X19 R1/4"X19 22 22 14
1BT4-04-06 G1/4"X19 R3/8"X19 22 22 17
1BT4-06 G3/8"X19 R3/8"X19 22 22 17
1BT4-06-04 G3/8"X19 R1/4"X19 22 22 17
1BT4-06-08 G3/8"X19 R1/2"X14 27 27 22
1BT4-06-12 G3/8"X19 R3/4"X14 33 33 27
1BT4-08 G1/2"X14 R1/2"X14 27 27 22
1BT4-08-06 G1/2"X14 R3/8"X19 27 27 22
1BT4-08-12 G1/2"X14 R3/4"X14 33 33 27
1BT4-10-08 G5/8"X14 R1/2"X14 27 27 22
1BT4-10-12 G5/8"X14 R3/4"X14 33 33 27
1BT4-12 G3/4"X14 R3/4"X14 33 33 27
1BT4-12-08 G3/4"X14 R1/2"X14 33 33 27
1BT4-12-16 G3/4"X14 R1"X11 37 37 33
1BT4-16 G1"X11 R1"X11 37 37 33
1BT4-16-12 G1"X11 R3/4"X14 37 37 33
1BT4-16-20 G1"X11 R1.1/4"X11 40 40 44
1BT4-20 | G1.1/4"X11 | R1.1/4"X11 40 | 40 | 44
1BT4-20-16 G1.1/4"X11 R1"X11 40 40 44
1BT4-20-24 G1.1/4"X11 | R1.1/2"X11 47 47 52
1BT4-24 G1.1/2"X11 | R1.1/2"X11 47 47 52
1BT4-24-20 G1.1/2"X11 | R1.1/4"X11 47 47 52
1BT4-24-32 | G1.1/2"X11 R2"X11 55 55 65
1BT4-32 G2"X11 R2"X11 55 55 65
1BT4-32-24 G2"X11 R1.1/2"X11 55 55 65

134 -




Hydraulic Adapters www.lomoflex.com

) 1BT9

I Q0° YL AF HMELLB0° P HE/SEHE T SME L
90°BSP MALE 60°SEAT /BSPT MALE

Smc)

A S1
o 22 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
1BT9-02 G1/8"X28 | R1/8"X28 25 | 25 | 11
1BT9-02-04 | G1/8"X28 | R1/4"X19 27 | 29 | 14
1BT9-04 G1/4"X19 | R1/4"X19 29 | 27 | 14
1BT9-04-02 | G1/4"X19 | R1/8"X28 29 | 27 | 14
1BT9-04-06 | G1/4"X19 | R3/8"X19 29 | 30 | 17
1BT9-06 G3/8"X19 | R3/8"X19 30 | 29 | 17
1BT9-06-04 | G3/8"X19 | R1/4"X19 30 | 29 | 17
1BT9-06-08 | G3/8"X19 | R1/2"X14 37 | 37 | 22
1BT9-08 G1/2"X14 | R1/2"X14 37 | 37 | 22
1BT9-08-06 | G1/2"X14 | R3/8"X19 37 | 37 | 22
1BT9-08-12 | G1/2"X14 | R3/4"X14 M M 27
1BT9-10-08 | G5/8"X14 | R1/2"X14 M M 27
1BT9-10-12 | G5/8"X14 | R3/4"X14 M M 27
1BT9-12 G3/4"X14 | R3/4"X14 M M 27
1BT9-12-08 | G3/4"X14 | R1/2"X14 M M 27
1BT9-12-16 | G3/4"X14 | R1"X11 49 | 49 | 33
1BT9-16 G1"X11 R1"X11 49 | 49 | 33
1BT9-16-12 G1"X11 | R3/4"X14 49 | 49 | 33
1BT9-16-20 G1"X11 | R1.1/4"X11 57 | 57 | 44
1BT9-20 | G1.1/4"X11 | R1.1/4"X11 57 | 57 | 44
1BT9-20-16 | G1.1/4"X11|  R1"X11 57 | 57 | 44
1BT9-20-24 | G1.1/4"X11 | R1.1/2"X11 57 | 57 | 48
1BT9-24 | G1.1/2"X11 | R1.1/2"X11 57 | 57 | 48
1BT9-24-20 | G1.1/2"X11 | R1.1/4"X11 57 | 57 | 48
1BT9-24-32 | G1.1/2"X11|  R2"X11 66 | 66 | 65
1BT9-32 G2"X11 R2"X11 66 | 66 | 65
1BT9-32-24 G2"X11 | R1.1/2"X11 66 | 66 | 65

- 135 -




Hydraulic Adapters www.lomoflex.com

1BN

S HMEEL60° A HESN Ay i [
2 AR B ATHE R SMR L
BSP MALE DOUBLE FOR
60°SEAT BONDED

“rs,

SEAL/NPT MALE
= 24 THREADE R -} DIMENSIONS
PART NO. E F A sl L
1BN-02 G1/8"X28 | Z1/8"X27 10 | 10 | 14 26
1BN-02-04 | G1/8"X28 | Z1/4"X18 10 | 14 | 14 30
1BN-04 G1/4"X19 | Z1/4"X18 12 14 | 19 32
1BN-04-02 | G1/4"X19 | Z1/8"X27 12 10 | 19 28
1BN-04-06 | G1/4"X19 | Z3/8"X18 12 14 | 19 32
1BN-06 G3/8"X19 | Z73/8"X18 135 | 14 22 35
1BN-06-04 | G3/8"X19 | Z1/4"X18 135 | 14 22 35
1BN-06-08 | G3/8"X19 | Z1/2"X14 135 | 19 22 41
1BN-08 G1/2"X14 | Z1/2"X14 16 | 19 27 45
1BN-08-06 | G1/2"X14 | Z3/8"X18 16 | 14 27 40
1BN-08-12 | G1/2"X14 | Z3/4"X14 16 | 195 | 27 45
1BN-10-08 | G5/8"X14 | Z1/2"X14 175 | 19 30 45
1BN-10-12 | G5/8"X14 | Z3/4"X14 175 | 195 | 30 47
1BN-12 G3/4"X14 | Z3/4"X14 185 | 195 | 32 48
1BN-12-08 | GB3/4"X14 | Z1/2"X14 185 | 19 32 47
1BN-12-16 | G3/4"X14 | Z1"X11.5 185 | 24 | 36 53
1BN-16 G1"X11 | Z1"X11.5 205 | 24 | 41 58
1BN-16-12 G1"X11 | Z3/4"X14 205 | 195 | 41 53
1BN-16-20 G1"X11 |Z1.1/4"X11.5 205 | 25 | 46 59
1BN-20 | G1.1/4"X11(Z1.1/4"X11.5 205 | 25 | 50 62
1BN-20-16 | G1.1/4"X11| Z1"X11.5 205 | 24 | 50 61
1BN-20-24 | G1.1/4"X11|Z1.1/2"X11.5 205 | 25 | 50 62
1BN-24 | G1.1/2"X11|Z1.1/2"X11.5 23 | 25 | 55 65
1BN-24-20 | G1.1/2"X11 |Z1.1/4"X11.5 23 | 25 | 55 65
1BN-24-32 | G1.1/2"X11| Z2"X11.5 23 | 29 | 65 69
1BN-32 G2"X11 | Z2"X11.5 255 | 29 | 70 72
1BN-32-24 G2"X11 |Z1.1/2"X11.5 255 | 25 | 70 68

- 136 -




Hydraulic Adapters

www.lomoflex.com

1BN4

“
| 45° B AMRLB0° 1y HE MR AR
45°BSP MALE 60°SEAT /NPT MALE
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B Sl
1BN4-04 G1/4"X19 | Z1/4"X18 22 | 22 | 14
1BN4-04-02 | G1/4"X19 | Z1/8"X27 22 | 22 | 14
1BN4-06 G3/8"X19 | Z3/8"X18 22 | 22 | 17
1BN4-06-04 | G3/8"X19 | Z1/4"X18 22 | 22 | 17
1BN4-06-08 | G3/8"X19 | Z1/2"X14 27 | 27 | 22
1BN4-06-12 | G3/8"X19 | Z3/4"X14 33 | 33 | 27
1BN4-08 G1/2"X14 | Z1/2"X14 27 | 27 | 22
1BN4-08-06 | G1/2"X14 | Z3/8"X18 27 | 27 | 22
1BN4-12 G3/4"X14 | Z3/4"X14 33 | 33 | 27
1BN4-12-08 | G3/4"X14 | Z1/2"X14 33 | 33 | 27
1BN4-12-16 | G3/4"X14 | Z1"X11.5 37 | 37 | 33
1BN4-16 G1"X11 | Z1"X11.5 37 | 37 | 33
1BN4-16-12 G1"X11 | Z3/4"X14 37 | 37 | 33
1BN4-20 | G1.1/4"X11 (Z1.1/4"X11.5 40 | 40 | 44
1BN4-24 | G1.1/2"X11 |Z21.1/2"X11.5 47 | 47 | 52
1BN4-32 G2"X11 | Z2"X11.5 55 | 55 | 65

- 137 -




Hydraulic Adapters

www.lomoflex.com

60°

J

I

1BN9

90° S SR LL60° Py HE/ A1 HE T SR AL
90°BSP MALE 60°SEAT /NPT MALE

A S1
o i24; THREADE /&~ DIMENSIONS
PART NO. E F A B s1
1BN9-04 | G1/4"X19 | Z1/4"X18 29 | 27 | 14
1BN9-04-02 | G1/4"X19 | Z1/8"X27 29 | 27 | 14
1BN9-06 | G3/8"X19 | Z3/8"X18 30 | 29 | 17
1BN9-06-04 | G3/8"X19 | Z1/4"X18 30 | 29 | 17
1BN9-06-08 | G3/8"X19 | Z1/2"X14 37 | 37 | 22
1BN9-06-12 | G3/8"X19 | Z3/4"X14 41 | 41 | 27
1BN9-08 | G1/2"X14 | Z1/2"X14 37 | 37 | 22
1BN9-08-06 | G1/2"X14 | Z3/8"X18 37 | 37 | 22
1BNO-12 | G3/4"X14 | Z3/4"X14 41 | 41 | 27
1BNO-12-08 | G3/4"X14 | Z1/2"X14 41 | 41 | 27
1BN9-12-16 | G3/4"X14 | Z1"X11.5 49 | 49 | 33
1BN9-16 G1"X11 | Z1"X11.5 49 | 49 | 33
1BN9-16-12 | G1"X11 | Z3/4"X14 49 | 49 | 33
1BN9-20 | G1.1/4"X11 |21.1/4"X11.5 57 | 57 | 44
1BN9-24 | G1.1/2"X11 [Z1.1/2"X11.5 57 | 57 | 48
1BN9-32 G2'X11 | Z2"X11.5 66 | 66 | 65

- 138 -




Hydraulic Adapters

www.lomoflex.com

- ] 1BG
P AMIRE60 ° P HE BN A i T
Y5 B B HEE SR GO B
N BSP MALE DOUBLE FOR
60°SEAT BONDED
SEAL/BSPT MALE O-RING
S1
e i24. THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1BG-02 G1/8"X28 G1/8"X28 10 9 14 25
1BG-04 G1/4"X19 G1/4"X19 12 12 19 30
1BG-04-06 G1/4"X19 G3/8"X19 12 13.5 19 31.5
1BG-06 G3/8"X19 G3/8"X19 135 | 13.5 22 35
1BG-06-04 G3/8"X19 G1/4"X19 13.5 12 22 33.5
1BG-06-08 G3/8"X19 G1/2"X14 13.5 16 27 39.5
1BG-08 G1/2"X14 G1/2"X14 16 16 27 42
1BG-08-06 G1/2"X14 G3/8"X19 16 13.5 27 39.5
1BG-08-12 G1/2"X14 G3/4"X14 16 18.5 27 44.5
1BG-10-08 G5/8"X14 G1/2"X14 17.5 16 30 43.5
1BG-12 G3/4"X14 G3/4"X14 18.5 | 18.5 32 47
1BG-12-08 G3/4"X14 G1/2"X14 18.5 16 32 44.5
1BG-16-08 G1"X11 G1/2"X14 20.5 16 41 48.5
1BG-16 G1"X11 G1"X11 20.5 | 205 41 53
1BG-16-12 G1"X11 G3/4"X14 205 | 18.5 41 51
1BG-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 205 50 58
1BG-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63

- 139 -




Hydraulic Adapters

www.lomoflex.com

S2

1BG4-0G

A5° T SMRL60° N HE/
T SRS O LY B W i i
45°BSP MALE 60°SEAT/BSP

A S1 MALE O-RING ADJUSTABLE STUD
END
R 24 THREADE JU <} DIMENSIONS
PART NO. E F A | B | st | s
1BG4-040G| G1/4"X19 | G1/4"X19 22 | 28 | 14 | 19
1BG4-04- G1/4"X19 | G3/8"X19 2 | 30 | 17 | 22
1BG4-04- G1/4"X19 | G1/2"X14 271 | 36 | 22 | 27
U8 Ba4-060G| Gas'x19 | G3as"x19 2 | 30 | 17 | 22
1BG4-06- G3/8"X19 | G1/2"X14 27 | 36 | 22 | 27
U9BB4.080G| G12'x14 | G1/2"x14 271 | 36 | 22 | 27
1BG4-120G| G3/4"X14 | G3/4"X14 33 | 42 | 27 | 32
1BG4-12- G3/4"X14 | G1"X11 37 | 44 | 33 | 41
08341606 G1"X11 G1"X11 37 | 44 | 33 | 41
1BG4-200G | G1.1/4"X11 | G1.1/4"X11 40 | 475 | 44 | 50
1BG4-240G | G1.1/2"X11 | G1.1/2"X11 47 | 515 | 52 | 55

- 140 -




Hydraulic Adapters

www.lomoflex.com

w
_

iy

1BG9-0G

90°H 5 HMERLL60° A HE/
T SRS O LY B W i i
90°BSP MALE 60°SEAT/BSP

S MALE O-RING ADJUSTABLE STUD
END
fo 124, THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s2
1BG9-040G| G1/4"X19 | G1/4"X19 29 [ 315 | 14 | 19
1BGO-04- G1/4"X19 | G3/8"X19 30 | 368 | 17 | 22
YBB9-060G| G3/8"X19 | G3/8"X19 30 | 368 | 17 | 22
1BG9-06- G3/8"X19 | G1/2"X14 37 | 432 | 22 | 27
U9BB9-080G| G1/2'x14 | G1/2"X14 37 | 432 | 22 | 27
1BG9-08- G1/2'X14 | G3/4"X14 41 493 | 27 | 32
T98Go-120G| G34"x14 | G3/4"X14 41 | 493 | 27 | 32
1BGO-12- G3/4"X14 | G1"X11 49 | 53 | 33 | 41
OB39-160G| G1"X11 G1"X11 49 | 53 | 33 | 41
1BGY-20- G1.14"X11|  G1"X11 57 | 58 | 44 | a1
08892006 | G1.1/4"X11 | G1.1/4"X11 57 | 58 | 44 | 50
1BG9-240G | G1.1/2°X11 | G1.1/2"X11 57 | 63 | 48 | 55

- 141 -




Hydraulic Adapters

www.lomoflex.com

- ] 1BH
YL HMREL60° A HE BN A S T
A B A FIIMRLURE RS
/ \M( 2 BSP MALE DOUBLE FOR
J 60°SEAT BONDED SEAL/METRIC
MALE L-SERIES
S1
et 124 THREADE U~} DIMENSIONS

PART NO. E F A B S1 L
1BH-02-10 G1/8"X28 M10x1 10 11 14 27
1BH-02-12 | G1/8"X28 | M12x1.5 10 11 14 27
1BH-04-12 G1/4"X19 | M12x1.5 12 11 19 29
1BH-04-14 | G1/4"X19 | M14x1.5 12 11 19 29
1BH-04-16 G1/4"X19 | M16x1.5 12 11 19 29
1BH-06-14 | G3/8"X19 | M14x1.5 135 | 11 22 32.5
1BH-06-16 G3/8"X19 | M16x1.5 135 | 11 22 32.5
1BH-06-18 | G3/8"X19 | M18x1.5 135 | 11 22 32.5
1BH-08-18 G1/2"X14 | M18x1.5 16 11 27 37
1BH-08-22 | G1/2"X14 | M22x1.5 16 12 27 38
1BH-10-22 G5/8"X14 | M22x1.5 175 | 12 30 39.5
1BH-12-16 | G3/4"X14 | M16x1.5 18.5 | 11 32 39.5
1BH-12-22 G3/4"X14 | M22x1.5 185 | 12 32 40.5
1BH-12-27 | G3/4"X14 | M27x1.5 185 | 13 32 41.5
1BH-16-27 G1"X11 | M27x1.5 205 | 13 M 45.5

- 142 -




Hydraulic Adapters

www.lomoflex.com

S2

1BH4-0G

45° 5L HMRL60° P HE/
N AMRLUE R A
45°BSP MALE 60°SEAT/

A s1 METRIC MALE 0-
RING
o 24 THREADE JU  ~] DIMENSIONS

PART NO. E F A | B | st | s2
1BH4-02- G1/8"X28 |  M10x1 20 | 235 | 11 | 14
1BR%-02- G1/8"X28 | M12x1.5 20 |275 | 11 | 17
1BHF.04- G1/4"X19 | M12x1.5 22 283 | 14 | 17
18K %04 G1/4"X19 | M14x1.5 22 283 | 14 | 19
18H%.04- G1/4"X19 | M16x1.5 22 293 | 17 | 22
1Br%-06- G3/8"X19 | M14x1.5 22 288 | 17 | 19
18H%.06- G3/8"X19 | M16x1.5 22 203 | 17 | 22
1BrZ-06- G3/8"X19 | M18x1.5 25 | 31 | 19 | 24
1EHF.08- G1/2'X14 | M18x1.5 27 (333 | 22 | 24
1BPZ.0s- G1/2"X14 | M22x1.5 33 | 333 | 27 | 27
7B8HZ.10- G5/8"X14 | M22x1.5 33 | 333 | 27 | 27
78HZ12- G3/4"X14 | M22x1.5 33 | 345 | 27 | 27
1BR%-12- G3/4"X14 | M27x1.5 33 | 395 | 27 | 32
7BHT16- G1"X11 | M27x1.5 37 | 405 | 33 | 32
210G

- 143 -




Hydraulic Adapters

www.lomoflex.com

|w

L

1BH9-0OG

‘<|/ 90° WL AR ZL60° A HiE/
NHIAMERERE R
90°BSP MALE 60°SEAT/
s METRIC MALE 0-RING
foe 24 THREADE U~} DIMENSIONS

PART NO. E F A B | sl | s2
1BH9-02- G1/8"X28 | M10x1 25 | 265 | 11 | 14
1BP%.02- G1/8'x28 | M12x1.5 25 | 305 | 11 | 17
1BHG.04- G1/4"X19 | M12x1.5 20 | 32 | 14 | 17
18KY.04- G1/4"X19 | M14x1.5 29 325 | 14 | 19
18HY.04- G1/4"X19 | M16x1.5 30 | 348 | 17 | 22
1BP%.06- G3/8"X19 | M14x1.5 30 | 34 | 17 | 19
18HY.06- G3/8"X19 | M16x1.5 30 | 348 | 17 | 22
1BP%.06- G3/8"X19 | M18x1.5 33 | 37 | 19 | 24
1EHY.08- G1/2'X14 | M18x1.5 37 | 395 | 22 | 24
1BH5-08- G1/2"X14 | M22x1.5 40 | 402 | 27 | 27
78HG.10- G5/8"X14 | M22x1.5 40 | 402 | 27 | 27
18HG-12- G3/4"X14 | M22x1.5 40 | 435 | 27 | 27
1BRG-12- G3/4"X14 | M27x1.5 40 | 485 | 27 | 32
7BHG.16- G1"X11 | M27x1.5 49 | 52 | 33 | 32
200G

- 144 -




Hydraulic Adapters www.lomoflex.com

- - 1BJ

YR SMBLLB0° I HE N F1 S T4
\ LR B BJIC A ST A S
% 7 BSP MALE DOUBLE FOR
60°SEAT BONDED SEAL/JIC
MALE 74°CONE

S1

o i24 THREADE /&~ DIMENSIONS
PART NO. E F A B s1 L
1BJ-02-04 | G1/8"X28 | U7/16"X20 10 | 14 | 14 | 30
1BJ-02-05 | G1/8"X28 | U1/2"X20 10 | 14 | 14 | 30
1BJ-02-06 | G1/8"X28 | U9/16"X18 10 | 14 | 14 | 30
1BJ-04 G1/4"X19 | U7/16"X20 12 | 14 | 19 | 32
1BJ-04-05 | G1/4"X19 | U1/2"X20 12 | 14 | 19 | 32
1BJ-04-06 | G1/4"X19 | U9/16"X18 12 | 14 | 19 | 32
1BJ-04-08 | G1/4"X19 | U3/4"X16 12 | 167 | 19 | 37
1BJ-04-10 | G1/4"X19 | U7/8"X14 12 | 195 | 22 | 395
1BJ-06 G3/8"X19 | U9/16"X18 135 | 14 | 22 | 35
1BJ-06-04 | G3/8"X19 | U7/16"X20 135 | 14 | 22 | 35
1BJ-06-05 | G3/8"X19 | U1/2"X20 135 | 14 | 22 | 35
1BJ-06-08 | G3/8"X19 | U3/4"X16 135 | 167 | 22 | 38
1BJ-06-10 | G3/8"X19 | U7/8"X14 135 [ 195 | 22 | 41
1BJ-06-12 | G3/8"X19 |U1.1/16"X12 135 | 22 | 30 | 445
1BJ-08 G1/2"X14 | U3/4"X16 16 | 167 | 27 | 42
1BJ-08-04 | G1/2"X14 | U7/16"X20 16 | 14 | 27 | 40
1BJ-08-05 | G1/2"X14 | U1/2"X20 16 | 14 | 27 | 40
1BJ-08-06 | G1/2"X14 | U9/16"X18 16 | 14 | 27 | 40
1BJ-08-10 | G1/2'X14 | U7/8"X14 16 | 195 | 27 | 455
1BJ-08-12 | G1/2"X14 |U1.1/16"X12 16 | 22 | 30 | 47
1BJ-08-16 | G1/2"X14 |U1.5/16"X12 16 | 23 | 36 | 50
1BJ-10 G5/8"X14 | U7/8"X14 175 [ 195 | 30 | 46
1BJ-10-08 | G5/8"X14 | U3/4"X16 175 [ 167 | 30 | 43
1BJ-10-12 | G5/8"X14 |U1.1/16"X12 175 | 22 | 30 | 485
1BJ-10-16 | G5/8"X14 |U1.5/16"X12 175 | 23 | 36 | 515
1BJ-12 G3/4"X14 |U1.1/16"X12 185 | 22 | 32 | 50
1BJ-12-06 | G3/4"X14 | U9/16"X18 185 | 14 | 32 | 42
1BJ-12-08 | G3/4"X14 | U3/4"X16 185 [ 16.7 | 32 | 46
1BJ-12-10 | G3/4"X14 | U7/8"X14 185 [ 195 | 32 | 49

- 145 -



Hydraulic Adapters www.lomoflex.com

% BT
R i240 THREADE R -] DIMENSIONS
PART NO. E F A B | si L
1BJ-12-16 | G3/4"X14 |U1.5/16"X12 185 | 23 | 36 | 52
1BJ-12-20 | G3/4"X14 | U1.5/8"X12 185 | 245 | 46 | 56
1BJ-16 G1"X11  |U1.5/16"X12 205 | 23 | 41 | 56
1BJ-16-08 G1"X11 | U3/4"X16 205 | 167 | 41 | 49
1BJ-16-10 G1"X11 | U7/8"X14 205 | 195 | 41 | 52
1BJ-16-12 G1"X11  |U1.1/16"X12 205 | 22 | 41 | 54
1BJ-16-20 G1"X11 | U1.5/8"X12 205 | 245 | 46 | 59.5
1BJ-20 | G1.1/4"X11 | U1.5/8"X12 205 | 245 | 50 | 62
1BJ-20-12 | G1.1/4"X11 |U1.1/16"X12 205 | 22 | 50 | 59
1BJ-20-16 | G1.1/4"X11 |U1.5/16"X12 205 | 23 | 50 | 60
1BJ-20-24 | G1.1/4"X11 | U1.7/8"X12 205 | 275 | 50 | 65
1BJ-24-16 | G1.1/2"X11 |U1.5/16"X12 23 | 23 | 55 | 63
1BJ-24-20 | G1.1/2"X11 | U1.5/8"X12 23 | 245 | 55 | 64
1BJ-24 | G1.1/2"X11 | U1.7/8"X12 23 | 275 | 55 | 67
1BJ-24-32 | G1.1/2"X11 | U2.1/2"X12 23 | 34 | 65 | 74
1BJ-32 G2"X11 | U2.1/2"X12 255 | 34 | 70 | 77
1BJ-32-24 G2"X11 | U1.7/8"X12 255 | 275 | 70 | 71

- 146 -



Hydraulic Adapters

www.lomoflex.com

.

1BJ4

45° JLE HMREL60° A HE/
FAIJICHMRALT4 S HE
45°BSP MALE 60°SEAT/

A S1 JIC MALE 74°CONE
e 22y THREADE JU  sf DIMENSIONS
PART NO. E F A B S1
1BJ4-04 G1/4"X19 | U7/16"X20 22 22 14
1BJ4-04-05 G1/4"X19 U1/2"X20 22 22 14
1BJ4-04-06 G1/4"X19 | U9/16"X18 22 22 14
1BJ4-06 G3/8"X19 | U9/16"X18 22 22 17
1BJ4-06-08 G3/8"X19 U3/4"X16 25 25 19
1BJ4-08 G1/2"X14 U3/4"X16 27 27 22
1BJ4-08-10 G1/2"X14 U7/8"X14 27 27 22
1BJ4-10 G5/8"X14 U7/8"X14 33 33 27
1BJ4-12 G3/4"X14 |U1.1/16"X12 33 33 27
1BJ4-16 G1"X11 |U1.5/16"X12 37 37 33
1BJ4-16-20 G1"X11 U1.5/8"X12 40 40 44
1BJ4-20 G1.1/4"X11 | U1.5/8"X12 40 40 44
1BJ4-24 G1.1/2"X11 | U1.7/8"X12 47 47 53
1BJ4-32 G2"X11 U2.1/2"X12 55 55 65

- 147 -




Hydraulic Adapters

www.lomoflex.com

F
= 1BJ9
./
< ‘ 90° LA SMRL60° Py HE/
] SABICHMBLTA S
AN 90°BSP MALE 60°SEAT/
A S1 JIC MALE 74°CONE
o i24; THREADE U -} DIMENSIONS
PART NO. E F A B s1
1BJ9-04 G1/4"X19 | U7/16"X20 27 | 29 | 14
1BJ9-04-05 | G1/4"X19 | U1/2"X20 27 | 29 | 14
1BJ9-04-06 | G1/4"X19 | U9/16"X18 27 | 29 | 14
1BJ9-06 G3/8"X19 | U9/16"X18 29 | 30 | 17
1BJ9-06-08 | G3/8"X19 | U3/4"X16 33 | 33 | 19
1BJ9-08 G1/2"X14 | U3/4"X16 37 | 37 | 22
1BJ9-08-10 | G1/2"X14 | U7/8"X14 37 | 37 | 22
1BJ9-10 G5/8"X14 | U7/8"X14 40 | 40 | 27
1BJ9-12 G3/4"X14 |U1.1/16"X12 40 | 40 | 27
1BJ9-16 G1"X11  |U1.5/16"X12 49 | 49 | 33
1BJ9-16-20 | G1"X11 | U1.5/8"X12 57 | 57 | 44
1BJ9-20 | G1.1/4"X11 | U1.5/8"X12 57 | 57 | 44
1BJ9-24 | G1.1/2"X11| U1.7/8"X12 57 | 57 | 48
1BJ9-32 G2'X11 | U2.1/2"X12 66 | 66 | 65

- 148 -




Hydraulic Adapters

www.lomoflex.com

L
’ ] 1BM
Y HMERLI60° AN A i 1] 415 H e B
D TRIAMREL60 A HE B /N A i ] 4 75 28 )
, %/// ) BSP MALE 60°SEAT DOUBLE
60°SEAT BONDED
J SEAL/METRIC MALE
. DOUBLE 60°SEAT BONDED SEAL
o 24 THREADE U~} DIMENSIONS
PART NO. E F A B S1 L
1BM-02-12 | G1/8"X28 | M12x1.5 10 | 10 | 17 28
1BM-04-12 | G1/4"X19 | M12x1.5 12 10 | 19 30
1BM-04-14 | G1/4"X19 | M14x1.5 12 11 19 31
1BM-04-16 | G1/4"X19 | M16x1.5 12 12 22 | 34
1BM-04-18 | G1/4"X19 | M18x1.5 12 12 24 | 34
1BM-06-12 | G3/8"X19 | M12x1.5 135 | 10 22 | 325
1BM-06-14 | G3/8"X19 | M14x1.5 135 | 11 22 | 335
1BM-06-16 | G3/8"X19 | M16x1.5 135 | 12 22 | 345
1BM-06-18 | G3/8"X19 | M18x1.5 135 | 12 24 | 345
1BM-06-22 | G3/8"X19 | M22x1.5 135 | 14 27 | 395
1BM-08-14 | G1/2"X14 | M14x1.5 16 | 11 27 | 39
1BM-08-16 | G1/2"X14 | M16x1.5 16 | 12 27 | 40
1BM-08-18 | G1/2"X14 | M18x1.5 16 | 12 27 | 40
1BM-08-22 | G1/2"X14 | M22x1.5 16 | 14 27 | 42
1BM-10-22 | G5/8"X14 | M22x1.5 175 | 14 30 | 435
1BM-12-18 | G3/4"X14 | M18x1.5 185 | 12 32 | 425
1BM-12-22 | G3/4"X14 | M22x1.5 185 | 14 32 | 445
1BM-16-14 G1"X11 M14x1.5 205 | 11 41 46
1BM-16-22 G1"X11 M22x1.5 205 | 14 | 41 49

- 149 -



Hydraulic Adapters

www.lomoflex.com

L
- B 1BO
LT HMERL60° PN HE DI/ A i ] 2 15 H
I3 THISAESMRLLHT ORY 6 2 R 41
\///% BSP MALE 60°SEAT BONDED SEAL
o ISAE O-RING BOSS L-SERIES
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1BO-04 G1/4"X19 | U7/16"X20 12 10 19 28
1B0O-04-05 G1/4"X19 | U1/2"X20 12 10 19 28
1B0O-04-06 G1/4"X19 | U9/16"X18 12 12 19 30
1B0O-04-08 G1/4"X19 | U3/4"X16 12 12 22 32
1BO-06 G3/8"X19 | U9/16"X18 135 12 22 | 335
1B0O-06-04 G3/8"X19 | U7/16"X20 135 10 22 | 315
1BO-06-08 G3/8"X19 | U3/4"X16 13.5 12 24 | 335
1BO-06-10 G3/8"X19 u7/8"X14 135 | 13.5 27 37
1BO-08 G1/2"X14 | U3/4"X16 16 12 27 38
1BO-08-06 G1/2"X14 | U9/16"X18 16 12 27 38
1BO-08-10 G1/2"X14 u7/8"X14 16 135 27 | 395
1BO-08-12 G1/2"X14 |U1.1/16"X12 16 16 32 42
1BO-10 G5/8"X14 | U7/8"X14 175 | 13.5 30 41
1BO-10-08 G5/8"X14 | U7/8"X14 17.5 12 30 | 395
1BO-10-12 G5/8"X14 |U1.1/16"X12 17.5 16 32 | 435
1BO-12 G3/4"X14 |U1.1/16"X12 18.5 16 32 | 445
1BO-12-08 G3/4"X14 | U3/4"X16 18.5 12 32 | 405
1BO-12-10 G3/4"X14 | U7/8"X14 185 | 13.5 32 42
1BO-12-16 G3/4"X14 |U1.5/16"X12 185 17 41 47.5
1BO-16 G1"X11 |U1.5/16"X12 20.5 17 41 49.5
1BO-16-10 G1"X11 u7/8"X14 20.5 | 13.5 41 46
1BO-16-12 G1"X11 |U1.1/16"X12 20.5 16 41 48.5
1BO-16-20 G1"X11 | U1.5/8"X12 20.5 18 50 | 555
1BO-20 G1.1/4"X11 | U1.5/8"X12 20.5 18 50 | 555
1BO-20-16 | G1.1/4"X11 |U1.5/16"X12 20.5 17 50 | 54.5
1BO-24 G1.1/2"X11 | U1.7/8"X12 23 185 55 | 585

- 150 -



Hydraulic Adapters

www.lomoflex.com

~s
/

1BW

A IMERLL60° A HE N F
S AT 4L i B
BSP MALE 60°SEAT
BONDED SEAL/BUTT-

WELD TUBE
S1
R 240  THREADE | i 1*4M# TUBE JU  ~] DIMENSIONS
PART NO. E O.Dp A B S1 L
1BW-04-10 | G1/4"X19 10 12 7 19 25
1BW-06-14 | G3/8"X19 14 135 | 8 22 | 295
1BW-08-18 | G1/2"X14 18 16 | 10 27 | 36
1BW-12-22 | G3/4"X14 22 185 | 10 32 | 385
1BW-12-28 | G3/4"X14 28 185 | 12 32 | 405
1BW-16-28 | G1"X11 28 205 | 12 41 | 445
1BW-16-30 | G1"X11 30 205 | 12 41 | 445
1BW-20-34 |G1.1/4"X11 34 205 | 14 50 | 51.5
1BW-20-36 |G1.1/4"X11 36 205 | 14 50 | 515
1BW-20-42 |G1.1/4"X11 42 205 | 16 50 | 53.5
1BW-24-36 |G1.1/2"X11 36 23 | 14 55 | 54
1BW-24-42 |G1.1/4"X11 42 23 | 16 55 | 56
1BW-24-50 |G1.1/2"X11 50 23 | 16 55 | 56
S1
2WB
R EAT 1Y IR AIB0° S
%/ 5 BUTT-WELD TUBE/BSP FEMALE 60°CONE
C
foe W24 THREADE | #F4Mf TUBE JU <} DIMENSIONS
PART NO. E 0.Dp C S1
2WB-10-04 | G1/4"X19 10 5.5 19
2WB-14-06 | G3/8"X19 14 6.5 22
2WB-18-08 | G1/2"X14 18 8 27
2WB-22-08 | G1/2"X14 22 8 27
2WB-22-12 | G3/4"X14 22 1.5 32
2WB-28-16 | G1"X11 28 1.5 41
2WB-34-20 |G1.1/4"X11 34 12 50
2WB-42-20 |G1.1/4"X11 42 12 50
2WB-50-24 |G1.1/2"X11 50 13 55

- 1561 -



Hydraulic Adapters www.lomoflex.com

et 1B-WD

| SEAT SMBLLB0° P HE S A0 T AL £ 4
P A S SR 5

§ BSP MALE 60°SEAT BONDED SEAL
/BSP MALE CAPTIVE SEAL

R i240 THREADE R -] DIMENSIONS
PART NO. E F A B | si L
1B-04WD | G1/4"X19 | G1/4"X19 12 | 12 | 19 | 32
1B-04-06WD | G1/4"X19 | G3/8"X19 12 | 135 | 22 | 36
1B-04-08WD | G1/4"X19 | G1/2"X14 12 | 16 | 27 | 41
1B-06WD | G3/8"X19 | G3/8"X19 135 | 135 | 22 | 355
1B-06-08WD | G3/8"X19 | G1/2"X14 135 | 16 | 27 | 425
1B-08WD | G1/2"X14 | G1/2"X14 16 | 16 | 27 | 45
1B-08-12WD | G1/2"X14 | G3/4"X14 16 | 185 | 32 | 485
1B-12WD | G3/4"X14 | G3/4"X14 185 | 185 | 32 | 49
1B-12-16WD | G3/4"X14 | G1"X11 185 | 205 | 41 | 55
1B-16WD | G1'X11 | G1"X11 205 [ 205 | 41 | 57
1B-16-20WD | G1"X11 |G1.1/4"X11 205 [ 205 | 50 | 59
1B-20WD  [G1.1/4"X11|G1.1/4"X11 205 [ 205 | 50 | 59

- 1582 -



Hydraulic Adapters

www.lomoflex.com

A >
T - 2BJ
| SERFHMRLIO0° Py HESR S 1 3 i 241

|97 //%% - B B SE R JIC IR L 74 ° N HE

BSP MALE DOUBLE FOR

J 60°SEAT BONDED SEALMIC

ST C FEMALE 74°SEAT
= 22 THREADE JU ] DIMENSIONS

PART NO. E F A C Sl S2
2BJ-02-04 | G1/8"X28 | U7/16"X20 10 | 85 | 14 17
2BJ-02-06 | G1/8"X28 | U9/16"X18 10 | 10 | 14 19
2BJ-04 G1/4"X19 | U7/16"X20 12 | 85 | 19 17
2BJ-04-05 | G1/4"X19 | U1/2"X20 12 | 95 | 19 19
2BJ-04-06 | G1/4"X19 | U9/16"X18 12 10 | 19 19
2BJ-04-08 | G1/4"X19 | U3/4"X16 12 11 19 24
2BJ-06 G3/8"X19 | U9/16"X18 135 | 10 22 | 19
2BJ-06-08 | G3/8"X19 | U3/4"X16 135 | 11 22 | 24
2BJ-06-10 | G3/8"X19 | U7/8"X14 135 | 11 22 | 27
2BJ-08 G1/2"X14 | U3/4"X16 16 | 11 27 | 24
2BJ-08-06 | G1/2"X14 | U9/16"X18 16 | 10 27 | 19
2BJ-08-10 | G1/2"X14 | U7/8"X14 16 | 11 27 | 27
2BJ-10 G5/8"X14 | U7/8"X14 175 | 11 30 | 27
2BJ-12 G3/4"X14 |U1.1/16"X12 185 | 135 | 32 | 32
2BJ-12-08 | G3/4"X14 | U3/4"X16 185 | 11 32 | 24
2BJ-12-10 | G3/4"X14 | U7/8"X14 185 | 11 32 | 27
2BJ-12-16 | G3/4"X14 |U1.5/16"X12 185 | 145 | 32 | 41
2BJ-16 G1"X11  |U1.5/16"X12 205 | 145 | 41 41
2BJ-16-20 G1"X11  |U1.5/8"X12 205 | 155 | 41 50
2BJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 155 | 50 | 50
2BJ-20-24 | G1.1/4"X11 | U1.7/8"X12 205 | 185 | 50 | 55
2BJ-24 G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 | 55
2BJ-32 G2"X11 | U2.1/2"X12 255 | 245 | 70 | 75

- 183 -




Hydraulic Adapters www.lomoflex.com

S
A 2

| ' 2BJ-WD
p YL MRS B/

%7 F W JIIC IR Lr74° A HE

BSP MALE CAPTIVE

C SEAL/ JIC FEMALE

7T4°SEAT
foe 24 THREADE U~} DIMENSIONS

PART NO. E F A C S1 S2
2BJ-02-04WD| G1/8"X28 | U7/16"X20 10 | 85 | 14 17
2BJ-04-05WD| G1/4"X19 | U1/2"X20 12 | 95 | 19 19
2BJ-04-06WD| G1/4"X19 | U9/16"X18 12 10 | 19 19
2BJ-04-08WD| G1/4"X19 | U3/4"X16 12 11 19 24
2BJ-04WD | G1/4"X19 | U7/16"X20 12 | 85 | 19 17
2BJ-06-08WD| G3/8"X19 | U3/4"X16 135 | 11 22 | 24
2BJ-06WD | G3/8"X19 | U9/16"X18 135 | 10 22 | 19
2BJ-08-06WD| G1/2"X14 | U9/16"X18 16 | 10 27 | 19
2BJ-08-10WD| G1/2"X14 | U7/8"X14 16 | 11 27 | 27
2BJ-08WD | G1/2"X14 | U3/4"X16 16 | 11 27 | 24
2BJ-12-16WD| G3/4"X14 |U1.5/16"X12 185 [ 145 | 32 | 41
2BJ-12WD | G3/4"X14 |U1.1/16"X12 185 | 135 | 32 | 32
2BJ-16WD | G1"X11 [U1.5/16"X12 205 | 145 | 41 41
2BJ-20-16WD|G1.1/4"X11|U1.5/16"X12 205 [ 145 | 50 | 41
2BJ-20WD |G1.1/4"X11| U1.5/8"X12 205 | 155 | 50 | 50
2BJ-24WD |G1.1/2"X11| U1.7/8"X12 23 | 185 | 55 | 55

- 154 -



Hydraulic Adapters

www.lomoflex.com

| |
21
T

2TB

THEE SMR LI N IRL60° M E
BSPT MALE/BSP FEMALE
60°CONE

gz 1240 THREADE JU I DIMENSIONS
PART NO. E F A C S1 S2
2TB-02 ZG1/8"X28 | G1/8"X28 10 | 55 | 12 14
2TB-02-04 | ZG1/8"X28 | G1/4"X19 10 | 55 | 14 19
2TB-04 ZG1/4"X19 | G1/4"X19 14 | 55 | 17 19
2TB-04-06 | ZG1/4"X19 | G3/8"X19 14 | 65 | 17 22
2TB-04-08 | ZG1/4"X19 | G1/2"X14 14 8 19 27
2TB-06 ZG3/8"X19 | G3/8"X19 14 | 65 | 19 22
2TB-06-08 | ZG3/8"X19 | G1/2"X14 14 8 22 27
2TB-08 ZG1/2"X14 | G1/2"X14 19 8 22 27
2TB-08-06 | ZG1/2"X14 | G3/8"X19 19 | 65 22 24
2TB-08-12 | ZG1/2"X14 | G3/4"X14 19 | 115 | 27 32
2TB-12 ZG3/4"X14 | G3/4"X14 195 [ 115 | 30 32
2TB-12-16 | ZG3/4"X14 G1"X11 195 [ 115 | 32 41
2TB-16 ZG1"X11 G1"X11 24 | 115 | 36 41
2TB-16-20 ZG1"X11 | G1.1/4"X11 24 12 41 50
2TB-20 ZG1.1/4"X11 | G1.1/4"X11 25 12 46 50
2TB-24 ZG1.1/2"X11 | G1.1/2"X11 25 13 50 55
2TB-32 ZG2"X11 G2"X11 29 16 70 70

- 1585 -




Hydraulic Adapters

www.lomoflex.com

21B4

5 45° LR SNBSS ) BRE60 Mk
45°BSPT MALE/BSP FEMALE
60°CONE

A S1

R 22 THREADE JU s} DIMENSIONS
PART NO. E F A C S1 S2
2TB4-02 2G1/8"X28 G1/8"X28 20 55 1 14
2TB4-04 2G1/4"X19 G1/4"X19 22 55 14 19
2TB4-06 Z2G3/8"X19 G3/8"X19 22 6.5 17 22
2TB4-08 ZG1/2"X14 G1/2"X14 27 8 22 27
2TB4-12 ZG3/4"X14 G3/4"X14 33 11.5 27 32
2TB4-16 ZG1"X11 G1"X11 37 11.5 33 41
2NB4-20 ZG1.1/4"X11 | G1.1/4"X11 40 12 44 50
2NB4-24 ZG1.1/2"X11 | G1.1/2"X11 47 13 53 55

| o
21B9
Q0° Wbl 5 HMIB L/ S P BELL60 ° S AE
— 90°BSPT MALE/BSP FEMALE
60°CONE
A S1

R 124 THREADE ' I DIMENSIONS
PART NO. E F A C S1 S2
2TB9-02 ZG1/8"X28 G1/8"X28 23 55 1 14
2TB9-04 ZG1/4"X19 G1/4"X19 29 55 14 19
2TB9-06 ZG3/8"X19 G3/8"X19 30 6.5 17 22
2TB9-08 ZG1/2"X14 G1/2"X14 37 8 22 27
2TB9-12 ZG3/4"X14 G3/4"X14 40 11.5 27 32
2TB9-16 ZG1"X11 G1"X11 49 11.5 33 41
2NB9-20 ZG1.1/4"X11 | G1.1/4"X11 57 12 44 50
2NB9-24 ZG1.1/2"X11 | G1.1/2"X11 57 13 48 55




Hydraulic Adapters www.lomoflex.com

S
2
M
| 2NB
| |
2 @é% 7 ATHEE MBS SEE PR L60° S
J NPT MALE/BSP FEMALE 60°CONE
E S1
R 124 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2NB-02 Z1/8"X27 G1/8"X28 10 55 12 14
2NB-02-04 Z1/8"X27 G1/4"X19 10 55 14 19
2NB-04 Z1/4"X18 G1/4"X19 14 55 17 19
2NB-04-06 Z1/4"X18 G3/8"X19 14 6.5 17 22
2NB-04-08 Z1/4"X18 G1/2"X14 14 8 19 27
2NB-06 Z3/8"X18 G3/8"X19 14 6.5 19 22
2NB-06-08 Z3/8"X18 G1/2"X14 14 8 22 27
2NB-08 Z1/2"X14 G1/2"X14 19 8 22 27
2NB-08-06 Z1/2"X14 G3/8"X19 19 6.5 22 24
2NB-08-12 Z1/2"X14 G3/4"X14 19 11.5 27 32
2NB-12 Z3/4"X14 G3/4"X14 19.5 11.5 30 32
2NB-12-16 Z3/4"X14 G1"X11 19.5 11.5 32 41
2NB-16 Z1"X11.5 G1"X11 24 11.5 36 41
2NB-16-20 Z1"X11.5 G1.1/4"X11 24 12 41 50
2NB-20  |Z1.1/4"X11.5 | G1.1/4"X11 25 12 46 50
2NB-24 Z1.1/2"X11.5 | G1.1/2"X11 25 13 50 55
2NB-32 Z2"X11.5 G2"X11 29 16 70 70

- 157 -




Hydraulic Adapters

www.lomoflex.com

2NB4

5 ABSATHE 5 SMEB LS I BEE60° U
| I— 45°NPT MALE/BSP FEMALE
A s1 60°CONE
o i24. THREADE '~ DIMENSIONS

PART NO. E F A C S1 S2
2NB4-02 Z1/8"X27 G1/8"X28 20 55 1 14
2NB4-04 Z1/4"X18 G1/4"X19 22 55 14 19
2NB4-04-06 Z1/4"X18 G3/8"X19 22 6.5 17 22
2NB4-06 Z3/8"X18 G3/8"X19 22 6.5 17 22
2NB4-06-04 Z3/8"X18 G1/4"X19 22 55 17 19
2NB4-06-08 Z3/8"X18 G1/2"X14 25 8 19 27
2NB4-08 Z1/2"X14 G1/2"X14 27 8 22 27
2NB4-08-06 Z1/2"X14 G3/8"X19 27 6.5 22 22
2NB4-12 Z3/4"X14 G3/4"X14 33 11.5 27 32
2NB4-12-08 Z3/4"X14 G1/2"X14 33 8 27 27
2NB4-12-16 Z3/4"X14 G1"X11 37 11.5 33 41
2NB4-16 Z1"X11.5 G1"X11 37 11.5 33 41
2NB4-16-12 Z1"X11.5 G3/4"X14 37 11.5 33 32
2NB4-20 Z1.1/4"X11.5 | G1.1/4"X11 40 12 44 50
2NB4-24 Z1.1/2"X11.5 | G1.1/2"X11 47 13 53 55
2NB4-32 Z2"X11.5 G2"X11 55 16 65 70

- 158 -




Hydraulic Adapters

www.lomoflex.com

7

2NB9

Q0° A7 HEE AMIZR L/ 5 IR 460 ° A M E
90°NPT MALE/BSP FEMALE

|
60°CONE
A S1
= 1240 THREADE U sf DIMENSIONS
PART NO. E F A C S1 S2
2NB9-02 Z1/8"X27 G1/8"X28 23 | 55 | 11 14
2NB9-04 Z1/4"X18 G1/4"X19 29 | 55 | 14 19
2NB9-04-06 | Z1/4"X18 G3/8"X19 30 | 65 | 17 22
2NB9-06 Z3/8"X18 G3/8"X19 30 | 65 | 17 22
2NB9-06-04 | Z3/8"X18 G1/4"X19 30 | 55 | 17 19
2NB9-06-08 | Z3/8"X18 G1/2"X14 33 8 19 27
2NB9-08 Z1/2"X14 G1/2"X14 37 8 22 27
2NB9-08-06 | Z1/2"X14 G3/8"X19 37 | 65 | 22 22
2NB9-12 Z3/4"X14 G3/4"X14 40 | 115 | 27 32
2NB9-12-08 | Z3/4"X14 G1/2"X14 40 8 27 27
2NB9-12-16 | Z3/4"X14 G1"X11 49 | 115 | 33 41
2NB9-16 Z1"X11.5 G1"X11 49 | 115 | 33 41
2NB9-16-12 | Z1"X11.5 G3/4"X14 49 | 115 | 33 32
2NB9-20  |Z1.1/4"X11.5 | G1.1/4"X11 57 12 44 50
2NB9-24  |Z1.1/2"X11.5 | G1.1/2"X11 57 13 48 55
2NB9-32 Z2"X11.5 G2"X11 66 16 65 70

- 1589 -




Hydraulic Adapters

www.lomoflex.com

S1

4BN-WD

YL HMRSUR I B AN Sk
BSP MALE CAPTIVE SEAL HOLLOW
HEX PLUG

o i24 THREADE R - DIMENSIONS
PART NO. E A d D S1 H L
4BN-04WD | G1/4"X19 12 | 163 | 19 6 | 12 | 173
4BN-06WD | G3/8"X19 12 | 187 | 22 8 | 12 | 173
4BN-08WD | G1/2"X14 14 | 237 | 27 | 10 | 1.2 | 193
4BN-12WD | G3/4"X14 16 | 29 | 32 | 12 | 12 | 213
4BN-16WD | G1"X11 16 | 355 | 40 | 14 | 16 | 228
A
4B-WD
L HMRL AR Bk
BSP MALE CAPTIVE SEAL PLUG
Y

o i24; THREADE <} DIMENSIONS
PART NO. E A d s1 H
4B-04WD | G1/4"X19 12 | 163 | 19 | 1.2
4B-06WD | G3/8"X19 12 | 187 | 22 | 1.2
4B-08WD | G1/2"X14 14 | 237 | 27 | 12
4B-12WD | G3/4"X14 16 | 29 | 32 | 1.2
4B-16WD | G1"X11 16 | 355 | 41 | 16

- 160 -



Hydraulic Adapters

www.lomoflex.com

L
A
| 5B
| YL AMREL60° A HERL /N A i
P T A5 2 B A IREL
7 BSP MALE DOUBLE FOR
"/ 60°SEAT BONDED
SEAL/BSP FEMALE
S1

e i240 THREADE R~ DIMENSIONS
PART NO. E F A S1 L
5B-02-04 G1/8"X28 | G1/4"X19 10 19 28
5B-04-02 G1/4"X19 | G1/8"X28 12 19 30

5B-04 G1/4"X19 G1/4"X19 12 19 30
5B-04-06 G1/4"X19 G3/8"X19 12 22 32
5B-06-04 G3/8"X19 G1/4"X19 13.5 22 33.5

5B-06 G3/8"X19 G3/8"X19 13.5 22 33.5
5B-06-08 G3/8"X19 G1/2"X14 13.5 27 33.5
5B-08-06 G1/2"X14 G3/8"X19 16 27 36

5B-08 G1/2"X14 G1/2"X14 16 27 36
5B-08-10 G1/2"X14 G5/8"X14 16 30 42
5B-08-12 G1/2"X14 G3/4"X14 16 32 40
5B-10-08 G5/8"X14 G1/2"X14 17.5 30 44
5B-12-08 G3/4"X14 | G1/2"X14 18.5 32 43

5B-12 G3/4"X14 G3/4"X14 18.5 32 42.5
5B-12-16 G3/4"X14 G1"X11 18.5 41 52.5
5B-16-12 G1"X11 G3/4"X14 20.5 41 54.5

5B-16 G1"X11 G1"X11 20.5 41 54.5
5B-16-20 G1"X11 | G1.1/4"X11 20.5 50 37.5
5B-20-16 G1.1/4"X11 G1"X11 20.5 50 57.5

5B-20 G1.1/4"X11 | G1.1/4"X11 20.5 50 56.5
5B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5

5B-24 G1.1/2"X11 | G1.1/2"X11 23 55 60
5B-32-24 G2"X11 | G1.1/2"X11 23 70 60

5B-32 G2"X11 G2"X11 25.5 70 62.5

- 161 -




Hydraulic Adapters www.lomoflex.com

5B9

| 90° YL HMIZELL60° Py i/ P IBLL

&& 90°BSP MALE 60°SEAT/BSP FEMALE
A S1

e 240 THREADE R -} DIMENSIONS
PART NO. E F A B | sI
5B9-02 G1/8"X28 | G1/4"X19 22 | 17 | 14
5B9-04 G1/4"X19 | G1/4"X19 27 | 21 | 17
5B9-06 G3/8"X19 | G3/8"X19 32 | 27 | 22
5B9-08 G1/2'X14 | G1/2"X14 35 | 30 | 27
5B9-12 G3/4"X14 | G3/4"X14 40 | 32 | 33
5B9-16 G1"X11 G1"X11 49 | 38 | 41

- 162 -



Hydraulic Adapters www.lomoflex.com

S 5BN

L HMERLZB60° A HE SN A i 1 41
| TR RS HATHER WIRZS BSP

Z MALE DOUBLE FOR 60 °EAT

\F_ BONEDE SEAL/NPT FEMALE
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5BN-04 G1/4"X19 | Z1/4"X18 12 19 30
5BN-06 G3/8"X19 | Z3/8"X18 13.5 22 335
5BN-08 G1/2"X14 | Z1/2"X14 16 27 36
5BN-12 G3/4"X14 | Z3/4"X14 18.5 32 42,5
5BN-16 G1"X11 Z1"X11.5 20.5 M 54.5
5BN-20 | G1.1/4"X11 |Z1.1/4"X11.5 20.5 50 57.5
5BN-24 | G1.1/2"X11 |Z1.1/2"X11.5 23 55 60
5BN-32 G2"X11 Z2"X11.5 255 70 62.5

L
s 5BT
/
P AMRE60 ° A HE BN F i T 41
| 1 BV R IR AL
7 BSP MALE DOUBLE FOR
60°EAT BONEDE SEAL/BSPT
FEMALE
F

R i24  THREADE JU - DIMENSIONS
PART NO. E F A Sl L
5BT-04 G1/4"X19 | ZG1/4"X19 12 19 30
5BT-06 G3/8"X19 | ZG3/8"X19 135 22 335
5BT-08 G1/2"X14 | ZG1/2"X14 16 27 36
5BT-12 G3/4"X14 | ZG3/4"X14 18.5 32 42.5
5BT-16 G1"X11 ZG1"X11 20.5 M 54.5
5BT-20 | G1.1/4"X11 | ZG1.1/4"X11 20.5 50 57.5
5BT-24 | G1.1/2"X11 | ZG1.1/2"X11 23 55 60
5BT-32 G2"X11 ZG2"X11 25.5 70 62.5




Hydraulic Adapters

www.lomoflex.com

S1
A [
— oB-WD
| | HOEFSMBL A B PR
7 BSP MALE CAPTIVE SEAL/BSP
FEMALE

et 24 THREADE U~} DIMENSIONS
PART NO. E F A S1 L
5B-02-04WD | G1/8"X28 | G1/4"X19 10 19 28
5B-02-06WD | G1/8"X28 | G3/8"X19 10 22 30
5B-04-02WD | G1/4"X19 | G1/8"X28 12 19 30
5B-04-06WD | G1/4"X19 | G3/8"X19 12 22 32
5B-04-08WD | G1/4"X19 | G1/2"X14 12 27 32
5B-06-02WD | G3/8"X19 | G1/8"X28 13.5 22 335
5B-06-04WD | G3/8"X19 | G1/4"X19 13.5 22 335
5B-06-08WD | G3/8"X19 | G1/2"X14 13.5 27 335
5B-08-04WD | G1/2"X14 | G1/4"X19 16 22 36
5B-08-06WD | G1/2"X14 | G3/8"X19 16 27 36
5B-08-12WD | G1/2"X14 | G3/4"X14 16 32 40
5B-12-08WD | G3/4"X14 | G1/2"X14 18.5 32 42.5
5B-12-16WD | G3/4"X14 | G1"X11 18.5 41 52.5
5B-12-20WD | G3/4"X14 | G1.1/4"X11 18.5 50 52.5
5B-16-12WD| G1"X11 | G3/4"X14 20.5 41 54.5
5B-16-20WD | G1"X11 | G1.1/4"X11 20.5 50 56.5
5B-20-16WD | G1.1/4"X11 |  G1"X11 20.5 50 56.5
5B-20-24WD | G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5
5B-20-32WD | G1.1/4"X11 | G2"X11 20.5 70 57.5
5B-24-16WD | G1.1/2"X11 | G1"X11 23 55 60
5B-24-20WD | G1.1/2"X11 | G1.1/4"X11 23 55 60
5B-24-32WD | G1.1/2"X11 | G2"X11 23 70 60

- 164 -




Hydraulic Adapters

www.lomoflex.com

S1

A
N 5GB
YA AMREL O Jl /5L IR S
. ) BSP MALE O-RING/BSP FEMALE
o= 22 THREADE JU I DIMENSIONS
PART NO. E F A S1 L
5GB-04 G1/4"X19 | G1/4"X19 12 19 30
5GB-04-06 | G1/4"X19 | G3/8"X19 12 22 32
5GB-06 G3/8"X19 | G3/8"X19 13.5 22 33.5
5GB-06-08 | G3/8"X19 | G1/2"X14 13.5 27 335
5GB-08 G1/2"X14 | G1/2"X14 16 27 36
5GB-08-12 | G3/4"X14 | G3/4"X14 16 32 40
5GB-12 G3/4"X14 | G3/4"X14 18.5 32 42,5
5GB-12-16 | G3/4"X14 | G1"X11 18.5 41 52.5
5GB-16-12 G1"X11 | G3/4"X14 20.5 41 33
5GB-16 G1"X11 G1"X11 20.5 41 54.5
S1 S2
/1B
YR N IRAL/ DA A REL60 A
) BSPT FEMALE/BSP FEMALE
60 °CONE
E C
R 24 THREADE JU <} DIMENSIONS
PART NO. E F C S1 2
7TB-02-04 | ZG1/8"X28 | G1/4"X19 5.5 17 19
7TB-04 ZG1/4"X19 | G1/4"X19 55 19 19
7TB-04-06 | ZG1/4"X19 | G3/8"X19 6.5 22 | 22
7TB-06 ZG3/8"X19 | G3/8"X19 6.5 22 | 22
7TB-06-08 | ZG3/8"X19 | G1/2"X14 8 27 | 27
7TB-08-06 | ZG1/2"X14 | G3/8"X19 6.5 27 | 22
7TB-08 ZG1/2"X14 | G1/2"X14 8 27 | 27
7TB-12 ZG3/4"X14 | G3/4"X14 15 | 32 32
7TB-16 ZG1"X11 | G1"X11 115 | 41 41

- 165 -




Hydraulic Adapters

www.lomoflex.com

P GLG
777 BSP FEMALE
si/

e i24.  THREADE -] DIMENSIONS

PART NO. E F L S1
7B-02 G1/8"X28 G1/8"X28 22 14
7B-04 G1/4"X19 G1/4"X19 24 19
7B-06 G3/8"X19 G3/8"X19 26 22
7B-08 G1/2"X14 G1/2"X14 32 27
7B-10 G5/8"X14 G5/8"X14 36 30
7B-12 G3/4"X14 G3/4"X14 36 32
7B-16 G1"X11 G1"X11 40 41
7B-20 G1.1/4"X11 | G1.1/4"X11 44 50
7B-24 G1.1/2"X11| G1.1/2"X11 45 55
7B-32 G2"X11 G2"X11 54 70

- 166 -




Hydraulic Adapters

www.lomoflex.com

X)

/B9

90° I i W IRAL
90°BSP FEMALE

A S1
o i22.  THREADE U~ DIMENSIONS
PART NO. E A B S1
7B9-02 G1/8"X28 17 17 14
7B9-04 G1/4"X19 21 21 17
7B9-06 G3/8"X19 24 24 22
7B9-08 G1/2"X14 27 27 26
7B9-12 G3/4"X14 33 33 34
7B9-16 G1"X11 38 38 41
7B9-20 G1.1/4"X11 45 45 54
7B9-24 G1.1/2"X11 47 47 56
7B9-32 G2"X11 60 60 68
r 9
v A G B
A
\ YL N IRA —E
2% BSP FEMALE TEE
A ] s
o i24; THREADE R <+ DIMENSIONS
PART NO. E A S1
GB-02 G1/8"X28 17 14
GB-04 G1/4"X19 21 17
GB-06 G3/8"X19 24 22
GB-08 G1/2"X14 27 26
GB-12 G3/4"X14 33 34
GB-16 G1"X11 38 41
GB-20 G1.1/4"X11 45 54
GB-24 G1.1/2"X11 47 56
GB-32 G2"X11 60 68

- 167 -




Hydraulic Adapters

www.lomoflex.com

XL E Y
AB
[R&Z 'J % A
| | YL HMRZI60° N HE =l
\ BSP MALE 60°SEAT TEE
A \8—1 B
e 84 THREADE JU s} DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 24 24 | 24 | 1
AB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 27 27 | 27 | 14
AB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 28 | 28 28 | 17
AB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 33 | 33 33 | 22
AB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 33 | 33 33 | 22
AB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 40 | 40 40 | 27
AB-16 G1"X11 G1"X11 G1"X11 49 | 49 49 | 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 57 57 57 | 44
. S2
R VT BB
50° |
% L AMRZ60° A HE/
| | Y IR LUO S =T
\ BSP MALE 60°SEAT/
A \ﬂA BSP FEMALE 60°CONE BRANCH
TEE
= 22 THREADE I DIMENSIONS
PART NO. E F A C Sl S2
BB-02 G1/8"X28 | G1/8"X28 24 | 55 11 14
BB-04 G1/4"X19 | G1/4"X19 27 | 55 14 19
BB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
BB-08 G1/2"'X14 | G1/2"X14 33 8 22 27
BB-12 G3/4"X14 | G3/4"X14 40 | 115 | 27 32
BB-16 G1"X11 G1"X11 49 | 115 | 33 41
BB-20 G1.1/4"X11 | G1.1/4"X11 57 12 | 44 50

- 168 -




Hydraulic Adapters

www.lomoflex.com

60°

< E

CB

WI B HMBL60° P 4t/
YA NIRGUMHE 5 =3l
\ Eb:_\ BSP MALE 60°SEAT/
\g )K\ BSP FEMALE 60°CONE RUN TEE
A s2
e 22 THREADE JU  sf DIMENSIONS
PART NO. E F A C S1 S2
CB-02 G1/8"X28 | G1/8"X28 24 | 55 11 14
CB-04 G1/4"X19 | G1/4"X19 27 | 55 14 19
CB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
CB-08 G1/2"X14 | G1/2"X14 33 8 22 27
CB-12 G3/4"X14 | G3/4"X14 40 | 115 | 27 32
CB-16 G1"X11 G1"X11 49 | 115 | 33 41
CB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
i/ DB
el s
J | A N RS MIE =l
BSP FEMALE 60°CONE TEE
/—Jﬂ \ Eb:—\
R 24 THREADE JU 5| DIMENSIONS
PART NO. E F C S1 S2
DB-02 G1/8"X28 | G1/8"X28 5.5 11 14
DB-04 G1/4"X19 | G1/4"X19 5.5 14 19
DB-06 G3/8"X19 | G1/4"X19 65 | 17 22
DB-08 G1/2"'X14 | G1/2"X14 8 22 27
DB-12 G3/4"X14 | G3/4"X14 115 | 27 32
DB-16 G1"X11 G1"X11 1.5 | 33 41
DB-20 G1.1/4"X11 | G1.1/4"X11 12 44 50

- 169 -




Hydraulic Adapters

www.lomoflex.com

<
7

60°

P

29 5

-8

Bl

EB

T A IRE60° ShE/
P AMRL60° A HE ) SZ il
BSP FEMALE 60°CONE/

\_ JL BSP MALE 60° BRANCH
TEE
St S2
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C Sl 2
EB-02 G1/8"X28 | G1/8"X28 24 | 55 | 1 14
EB-04 G1/4"X19 | G1/4"X19 27 | 55 | 14 19
EB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
EB-08 G1/2"X14 | G1/2"X14 33 8 22 | 27
EB-12 G3/4"X14 | G3/4"X14 40 115 | 27 | 32
EB-16 G1"X11 G1"X11 49 | 115 | 33 | 41
EB-20 G1.1/4"X11 | G1.1/4"X11 57 12 | 44 | 50
¢/
i)/ —)
Y. FB
ey
- % % YU RLIB0° SN A/
| YL HMRL60° A HES 3Ll
BSP FEMALE

sl

S1/ A

60°CONE/ BSP MALE
60°BRANCH TEE

R i24 THREADE R -] DIMENSIONS
PART NO. E F A c | s1 ]| s
FB-02 G1/8"X28 | G1/8"X28 24 | 55 | 11 | 14
FB-04 G1/4"X19 | G1/4"X19 27 | 55 | 14 | 19
FB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 | 22
FB-08 G1/2"X14 | G1/2"X14 33 | 8 | 22 | 27
FB-12 G3/4"X14 | GB3/4"X14 40 [ 115 | 27 | 32
FB-16 G1"X11 G1"X11 49 [ 115 | 33 | 41
FB-20 G1.1/4"X11 | G1.1/4"X11 57 | 12 | 44 | 50

- 170 -




Hydraulic Adapters

www.lomoflex.com

E
ABBG-0G
S2
. S SMBEB0° Y HE S 18
| SO P8 ] I ) AT vty 3 57—l
: lbqh | BSP MALE 60°SEAT/BSP
s MALE
A B O-RING ADJUSTABLE STUD END
RUN TEE
foe 24, THREADE ]/ DIMENSIONS
PART NO. E F G A | B | sl | s
ABBG-040G | G1/4"X19 | G1/4"X19 | G1/4"X19 27 | 245 | 14 | 19
ABBG-04-04- | G1/4"X19 | G1/4"X19 | G3/8"X19 28 | 265 | 17 | 19
POXBBG-060G | G3/8"x19 | G3/8"X19 | G3/8"X19 28 | 275 | 17 | 22
ABBG-06-06- | G3/8"X19 | G3/8"X19 | G1/2"X19 33 | 31 | 22 | 22
UORBBG-080G | G12'x14 | G12'x14 | G1/2"X14 33 | 345 | 22 | 27
ABBG-120G | G3/4"X14 | G3/4"X14 | G3/4"X14 33 | 40 | 24 | 32
ABBG-160G | GI"X11 | GI"X11 | G1"X11 49 | 46 | 33 | 41
F
e ABGB-OG
- J S SMBL60° LS
| | R L O T ] ] 1] 1) A v 43 = i
BSP MALE 60°SEAT/BSP MALEO-
\ RING ADJUSTABLE STUD END
A \&A BRANCH TEE
fou 24, THREADE R/ DIMENSIONS
PART NO. E F G A | B | st | s2
ABGB-040G | G1/4"X19 | G1/4"X19 | G1/4"x19 27 [ 318 | 14 | 19
ABGB-06-04- | G1/4"X19 | G1/4"X19 | G3/8"X19 28 | 335 | 17 | 19
Vo EGB-060G | G3/8"X19 | G3/8"X19 | G3/8"X19 28 | 368 | 17 | 22
ABGB-08-06- | G3/8"X19 | G3/8"X19 | G1/2"X19 33 | 395 | 22 | 22
VORBGB-080G | G1/2'x14 | G1/2'X14 | G1/2"X14 33 |432 | 22 | 27
ABGB-12-08- | G3/4"X14 | G1/2"X14 | G3/4"X14 33 | 465 | 24 | 27
T 8eB-120G6 | G3/4"x14 | G3/4"x14 | G3/4"X14 33 | 493 | 24 | 32
ABGB-160G | G1"X11 | GI"X11 | G1"X11 49 | 53 | 33 | a1

-171 -




Hydraulic Adapters

www.lomoflex.com

1T

pe e 11 b0
MJ % %B%ETﬁﬁ%\ZLXE
- \s1
foe 124, THREADE R <} DIMENSIONS
PART NO. E F A S1 L
1T-02 ZG1/8"X28 | ZG1/8"X28 10 10 12 26
1T-02-04 ZG1/8"X28 | ZG1/4"X19 10 14 14 30
1T-02-06 ZG1/8"X28 | ZG3/8"X19 10 14 17 30
1T-04 ZG1/4"X19 | ZG1/4"X19 14 14 14 34
1T-04-06 ZG1/4"X19 | ZG3/8"X19 14 14 17 34
1T-04-08 ZG1/4"X19 | ZG1/2"X14 14 19 22 41.5
1T-06 ZG3/8"X19 | ZG3/8"X19 14 14 17 34
1T-06-08 ZG3/8"X19 | ZG1/2"X14 14 19 22 41
1T-08 ZG1/2"X14 | ZG1/2"X14 19 19 22 46
1T-08-12 ZG1/2"X14 | ZG3/4"X14 19 19.5 27 47
1T-12 ZG3/4"X14 | ZG3/4"X14 19.5 19.5 27 48
1T-12-16 ZG3/4"X14 ZG1"X11 19.5 24 36 53
1T-16 ZG1"X11 ZG1"X11 24 24 36 58
1T-16-20 ZG1"X11 |ZG1.1/4"X11 24 25 46 62
1T-20 ZG1.1/4"X11/ Z2G1.1/4"X11 25 25 46 63
1T-20-24 Z2G1.1/4"X11| Z2G1.1/2"X11 25 25 50 65
1T-24 ZG1.1/2"X111 Z2G1.1/2"X11 25 25 50 65
1T-24-32 ZG1.1/2"X11| Z2G2"X11 25 29 70 72
1T-32 ZG2"X11 ZG2"X11 29 29 70 75

-172 -




Hydraulic Adapters

www.lomoflex.com

E
} 1T4
Q | 45° BHERET SMRLL
- 45°BSPT MALE
A S1
o i22; THREADE R~} DIMENSIONS
PART NO. E F A B st
1T4-02 | ZG1/8"X28 | ZG1/8"X28 19 | 21 | 11
1T4-04 | ZG1/4"X19 | ZG1/4"X19 22 | 27 | 14
1T4-06 | ZG3/8"X19 | ZG3/8"X19 22 | 29 | 17
174-08 | ZG1/2"X14 | ZG1/2"X14 27 | 37 | 22
1T4-12 | ZG3/4"X14 | ZG3/4"X14 33 | 43 | 27
1T4-16 ZG1"X11 | ZG1"X11 37 | 47 | 33
17420  |ZG1.1/4"X11|ZG1.1/4"X11 40 | 56 | 44
1T4-24  |ZG1.1/2"X11/2G1.1/2"X11 47 | 57 | 53
1T4-32 ZG2"X11 | zG2"X11 55 | 63 | 65
F
| 179
| N 90° LHE R SPURZL
< 90°BSPT MALE
A S1
e i22 THREADE R -} DIMENSIONS
PART NO. E F A B sl
1T9-02 | ZG1/8"X28 | ZG1/8"X28 22 | 22 | 11
179-04 | ZG1/4"X19 | ZG1/4"X19 29 | 27 | 14
179-06 | ZG3/8"X19 | ZG3/8"X19 30 | 29 | 17
179-08 | ZG1/2"X14 | ZG1/2"X14 37 | 37 | 22
179-12 | ZG3/4"X14 | ZG3/4"X14 40 | 40 | 27
1T9-16 ZG1"X11 | ZG1"X11 49 | 49 | 33
17920  |ZG1.1/4"X11|2G1.1/4"X11 57 | 57 | 44
17924 |2G1.1/2"X11| ZG1.1/2"X11 57 | 57 | 48
179-32 ZG2"X11 | Z2G2"X11 66 | 66 | 65

-173 -




Hydraulic Adapters

www.lomoflex.com

n

S1

4T

SEHER SMREUE Sk
BSPT MALE PLUG

fo 22 THREADE U ~f DIMENSIONS
PART NO. E A S1 L
4T-02 ZG1/8"X28 10 12 16
4T-04 ZG1/4"X19 14 17 20
4T-06 ZG3/8"X19 14 19 21
4T-08 ZG1/2"X14 19 22 27
4T-12 ZG3/4"X14 19.5 30 29
4T-16 ZG1"X11 24 36 36
4T-20 ZG1.1/4"X11 25 46 38
4T-24 ZG1.1/2"X11 25 50 41
47-32 ZG2"X11 29 65 46
E
S1
4TN
//_
% SEHE R SMB U  FTEE
BSPT MALE HOLLOW HEX
PLUG
L
o 24 THREADE JU <} DIMENSIONS
PART NO. E L S1
4TN-02 ZG1/8"X28 8
4TN-04 ZG1/4"X19 10
4TN-06 ZG3/8"X19 12
4TN-08 ZG1/2"X14 15 10
4TN-12 ZG3/4"X14 18 12
4TN-16 ZG1"X11 20 17
4TN-20  |ZG1.1/4"X11 22 22

174 -




Hydraulic Adapters

www.lomoflex.com

S1

A [
/

| |

%

\e

ST

SEHER SMRSUTEHE R A IRZL
BSPT MALE/BSPT FEMALE

e 24 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5T-02 ZG1/8"X28 | ZG1/8"X28 10 14 25
5T-02-04 | ZG1/8"X28 | ZG1/4"X19 10 19 28
5T-04-02 | ZG1/4"X19 | ZG1/8"X28 14 17 20
5T-04 ZG1/4"X19 | ZG1/4"X19 14 19 32
5T-04-06 | ZG1/4"X19 | ZG3/8"X19 14 22 34
5T-06-02 | ZG3/8"X19 | ZG1/8"X28 14 19 21
5T-06-04 | ZG3/8"X19 | ZG1/4"X19 14 19 21
5T-06-06 | ZG3/8"X19 | ZG3/8"X19 14 24 34
5T-06-08 | ZG3/8"X19 | ZG1/2"X14 14 30 40
5T7-08-02 | ZG1/2"X14 | ZG3/4"X14 19 24 27
5T-08-04 | ZG1/2"X14 | ZG1/4"X19 19 24 27
5T7-08-06 | ZG1/2"X14 | ZG3/8"X19 19 24 27
5T-08-12 | ZG1/2"X14 | ZG3/4"X14 19 36 49
5T-12-04 | ZG3/4"X14 | ZG1/4"X19 19.5 27 29
5T-12-06 | ZG3/4"X14 | ZG3/8"X19 19.5 27 29
5T-12-08 | ZG3/4"X14 | ZG1/2"X14 19.5 30 29
5T-12-16 | ZG3/4"X14 | ZG1"X11 19.5 41 54
5T-12-20 | ZG3/4"X14 | ZG1.1/4"X11 19.5 50 56
5T-16-06 ZG1"X11 | ZG3/8"X19 24 36 34
5T-16-08 ZG1"X11 | ZG1/2"X14 24 36 34
5T-16-12 ZG1"X11 | ZG3/4"X14 24 36 34
5T-16-16 ZG1"X11 | ZG1"X11 24 41 58
5T-20-12  |ZG1.1/4"X11| ZG3/4"X14 25 46 38
5T-20-16  |ZG1.1/4"X11|  ZG1"X11 25 46 38
5T-24-16  |ZG1.1/2"X11|  ZG1"X11 25 50 42
5T-24-20  |ZG1.1/2"X11|ZG1.1/4"X11 25 50 42
5T-32-16 ZG2"'X11 | ZG1"X11 29 65 47
5T-32-20 ZG2"X11 |ZG1.1/4"X11 29 65 47
5T-32-24 ZG2"X11 [ZG1.1/2"X11 29 65 47

- 175 -




Hydraulic Adapters

www.lomoflex.com

E 5T9
Q0° S HEE SMRLU/FEHEE N IRLL
)</ 90°BSPT MALE/BSPT FEMALE
A S1

A= R4 THREADE N ' DIMENSIONS
PART NO. E F A B S1
5T9-02 ZG1/8"X28 | ZG1/8"X28 30 23 17
5T9-04 ZG1/4"X19 | ZG1/4"X19 33 25 19
5T9-06 ZG3/8"X19 | ZG3/8"X19 37 25 22
5T9-08 Z2G1/2"X14 | ZG1/2"X14 43 31.5 27
5T9-12 ZG3/4"X14 | ZG3/4"X14 52 37 33
5T9-16 Z2G1"X11 ZG1"X11 59 43 44
5T9-20 ZG1.1/4"X11{ 2G1.1/4"X11 61 50 50
5T9-24 Z2G1.1/2"X11{ 2G1.1/2"X11 65 55 65

- 176 -




Hydraulic Adapters

www.lomoflex.com

A B
7T
SR IR AL
BSPT FEMALE
S1

o= 22 THREADE JU  sf DIMENSIONS
PART NO. E F A B S1 L
77-02 ZG1/8"X28 | ZG1/8"X28 8 8 14 22
7T-04-02 | ZG1/4"X19 | ZG1/8"X28 10 8 19 26
7T-04 ZG1/4"X19 | ZG1/4"X19 10 10 19 28
7T-06-04 | ZG3/8"X19 | ZG1/4"X19 10 8 19 26
7T-06 ZG3/8"X19 | ZG3/8"X19 11 11 19 28
77-08-04 | ZG1/2"X14 | ZG1/4"X19 14 10 27 34
7T-08 ZG1/2"X14 | ZG1/2"X14 14 14 27 38
7T-12 ZG3/4"X14 | ZG3/4"X14 155 | 155 | 36 | 42
77-16 ZG1"X11 | ZG1"X11 17 17 41 50
7T-20 ZG1.1/4"X11| ZG1.1/4"X11 19 19 50 55
7T-24 ZG1.1/2"X11|2G1.1/2"X11 19 19 55 55
77-32 ZG2"X11 | ZG2"X11 21 21 70 60

-177 -




Hydraulic Adapters

www.lomoflex.com

E 719
5@ 90° T HEAL N IREL
90°BSPT FEMALE
A S1
=] 22 THREADE JU  sf DIMENSIONS
PART NO. E F A B S1
7T9-02 ZG1/8"X28 | ZG1/8"X28 17 17 14
7T9-02-04 | ZG1/8"X28 | ZG1/4"X19 21 21 17
7T9-04 ZG1/4"X19 | ZG1/4"X19 21 21 17
7T9-06 ZG3/8"X19 | ZG3/8"X19 24 24 | 22
7T9-08 ZG1/2"X14 | ZG1/2"X14 27 27 | 26
7T9-12 ZG3/4"X14 | ZG3/4"X14 33 33 34
7T9-16 ZG1"™X11 | ZG1"X11 38 38 41
7T9-20  |ZG1.1/4"X11|ZG1.1/4"X11 45 | 45 | 54
7T9-24  |ZG1.1/2"X11|ZG1.1/2"X11 47 | 47 | 56
7T9-32 ZG2"X11 | ZG2"X11 60 | 60 | 68
) GT
Ve
\ JEHERE IR S =l
| BSPT FEMALE TEE
=] 22 THREADE JU  sf DIMENSIONS
PART NO. E A S1
GT-02 ZG1/8"X28 17 14
GT-04 ZG1/4"X19 21 17
GT-06 ZG3/8"X19 24 22
GT-08 ZG1/2"X14 27 26
GT-12 ZG3/4"X14 33 34
GT-16 ZG1"X11 38 41
GT-20 ZG1.1/4"X11 45 54
GT-24 ZG1.1/2"X11 47 56
GT-32 ZG2"X11 60 68




Hydraulic Adapters www.lomoflex.com

$1

ZT

SEHER YR ALY I
BSPT FEMALE CROSS

A
o 22 THREADE JU  sf DIMENSIONS
PART NO. E A s
ZT-02 ZG1/8"X28 17 14
ZT-04 ZG1/4"X19 21 17
ZT-06 ZG3/8"X19 24 22
ZT-08 ZG1/2"X14 27 26
ZT-12 ZG3/4"X14 33 34
ZT-16 ZG1"X11 38 41
ZT-20 ZG1.1/4"X11 45 54
L
A S1
5GT
| P S SR SO PR SR B Py R
% BSP MALE O-RING/BSPT FEMALE
= 24 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5GT-02 G1/8"X28 | ZG1/8"X28 9 14 24
5GT-04 G1/4"X19 | ZG1/4"X19 12 19 30
5GT-06 G3/8"X19 | ZG3/8"X19 13.5 22 33.5
5GT-08-06 | G1/2"X14 | ZG3/8"X19 16 27 36
5GT-08 G1/2"X14 | ZG1/2"X14 16 27 36
5GT-12 G3/4"X14 | ZG3/4"X14 18.5 36 49
5GT-16 G1"X11 ZG1"X11 20.5 41 55

-179 -



Hydraulic Adapters

www.lomoflex.com

1N

| = y
) FHRPTVALE
</
S1
e 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1N-02 Z1/8"X27 Z1/8"X27 10 10 12 26
1N-02-04 Z1/8"X27 Z1/4"X18 10 14 14 30
1N-02-06 Z1/8"X27 Z3/8"X18 10 14 17 30
1N-04 Z1/4"X18 Z1/4"X18 14 14 14 34
1N-04-06 Z1/4"X18 Z3/8"X18 14 14 17 34
1N-04-08 Z1/4"X18 Z1/2"X14 14 19 22 41.5
1N-06 Z3/8"X18 Z3/8"X18 14 14 17 34
1N-06-08 Z3/8"X18 Z1/2"X14 14 19 22 41
1N-08 Z1/2"X14 Z1/2"X14 19 19 22 46
1N-08-12 Z1/2"X14 Z3/4"X14 19 | 195 | 27 47
1N-12 Z3/4"X14 Z3/4"X14 195 | 195 | 27 48
1N-12-16 Z3/4"X14 Z1"X11.5 195 | 24 | 36 53
1N-16 Z1"X11.5 Z1"X11.5 24 | 24 | 36 58
1N-16-20 Z1"X11.5  |Z1.1/4"X11.5 24 | 25 | 46 62
1N-20 Z1.1/4"X11.5 |Z1.1/4"X11.5 25 | 25 | 46 63
1N-20-24  |Z1.1/4"X11.5 |Z1.1/2"X11.5 25 | 25 | 50 65
1N-24 Z1.1/2"X11.5 |Z1.1/2"X11.5 25 | 25 | 50 65
IN-24-32  |Z1.1/2"X11.5 | Z2"X11.5 25 | 29 | 70 72
1N-32 Z2"X11.5 Z2"X11.5 29 | 29 | 70 75

- 180 -




Hydraulic Adapters

www.lomoflex.com

E
E
1N4
A5° A1 HE G SMRLL
A 45°NPT MALE
S1
o #2140 THREADE R <} DIMENSIONS
PART NO. E F A B | sI
1N4-02 Z1/8"X27 | Z1/8"X27 19 | 21 | 11
1N4-04 Z1/4"X18 | Z1/4"X18 22 | 27 | 14
1N4-06 Z3/18"X18 | Z3/8"X18 22 | 29 | 17
1N4-08 Z1/2"X14 | Z1/2"X14 27 | 37 | 22
1N4-12 Z3/4"X14 | Z3/4"X14 33 | 43 | 27
1N4-16 Z1"X11.5 | Z1"X11.5 37 | 47 | 33
1N4-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 40 | 56 | 44
1N4-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 47 | 57 | 53
1N4-32 Z2'X115 | Z2"X11.5 55 | 63 | 65
F
: TN9
| N 90° % il fir #E ' SMERLL
) 90°NPT MALE
A S1
s #2140 THREADE R < DIMENSIONS
PART NO. E F A B | sI
1N9-02 Z1/8"X27 | Z1/8"X27 22 | 22 | 11
1N9-04 Z1/4"X18 | Z1/4"X18 29 | 27 | 14
1N9-06 Z3/8"X18 | Z3/8"X18 30 | 29 | 17
1N9-08 Z1/2"X14 | Z1/2"X14 37 | 37 | 22
1N9-12 Z3/4"X14 | Z3/4"X14 40 | 40 | 27
1N9-16 Z1"X11.5 | Z1"X11.5 49 | 49 | 33
1N9-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 57 | 57 | 44
1N9-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 57 | 57 | 48
1N9-32 Z2"X115 | Z2"X11.5 66 | 66 | 65




Hydraulic Adapters www.lomoflex.com

E
S1
A 4NN
@ S AT HE SMRGUN 7N A Hi Sk
NPT MALE HOLLOW HEX PLUG
L

e 1240 THREADE JU I DIMENSIONS
PART NO. E L St

4NN-02 Z1/8"X27 8

4NN-04 Z1/4"X18 10

4NN-06 Z3/8"X18 12

4NN-08 Z1/2"X14 15 10

4NN-12 Z3/4"X14 18 12

4NN-16 Z1"X11.5 20 17

L
A
AT HEE SRS Sk
NPT MALE PLUG
S1 E

foe 24 THREADE JU <} DIMENSIONS
PART NO. E A N L
4N-02 Z1/8"X27 10 12 16
4N-04 Z1/4"X18 14 17 20
4N-06 Z3/8"X18 14 19 21
4N-08 Z1/2"X14 19 22 27
4N-12 Z3/4"X14 19.5 30 29
4N-16 Z1"X11.5 24 36 36
4N-20 Z1.1/4"X11.5 25 46 38
4N-24 Z1.1/2"X11.5 25 50 41
4N-32 Z2"X11.5 29 65 46

- 182 -



Hydraulic Adapters

www.lomoflex.com

SN

SR AT HE S SR S0 HE R IR AL

NPT MALE/NPT FEMALE
o/ :

e 24 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5N-02 Z1/8"X27 Z1/8"X27 10 14 25
5N-02-04 Z1/8"X27 Z1/4"X18 10 19 28
5N-04-02 Z1/4"X18 Z1/8"X27 14 17 20
5N-04 Z1/4"X18 Z1/4"X18 14 19 32
5N-04-06 Z1/4"X18 Z3/8"X18 14 22 34
5N-06-02 Z3/8"X18 Z1/8"X28 14 19 21
5N-06-04 Z3/8"X18 Z1/4"X18 14 19 21
5N-06-06 Z3/8"X18 Z3/8"X18 14 24 34
5N-06-08 Z3/8"X18 Z1/2"X14 14 30 40
5N-08-02 Z1/2"X14 Z3/4"X14 19 24 27
5N-08-04 Z1/2"X14 Z1/4"X18 19 24 27
5N-08-06 Z1/2"X14 Z3/8"X18 19 24 27
5N-08-12 Z1/2"X14 Z3/4"X14 19 36 49
5N-12-04 Z3/4"X14 Z1/4"X18 19.5 27 29
5N-12-06 Z3/4"X14 Z3/8"X18 19.5 27 29
5N-12-08 Z3/4"X14 Z1/2"X14 19.5 30 29
5N-12-16 Z3/4"X14 Z1"X11.5 19.5 41 54
5N-12-20 Z3/4"X14  |Z1.1/4"X11.5 19.5 50 56
5N-16-06 Z1"X11.5 Z3/8"X18 24 36 34
5N-16-08 Z1"X11.5 Z1/2"X14 24 36 34
5N-16-12 Z1"X11.5 Z3/4"X14 24 36 34
5N-16-16 Z1"X11.5 Z1"X11.5 24 M 58
5N-20-12  |Z1.1/4"X11.5 | Z3/4"X14 25 46 38
5N-20-16  |Z1.1/4"X11.5 | Z1"X11.5 25 46 38
5N-24-16  |Z1.1/2"X11.5 | Z1"X11.5 25 50 42
5N-24-20 [Z1.1/2"X11.5 |Z1.1/4"X11.5 25 50 42
5N-32-16 Z2"X11.5 Z1"X11.5 29 65 47
5N-32-20 Z2"X11.5 |Z1.1/4"X11.5 29 65 47
5N-32-24 Z2"X11.5 |Z1.1/2"X11.5 29 65 47

- 183 -




Hydraulic Adapters

www.lomoflex.com

E
SN4
45° S il A1 HE A SRS A HERE IR
45°NPT MALE/NPT FEMALE
o 24 THREADE JU <} DIMENSIONS
PART NO. E A B S1
5N4-02 Z1/8"X27 22 | 17 17
5N4-04 Z1/4"X18 25 | 20 | 19
5N4-06 Z3/8"X18 27 | 19 22
5N4-08 Z1/2"X14 33 | 28 | 27
5N4-12 Z3/4"X14 37 | 30 33
5N4-16 Z1"X11.5 40 | 375 | 44
5N4-20  |Z1.1/4"X11.5 47 | 30 50
5N4-24  [Z1.1/2"X11.5 55 | 36 | 65
_F\
) SN9
3</ 90° & il A ML FMER AT/ A HE T IR AL
o 90°NPT MALE/NPT FEMALE
A S1
o i24  THREADE JU - DIMENSIONS
PART NO. E F A S1
5N9-02 Z1/8"X27 Z1/8"X27 22 | 17 14
5N9-04-02 | Z1/4"X18 Z1/8"X27 27 | 21 17
5N9-04 Z1/4"X18 Z1/4"X18 27 | 21 17
5N9-04-06 | Z1/4"X18 Z3/8"X18 32 | 27 | 22
5N9-06 Z3/8"X18 Z3/8"X18 32 | 27 | 22
5N9-08 Z1/2"X14 Z1/2"X14 35 | 30 | 27
5N9-12-08 | Z3/4"X14 Z1/2"X14 40 | 32 33
5N9-12 Z3/4"X14 Z3/4"X14 40 | 32 33
5N9-16 Z1"X11.5 Z1"X11.5 49 | 38 | 41
5N9-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 61 | 432 | 50
5N9-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 65 | 528 | 65
5N9-32 Z2"X11.5 Z2"X11.5 65 | 62 | 65

- 184 -




Hydraulic Adapters

www.lomoflex.com

A B
/N
il A HEET A IR AL
NPT FEMALE
S

e i24 THREADE U -} DIMENSIONS
PART NO. E F A B s1 L
7N-02 Z1/8"X27 | Z1/8"X27 8 8 | 14 | 22
7N-04-02 Z1/4"X18 | Z1/8"X27 10 8 | 19 | 26
7N-04 Z1/4"X18 | Z1/4"X18 10 | 10 | 19 | 28
7N-06-04 Z3/8"X18 | Z1/4"X18 10 8 | 19 | 26
7N-06 Z3/8"X18 | Z3/8"X18 11 | 11 | 19 | 28
7N-08-04 Z1/2"X14 | Z1/4"X18 14 | 10 | 27 | 34
7N-08 Z1/2"X14 | Z1/2"X14 14 | 14 | 27 | 38
7N-12 Z3/4"X14 | Z3/4"X14 155 | 155 | 36 | 42
7N-16 Z1"X115 | Z1"X115 17 | 17 | 41 | 50
7N-20  [Z1.1/4"X11.5 |Z1.1/4"X11.5 19 | 19 | 50 | 55
7N-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 19 | 19 | 55 | 55
7N-32 Z2"X115 | Z2"X11.5 21 | 21 | 70 | 60

- 185 -




Hydraulic Adapters

www.lomoflex.com

E N9
90° & il A1 HEAE N IRZL
90°NPT FEMALE
A S1

=] 22 THREADE JU  sf DIMENSIONS
PART NO. E F A S1
7N9-02 Z1/8"X27 Z1/8"X27 17 14
7N9-02-04 Z1/8"X27 Z1/4"X18 21 17
7N9-04 Z1/4"X18 Z1/4"X18 21 17
7N9-06 Z3/8"X18 Z3/8"X18 24 22
7N9-08 Z1/2"X14 Z1/2"X14 27 26
7N9-12 Z3/4"X14 Z3/4"X14 33 34
7N9-16 Z1"X11.5 Z1"X11.5 38 41
7N9-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 45 54
7N9-24  Z1.1/2"X11.5 |Z1.1/2"X11.5 47 56
7N9-32 Z2"X11.5 Z2"X11.5 60 68

S1
ﬁL
ON-CAP
/E
W/A FEAHER IR Sk
| NPT FEMALE PLUG

=] 22y THREADE JU  sf DIMENSIONS
PART NO. E A S1
9N-02CAP | Z1/8"X27 17.5 17
9N-04CAP | Z1/4"X18 23 19
9N-06CAP | Z3/8"X18 24 24
9N-08CAP | Z1/2"X14 28 30
ON-12CAP | Z3/4"X14 28 36
9N-16CAP | Z1"X11.5 34 46
9N-20CAP |Z1.1/4"X11.5 37 55
9N-24CAP [Z1.1/2"X11.5 37 65
9N-32CAP | Z2"X11.5 40.5 75

- 186 -




Hydraulic Adapters www.lomoflex.com

o 1NO

K HISAESMRLL T O Y Fel /2 i A1 HE T SR AL
NPT MALE/SAE O-RING BOSS

e

S1
o i22  THREADE R <} DIMENSIONS
PART NO. E F A B st L
10N-04 | U7/16"X20 | Z1/4"X18 10 | 14 | 19 | 30
10N-04-06 | U9/16"X18 | Z1/4"X18 12 | 14 | 22 | 32
10N-06-04 | U7/16"X20 | Z3/8"X18 10 | 14 | 19 | 30
10N-06 | U9/16"X18 | Z3/8"X18 12 | 14 | 22 | 34
10N-06-08 | U3/4"X16 | Z3/8"X18 12 | 14 | 27 | 36
10N-08 U3/4"x16 | Z1/2"X14 12 | 19 | 27 | 41
10N-08-10 | U7/8"X14 | Z1/2"X14 135 | 19 | 30 | 425
10ON-08-12 |U1.1/16"X12| Z1/2"X14 16 | 19 | 32 | 45
10N-12-10 | U7/8"X14 | Z3/4"X14 135 | 195 | 30 | 43
1ON-12  |U1.1/16"X12| Z3/4"X14 16 | 195 | 32 | 455
1ON-16  |U1.5/16"X12| Z1"X11.5 16 | 24 | 41 | 52
10N-20-16 |U1.5/16"X12|Z1.1/4"X11.5 16 | 25 | 46 | 54
1ON-20 | U1.5/8"X12 | Z1.1/4"X11.5 18 | 25 | 50 | 60
10N-24 | U1.7/8"X12 | Z1.1/2"X11.5 185 | 25 | 55 | 605

- 187 -




Hydraulic Adapters

www.lomoflex.com

S$1

w

<

2NU

A HERT SMR LU/ L HINPSM Y #R2060 ° S
NPT MALE/NPSM FEMALE

2 60 °CONE
E F
£/ .
foe 124, THREADE R/ DIMENSIONS
PART NO. E F A C S1 S2
2NU-02 Z1/8"X27 Z1/8"X27 10 5.5 12 14
2NU-02-04 Z1/8"X27 Z1/4"X18 10 5.5 12 19
2NU-04-02 Z1/4"X18 Z1/8"X27 14 5.5 14 14
2NU-04 Z1/4"X18 Z1/4"X18 14 5.5 14 19
2NU-04-06 Z1/4"X18 Z3/8"X18 14 6.5 17 22
2NU-04-08 Z1/4"X18 Z1/2"X14 14 8 19 27
2NU-06 Z3/8"X18 Z3/8"X18 14 6.5 19 22
2NU-06-04 73/8"X18 Z1/4"X18 14 5.5 19 19
2NU-06-08 73/8"X18 Z1/2"X14 14 8 19 27
2NU-08 Z1/2"X14 Z1/2"X14 19 8 22 27
2NU-08-04 Z1/2"X14 Z1/4"X18 19 5.5 22 19
2NU-08-06 Z1/2"X14 73/8"X18 19 6.5 22 22
2NU-12 Z3/4"X14 Z3/4"X14 19.5 11.5 27 32
2NU-12-06 Z3/4"X14 73/8"X18 19.5 6.5 27 22
2NU-12-08 Z3/4"X14 Z1/2"X14 19.5 8 27 27
2NU-12-16 Z3/4"X14 Z1"X11.5 195 | 115 36 41
2NU-16-12 Z1"X11.5 Z3/4"X14 24 11.5 36 32
2NU-16 Z1"X11.5 Z1"X11.5 24 11.5 36 41
2NU-16-20 Z1"X11.5 Z1.1/4"X11.5 24 12 41 50
2NU-20-16 Z1.1/4"X11.5 Z1"X11.5 25 11.5 46 41
2NU-20 Z1.1/4"X11.5 Z1.1/4"X11.5 25 12 46 50
2NU-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 25 13 41 55
2NU-24-20 Z1.1/2"X11.5 Z1.1/4"X11.5 25 12 46 50
2NU-24 Z1.1/2"X11.5 Z1.1/2"X11.5 25 13 50 55
2NU-32 Z2"X11.5 Z2"X11.5 29 16 65 70

- 188 -



Hydraulic Adapters www.lomoflex.com

E 2NU4

A5° A HEFE SMRLU S HINPSM A ERZ60° S fE
45°NPT MALE/NPSM FEMALE 60°CONE

A ST
o 24 THREADE U~} DIMENSIONS
PART NO. E F A C Sl S2
2NU4-02 Z1/8"X27 Z1/8"X27 17 | 55 | 11 14
2NU4-04 Z1/4"X18 Z1/4"X18 22 | 55 | 14 19
2NU4-04-06 | Z1/4"X18 73/8"X18 22 | 65 | 17 22
2NU4-06 73/8"X18 73/8"X18 22 | 65 | 17 22
2NU4-06-04 |  Z3/8"X18 Z1/4"X18 22 | 55 | 17 19
2NU4-06-08 |  Z3/8"X18 Z1/2"X14 25 8 19 27
2NU4-08 Z1/2"X14 Z1/2"X14 27 8 22 | 27
2NU4-08-06 |  Z1/2"X14 73/8"X18 27 | 65 | 22 | 22
2NU4-08-12 | Z1/2"X14 Z3/4"X14 33 | 115 | 27 | 32
2NU4-12 Z3/4"X14 Z3/4"X14 33 | 115 | 27 | 32
2NU4-12-08 |  Z3/4"X14 Z1/2"X14 33 8 27 | 27
2NU4-12-16 | Z3/4"X14 Z1"X11.5 37 | 115 | 33 | 41
2NU4-16 Z1"X11.5 Z1"X11.5 37 | 115 | 33 | 41
2NU4-16-12 |  Z1"X11.5 Z3/4"X14 37 | 115 | 33 | 32
2NU4-20 | Z1.1/4"X11.5 | Z1.1/4"X11.5 40 | 12 | 44 | 50
2NU4-24 | Z1.1/2"X11.5 | Z1.1/2"X11.5 47 | 13 50 | 55
2NU4-32 Z2"X11.5 Z2"X11.5 55 | 16 65 | 70

- 189 -




Hydraulic Adapters www.lomoflex.com

vy

T
s

A \ S$1

2NU9

90 ° A HE B AMZ L/ HINPSM A 24060 ° 4 M
90°NPT MALE/NPSM FEMALE 60°CONE

e 24 THREADE U <] DIMENSIONS
PART NO. E F A c | s1 ] s
2NU9-02 | Z1/8"X27 | Z1/8"X27 21 | 55 | 11 | 14
2NU9-02-04 | Z1/8"X27 | Z1/4"X18 21 | 55 | 11 | 19
2NU9-04-02 | Z1/4"X18 | Z1/8"X27 29 | 55 | 14 | 14
2NU9-04 | Z1/4"X18 | Z1/4"X18 29 | 55 | 14 | 19
2NUQ-04-06 | Z1/4"X18 | Z3/8"XI8 30 | 65 | 17 | 22
2NU9-06 Z73/8"X18 73/8"X18 30 6.5 17 22
2NU9-06-04 | Z3/8"X18 | Z1/4"X18 30 | 55 | 17 | 19
2NU9-06-08 | Z3/8"X18 | Z1/2"X14 33 8 | 19 | 27
2NU9-08 | Z1/2"X14 | Z1/2"X14 37 8 | 22 | 27
2NU9-08-06 | Z1/2'X14 | Z3/8"XI8 37 | 65 | 22 | 22
2NU9-08-12 | Z1/2'X14 | Z3/4"X14 43 | 115 | 27 | 32
2NU9-12 Z3/4"X14 | Z3/4"X14 43 | 115 | 27 | 32
2NU9-12-08 | Z3/4"X14 | Z1/2'X14 43 8 | 27 | 27
2NU9-12-16 | Z3/4"X14 | Z1"X11.5 52 [ 115 | 33 | 41
2NU9-16 | Z1"X115 | Z1"X115 52 [ 115 | 33 | 41
2NU9-16-12 | Z1"X11.5 | Z3/4"X14 52 [ 115 | 33 | 32
2NU9-20-16 |Z1.1/4"X11.5 | Z1"X11.5 59 [ 115 | 44 | 41
2NU9-20  [Z1.1/4"X11.5 |Z1.1/4"X11.5 59 | 12 | 44 | 50
2NU9-24  [Z1.1/2"X11.5 |Z1.1/2"X11.5 61 | 13 | 50 | 55
2NU9-32 | Z2'X115 | Z2'X115 66 | 16 | 65 | 70

- 190 -




Hydraulic Adapters

www.lomoflex.com

S1
A/
5GN
F
| L B4R O 5 A B 4
% /| BSP MALE O-RING/NPT
FEMALE
fo 240 THREADE R/ DIMENSIONS

PART NO. E F S1 L

5GN-02 G1/8"X28 Z1/8"X27 17 24
5GN-02-04 G1/8"X28 Z1/4"X18 19 27
5GN-04-02 G1/4"X19 Z1/8"X27 12 19 30

5GN-04 G1/4"X19 Z1/4"X18 12 19 30
5GN-04-06 G1/4"X19 Z3/8"X18 12 22 32
5GN-06-04 G3/8"X19 Z1/4"X18 13.5 22 33.5

5GN-06 G3/8"X19 Z3/8"X18 13.5 22 33.5
5GN-08-04 G1/2"X14 Z1/4"X18 16 27 36
5GN-08-06 G1/2"X14 Z3/8"X18 16 27 36

5GN-08 G1/2"X14 Z1/2"X14 16 30 42

5GN-12 G3/4"X14 Z3/4"X14 18.5 36 48.5

5GN-16 G1"X11 Z1"X11.5 20.5 41 545

5GN-20 G1.1/4"X11|Z21.1/4"X11.5 20.5 50 57.5

5GN-24 G1.1/2"X11| Z21.1/2"X11.5 23 60 60

- 191 -



Hydraulic Adapters www.lomoflex.com

S1
A /_
SHN
F
| /_ N BISMBECE F S BT P
v METRIC MALE L-SERIES/NPT FEMALE
5 IR AL N 7 DIMENSIONS
PART NO. E THREADE A S1 L
5HN-10-02 | M10x1| Z1/8"X27 8.5 14 23
5HN-12-02 |M12x1.5| Z1/8"X27 1 17 26
5HN-12-04 |M12x1.5| Z1/4"X18 1 19 29
5HN-14-04 |M14x1.5| Z1/4"X18 1 19 29
5HN-16-06 |M16x1.5| Z3/8"X18 1 22 31
5HN-16-08 |M16x1.5| Z1/2"X14 11 30 37
5HN-18-06 |M18x1.5| Z3/8"X18 1 24 31
5HN-18-08 |M18x1.5| Z1/2"X14 1 30 37
5HN-22-08 |M22x1.5| Z1/2"X14 12 30 38
5HN-27-12 | M27x2 | Z3/4"X14 13 36 43
L
S1
A
' SMN
| L AL A S PR AT S P MR
v, Y METRIC MALE WITH BONDED SEAL/NPT
FEMALE
R HRAL L~} DIMENSIONS
PART NO. BIREADE F A S1 L
5MN-12-02 | M12x1.5| Z1/8"X27 10 19 30
5MN-14-04 | M14x1.5| Z1/4"X18 1 19 31
5MN-16-06 | M16x1.5| Z3/8"X18 12 22 34
5MN-18-06 | M18x1.5 Z3/8"X18 12 24 34
5MN-22-06 | M22x1.5| Z3/8"X18 14 27 36
5MN-22-08 | M22x1.5| Z1/2"X14 14 30 43

- 192 -



Hydraulic Adapters www.lomoflex.com

L
S1
A [
7
S5NO
Ve ST 7 SMR S0 HISAE IR
NPT MALE/SAE FEMALE

Fo 24 THREADE JU <} DIMENSIONS
PART NO. E F A S1 L
5NO-02-04 Z1/8"X27 u7/16"X20 10 17 25
5NO-02-05 Z1/8"X27 U1/2"X20 10 17 25
5NO-04 Z1/4"X18 u7/16"X20 14 17 29
5NO-04-06 Z1/4"X18 U9/16"X18 14 19 32
5NO-04-08 Z1/4"X18 U3/4"X16 14 27 34
5NO-06-04 Z3/8"X18 u7/16"X20 14 19 20
5NO-06 Z3/8"X18 U9/16"X18 14 19 32
5NO-06-08 Z3/8"X18 U3/4"X16 14 24 34
5NO-08-06 Z1/2"X14 U9/16"X18 19 24 27
5NO-08 Z1/2"X14 U3/4"X16 19 27 39
5NO-08-10 Z1/2"X14 u7/8"X14 19 30 45
5NO-12-08 Z3/4"X14 U3/4"X16 19.5 30 30
5NO-12-10 Z3/4"X14 u7/8"X14 19.5 30 30
5NO-12 Z3/4"X14  |U1.1/16"X12 19.5 36 49
5NO-16-12 Z1"X11.5  |U1.1/16"X12 24 36 35
5NO-16 Z1"X11.5  |U1.5/16"X12 24 41 58
5NO-20 Z1.1/4"X11.5 | U1.5/8"X12 25 50 62

- 193 -




Hydraulic Adapters

www.lomoflex.com

L
S1
’ 50ON
/4
| . K HISAESMERLLOR! [ 5 R 41/
e JE AT HE R IR EL
4 SAE O-RING BOSS L-
/ SERIES/ NPT
FEMALE
e i24 THREADE ] -} DIMENSIONS
PART NO. E F A s1 L
50N-04-02 | U7/16"X20 | Z1/8"X27 10 17 25
50N-04 | U7/16"X20 | Z1/4"X18 10 19 28
50N-04-06 | U7/16"X20 | Z3/8"X18 10 24 30
50N-05-02 | U1/2"X20 | Z1/8"X27 10 17 25
50N-06-04 | U9/16"X18 | Z1/4"X18 12 19 30
50N-08-04 | U3/4"X16 | Z1/4"X18 12 22 32
50N-08-06 | U3/4"X16 | Z3/8"X18 12 22 32
50N-08 Us/a"x1e | z1/2"X14 12 30 38
50N-08-12 | U3/4"X16 | Z3/4"X14 12 36 42
50N-10-08 | U7/8"X14 | Z1/2"X14 135 30 39
50N-10-06 | U7/8"X14 | Z3/8"X18 135 27 33
50N-10-12 | U7/8"X14 | Z3/4"X14 135 36 43
50N-12-08 |U1.1/16"X12| Z1/2"X14 16 32 40
5ON-12  |U1.1/16"X12| Z3/4"X14 16 36 46
50N-12-16 |U1.1/16"X12| Z1"X11.5 16 41 50
50N-16-12 |U1.5/16"X12| Z3/4"X14 17 41 51
50N-16  |U1.5/16"X12| Z1"X11.5 17 41 51
50N-20-16 |U1.5/8"X12 | Z1"X11.5 18 50 54
50N-20 | U1.5/8"X12 |Z1.1/4"X11.5 18 50 54
50N-24-16 | U1.7/8"X12 | Z1"X11.5 18.5 55 56
50N-24-20 | U1.7/8"X12 |Z1.1/4"X11.5 185 55 56
50N-24 | U1.7/8"X12 [Z1.1/2"X11.5 18.5 60 56
50N-32 | U1.1/2"X12 | Z2"X11.5 22 70 59

- 194 -




Hydraulic Adapters

www.lomoflex.com

L

S1
A — a—
5TN
Ve SEHE SIS/ A HE R P R
Pd BSPT MALE/NPT FEMALE
e 24 THREADE JU s} DIMENSIONS
PART NO. E F A S1 L
5TN-02 ZG1/8"X28| Z1/8"X27 10 17 25
5TN-04-02 | ZG1/4"X19| Z1/8"X27 14 14 20
5TN-04 ZG1/4"X19| Z1/4"X18 14 19 32
5TN-06-04 | ZG3/8"X19| Z1/4"X18 14 19 20
5TN-06 ZG3/8"X19| Z3/8"X18 14 24 34
5TN-08-06 | ZG1/2"X14| Z3/8"X18 19 24 27
5TN-08 ZG1/2"X14| Z1/2"X14 19 30 45
5TN-12-08 | ZG3/4"X14| Z1/2"X14 19.5 32 29
5TN-12 ZG3/4"X14| Z3/4"X14 19.5 36 49
5TN-16-12 ZG1"X11 | Z3/4"X14 19.5 36 31
5TN-16 ZG1"X11 | Z1"X11.5 24 41 58
E
;@ ZN
jlj—,* L]
NPT FEMALE CROSS
A
=] 22y THREADE JU  sf DIMENSIONS
PART NO. E A S1
ZN-04 Z1/4"X18 21 17
ZN-06 Z3/8"X18 24 22
ZN-08 Z1/2"X14 27 26
ZN-12 Z3/4"X14 33 34
ZN-16 Z1"X11.5 38 41
ZN-20 Z1.1/4"X11.5 45 54

- 195 -




Hydraulic Adapters

www.lomoflex.com

S1

S2

/NU

s AR IR0 HINPSM R L60° S
NPT FEMALE/NPSM FEMALE
_C_| \_F 60 °CONE
e 22 THREADE JU s} DIMENSIONS
PART NO. E F A C s 2
7NU-02 Z1/8"X27 Z1/8"X27 10 | 55 | 17 14
7NU-04-02 | Z1/4"X18 Z1/8"X27 14 | 55 | 19 14
7NU-04 Z1/4"X18 Z1/4"X18 14 | 55 | 19 19
7NU-04-06 | Z1/4"X18 73/8"X18 14 | 65 | 19 22
7NU-06 73/8"X18 73/8"X18 14 | 65 | 22 | 22
7NU-06-08 | Z3/8"X18 Z1/2"X14 14 8 22 | 27
7NU-08-06 | Z1/2"X14 73/8"X18 19 | 65 | 30 | 22
7NU-08 Z1/2"X14 Z1/2"X14 19 8 30 | 27
7NU-12 Z3/4"X14 Z3/4"X14 195 | 115 | 36 | 32
7NU-16 Z1"X11.5 Z1"X11.5 24 | 115 | 41 a1
7NU-20  [Z1.1/4"X11.5 |Z1.1/4"X11.5 25 | 12 50 | 50
7NU-24  |Z1.1/2"X11.5 |Z1.1/2"X11.5 25 | 13 60 | 55
7NU-32 Z2"X11.5 Z2"X11.5 29 | 16 | 70 | 70

- 196 -



Hydraulic Adapters

www.lomoflex.com

E

)

2
|

| S

A \S1

AN

JE A HER ARG =l
NPT MALE TEE

o 240 THREADE U <[ DIMENSIONS
PART NO. E A S1
AN-02 Z1/8"X27 24 1

AN-04 Z1/4"X18 27 14
AN-06 Z3/8"X18 28 17
AN-08 Z1/2"X14 33 22
AN-12 Z3/4"X14 40 27
AN-16 Z1"X11.5 49 33
AN-20 Z1.1/4"X11.5 57 44

) GN
7 %
\ THER PR
NPT FEMALE TEE
A | \s

fou 124, THREADE R/ DIMENSIONS
PART NO. E A S1
GN-02 21/8"X27 17 14
GN-04 Z1/4"X18 21 17
GN-06 Z3/8"X18 24 22
GN-08 Z1/2"X14 27 26
GN-12 Z3/4"X14 33 34
GN-16 Z1"X11.5 38 41
GN-20 Z1.1/4"X11.5 45 54
GN-24 Z1.1/2"X11.5 47 56
GN-32 Z2"X11.5 60 68

- 197 -




Hydraulic Adapters

www.lomoflex.com

E ‘F——g S1 J N
e AT HEE IR SUATHER SNBSS S
NPT FEMALE/NPT MALE BRANCH
TEE
A A
=) IR L R~ DIMENSIONS
PART NO. E THREADE A B S1
JN-02 Z1/8"X27 | Z1/8"X27 17 17 14
JN-04 Z1/4"X18 | Z1/4"X18 21 21 17
JN-06 Z3/8"X18 | Z3/8"X18 24 24 22
JN-08 Z1/2"X14 | Z1/2"X14 27 27 26
JN-12 Z3/4"X14 | Z3/4"X14 33 33 34
IN-16 Z1"X11.5 | Z1"X11.5 38 38 41
L HN
i
I AT HER N IRSU A HEARS SMR AL 3 =l
NPT FEMALE/NPT MALE RUN TEE
A B
= IREL R~ DIMENSIONS
PART NO. E THREADE A B S1
HN-02 Z1/8"X27 | Z1/8"X27 17 17 14
HN-04 Z1/4"X18 | Z1/4"X18 21 21 17
HN-06 Z3/8"X18 | Z3/8"X18 24 24 22
HN-08 Z1/2"X14 | Z1/2"X14 27 27 26
HN-12 Z3/4"X14 | Z3/4"X14 33 33 34
HN-16 Z1"X11.5 | Z1"X11.5 38 38 41

- 198 -



Hydraulic Adapters

www.lomoflex.com

L
A B
1J
IN] BL(T74°
s JCMALE 74 CONE
si/
o 124 THREADE U sF DIMENSIONS
PART NO. E F A B S1 L
1J-02 U5/16"X24 U5/16"X24 115 | 115 | 12 29
1J-04 U7/16"X20 U7/16"X20 14 14 14 34
1J-04-05 U7/16"X20 U1/2"X20 14 14 14 34
1J-04-06 U7/16"X20 U9/16"X18 14 14 17 34
1J-04-08 U7/16"X20 u3s/4"x16 14 | 167 | 22 39
1J-05 U1/2"X20 U1/2"X20 14 14 14 34
1J-05-06 U1/2"X20 U9/16"X18 14 14 17 35
1J-05-08 U1/2"X20 U3/4"X16 14 | 167 | 22 39
1J-05-10 U1/2"X20 u7/8"x14 14 | 195 | 24 42
1J-06 U9/16"X18 U9/16"X18 14 14 17 35.5
1J-06-08 U9/16"X18 U3/4"X16 14 | 167 | 22 38
1J-06-10 U9/16"X18 u7/8"x14 14 | 195 | 24 42
1J-06-12 U9/16"X18 | U1.1/16"X12 14 22 30 46
1J-08 u3s/4"x16 U3/4"X16 16.7 | 16.7 | 22 42
1J-08-10 u3s/4"x16 u7/8"X14 16.7 | 195 | 24 44
1J-08-12 us/i4"™x16 | U1.1/16"X12 16.7 | 22 30 49
1J-08-16 u3/i4"™x16 | U1.5/16"X12 16.7 | 23 36 51
1J-10 u7/8"x14 u7/8"x14 195 | 195 | 24 47.5
1J-10-12 u7/8"X14 | U1.1/16"X12 195 | 22 30 52
1J-10-16 u7/8"X14 | U1.5/16"X12 195 | 23 36 53.5
1J-12 U1.1/16"X12 | U1.1/16"X12 22 22 30 55
1J-12-16 U1.1/16"X12 | U1.5/16"X12 22 23 36 56
1J-16 U1.5/16"X12 | U1.5/16"X12 23 23 36 57
1J-16-20 U1.5/16"X12 | U1.5/8"X12 23 | 245 | 46 60
1J-20 U1.5/8"X12 | U1.5/8"X12 245 | 245 | 46 61.5
1J-20-24 U1.5/8"X12 | U1.7/8"X12 245 | 275 | 50 66.5
1J-20-32 U1.5/8"X12 | U2.1/2"X12 245 | 34 70 75.5
1J-24 U1.7/8"X12 | U1.7/8"X12 275 | 275 | 50 69.5
1J-24-32 U1.7/8"X12 | U2.1/2"X12 275 | 34 70 78.5
1J-32 U2.1/2"X12 | U2.1/2"X12 34 | 34 70 85

- 199 -




Hydraulic Adapters www.lomoflex.com

1J4

\y 45° I JICHMRL 74 ° HME
45°JIC MALE 74° CONE
A E

e #2240 THREADE JU s DIMENSIONS
PART NO. E A B S1
1J4-04 U7/16"X20 20 20 11
1J4-05 U1/2"X20 22 22 14
1J4-06 U9/16"X18 22 22 14
1J4-08 U3/4"X16 25 25 19
1J4-10 U7/8"X14 27 27 22
1J4-12 U1.1/16"X12 33 33 27
1J4-16 U1.5/16"X12 37 37 33
1J4-20 U1.5/8"X12 40 40 44
1J4-24 U1.7/8"X12 47 47 53
1J4-32 U2.1/2"X12 55 55 65

_F

74—~

k 90°EHIJICHMRLT4° hiE

90°JIC MALE 74° CONE

|

A S1
e iZ4; THREADE U -} DIMENSIONS
PART NO. E A B | si
1J9-04 U7/16"X20 | U7/16"X20 22 | 22 | 11
1J9-05 U1/2"X20 U1/2"X20 29 | 27 | 14
1J9-06 U9/16"X18 | U9/16"X18 29 | 27 | 14
1J9-08 U3/4"X16 U3/4"X16 33 | 33 | 19
1J9-10 U7/8"X14 U7/8"X14 37 | 37 | 22
1J9-12 U1.1/16"X12 | U1.1/16"X12 40 | 40 | 27
1J9-16 U1.5/16"X12 | U1.5/16"X12 49 | 49 | 33
1J9-20 U1.5/8"X12 | U1.5/8"X12 57 | 57 | 44
1J9-24 U1.7/8"X12 | U1.7/8"X12 57 | 57 | 48
1J9-32 U2.1/2"X12 | U2.1/2"X12 66 | 66 | 65

- 200 -




Hydraulic Adapters

www.lomoflex.com

S1 S2
" rh 2J
| KAHIJICHMRL T4 S HE/
% %@ JICHIRLT4° Pyt
JIC MALE 74°CONE/
e JIC FEMALE 74°SEAT
s #2140 THREADE R <} DIMENSIONS

PART NO. E F A C S1 S2
2J-04 U7/16"X20 U7/16"X20 14 8.5 14 17
2J-04-05 U7/16"X20 U1/2"X20 14 9.5 14 19
2J-04-06 U7/16"X20 U9/16"X18 14 10 17 19
2J-04-08 U7/16"X20 U3/4"X16 14 1" 22 24
2J-05 U1/2"X20 U1/2"X20 14 9.5 14 19
2J-05-06 U1/2"X20 U9/16"X18 14 10 17 19
2J-05-08 U1/2"X20 U3/4"X16 14 1" 22 24
2J-06 U9/16"X18 U9/16"X18 14 10 17 19
2J-06-08 U9/16"X18 U3/4"X16 14 1" 22 24
2J-06-10 U9/16"X18 U7/8"X14 14 1" 22 27
2J-08 U3/4"X16 U3/4"X16 16.7 1" 22 24
2J-08-10 U3/4"X16 U7/8"X14 16.7 1" 22 27
2J-08-12 U3/4"X16 U1.1/16"X12 16.7 | 13.5 30 32
2J-10 U7/8"X14 U7/8"X14 19.5 1" 22 27
2J-10-08 U7/8"X14 U3/4"X16 19.5 1" 22 24
2J-10-12 U7/8"X14 U1.1/16"X12 19.5 | 135 30 32
2J-12 U1.1/16"X12 | U1.1/16"X12 22 | 135 30 32
2J-12-10 U1.1/16"X12 U7/8"X14 22 1" 30 27
2J-12-16 U1.1/16"X12 | U1.5/16"X12 22 | 145 36 41
2J-16 U1.5/16"X12 | U1.5/16"X12 23 | 145 36 41
2J-16-20 U1.5/16"X12 U1.5/8"X12 23 | 155 41 50
2J-20 U1.5/8"X12 U1.5/8"X12 245 | 1565 46 50
2J-20-24 U1.5/8"X12 U1.7/8"X12 245 | 185 46 55
2J-24 U1.7/8"X12 U1.7/8"X12 275 | 185 50 55
2J-24-32 U1.7/8"X12 U2.1/2"X12 275 | 245 65 75
2J-32 U2.1/2"X12 U2.1/2"X12 34 | 245 65 75

- 201 -




Hydraulic Adapters

www.lomoflex.com

2J4

45° K IJICHMRLET4°HMfE/

JICH BELL74° ) HE

45°JIC MALE 74°CONE/
JIC FEMALE 74°SEAT

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2J4-04 U7/16"X20 U7/16"X20 20 | 85 | M 17
2J4-05 U1/2"X20 U1/2"X20 22 | 95 | 14 19
2J4-06 U9/16"X18 U9/16"X18 22 | 10 | 14 19
2J4-08 U3/4"X16 U3/4"X16 25 | 11 19 24
2J4-10 U7/8"X14 U7/8"X14 27 | 1 22 | 27
2J4-12 U1.1/16"X12 | U1.1/16"X12 33 | 135 | 27 | 32
2J4-16 U1.5/16"X12 | U1.5/16"X12 37 | 145 | 33 | 41
2J4-20 U1.5/8"X12 | U1.5/8"X12 40 | 155 | 44 | 50
2J4-24 U1.7/8"X12 | U1.7/8"X12 47 | 185 | 53 | 55
2J4-32 U2.1/2"X12 | U2.1/2"X12 55 | 245 | 65 | 75

- 202 -




Hydraulic Adapters

www.lomoflex.com

2J9

90° K HIJICHMR L T4 HhE/

JICHIRZ74° N HE

90°JIC MALE 74°CONE/
JIC FEMALE 74°SEAT

e 240 THREADE R~} DIMENSIONS
PART NO. E F Al c | st] s
2J9-04 U7/16"X20 | U7/16"X20 22 |85 | 11 | 17
2J9-05 U1/2"X20 U1/2"X20 29 | 95 | 14 | 19
2J9-06 U9/16"X18 | U9/16"X18 29 | 10 | 14 | 19
2J9-06-08 | U9/16"X18 U3/4"X16 33 | 11 | 19 | 24
2J9-08-06 U3/4"X16 U9/16"X18 3 | 10 | 19 | 19
2J9-08 U3/4"X16 U3/4"X16 33 | 11 | 19 | 24
2J9-08-10 U3/4"X16 U7/8"X14 37 | 11 | 22 | 27
2J9-10 U7/8"X14 U7/8"X14 37 | 11 | 22 | 27
2J9-10-08 U7/8"X14 U3/4"X16 37 | 11 | 22 | 24
2J9-10-12 U7/8"X14 | U1.1/16"X12 40 [ 135 | 27 | 32
2J4-12 U1.1/16"X12 | U1.1/16"X12 40 135 | 27 | 32
2J4-12-10 | U1.1/16"X12 |  U7/8"X14 40 | 11 | 27 | 27
2J4-12-16 | U1.1/16"X12 | U1.5/16"X12 49 | 145 | 33 | 41
2J9-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 | 41
2J9-16-20 | U1.5/16"X12 | U1.5/8"X12 57 | 155 | 44 | 50
2J9-20-16 | U1.5/8"X12 | U1.5/16"X12 57 | 145 | 44 | 41
2J9-20 U1.5/8"X12 | U1.5/8"X12 57 | 155 | 44 | 50
2J9-20-24 | U1.5/8"X12 | U1.7/8"X12 57 | 185 | 48 | 55
2J9-24-20 | U1.7/8"X12 | U1.5/8"X12 57 | 155 | 48 | 50
2J9-24 U1.7/8"X12 | U1.7/8"X12 57 | 185 | 48 | 55
2J9-32 U2.1/2"X12 | U2.1/2"X12 66 | 245 | 65 | 75

- 203 -




Hydraulic Adapters

www.lomoflex.com

S1

R

d

3J

FKHIJICHIRL 74 ° A HE
JIC FEMALE 74°SEAT

o= 22y THREADE JU  sf DIMENSIONS
PART NO. E F C d S1 S2
3J-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17
3J-05 U1/2"X20 U1/2"X20 95 | 95 | 19 19
3J-06 U9/16"X18 U9/16"X18 10 10 | 19 19
3J-06-08 U9/16"X18 u3/4"x16 10 11 19 24
3J-08 U3/4"X16 U3/4"X16 11 11 24 24
3J-10 u7/8"x14 u7/8"x14 11 11 27 27
3J-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 32
3J-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 a1
3J-20 U1.5/8"X12 | U1.5/8"X12 155 | 155 | 50 50
3J-24 U1.7/8"X12 | U1.7/8"X12 185 | 185 | 55 55
3J4
S2 45°FHIJICHIRLT4° P HE
g 45°JIC FEMALE 74°SEAT
s1
= 24 THREADE JU 5| DIMENSIONS
PART NO. E F C d S1 )
3J4-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17
3J4-05 U1/2"X20 U1/2"X20 95 | 95 | 19 19
3J4-06 U9/16"X18 U9/16"X18 10 10 | 19 19
3J4-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J4-08 U3/4"X16 u3/4"x16 11 11 24 24
3J4-10 u7/8"x14 U7/8"X14 11 11 27 27
3J4-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 32
3J4-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 41
3J4-20 U1.5/8"X12 | U1.5/8"X12 155 | 155 | 50 50
3J4-24 U1.7/8"X12 | U1.7/8"X12 185 | 185 | 55 55

- 204 -




Hydraulic Adapters

www.lomoflex.com

3J9

C
S
90° S HIJIC N IRL74° Py
90°JIC FEMALE 74°SEAT
s1
o 24 THREADE U~} DIMENSIONS
PART NO. E F C d Sl 2
3J9-04 U7/16"X20 U7/16"X20 85 | 85 | 17 | 17
3J9-05 U1/2"X20 U1/2"X20 95 | 95 | 19 | 19
3J9-06 U9/16"X18 U9/16"X18 10 10 | 19 | 19
3J9-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J9-08 U3/4"X16 U3/4"X16 11 11 24 | 24
3J9-10 u7/8"X14 u7/8"X14 11 11 27 | 27
3J9-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 | 32
3J9-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 M
3J9-20 U1.5/8"X12 | U1.5/8"X12 155 | 155 | 50 | 50
3J9-24 U1.7/8"X12 | U1.7/8"X12 185 | 185 | 55 | 55
L
A
4J
S HIIICHMERLLT A SMELE Sk
&z JIC MALE 74°CONE PLUG
S1
R #24 THREADE JU  sI DIMENSIONS
PART NO. E A Sl L
4J-04 U7/16"X20 14 14 20
4J-05 U1/2"X20 14 14 20
4J-06 U9/16"X18 14 17 20
4J-08 U3/4"X16 16.7 22 25
4J-10 u7/8"X14 19.5 24 28
4J-12 U1.1/16"X12 22 30 31
4J-16 U1.5/16"X12 23 36 34
4J-20 U1.5/8"X12 245 46 38
4J-24 U1.7/8"X12 275 50 44
4J-32 U2.1/2"X12 34 65 52

- 205 -




Hydraulic Adapters

www.lomoflex.com

S1

W.

\}

5J

FKHIJICHMRL/FEHIIIC A BRLL
JIC MALENIC FEMALE

d

o #2420 THREADE &~} DIMENSIONS
PART NO. E F A C Sl
5J-06-04 U9/16"X18 | U7/16"X20 14 | 10 | 19
5J-08-04 U3/4"X16 U7/16"X20 14 | 11 | 24
5J-10-04 U7/8"X14 U7/16"X20 14 | 12 | 27
5J-12-04 | U1.1/16"X12 | U7/16"X20 14 | 13 | 32
5J-08-05 U3/4"X16 U1/2"X20 14 | 11 | 24
5J-10-05 U7/8"X14 U1/2"X20 14 | 12 | 27
5J-12-05 | U1.1/16"X12 |  U1/2"X20 14 | 13 | 32
5J-08-06 U3/4"X16 U9/16"X18 14 | 11 | 24
5J-10-06 U7/8"X14 U9/16"X18 14 | 12 | 27
5J-12-06 U1.1/16"X12 | U9/16"X18 14 | 13 | 32
5J-16-06 U1.5/16"X12 | U9/16"X18 14 | 14 | 38
5J-12-08 | U1.1/16"X12 | U3/4"X16 167 | 13 | 32
5J-16-08 | U1.5/16"X12 | U3/4"X16 16.7 | 14 | 38
5J-20-08 U1.5/8"X12 U3/4"X16 167 | 15 | 50
5J-16-10 | U1.5/16"X12 | U7/8"X14 195 | 14 | 38
5J-20-10 U1.5/8"X12 U7/8"X14 195 | 15 | 50
5J-24-10 U1.7/8"X12 U7/8"X14 195 | 19 | 55
5J-16-12 U1.5/16"X12 | U1.1/16"X12 22 | 14 | 38
5J-20-12 U1.5/8"X12 | U1.1/16"X12 22 | 15 | 50
5J-24-12 U1.7/8"X12 | U1.1/16"X12 22 | 19 | 55
5J-20-16 U1.5/8"X12 | U1.5/16"X12 23 | 15 | 50
5J-24-16 U1.7/8"X12 | U1.5/16"X12 23 | 19 | 55
5J-24-20 U1.7/8"X12 | U1.5/8"X12 245 | 19 | 55

- 206 -




Hydraulic Adapters

www.lomoflex.com

A B
- 6J
&7 L HIJICHMRDT 4 ° kI Az Sk
JIC MALE 74°CONE BULKHEAD
%
foe 1240 THREADE R~} DIMENSIONS
PART NO. E A B S1 L
6J-04 U7/16"X20 14 | 325 | 17 53
6J-06 U9/16"X18 14 | 325 | 22 54
6J-08 U3/4"X16 16.7 | 365 | 24 | 615
6J-10 u7/8"X14 19.5 | 40 30 | 69.5
6J-12 U1.1/16"X12 22 | 445 | 36 78
6J-16 U1.5/16"X12 23 | 445 | 41 80
6J-20 U1.5/8"X12 245 | 457 | 50 84
6J-24 U1.7/8"X12 275 | 46 55 89
6J-32 U2.1/2"X12 34 [ 531 | 70 | 105
6J4
45° R HJICHMRLLT4° ST Ak
45°JI1C MALE 74°CONE BULKHEAD
o 124 THREADE JU <} DIMENSIONS
PART NO. E A B S1
6J4-04 U7/16"X20 22 39 14
6J4-06 U9/16"X18 22 | 425 | 14
6J4-08 U3/4"X16 25 | 493 | 19
6J4-10 u7/8"X14 27 55 22
6J4-12 U1.1/16"X12 33 62 27
6J4-16 U1.5/16"X12 37 65 33
6J4-20 U1.5/8"X12 40 | 67.3 | 44




Hydraulic Adapters

www.lomoflex.com

L

<>4J||

Lgk
A s1

6J9

90° S HIJICHMERLL74° SMFEIL AR
90°JIC MALE 74°CONE BULKHEAD

o i24; THREADE <} DIMENSIONS
PART NO. E A B | sl
6J9-04 U7/16"X20 29 | 404 | 14
6J9-06 U9/16"X18 29 | 46 | 14
6J9-08 U3/4"X16 33 | 535 | 19
6J9-10 U7/8"X14 37 | 60.7 | 22
6J9-12 U1.1/16"X12 40 | 678 | 27
6J9-16 U1.5/16"X12 49 | 71 | 33
6J9-20 U1.5/8"X12 57 | 792 | 44
S1
T 8J
FHJICH R
% JIC LOCK NUT
L

o i24 THREADE /| DIMENSIONS
PART NO. E L S1
8J-04 U7/16"X20 7 17
8J-06 U9/16"X18 7 19
8J-08 U3/4"X16 8 24
8J-10 U7/8"X14 9 30
8J-12 U1.1/16"X12 105 36
8J-16 U1.5/16"X12 105 41
8J-20 U1.5/8"X12 105 50
8J-24 U1.7/8"X12 105 55
8J-32 U2.1/2"X12 105 70




Hydraulic Adapters

www.lomoflex.com

9J

KANICHIRLLTA° PytELh Sk
JIC FEMALE 74°SEAT PLUG

e 24 THREADE JU <} DIMENSIONS
PART NO. E F C S1

9J-04 U7/16"X20 U7/16"X20 9 17

9J-06 U9/16"X18 U9/16"X18 10 19

9J-08 U3/4"X16 U3/4"X16 11 24

9J-10 U7/8"X14 u7/8"X14 12 27

9J-12 U1.1/16"X12 | U1.1/16"X12 13 32

9J-16 U1.5/16"X12 | U1.5/16"X12 14 38

9J-20 U1.5/8"X12 | U1.5/8"X12 15 50

9J-24 U1.7/8"X12 | U1.7/8"X12 19 55

9J-32 U2.1/2"X12 | U2.1/2"X12 24 75

S1
9J-CAP
JIC74° WHIRZUE 3k
7 JIC 74°FEMALE PLUG
L

o 1240 THREADE JU <} DIMENSIONS
PART NO. E S1 L
9J-04CAP U7/16"X20 14 15
9J-06CAP U9/16"X18 17 16
9J-08CAP U3/4"X16 22 19
9J-10CAP u7/8"X14 27 215
9J-12CAP | U1.1/16"X12 32 23
9J-16CAP | U1.5/16"X12 38 26




Hydraulic Adapters

www.lomoflex.com

JIC MALE 74°CONE/BSPT MALE

1JT

JICHMERLLT 4 S/ S HMRLL

S1
o i22. THREADE U~ DIMENSIONS
PART NO. E F A B | sI L
1JT-04-02 U7/16"X20 | ZG1/8"X28 14 | 10 | 14 | 30
1JT-04 U7/16"X20 | ZG1/4"X19 14 | 14 | 14 | 34
1JT-04-06 U7/16"X20 | ZG3/8"X19 14 | 14 | 19 | 34
1JT-04-08 U7/16"X20 | ZG1/2"X14 14 | 19 | 22 | 415
1JT-05-04 U1/2"X20 | ZG1/4"X19 14 | 14 | 14 | 34
1JT-05-06 U1/2"X20 | ZG3/8"X19 14 | 14 | 19 | 34
1JT-05-08 U1/2"X20 | ZG1/2"X14 14 | 19 | 22 | 415
1JT-06-04 U9/16"X18 | ZG1/4"X19 14 | 14 | 17 | 34
1JT-06 U9/16"X18 | ZG3/8"X19 14 | 14 | 19 | 34
1JT-06-08 U9/16"X18 | ZG1/2"X14 14 | 19 | 22 | 41
1JT-08-04 U3/4"X16 | ZG1/4"X19 167 | 14 | 22 | 39
1JT-08-06 U3/4"X16 | ZG3/8"X19 167 | 14 | 22 | 38
1JT-08 U3/4"X16 | ZG1/2"X14 167 | 19 | 22 | 44
1JT-08-12 U3/4"X16 | ZG3/4"X14 167 | 195 | 30 | 46
1JT-10-06 U7/8"X14 | ZG3/8"X19 195 | 14 | 24 | 42
1JT-10-08 U7/8"X14 | ZG1/2"X14 195 | 19 | 24 | 47
1JT-10-12 U7/8"X14 | ZG3/4"X14 195 | 195 | 30 | 48
1IT-12-08 | U1.1/16"X12 | ZG1/2"X14 22 | 19 | 30 | 50
1JT-12 U1.1/16"X12 | ZG3/4"X14 22 | 195 | 30 | 50
1JT-12-16 | U1.1/16"X12 |  ZG1"X11 22 | 24 | 36 | 57
1JT-12-20 | U1.1/16"X12 | ZG1.1/4"X11 22 | 25 | 46 | 60
1JT-16-12 | U1.5/16"X12 | ZG3/4"X14 23 | 195 | 36 | 53
1JT-16 U1.5/16"X12 | ZG1"X11 23 | 24 | 36 | 58
1JT-16-20 | U1.5/16"X12 | ZG1.1/4"X11 23 | 25 | 46 | 61
1JT-16-24 | U1.5/16"X12 | ZG1.1/2"X11 23 | 25 | 50 | 64
1JT-20-16 | U1.5/8"X12 ZG1"X11 245 | 24 | 46 | 62
1JT-20 U1.5/8"X12 | ZG1.1/4"X11 245 | 25 | 46 | 63
1JT-24 U1.7/8"X12 | ZG1.1/2"X11 275 | 25 | 50 | 69
1JT-24-32 | U1.7/8"X12 ZG2"X11 275 | 29 | 70 | 74
1JT-32 U2.1/2"X12 ZG2"X11 34 | 29 | 70 | 81

- 210 -




Hydraulic Adapters

www.lomoflex.com

A \ 81

1JT4

45°JICHMBRLLT A HNHE [ TEAHEE AR LL
45°JIC MALE 74°CONE/BSPT MALE

o i24; THREADE <} DIMENSIONS
PART NO. E F A B | sl
1JT4-04-02 | U7/16"X20 | ZG1/8"X28 20 | 20 | 11
1JT4-04 U7/16"X20 | ZG1/4"X19 22 | 22 | 14
1JT4-04-06 | U7/16"X20 | ZG3/8"X19 22 | 22 | 17
1JT4-04-08 | U7/16"X20 | ZG1/2"X14 27 | 27 | 22
1JT4-05-04 U1/2"X20 | ZG1/4"X19 22 | 22 | 14
1JT4-06-04 | U9/16"X18 | ZG1/4"X19 22 | 22 | 14
1JT4-06 U9/16"X18 | ZG3/8"X19 22 | 22 | 17
1JT4-06-08 | U9/16"X18 | ZG1/2"X14 27 | 27 | 22
1JT4-08-04 U3/4"X16 | ZG1/4"X19 25 | 25 | 19
1JT4-08-06 U3/4"X16 | ZG3/8"X19 25 | 25 | 19
1JT4-08 U3/4"X16 | ZG1/2"X14 27 | 27 | 22
1JT4-08-12 U3/4"X16 | ZG3/4"X14 33 | 33 | 27
1JT4-10-08 u7/8"x14 | zG1/2"X14 27 | 27 | 22
1JT4-10-12 U7/8"X14 | ZG3/4"X14 33 | 33 | 27
1JT4-12-08 | U1.1/16"X12 | ZG1/2"X14 33 | 33 | 27
1JT4-12 U1.116"X12 | ZG3/4"X14 33 | 33 | 27
1JT4-12-16 | U1.1/16"X12 | ZG1"X11 37 | 37 | 33
1JT4-16-12 | U1.5/16"X12 | ZG3/4"X14 37 | 37 | 33
1JT4-16 U1.5/16"X12 |  ZG1"X11 37 | 37 | 33
1JT4-16-20 | U1.5/16"X12 | ZG1.1/4"X11 40 | 40 | 44
1JT4-20-16 | U1.5/8"X12 ZG1"X11 40 | 40 | 44
1JT4-20 U1.5/8"X12 | ZG1.1/4"X11 40 | 40 | 44
1JT4-20-24 | U1.7/8"X12 | ZG1.1/2"X11 47 | 47 | 53
1JT4-24 U1.7/8"X12 | ZG1.1/2"X11 47 | 47 | 53
1JT4-32 U2.1/2"X12 2G2"X11 55 | 55 | 65

-211 -




Hydraulic Adapters

www.lomoflex.com

P Sy
1JT9
’ 90°JICHMBRLT4° HMNE/ A HMERLL
\u \J 90°JIC MALE 74°CONE/BSPT MALE
A s1
re 240 THREADE R <} DIMENSIONS
PART NO. E F A B st
1J79-04-02 | U7/16"X20 | ZG1/8"X28 22 | 22 | 11
1JT9-04 U7/16"X20 | ZG1/4"X19 20 | 27 | 14
1J79-04-06 | U7/16"X20 | ZG3/8"X19 29 | 30 | 17
1J79-05-02 U1/2"X20 | ZG1/8"X28 29 | 27 | 14
1JT9-05-04 U1/2"X20 | ZG1/4"X19 29 | 27 | 14
1J79-05-06 U1/2"X20 | ZG3/8"X19 29 | 30 | 17
1JT9-06 U9/16"X18 | ZG3/8"X19 22 | 22 | 17
1JT9-06-04 | U9/16"X18 | ZG1/4"X19 29 | 27 | 14
1JT9-06-08 | U9/16"X18 | ZG1/2"X14 37 | 37 | 22
1JT9-08-04 U3/4"X16 | ZG1/4"X19 33 | 33 | 19
1JT9-08-06 U3/4"X16 | ZG3/8"X19 33 | 33 | 19
1JT9-08 U3/4"X16 | ZG1/2"X14 37 | 37 | 22
1JT9-08-12 U3/4"X16 | ZG3/4"X14 40 | 40 | 27
1JT9-10-06 U7/8"X14 | ZG3/8"X19 37 | 37 | 22
1JT9-10-08 u7/8"X14 | ZG1/2"X14 37 | 37 | 22
1JT9-10-12 U7/8"X14 | ZG3/4"X14 40 | 40 | 27
1JT9-12-08 | U1.1/16"X12 | ZG1/2"X14 40 | 40 | 27
1JT9-12 U1.1/16"X12 | ZG3/4"X14 40 | 40 | 27
1JT9-12-16 | U1.1/16"X12 | ZG1"X11 49 | 49 | 33
1JT9-16-12 | U1.5/16"X12 | ZG3/4"X14 49 | 49 | 33
1JT9-16 U1.5/16"X12 |  ZG1"X11 49 | 49 | 33
1JT9-16-20 | U1.5/16"X12 | ZG1.1/4"X11 57 | 57 | 44
1JT9-16-24 | U1.5/16"X12 | ZG1.12"X11 57 | 57 | 48
1JT9-20-16 | U1.5/8"X12 ZG1"X11 57 | 57 | 44
1JT9-20 U1.5/8"X12 | ZG1.1/4"X11 57 | 57 | 44
1JT9-20-24 | U1.7/8"X12 | ZG1.12"X11 57 | 57 | 48
1JT9-24 U1.7/8"X12 | ZG1.1/2"X11 57 | 57 | 48
1JT9-24-20 | U1.7/8"X12 | ZG1.1/4"X11 57 | 57 | 48
1JT9-32-24 | U2.1/2"X12 | ZG1.12"X11 66 | 66 | 65
11T9-32 U2.1/2"X12 ZG2"X11 66 | 66 | 65

-212 -




Hydraulic Adapters

www.lomoflex.com

W?ﬁ@
S1 \£

v 4

1JN

JICHMRLLTASMHEATHE R SR AL
JIC MALE 74°CONE/NPT MALE

o i22. THREADE U~ DIMENSIONS
PART NO. E F A B | sI L
1JN-04-02 U7/16"X20 | Z1/8"X27 14 | 10 | 14 | 30
1JN-04 U7/16"X20 | Z1/4"X18 14 | 14 | 14 | 34
1JN-04-06 U7/16"X20 | Z3/8"X18 14 | 14 | 19 | 34
1JN-04-08 U7/16"X20 | Z1/2"X14 14 | 19 | 22 | 415
1JN-05-04 U1/2"X20 | Z1/4"X18 14 | 14 | 14 | 34
1JN-05-06 U1/2"X20 | Z3/8"X18 14 | 14 | 19 | 34
1JN-05-08 U1/2"X20 | Z1/2"X14 14 | 19 | 22 | 415
1JN-06-04 U9/16"X18 | Z1/4"X18 14 | 14 | 17 | 34
1JN-06 U9/16"X18 | Z3/8"X18 14 | 14 | 19 | 34
1JN-06-08 U9/16"X18 | Z1/2"X14 14 | 19 | 22 | 41
1JN-08-04 U3/4"X16 | Z1/4"X18 167 | 14 | 22 | 39
1JN-08-06 U3/4"X16 | Z3/8"X18 167 | 14 | 22 | 38
1JN-08 U3/4"X16 | Z1/2"X14 167 | 19 | 22 | 44
1JN-08-12 U3/4"X16 | Z3/4"X14 167 | 195 | 30 | 46
1JN-10-06 U7/8"X14 | Z3/8"X18 195 | 14 | 24 | 42
1JN-10-08 U7/8"X14 | Z1/2"X14 195 | 19 | 24 | 47
1JN-10-12 U7/8"X14 | Z3/4"X14 195 [ 195 | 30 | 48
1IN-12-08 | U1.1/16"X12 | Z1/2"X14 22 | 19 | 30 | 50
1JN-12 U1.116"X12 | Z3/4"X14 22 | 195 | 30 | 50
1IN-12-16 | U1.1/16"X12 | Z1"X11.5 22 | 24 | 36 | 57
1IN-12-20 | U1.1/16"X12 (Z1.1/4"X11.5 22 | 25 | 46 | 60
1IN-16-12 | U1.5/16"X12 | Z3/4"X14 23 | 195 | 36 | 53
1JN-16 U1.5/16"X12 | Z1"X11.5 23 | 24 | 36 | 58
1JN-16-20 | U1.5/16"X12 |Z1.1/4"X11.5 23 | 25 | 46 | 61
1IN-16-24 | U1.5/16"X12 (Z1.1/2"X11.5 23 | 25 | 50 | 64
1JN-20-16 | U1.5/8"X12 | Z1"X11.5 245 | 24 | 46 | 62
1JN-20 U1.5/8"X12  |Z1.1/4"X11.5 245 | 25 | 46 | 63
1JN-24 U1.7/8"X12  |Z1.1/2"X11.5 275 | 25 | 50 | 69
1IN-24-32 | U1.7/8"X12 | Z2"X115 275 | 29 | 70 | 74
1JN-32 U2.1/2'X12 | Z2"X11.5 34 | 29 | 70 | 81

-213 -




Hydraulic Adapters

www.lomoflex.com

A \ 81

1JN4

45°JICHMBRLLT A HNHE AT HES AR LL
45°JIC MALE 74°CONE/NPT MALE

o i24; THREADE <} DIMENSIONS
PART NO. E F A B | sl
1JN4-04-02 | U7/16"X20 | Z1/8"X27 20 | 20 | 11
1JN4-04 U7/16"X20 | Z1/4"X18 22 | 22 | 14
1JN4-04-06 | U7/16"X20 | Z3/8"X18 22 | 22 | 17
1JN4-04-08 | U7/16"X20 | Z1/2"X14 27 | 27 | 22
1JN4-05-04 U1/2"X20 Z1/4"X18 22 | 22 | 14
1JN4-06-04 | U9/16"X18 | Z1/4"X18 22 | 22 | 14
1JN4-06 U9/16"X18 | Z3/8"X18 22 | 22 | 17
1JN4-06-08 | U9/16"X18 | Z1/2"X14 27 | 27 | 22
1JN4-08-04 U3/4"X16 | Z1/4"X18 25 | 25 | 19
1JN4-08-06 U3/4"X16 Z3/8"X18 25 | 25 | 19
1JN4-08 U3/4"X16 Z1/2"X14 27 | 27 | 22
1JN4-08-12 U3/4"X16 Z3/4"X14 33 | 33 | 27
1JN4-10-08 U7/8"X14 Z1/2"X14 27 | 27 | 22
1JN4-10-12 U7/8"X14 Z3/4"X14 33 | 33 | 27
1JN4-12-08 | U1.1/16"X12 | Z1/2"X14 33 | 33 | 27
1JN4-12 U1.116"X12 | Z3/4"X14 33 | 33 | 27
1JN4-12-16 | U1.1/16"X12 | Z1"X11.5 37 | 37 | 33
1JN4-16-12 | U1.5/16"X12 | Z3/4"X14 37 | 37 | 33
1JN4-16 | U1.5/16"X12 | Z1"X11.5 37 | 37 | 33
1JN4-16-20 | U1.5/16"X12 |Z1.1/4"X11.5 40 | 40 | 44
1JN4-20-16 | U1.5/8"X12 | Z1"X11.5 40 | 40 | 44
1JN4-20 U1.5/8"X12  |Z1.1/4"X11.5 40 | 40 | 44
1JN4-20-24 | U1.7/8"X12 |Z1.1/2"X11.5 47 | 47 | 53
1JN4-24 U1.7/8"X12  |Z1.1/2"X11.5 47 | 47 | 53
1JN4-32 U2.1/2'X12 | Z2"X11.5 55 | 55 | 65

- 214 -




Hydraulic Adapters

www.lomoflex.com

P Sy
1JN9
’ 90°JICHMELLT 4 HMHE A HEFF SMRLL
\u \J 90°JIC MALE 74°CONE/NPT MALE
A S1
o i24 THREADE R~ DIMENSIONS
PART NO. E F A B | sI
1JN9-04-02 | U7/16"X20 | Z1/8"X27 22 |22 11
1JN9-04 U7/16"X20 | Z1/4"X18 29 | 27 | 14
1JN9-04-06 | U7/16"X20 | Z3/8"X18 29 | 30 | 17
1JN9-05-02 U1/2"X20 Z1/8"X27 29 | 27 | 14
1JN9-05-04 U1/2"X20 Z1/4"X18 29 | 27 | 14
1JN9-05-06 U1/2"X20 Z3/8"X18 29 | 30 | 17
1JN9-06 U9/16"X18 | Z3/8"X18 22 | 22 | 17
1JN9-06-04 | U9/16"X18 | Z1/4"X18 29 | 27 | 14
1JN9-06-08 | U9/16"X18 | Z1/2"X14 37 | 37 | 22
1JN9-08-04 U3/4"X16 | Z1/4"X18 33 | 33 | 19
1JN9-08-06 U3/4"X16 Z3/8"X18 33 | 33 | 19
1JN9-08 U3/4"X16 Z1/2"X14 37 | 37 | 22
1JN9-08-12 U3/4"X16 Z3/4"X14 40 | 40 | 27
1JN9-10-06 U7/8"X14 Z3/8"X18 37 | 37 | 22
1JN9-10-08 U7/8"X14 Z1/2"X14 37 | 37 | 22
1JN9-10-12 U7/8"X14 Z3/4"X14 40 | 40 | 27
1JN9-12-08 | U1.1/16"X12 | Z1/2"X14 40 | 40 | 27
1JN9-12 U1.1/16"X12 | Z3/4"X14 40 | 40 | 27
1JN9-12-16 | U1.1/16"X12 | Z1"X11.5 49 | 49 | 33
1JN9-16-12 | U1.5/16"X12 | Z3/4"X14 49 | 49 | 33
1JN9-16 | U1.5/16"X12 | Z1"X11.5 49 | 49 | 33
1JN9-16-20 | U1.5/16"X12 |Z1.1/4"X11.5 57 | 57 | 44
1JN9-16-24 | U1.5/16"X12 |Z1.1/2"X11.5 57 | 57 | 48
1JN9-20-16 | U1.5/8"X12 | Z1"X11.5 57 | 57 | 44
1JN9-20 U1.5/8"X12 |Z1.1/4"X11.5 57 | 57 | 44
1JN9-20-24 | U1.7/8"X12 |Z1.1/2"X11.5 57 | 57 | 48
1JN9-24 U1.7/8"X12  |Z1.1/2"X11.5 57 | 57 | 48
1JN9-24-20 | U1.7/8"X12 |Z1.1/4"X11.5 57 | 57 | 48
1JN9-32-24 | U2.1/2"X12 |21.1/2"X11.5 66 | 66 | 65
1JN9-32 U2.1/2'X12 | Z2"X11.5 66 | 66 | 65

-215 -




Hydraulic Adapters

www.lomoflex.com

1JN9-L

90°JICHMERLT 4 SMIE/INK A HE R SR
90°JIC MALE 74°CONE/LONG NPT

\y\/ MALE
A S1
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
1JN9-04-02L | U7/16"X20 | Z1/8"X27 22 | 30 | 11
1JN9-04L U7/16"X20 | Z1/4"X18 29 | 401 | 14
1JN9-05-02L |  U1/2"X20 Z1/8"X27 29 | 31 14
1JN9-05-04L |  U1/2"X20 Z1/4"X18 29 | 401 | 14
1JN9-06-04L | U9/16"X18 | Z1/4"X18 29 | 401 | 14
1JN9-06-08L | U9/16"X18 | Z1/2"X14 37 | 551 | 22
1JN9-08-06L | U3/4"X16 73/8"X18 33 [ 462 | 19
1JN9-08L U3/4"X16 Z1/2"X14 37 | 551 | 22
1JN9-10-08L |  U7/8"X14 Z1/2"X14 37 | 551 | 22
1JN9-12-08L | U1.1/16"X12 | Z1/2"X14 40 | 569 | 27
1JN9-12L | U1.1/16"X12 | Z3/4"X14 40 | 62 | 27
1JN9-16-12L | U1.5/16"X12 | Z3/4"X14 49 | 699 | 33
1JN9-16L | U1.5/16"X12 | Z1"X11.5 49 | 765 | 33
1JN9-20L U1.5/8"X12  |Z1.1/4"X11.5 57 | 93.7 | 44
1JN9-24L U1.7/8"X12  |Z1.1/2"X11.5 57 | 104.1| 48
1JN9-32L U2.1/2"X12 | Z2"X11.5 66 |122.2| 65

- 216 -




Hydraulic Adapters

www.lomoflex.com

R
1JN9-LL
90°JICHMRLLT 4 ° HMHEIFF AT HER SN L
<> [ 90°JIC MALE 74°CONE/LONGGER NPT
MALE
\ y
A S1
K5 124 THREADE JU  ~ DIMENSIONS

PART NO. E F A B S1
1JN9-04-02LL | U7/16"X20 | Z1/8"X27 22 | 396 | 11

1JN9-04LL | U7/16"X20 | Z1/4"X18 29 | 526 | 14
1JN9-05-04LL |  U1/2"X20 Z1/4"X18 29 | 526 | 14
1JN9-06-04LL | U9/16"X18 | Z1/4"X18 29 | 526 | 14

1JN9-06LL | U9/16"X18 | Z3/8"X18 30 | 615 | 17
1JN9-08-06LL |  U3/4"X16 Z3/8"X18 33 | 615 | 19
1JN9-10-08LL |  U7/8"X14 Z1/2"X14 37 | 729 | 22

1UN9-12LL | U1.1/16"X12 | Z3/4"X14 40 | 833 | 27

1JN9-16LL | U1.5/16"X12 | Z1"X11.5 49 (1029 | 33

1UN9-20LL | U1.5/8"X12 |Z1.1/4"X11.5 57 | 127 | 44

1UN9-24LL | U1.7/8"X12 |Z1.1/2"X11.5 57 | 141 | 48

1IN9-32LL | U2.1/2"'X12 | Z2"X11.5 66 |168.4 | 65

- 217 -




Hydraulic Adapters

www.lomoflex.com

S1

bt At

[R5

2JB

FHIJICHMNREL T4 5 HE
WERZ60°F14E

JIC MALE 74°CONE/
BSP FEMALE 60°CONE

foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A C Sl S2
2JB-04 U7/16"X20 | G1/4"X19 14 | 55 | 14 19
2JB-04-06 U7/16"X20 | G3/8"X19 14 | 65 | 17 22
2JB-04-08 U7/16"X20 | G1/2"X14 14 8 22 | 27
2JB-06 U9/16"X18 | G3/8"X19 14 | 65 | 17 22
2JB-06-08 U9/16"X18 | G1/2"X14 14 8 22 | 27
2JB-06-10 U9/16"X18 | G5/8"X14 14 1105 | 22 | 30
2JB-08 U3/4"x16 | G1/2"X14 167 | 8 22 | 27
2JB-08-06 U3/4"™X16 | G3/8"X19 167 | 65 | 22 | 22
2JB-08-10 U3/4"xX16 | G5/8"X14 16.7 | 105 | 22 | 30
2JB-10 u7/8"X16 | G5/8"X14 195 | 105 | 22 | 30
2JB-12 U1.1/16"X12 | G3/4"X14 22 | 115 | 30 | 32
2JB-12-08 | U1.1/16"X12 | G1/2"X14 22 8 30 | 27
2JB-12-10 | U1.1/16"X12 | G5/8"X14 22 | 105 | 30 | 30
2JB-12-16 | U1.1/16"X12 | G1"X11 22 | 115 | 32 | 41
2JB-16 U1.5/16"X12 |  G1"X11 23 | 115 | 36 | 41
2JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 12 41 50
2JB-20 U1.5/8"X12 | G1.1/4"X11 245 | 12 | 46 | 50
2JB-20-24 | U1.5/8"X12 | G1.1/2"X11 245 | 13 | 46 | 55
2JB-24 U1.7/8"X12 | G1.1/2"X11 275 | 13 50 | 55
2JB-32 U2.1/2"x12 | G2"X11 34 | 16 70 | 70

-218 -




Hydraulic Adapters

www.lomoflex.com

W %
S1

1JG

FKANIICHMRLLT4° S/
S SMRLORY
JIC MALE
74°CONE/ BSP
MALE O-RING

e 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1JG-04-02 | U7/16"X20 | G1/8"X28 14 9 14 29
1JG-04 U7/16"X20 | G1/4"X19 14 12 | 19 33
1JG-04-06 | U7/16"X20 | G3/8"X19 14 | 135 | 22 | 35
1JG-04-08 | U7/16"X20 | G1/2"X14 14 16 27 | 39
1JG-05-04 U1/2"X20 | G1/4"X19 14 12 19 33
1JG-05-06 U1/2"X20 | G3/8"X19 14 | 135 | 22 | 35
1JG-05-08 U1/2"X20 | G1/2"X14 14 16 | 27 | 39
1JG-06-04 | U9/16"X18 | G1/4"X19 14 12 | 19 32
1JG-06 U9/16"X18 | G3/8"X19 14 | 135 | 22 | 35
1JG-06-08 | U9/16"X18 | G1/2"X14 14 16 27 | 39
1JG-08-04 U3/4"X16 | G1/4"X19 16.7 | 12 22 | 37
1JG-08-06 U3/4"X16 | G3/8"X19 16.7 | 135 | 22 | 385
1JG-08 U3/4"X16 | G1/2"X14 167 | 16 | 27 | 41
1JG-08-12 U3/4"X16 | G3/4"X14 16.7 | 185 | 32 | 46
1JG-10-06 u7/8"X14 | G3/8"X19 195 | 135 | 24 | 42
1JG-10-08 u7/8"X14 | G1/2"X14 195 | 16 27 | 45
1JG-10-12 U7/8"X14 | G3/4"X14 195 | 185 | 32 | 49
1JG-12-08 | U1.1/16"X12 | G1/2"X14 22 | 16 30 | 47
1JG-12 U1.1/16"X12 | G3/4"X14 22 | 185 | 32 | 51
1JG-12-16 | U1.1/16"X12 |  G1"X11 22 | 205 | 19 54
1JG-12-20 | U1.1/16"X12 | G1.1/4"X11 22 | 205 | 50 | 56
1JG-16-12 | U1.5/16"X12 | G3/4"X14 23 | 185 | 36 | 52
1JG-16 U1.5/16"X12 | G1"X11 23 | 205 | 41 55
1JG-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 205 | 50 | 57
1JG-20-16 | U1.5/8"X12 | G1"X11 245 | 205 | 46 | 58
1JG-20 U1.5/8"X12 | G1.1/4"X11 245 | 205 | 50 | 58
1JG-24-16 | U1.7/8"X12 | G1"X11 275 | 205 | 50 | 61
1JG-24-20 | U1.7/8"X12 | G1.1/4"X11 275 | 205 | 50 | 61
1JG-24 U1.7/8"X12 | G1.1/2"X11 275 | 23 | 55 | 67

-219 -




Hydraulic Adapters

www.lomoflex.com

S2

st

<

1JG4-0G

45° S HlJICHMRLT4° S HE
T SMELOR
45°JIC MALE 74°CONE/
BSP MALE O-RING

Fo 22 THREADE JU  sf DIMENSIONS
PART NO. E F Al B | s1 | s2
1JG4-040G | U7/16"X20 | G1/4"X19 22 | 28 | 14 | 19
1JG4-05- U1/2"X20 | G1/4"X19 22 | 28 | 14 | 19
1362 06- U9/16"X18 | G1/4"X19 22 | 28 | 17 | 19
Y39Gs-060G | U9M6"™X18 | G3/8"X19 22 | 32 | 17 | 22
1JG4-08- U3/4"X16 | G3/8"X19 25 | 32 | 19 | 22
U9YGs-080G | Usi4x16 | G1/2'x14 27 | 36 | 22 | 27
1JG4-10- u7/8"X14 | G1/2"X14 27 | 38 | 22 | 27
U49Gs-100G | u7is"x14 | GsI8"X14 27 | 38 | 22 | 30
1JG4-12- U1.1/16"X12 | G5/8"X14 33 | 385 | 27 | 30
1IG%12- U1.1/16"X12 | G1"X11 37 | 44 | 33 | 41
19584-120G | u1.1116"x12 | G3/4"X14 33 | 42 | 27 | 32
1JG4-16- U1.5/16"X12 | G3/4"X14 37 | 44 | 33 | 32
195841606 | U15116"X12 | G1"X11 37 | 44 | 33 | a1
1JG4-200G | U1.5/8"X12 | G1.1/4"X11 40 | 475 ] a4 | s0
1JG4-240G | U1.7/8"X12 | G1.1/2"X11 47 | 515 | 53 | 55

- 220 -




Hydraulic Adapters

www.lomoflex.com

n

S2

SN

1JG9-0G

90° K HIJICHMER LT 4° S/
T HMRLOM
90°JIC MALE 74°CONE/
BSP MALE O-RING

A S1
e 24 THREADE JU <} DIMENSIONS
PART NO. E F A B | sl | s2
1JG9-04- U7/16"X20 | G1/8"X28 2 |282| 11 | 14
136804- U7/16"X20 | G3/8"X19 30 368 | 17 | 22
U99%b-040G | u716"™x20 | G1/4"x19 29 [ 313 ] 14 | 19
1JG9-05- U1/2'X20 | G1/4"X19 29 318 | 14 | 19
138805 U1/2'X20 | G3/8"X19 30 | 358 17 | 22
138%05- U1/2"X20 | G1/2"X14 37 | 432 | 22 | 27
139G 06- U9/16"X18 | G1/4"X19 290 | 313 ] 14 | 19
1J6806- U9/16"X18 | G1/2"X14 37 | 432 | 22 | 27
U4550-060G | uarex18 | Gais"x19 30 | 358 | 17 | 22
1JG9-08- U3/4"X16 | G1/4"X19 33 | 335 19 | 19
136%08- U3/4"X16 | G3/8"X19 33 | 368 | 19 | 22
Y95G0-080G | U3M4x16 | G1/2'X14 37 | 432 | 22 | 27
1JG9-08- U3/4"X16 | G3/4"X14 40 | 493 | 27 | 32
156&10- U7/8"X16 | G3/8"X19 37 | 302 | 22 | 22
13682 10- u7/8"x16 | G1/2"X14 37 | 432 | 22 | 27
1368 10- U7/8"X16 | G3/4"X14 40 | 493 | 27 | 32
199G0-120G | U1.1/16"X12 | G3/4"X14 40 | 493 | 27 | 32
1JG9-12- U1.1/16"X12 | G1/2"X14 40 | 465 | 27 | 27
136812- U1.1/16"X12 | G1"X11 49 | 53 | 33 | 41
"99G0-160G | U1.5116"x12 |  G1"X11 49 | 53 | 33 | 41
1JG9-16- U1.5(16"X12 | G3/4"X14 49 | 53 | 33 | 32
156816- U1.5/16"X12 | G1.1/4"X11 57 | 58 | 44 | 50
“4¥G0-200G | U1.5/8"X12 | G1.1/4"X11 57 | 58 | 44 | 50
1JG9-20- U1.5/8"X12 | G1"X11 57 | 58 | 44 | 41
1968 24- U1.7/8"X12 |  G1"X11 57 | 63 | 48 | a1
136824- U1.7/8"X12 | G1.1/4"X11 57 | 63 | 48 | 50
43G0-240G | U1.7/8"x12 | G1.1/2"X11 57 | 63 | 48 | 55

-221 -




Hydraulic Adapters

www.lomoflex.com

A B
g 1JF
7 i K HIINCHMRLT4°HMHEIORF S MRS
//‘ JIC MALE 74°CONE/ORFS MALE
s/

e 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1JF-04 U7/16"X20 | U9/16"X18 14 | 12 17 32
1JF-05-04 U1/2"X20 | U9/16"X18 14 | 12 17 32
1JF-05-06 U1/2"X20 | U11/16"X16 14 | 14 | 19 34
1JF-06-04 | U9/16"X18 | U9/16"X18 14 | 12 17 32
1JF-08-06 U3/4"x16 | U11/16"X16 16.7 | 14 | 19 37
1JF-08 U3/4"x16 | U13/16"X16 16.7 | 15 22 | 40
1JF-10-08 u7/8"xX16 | U13/16"X16 195 | 15 24 | 43
1JF-10 U7/8"X16 U1"X14 195 | 165 | 27 | 46
1JF-12-10 | U1.1/16"X12 | U1"X14 22 | 165 | 30 | 49
1JF-12 U1.1/16"X12 | U1.3/16"X12 22 | 17 32 | 50
1JF-16-12 | U1.5/16"X12 | U1.3/16"X12 23 | 17 36 | 51
1JF-16 U1.5/16"X12 | U1.7/16"X12 23 | 185 | 41 54
1JF-20-16 | U1.5/8"X12 | U1.7/16"X12 245 | 185 | 46 | 56
1JF-20 U1.5/8"X12 |U1.11/16"X12 245 | 195 | 46 | 57
1JF-24-20 | U1.7/8"X12 |U1.11/16"X12 275 | 195 | 50 | 64

-222 -




Hydraulic Adapters www.lomoflex.com

A B

- 1JH

JICHMEREL74° 1t/
G 1//% A HIAMREELO R %5
— JIC MALE 74°CONE/
METRIC MALE END O-RING
o 24 THREADE JU <} DIMENSIONS

PART NO. E F A B S1 L
1JH-04-10 | U7/16"X20 | M10x1 14 11 14 31
1JH-04-12 | U7/16"X20 | M12x1.5 14 11 17 31
1JH-04-14 | U7/16"X20 | M14x1.5 14 11 19 32
1JH-05-10 U1/2"X20 M10x1 14 11 14 31
1JH-05-12 U1/2"X20 | M12x1.5 14 11 17 31
1JH-05-14 U1/2"X20 | M14x1.5 14 11 19 31
1JH-06-14 | U9/16"X18 | M14x1.5 14 11 19 32
1JH-06-16 | U9/16"X18 | M16x1.5 14 11 22 | 33
1JH-06-18 | U9/16"X18 | M18x1.5 14 11 24 | 33
1JH-08-14 U3/4"X16 | M14x1.5 16.7 | 11 22 | 36
1JH-08-16 U3/4"x16 | M16x1.5 16.7 | 11 22 | 36
1JH-08-18 U3/4"X16 | M18x1.5 16.7 | 11 24 | 36
1JH-08-22 U3/4"xX16 | M22x1.5 16.7 | 12 | 27 | 37
1JH-10-16 u7/8"x14 | M16x1.5 135 | 11 24 | 33
1JH-10-18 u7/8"x14 | M18x1.5 135 | 11 24 | 33
1JH-10-22 u7/8"X14 | M22x1.5 135 | 12 | 27 | 33
1JH-12-22 | U1.1/16"X12 | M22x1.5 16 12 | 30 | 38
1JH-12-27 | U1.1/16"X12 | M27x2 16 13 | 32 | 39
1JH-16-27 | U1.5/16"X12 | M27x2 16 13 | 36 | 40

- 223 -



Hydraulic Adapters

www.lomoflex.com

\ss

1JH4-0G

45° K HIJICHMRLT4° Mt/
23 TSRS AT [ R i
45°JIC MALE 74°CONE/METRIC
MALE ADJUSTABLE STUD

A
END

o i24; THREADE < DIMENSIONS
PART NO. E F A B | Sl | s2
1JH4-04-100G  U7/16"X20 | M10x1 20 | 235 | 11 | 14
1JH4-04-120G  U7/16"X20 | M12x1.5 22 | 275 | 14 | 17
1JH4-04-140G U7/16"X20 | M14x1.5 22 | 283 | 14 | 19
1JH4-05-120G  U1/2"X20 | M12x1.5 22 | 283 | 14 | 17
1JH4-05-140G  U1/2"X20 | M14x1.5 22 | 283 | 14 | 19
1JH4-06-140G  U9/16"X18 | M14x1.5 22 | 283 | 14 | 19
1JH4-06-160G  U9/16"X18 | M16x1.5 22 | 29 | 17 | 22
1JH4-08-160G  U3/4"X16 | M16x1.5 25 | 30 | 19 | 22
1JH4-08-180G  U3/4"X16 | M18x1.5 25 | 31 | 19 | 24
1JH4-10-160G  U7/8"X14 | M16x1.5 27 | 31 | 22 | 22
1JH4-10-180G  U7/8"X14 | M18x1.5 27 | 32 | 22 | 24
1JH4-10-220G  U7/8"X14 | M22x1.5 33 | 33 | 27 | 27
1JH4-12-220G U1.1/16"X12 | M22x1.5 33 | 345 | 27 | 27
1JH4-12-270G U1.1/16"X12 | M27x2 33 | 395 | 27 | 32
1JH4-16-270G U1.5/16"X12 | M27x2 37 | 41 | 33 | 32

- 224 -




Hydraulic Adapters

www.lomoflex.com

B =

1JH9-0G

90° K HIJICHMRAL 74 °HME/

A NSNS R
\ 90°JIC MALE 74°CONE/METRIC
MALE ADJUSTABLE STUD
A S1 END
e i24. THREADE & -] DIMENSIONS

PART NO. E F A B S1 S2
1JH9-04-100G U7/16"X20 M10x1 22 27.5 11 14
1JH9-04-120G U7/16"X20 M12x1.5 29 30.3 14 17
1JH9-04-140G U7/16"X20 M14x1.5 29 32 14 19
1JH9-05-120G U1/2"X20 M12x1.5 29 32 14 17
1JH9-05-140G U1/2"X20 M14x1.5 29 32 14 19
1JH9-06-140G U9/16"X18 M14x1.5 29 32 14 19
1JH9-06-160G U9/16"X18 M16x1.5 30 34.8 17 22
1JH9-08-160G U3/4"X16 M16x1.5 33 38 19 22
1JH9-08-180G U3/4"X16 M18x1.5 33 38 19 24
1JH9-10-160G U7/8"X14 M16x1.5 37 38 22 22
1JH9-10-180G U7/8"X14 M18x1.5 37 39.5 22 24
1JH9-10-220G U7/8"X14 M22x1.5 40 42.5 27 27
1JH9-12-220G U1.1/16"X12 | M22x1.5 40 44 27 27
1JH9-12-270G U1.1/16"X12 M27x2 40 48.5 27 32
1JH9-16-270G U1.5/16"X12 M27x2 49 41 33 32

- 225 -




Hydraulic Adapters www.lomoflex.com

-

N 1JM

| JICHMZRLLTA° HME/ 22 ISR L

Y7y 60° B HE S f T 41 25 i
~ ' JIC MALE 74°CONE/METRIC MALE

e DOUBLE

USE FOR 60°SEAT OR BONDED

s1
SEAL
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1JM-04-12 | U7/16"X20 | M12x1.5 14 | 10 | 17 32
1JM-04-14 | U7/16"X20 | M14x1.5 14 | 11 19 33
1JM-05-12 U1/2"X20 | M12x1.5 14 | 10 | 17 32
1JM-05-14 U1/2"X20 | M14x1.5 14 | 11 19 33
1JM-06-12 | U9/16"X18 | M12x1.5 14 | 10 | 17 32
1JM-06-14 | U9/16"X18 | M14x1.5 14 | 11 19 33
1JM-06-16 | U9/16"X18 | M16x1.5 14 | 12 22 | 35
1JM-06-18 | U9/16"X18 | M18x1.5 14 | 12 24 | 50
1JM-08-16 U3/4"x16 | M16x1.5 16.7 | 12 22 | 38
1JM-08-18 U3/4"X16 | M18x1.5 16.7 | 12 24 | 38
1JM-08-22 U3/4"x16 | M22x1.5 16.7 | 14 27 | M
1JM-10-22 u7/8"X16 | M22x1.5 195 | 14 27 | 44
1JM-12-22 | U1.1/16"X12 | M22x1.5 22 | 14 30 | 48

- 226 -



Hydraulic Adapters

www.lomoflex.com

v

1JM-WD

JICHMRLT4° M/

AHISMREUR R B

JIC MALE 74°CONE/
METRIC MALE CAPTIVE SEAL

o= 22 THREADE JU s} DIMENSIONS
PART NO. E F A B D H S1 L
1JM-04-12WD| U7/16"X20 | M12x1.5 14 10 | 142 | 1.2 17 32
1JM-05-14WD| U1/2"X20 | M14x1.5 14 1 163 | 1.2 19 33
1JM-06-14WD| U9/16"X18 | M14x1.5 14 1 | 163 | 1.2 19 33
1JM-06-18WD| U9/16"X18 | M18x1.5 14 12 | 207 | 1.2 24 | 365
1JM-08-18WD| U3/4"X16 | M18x1.5 167 | 12 [ 207 | 1.2 24 39
1JM-08-22WD|  U3/4"X16 | M22x1.5 167 | 14 | 241 | 1.2 27 | 435
1JM-10-18WD| U7/8"X16 | M18x1.5 195 | 12 | 207 | 1.2 24 | 415
1JM-10-22WD| U7/8"X16 | M22x1.5 195 | 14 | 241 | 1.2 27 46
1JM-12-22WD| U1.1/16"X12 | M22x1.5 22 | 14 | 241 | 12 30 49

- 227 -




Hydraulic Adapters

www.lomoflex.com

W %
s1

1JO

FANINCHMERLL T4 HhHES
SAESMEL T O [
JIC MALE
74°CONE/ SAE O-
RING BOSS

e 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1J0-04 U7/16"X20 U7/16"X20 14 | 10 | 14 31
1J0-04-05 U7/16"X20 U1/2"X20 14 | 10 | 17 30
1J0-04-06 U7/16"X20 U9/16"X18 14 | 12 17 32
1J0-04-08 U7/16"X20 U3/4"X16 14 | 12 24 | 35
1J0-05 U1/2"X20 U1/2"X20 14 | 10 | 17 30
1J0-05-04 U1/2"X20 U7/16"X20 14 | 10 | 14 30
1J0-05-06 U1/2"X20 U9/16"X18 14 | 12 17 32
1J0-05-08 U1/2"X20 U3/4"X16 14 | 12 24 | 35
1J0-06 U9/16"X18 U9/16"X18 14 | 12 17 33
1J0-06-04 U9/16"X18 U7/16"X20 14 | 10 | 17 31
1J0-06-05 U9/16"X18 U1/2"X20 14 | 10 | 17 30
1J0-06-08 U9/16"X18 U3/4"X16 14 | 12 24 | 35
1J0-06-10 U9/16"X18 u7/8"X14 14 | 135 | 27 | 36
1J0-06-12 U9/16"X18 | U1.1/16"X12 14 | 16 32 | 39
1J0-08 U3/4"X16 U3/4"X16 16.7 | 12 24 | 37
1J0-08-04 U3/4"X16 U7/16"X20 16.7 | 10 22 | 35
1J0-08-06 U3/4"X16 U9/16"X18 16.7 | 12 22 | 37
1J0-08-10 U3/4"X16 U7/8"X14 16.7 | 135 | 27 | 39
1J0-08-12 U3/4"xX16 | U1.1/16"X12 16.7 | 16 32 | 42
1J0-10 u7/8"X14 u7/8"X14 195 | 135 | 27 | 415
1J0-10-08 u7/8"X14 U3/4"X16 195 | 12 24 | 40
1J0-10-12 u7/8"X14 | U1.1/16"X12 195 | 16 32 | 45
1J0-12 U1.1/16"X12 | U1.1/16"X12 22 | 16 32 | 47
1J0-12-08 | U1.1/16"X12 U3/4"X16 22 | 12 30 | 43
1J0-12-10 | U1.1/16"X12 U7/8"X14 22 | 135 | 30 | 45
1J0-12-16 | U1.1/16"X12 | U1.5/16"X12 22 | 17 | 41 50
1J0-16 U1.5/16"X12 | U1.5/16"X12 23 | 17 | #1 51
1J0-16-12 | U1.5/16"X12 | U1.1/16"X12 23 | 16 36 | 50
1J0-16-20 | U1.5/16"X12 | U1.5/8"X12 23 | 18 50 | 55
1J0-20 U1.5/8"X12 | U1.5/8"X12 245 | 18 50 | 56

- 228 -




Hydraulic Adapters www.lomoflex.com

B LT
foe 1540 THREADE ] | DIMENSIONS

PART NO. E F A B S1 L
1J0O-16-20 U1.5/16"X12 U1.5/8"X12 23 18 50 55
1J0O-20-16 U1.5/8"X12 U1.5/16"X12 24.5 17 46 55
1J0-20-24 U1.5/8"X12 U1.7/8"X12 245 | 185 55 59
1J0-24 U1.7/8"X12 U1.7/8"X12 275 | 185 55 62
1J0-24-20 U1.7/8"X12 U1.5/8"X12 27.5 18 50 59

1J0-24-32 U1.7/8"X12 U2.1/2"X12 27.5 22 70 67.5
1J0O-32 U2.1/2"X12 U2.1/2"X12 34 22 70 74

L
- - 1JO-L
A
ISR HIIICHMERLL T4 ° H1E/
SAESMERLH O ]
& /7 LONG JIC MALE
-/ 74°CONE/ SAE O-
RING BOSS
S1
o 1240 THREADE R+ DIMENSIONS

PART NO. E F A B S1 L
1J0O-04L U7/16"X20 U7/16"X20 35 10 14 51
1J0O-05L u1/2"X20 u1/2"X20 37 10 17 53
1J0O-06L U9/16"X18 U9/16"X18 39 12 17 57
1J0O-08L U3/4"X16 U3/4"X16 48 12 24 69
1JO-10L u7/8"X14 u7/8"X14 53 13.5 27 75
1JO-12L U1.1/16"X12 U1.1/16"X12 63 16 32 88
1JO-16L U1.5/16"X12 U1.5/16"X12 72 17 41 100
1J0O-20L U1.5/8"X12 U1.5/8"X12 88.1 18 50 120

- 229 -




Hydraulic Adapters

www.lomoflex.com

S2

A \S1

1J04-0G

45°JICHMELLT4° b/

SAESMRLALHF O

45°JIC MALE 74°CONE/

SAE O-RING BOSS

fou 124, THREADE R/ DIMENSIONS
PART NO. E F A B [ st | s2
1J04-040G | U7/16"X20 | U7/16"X20 20 | 24 | 11 | 17
1J04-04- U7/16"X20 | U9/16"X18 2 | 275 ] 14 | 19
138%04- U7/16"X20 U3/4"X16 25 325 | 19 | 24
U49G4-050G6 | u1/2"x20 U1/2"X20 2 | 267 | 14 | 17
1J04-05- U1/2"X20 U7/16"X20 2 | 267 | 14 | 17
Y49G4-060G | uare'x1s | u9i16"x18 22 | 28 | 14 | 19
1J04-06- U9/16"X18 | U7/16"X20 2 | 26 | 14 | 17
1I0206- U9/16"X18 U1/2"X20 22 | 26 | 14 | 17
136£.06- U9/16"X18 U3/4"X16 25 | 325 | 19 | 24
136%06- U9/16"X18 U7/8"X14 27 | 385 | 22 | 27
"496s-080G | usx16 U3/4"X16 25 | 325 | 19 | 24
1J04-08- U3/4"X16 U9/16"X18 25 | 28 | 19 | 19
136%0s- U3/4"X16 U7/8"X14 27 | 387 | 22 | 27
1982 08- U3/4"X16 | U1.1/16"X12 33 | 439 | 27 | 32
'99G4-100G6 | u7/8"x14 U7/8"X14 27 387 | 22 | 27
1J04-10- U7/8"X14 U3/4"X16 27 | 33 | 22 | 27
136%10- U7/8"X14 | U1.1/116"X12 33 | 439 | 27 | 32
'9964-120G | u1.1/16"X12 | U1.1/16"X12 33 | 435 | 27 | 32
1J04-12- U1.1/16"X12 | UT7/8"X14 33 | 42 | 27 | 27
198%12- U1.1/16"X12 | U1.5/16"X12 37 | 455 | 33 | 41
19961606 | u1.5/16"x12 | U1.5/16"X12 37 | 455 | 33 | 41
1J04-16-120G | U1.5/16"X12 | U1.1/16"X12 37 | 45 | 33 | 32
1J04-16- U1.5/16"X12 | U1.5/8"X12 40 | 47 | 44 | s0
9842006 | u1.58"™x12 | U1.5/8"X12 40 | 485 | 44 | 50
1J04-20- U1.5/8"X12 | U1.7/8"X12 47 | 50 | 53 | 55
“49G4-240G | ur.7iex12 | u1.7/8"x12 47 | 50 | 53 | 55
1J04-320G | U1.7/8"X12 | U2.1/2"X12 55 | 54 | 65 | 70

- 230 -




Hydraulic Adapters

www.lomoflex.com

S2

1JO9-0G

%.%. D {
=

— 90°JICHMELLT4° 41/

SAESMERZH O 4! ]

U y) 90°JIC MALE 74°CONE/

SAE O-RING BOSS

A S1
fon 124 THREADE R+ DIMENSIONS

PART NO. E F A | B | sl | s
1J09-040G | U7/16"X20 | U7/16"X20 2 (272 11 | 17
1J09-04- U7/16"'X20 | U9/16"X18 29 [ 318 | 14 | 19
136805- U1/2'X20 | U7/16"X20 20 | 30 | 14 | 17
U49G0-050G |  u1/2"x20 U1/2"X20 29 | 20 | 14 | 17
1J09-05- U1/2'X20 | U9/16"X18 29 [ 318 | 14 | 19
U99G0-060G | ugie'x18 | u9i6"x18 29 318 | 14 | 19
1J09-06- U9/16"X18 | U7/16"X20 29 | 30 | 14 | 17
1368 06- U9/16"X18 U1/2"X20 29 | 209 | 14 | 17
130806- U9/16"X18 U3/4"X16 33 | 368 | 19 | 24
1368 08- U3/4"X16 | U7/16"X20 33 | 33 | 19 | 17
U49G0-080G | u3/a"x16 U3/4"X16 33 | 368 | 19 | 24
1J09-08- U3/4"X16 | U9/16"X18 33 | 335 | 19 | 19
1385 0s- U3/4"X16 U7/8"X14 37 | 44 | 22 | 27
196808 U3/4"X16 | U1.1/16"X12 40 | 51 | 27 | 32
199691006 | u7is"x14 U7/8"X14 37 | 44 | 22 | 27
1J09-10- U7/8"X14 U3/4"X16 37 | 40 | 22 | 27
136810- U7/8"X14 | U1.1/16"X12 40 | 51 | 27 | 32
199891206 | ut.1/16"x12 | U1.1/16"X12 40 | 51 | 27 | 32
1J09-12- U1.1/16"X12 |  U7/8"X14 40 | a7 | 27 | 27
196812- U1.1/16"X12 | U1.5/16"X12 49 | 545 | 33 | a1
19969-160G | u1.5/16"x12 | U1.5/16"X12 49 | 545 | 33 | 41
1J09-16-120G | U1.5/16"X12 | U1.1/16"X12 49 | 545 | 33 | 32
1J09-16- U1.5(16"X12 | U1.5/8"X12 57 | 59 | 44 | 50
“43G0-200G | u1.5/8"x12 | U1.5/8"X12 57 | 59 | 44 | 50
1J09-20- U1.5/8"X12 | U1.7/8"X12 57 | 63 | 48 | 55
24960-240G | ut.7i8"x12 | u1.7/8"X12 57 | 63 | 48 | 55
1J09-320G | U1.7/8"X12 | U2.1/2"X12 66 | 76 | 65 | 70

-231 -




Hydraulic Adapters

www.lomoflex.com

e =
7
.

1JO9-0OG/L

90° 3 HIJICHMRLLTA°HME/

INKSAESMERLL T ORY ]

90°JIC MALE 74°CONE/
LONG SAE O-RING

BOSS
A S1
e 24  THREADE JU  ~] DIMENSIONS
PART NO. E F A B S1 S2
1J09-040G/L| U7/16"X20 U7/16"X20 22 44 11 17
1J09-060G/L| U9/16"X18 U9/16"X18 29 | 528 | 14 19
1J09-080G/L| U3/4"X16 U3/4"X16 33 | 635 | 19 24
1J09-100G/L| U7/8"X14 u7/8"x14 37 | 734 | 22 27
1J09-120G/L| U1.1/16"X12 | U1.1/16"X12 40 | 848 | 27 32
1J09-160G/L| U1.5/16"X12 | U1.5/16"X12 49 | 945 | 33 41

- 232 -




Hydraulic Adapters www.lomoflex.com

L
A B
| ) 1BJ-WD
J\ NS P HMRL AR B IJICHMRLL T4 MfE
- BSP MALE CAPTIVE SEALMJIC MALE
_.§ 74°CONE
H
S1
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A B D H S1 L
1BJ-02-04WD| G1/8"X28 | U7/16"X20 10 | 14 | 117 | 07 | 14 | 315
1BJ-04WD | G1/4"X19 | U7/16"X20 12 | 14 | 163 | 1.2 19 34
1BJ-06-04WD| G3/8"X19 | U7/16"X20 135 | 14 | 187 | 1.2 22 | 36
1BJ-08-04WD| G1/2"X14 | U7/16"X20 16 | 14 | 237 | 1.2 27 | 43
1BJ-04-05WD| G1/4"X19 | U1/2"X20 12 | 14 | 163 | 1.2 19 34
1BJ-06-05WD| G3/8"X19 | U1/2"X20 135 | 14 | 187 | 1.2 22 | 36
1BJ-02-06WD| G1/8"X28 | U9/16"X18 10 | 14 | 117 | 0.7 | 17 | 315
1BJ-04-06WD| G1/4"X19 | U9/16"X18 12 | 14 [ 163 | 1.2 19 34
1BJ-06WD | G3/8"X19 | U9/16"X18 135 | 14 | 187 | 1.2 22 | 36
1BJ-08-06WD| G1/2"X14 | U9/16"X18 16 | 14 | 237 | 1.2 27 | 43
1BJ-04-08WD| G1/4"X19 | U3/4"X16 12 | 16.7 | 163 | 1.2 22 | 37
1BJ-06-08WD| G3/8"X19 | U3/4"X16 135 | 16.7 | 18.7 | 1.2 22 | 39
1BJ-08WD | G1/2"X14 | U3/4"X16 16 | 16.7 | 23.7 | 1.2 27 | 455
1BJ-08-10WD| G1/2"X14 | U7/8"X16 16 | 195 | 23.7 | 1.2 27 | 49
1BJ-12-10WD| G3/4"X14 | U7/8"X16 185 | 195 | 29 | 1.2 32 | 50
1BJ-08-12WD| G1/2"X14 |[U1.1/16"X12 16 | 22 | 237 | 1.2 30 | 50.5
1BJ-12WD | G3/4"X14 |U1.1/16"X12 185 | 22 | 29 | 1.2 32 | 525
1BJ-16-12WD|  G1"X11  |U1.1/16"X12 205 | 22 | 355 | 16 41 | 585
1BJ-12-16WD| G3/4"X14 |U1.5/16"X12 185 | 23 | 29 | 1.2 36 | 555
1BJ-16WD G1"X11  |U1.5/16"X12 205 | 23 | 355 | 16 41 | 59.5
1BJ-20-16WD| G1.1/4"X11 |U1.5/16"X12 205 | 23 | 456 | 16 50 | 61.5
1BJ-16-20WD | G1"X11 | U1.5/8"X12 205 | 245 | 355 | 1.6 46 | 61
1BJ-20WD | G1.1/4"X11 | U1.5/8"X12 205 | 245 | 456 | 1.6 50 | 63
1BJ-24-20WD| G1.1/2"X11 | U1.5/8"X12 23 | 245 | 505 | 1.6 55 | 65
1BJ-20-24WD| G1.1/4"X11 | U1.7/8"X12 205 | 275 | 456 | 1.6 50 | 66
1BJ-24WD | G1.1/2"X11 | U1.7/8"X12 23 | 275 | 505 | 1.6 55 | 68.5

- 233 -



Hydraulic Adapters

www.lomoflex.com

S1

—

S2

| |
R

2TJ

SR AN SLJIC B LT 4° N HE
BSPT MALE/JIC FEMALE 74°SEAT

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 2
2TJ-02-04 | ZG1/8"X28 | U7/16"X20 10 | 85 | 14 17
2TJ-04 ZG1/4"X19 | U7/16"X20 14 | 85 | 17 17
2TJ-04-05 | ZG1/4"X19 |  U1/2"X20 14 | 95 | 17 19
2TJ-04-06 | ZG1/4"X19 | U9/16"X18 14 | 10 | 17 19
2TJ-06-05 | ZG3/8"X19 |  U1/2"X20 14 | 95 | 17 19
2TJ-06 ZG3/8"X19 | U9/16"X18 14 | 10 | 17 19
2TJ-06-08 | ZG3/8"X19 | U3/4"X16 14 | 11 19 24
27J-08 ZG1/2"X14 | U3/4"X16 19 | 11 22 | 24
2TJ-08-10 | ZG1/2"X14 | U7/8"X14 19 | 11 22 | 27
27J-08-12 | ZG1/2"X14 | U1.1/16"X12 19 [ 135 | 27 | 32
2TJ-12 ZG3/4"X14 | U1.1/16"X12 195 | 135 | 30 | 32
2TJ-12-16 | ZG3/4"X14 | U1.5/16"X12 195 | 145 | 36 | 41
2TJ-16 ZG1"X11 | U1.5/16"X12 24 | 145 | 36 | 41
2TJ-20 | ZG1.1/4"X11| U1.5/8"X12 24 | 155 | 46 | 50
2TJ-24 | ZG1.1/2"X11| U1.7/8"X12 25 | 185 | 50 | 55

- 234 -




Hydraulic Adapters

www.lomoflex.com

T

posn

NPT MALE/JIC FEMALE 74°SEAT

2NJ

A 4k HMIZ S IC N R L7 4° Py 4

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C Sl S2
2NJ-02-04 | Z1/8"X27 U7/16"X20 10 | 85 | 14 17
2NJ-02-05 | Z1/8"X27 U1/2"X20 10 | 95 | 14 19
2NJ-04 Z1/4"X18 U7/16"X20 14 | 85 | 17 17
2NJ-04-05 | Z1/4"X18 U1/2"X20 14 | 95 | 17 19
2NJ-04-06 | Z1/4"X18 U9/16"X18 14 | 10 | 17 19
2NJ-04-08 | Z1/4"X18 U3/4"X16 14 | 11 19 24
2NJ-06 Z3/8"X18 U9/16"X18 14 | 10 | 17 19
2NJ-06-08 | Z3/8"X18 U3/4"X16 14 | 11 19 24
2NJ-06-10 | Z3/8"X18 u7/8"X14 14 | 11 22 | 27
2NJ-08 Z1/2"X14 U3/4"X16 19 | 11 22 | 24
2NJ-08-06 | Z1/2"X14 U9/16"X18 19 | 10 22 | 19
2NJ-08-10 | Z1/2"X14 u7/8"X14 19 | 11 22 | 27
2NJ-08-12 | Z1/2"X14 | U1.1/16"X12 19 | 135 | 27 | 32
2NJ-12 Z3/4"X14 | U1.1/16"X12 195 | 135 | 30 | 32
2NJ-12-08 | Z3/4"X14 U3/4"X16 195 | 11 27 | 24
2NJ-12-10 | Z3/4"X14 u7/8"X14 195 | 1 27 | 27
2NJ-12-16 | Z3/4"X14 | U1.5/16"X12 195 | 145 | 36 | 41
2NJ-16 Z1"X11.5 | U1.5/16"X12 24 | 145 | 36 | 41
2NJ-16-12 | Z1"X11.5 | U1.1/16"X12 24 | 135 | 36 | 32
2NJ-16-20 | Z1"X11.5 | U1.5/8"X12 24 | 155 | 46 | 50
2NJ-20  [Z1.1/4"X11.5 | U1.5/8"X12 24 | 155 | 46 | 50
2NJ-20-24 |Z1.1/4"X11.5 | U1.7/8"X12 24 | 185 | 46 | 55
2NJ-24-20 |Z1.1/2"X11.5 | U1.5/8"X12 25 | 155 | 50 | 50
2NJ-24  [Z1.1/2"X11.5 | U1.7/8"X12 25 | 185 | 50 | 55

- 235 -




Hydraulic Adapters

www.lomoflex.com

S1

—

A

e

2GJ

A IMRLLORY I JIC N BRL 74 *HETH
BSP MALE O-RING/JIC FEMALE

74°CONE
C
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2GJ-04 G1/4"X19 | U7/16"X20 12 | 85 | 19 17
2GJ-04-05 | G1/4"X19 | U1/2"X20 12 | 95 | 19 19
2GJ-04-06 | G1/4"X19 | U9/16"X18 12 10 | 19 19
2GJ-06 G3/8"X19 | U9/16"X18 135 | 10 | 22 | 19
2GJ-06-08 | G3/8"X19 | U3/4"X16 135 | 11 22 | 24
2GJ-08 G1/2"X14 | U3/4"X16 16 11 27 | 24
2GJ-08-06 | G1/2"X14 | U9/16"X18 16 10 | 27 | 19
2GJ-08-10 | G1/2"X14 | U7/8"X16 16 11 27 | 27
2GJ-12 G3/4"X14 | U1.1/16"X12 185 | 135 | 32 | 32
2GJ-12-08 | G3/4"X14 | U3/4"X16 185 | 11 32 | 24
2GJ-12-10 | G3/4"X14 | U7/8"X16 185 | 11 32 | 27
2GJ-12-16 | G3/4"X14 | U1.5/16"X12 185 | 145 | 32 | 41
2GJ-16 G1"X11 | U1.5/16"X12 205 | 145 | 41 41
2GJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 155 | 50 | 50
2GJ-24 G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 | 55

- 236 -




Hydraulic Adapters

www.lomoflex.com

S1 S2
* : 20J
K HISAESMRL A O P/
| JIC 1 42 40 74° i
b)) % - SAE O-RING BOSS/
JIC FEMALE
74°SEAT
C
ke 124 THREADE R < DIMENSIONS
PART NO. E F A C S1 S2
20J-04 U7/16"X20 | U7/16"X20 10 8.5 14 17
20J-05 U1/2"X20 U1/2"X20 10 9.5 17 19
20J-06 U9/16"X18 U9/16"X18 12 10 17 19
20J-08 U3/4"X16 U3/4"X16 12 11 22 24
20J-10 U7/8"X14 u7/8"X14 13.5 11 27 27
20J-12 U1.1/16"X12 |U1.1/16"X12 16 13.5 32 32
20J-16 U1.5/16"X12 |U1.5/16"X12 17 14.5 41 41
20J-20 U1.5/8"X12 | U1.5/8"X12 18 15.5 50 50
S1
514 2WJ
]
e B BIIC BT 4° 1 e
% - BUTT-WELD TUBE/JIC FEMALE
74°SEAT
C
fe I#4r THREADE | & 7 H£TUBE O.D. JU ] DIMENSIONS
PART NO. E D C S1
2WJ-10-04 U7/16"X20 1b 8.5 17
2WJ-12-05 u1/2"X20 12 9.5 19
2WJ-14-04 U7/16"X20 14 8.5 17
2WJ-14-06 U9/16"X18 14 10 19
2WJ-18-08 U3/4"X16 18 1 24
2WJ-20-10 U7/8"X14 20 1 27
2WJ-22-12 U1.1/16"X12 22 13.5 32
2WJ-28-16 U1.5/16"X12 28 14.5 41
2WJ-34-20 U1.5/8"X12 34 15.5 50

- 237 -




Hydraulic Adapters

www.lomoflex.com

5JB

FHIIICHMELTA° M/ S PIIRLL
JIC MALE 74°CONE/BSP FEMALE

o 22 THREADE JU  sf DIMENSIONS
PART NO. E F A S1 L
5JB-04 U7/16"X20 | G1/4"X19 14 19 32
5JB-04-02 | U7/16"X20 | G1/8"X28 14 14 29
5JB-04-06 | U7/16"X20 | G3/8"X19 14 22 34
5JB-06 U9/16"X18 | G3/8"X19 14 22 34
5JB-06-08 | U9/16"X18 | G1/2"X14 14 27 34
5JB-08 us/ia"x16 | G1/2"X14 16.7 27 37
5JB-08-10 U3/4"X16 | G5/8"X14 16.7 30 43
5JB-10-12 U7/8"X16 | G3/4"X14 19.5 32 44
5JB-12 U1.1/16"X12 | G3/4"X14 22 36 52
5JB-12-16 | U1.1/16"X12 | G1"X11 22 41 56
5JB-16 U1.5/16"X12 |  G1"X11 23 41 57
5JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 50 59
5JB-20 U1.5/8"X12 | G1.1/4"X11 24.5 50 61
5JB-24 U1.7/8"X12 | G1.1/2"X11 27.5 55 65
5JB-32 U2.1/2"X12 G2"X11 34 70 71

- 238 -




Hydraulic Adapters www.lomoflex.com

L

B 5JT

-+ S IJIC BT A SN HE RS L
5 JIC MALE 74°CONE/BSPT FEMALE

o i22. THREADE U~ DIMENSIONS
PART NO. E F A S1 L
5JT-04-02 U7/16"X20 7ZG1/8"X28 14 17 29
5JT-04 uU7/16"X20 ZG1/4"X19 14 19 32
5JT-06-04 U9/16"X18 ZG1/4"X19 14 19 32
5JT-06 U9/16"X18 ZG3/8"X19 14 22 34
5JT-08-06 U3/4"X16 ZG3/8"X19 16.7 22 37
5JT-08 U3/4"X16 ZG1/2"X14 16.7 30 43
5JT-10-08 u7/8"X14 ZG1/2"X14 19.5 30 36
5JT-12 U1.1/16"X12 ZG3/4"X14 22 36 52
5JT-16 U1.5/16"X12 ZG1"X11 23 41 57

- 239 -



Hydraulic Adapters www.lomoflex.com

L
S1
A 7
g 5JN
- S RIIICANBATA SN A HE R PR
/‘ JIC MALE 74°CONE/NPT FEMALE

o 22 THREADE JU  sf DIMENSIONS
PART NO. E F A S1 L
5JN-04-02 U7/16"X20 Z1/8"X27 14 17 29
5JN-04 U7/16"X20 Z1/4"X18 14 19 32
5JN-05-04 U1/2"X20 Z1/4"X18 14 19 32
5JN-06-04 U9/16"X18 Z1/4"X18 14 19 32
5JN-06 U9/16"X18 | Z3/8"X18 14 22 34
5JN-06-08 U9/16"X18 Z1/2"X14 14 30 40
5JN-08-06 U3/4"X16 Z3/8"X18 16.7 22 37
5JN-08 U3/4"X16 Z1/2"X14 16.7 30 43
5JN-08-12 U3/4"X16 Z3/4"X14 16.7 36 47
5JN-10-08 U7/8"X14 Z1/2"X14 19.5 30 46
5JN-10-12 u7/8"X14 Z3/4"X14 19.5 36 50
5JN-12-08 | U1.1/16"X12 | Z1/2"X14 22 30 48
5JN-12 U1.1/16"X12 | Z3/4"X14 22 36 52
5JN-16-12 | U1.5/16"X12 | Z3/4"X14 23 36 53
5JN-16 U1.5/16"X12 | Z1"X11.5 23 41 57
5JN-20 U1.5/8"X12  |Z1.1/4"X11.5 24.5 50 61
5JN-24 U1.7/8"X12  |Z1.1/2"X11.5 27.5 60 65
5JN-32 U2.1/2"x12 | Z2"X11.5 34 70 71

- 240 -



Hydraulic Adapters www.lomoflex.com

7l

5JN9

90° FE HlJICHMRLLT 4 M/ A HEE A BREL

‘30 90°JIC MALE 74°CONE/NPT FEMALE
A S1

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
5JN9-04-02 | U7/16"X20 | Z1/8"X27 27 21 17

5JN9-04 U7/16"X20 | Z1/4"X18 27 21 17
5JN9-06-04 | U9/16"X18 | Z1/4"X18 32 27 22

5JN9-06 U9/16"X18 | Z3/8"X18 32 27 22
5JN9-08-04 | U3/4"X16 Z1/4"X18 35 30 27

5JN9-08 U3/4"X16 Z1/2"X14 35 30 27
5JN9-12-08 | U1.1/16"X12 | Z1/2"X14 35 30 27

5JN9-12 | U1.1/16"X12 | Z3/4"X14 40 32 33
5JN9-12-16 | U1.1/16"X12 | Z1"X11.5 38 49 | 41
5JN9-16-12 | U1.5/16"X12 | Z3/4"X14 49 38 41

5JN9-16 | U1.5/16"X12 | Z1"X11.5 49 38 41

- 241 -




Hydraulic Adapters

www.lomoflex.com

L
A B
= 3 6NJ
7 %% FKRINPT MRS T JICHMERE LA I HH Sk
J NPT MALE/JIC MALE 74°CONE
E S1 BULKHEAD
R i24  THREADE JU - DIMENSIONS
PART NO. E F A B s L
B6NJ-02-04 Z1/8"X27 U7/16"X20 10 | 325 | 14 | 485
6NJ-04 Z1/4"X18 U7/16"X20 14 | 325 | 14 | 525
6NJ-04-06 Z1/4"X18 U9/16"X18 14 | 325 | 17 | 525
6NJ-06 Z3/8"X18 U9/16"X18 14 | 325 | 17 | 525
6NJ-08 Z1/2"X14 U3/4"X16 19 | 365 | 22 | 64
B6NJ-08-10 Z1/2"X14 u7/8"X14 19 | 40 | 22 | 67
BNJ-12 Z3/4"X14 | U1.1/16"X12 195 | 445 | 27 | 73
6NJ-16 Z1"X11.5 | U1.5/16"X12 24 | 445 | 36 | 795
6NJ-20  |Z1.1/4"X11.5 | U1.5/8"X12 25 | 457 | 46 | 84
6NJ-24  [Z1.1/2"X11.5 | U1.7/8"X12 25 | 46 | 50 | 88
S1 S2
4 ] v
| NJ
-~ | ]
. @ ATHER IR EUJIIC A BRLEIT4° A 4
Wils NPT FEMALENIC FEMALE 74°SEAT
C
foe 24 THREADE JU <} DIMENSIONS
PART NO. E F C S1 S2
7NJ-04 Z1/4"X18 U7/16"X20 8.5 19 | 17
7NJ-04-06 Z1/4"X18 U9/16"X18 10 19 | 19
7NJ-06 Z3/8"X18 U9/16"X18 10 24 | 19
7NJ-06-08 Z3/8"X18 U3/4"X16 11 24 | 24
7NJ-08 Z1/2"X14 U3/4"X16 " 30 | 24
7NJ-08-10 Z1/2"X14 u7/8"X14 11 30 | 27
7NJ-08-12 Z1/2"X14 | U1.1/16"X12 13.5 30 | 32
7NJ-12 Z3/4"X14 | U1.1/16"X12 13.5 36 | 32
7NJ-16 Z1"X11.5 | U1.5/16"X12 14.5 41 M
7NJ-20  |Z1.1/4"X11.5 | U1.5/8"X12 15.5 50 | 50
7NJ24  |Z1.1/2"X11.5 | U1.7/8"X12 18.5 60 | 55

- 242 -



Hydraulic Adapters

www.lomoflex.com

g s1 AJ
%4 / 72
FJIICHMERLT4° Sk =11
JIC MALE 74°CONE TEE
A C
foe B JU I DIMENSIONS
PART NO. E THRIFADE G A B C S1
AJ-04 U7/16"X20 U7/16"X20 U7/16"X20 24 24 24 11
AJ-04-06-04 U7/16"X20 U9/16"X18 U7/16"X20 27 27 27 14
AJ-05 U1/2"X20 U1/2"X20 U1/2"X20 27 27 27 14
AJ-06-04-06 U9/16"X18 U7/16"X20 U9/16"X18 27 27 27 14
AJ-06 U9/16"X18 U9/16"X18 U9/16"X18 27 27 27 14
AJ-08 U3/4"X16 U3/4"X16 U3/4"X16 30 30 30 19
AJ-08-06-08 U3/4"X16 U9/16"X18 U3/4"X16 30 30 30 19
AJ-10 u7/8"X14 u7/8"x14 u7/8"x14 33 33 33 22
AJ-12 U1.1/16"X12 | U1.1/16"X12 | U1.1/16"X12 40 40 | 40 27
AJ-16 U1.5/16"X12 | U1.5/16"X12 | U1.5/16"X12 49 49 49 33
AJ-16-12-16 | U1.5/16"X12 | U1.1/16"X12 | U1.5/16"X12 49 49 | 49 33
AJ-20 U1.5/8"X12 | U1.5/8"X12 | U1.5/8"X12 57 57 57 44
F
BJ
1
g £ AHIJICHMELTA S HHIIC
WERE74° N HESr S =l JIC
— MALE 74° CONE/
JIC FEMALE BRANCH TEE
A A
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
BJ-04 U7/16"X20 U7/16"X20 24 | 85 11 17
BJ-05 U1/2"X20 U1/2"X20 27 | 95 14 19
BJ-06 U9/16"X18 U9/16"X18 27 10 14 19
BJ-08 U3/4"X16 U3/4"X16 30 11 19 24
BJ-10 u7/8"X14 u7/8"X14 33 11 22 27
BJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
BJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 41
BJ-20 U1.5/8"X12 U1.5/8"X12 57 | 155 | 44 50

- 243 -




Hydraulic Adapters

www.lomoflex.com

E

——

i

)
—

CJ

e / FKHIINCHMRLT4° HME/
| L HIIICHIRAT4° N HE T S8
JIC MALE 74° CONE/
A JIC FEMALE 74°SEAT RUN TEE
R i#2  THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
CJ-04 U7/16"X20 U7/16"X20 24 | 85 | 11 17
CJ-05 U1/2"X20 U1/2"X20 27 | 95 | 14 19
CJ-06 U9/16"X18 U9/16"X18 27 | 10 14 19
CJ-08 U3/4"X16 U3/4"X16 30 | 11 19 24
CJ-10 u7/8"X14 u7/8"x14 33 | 11 22 | 27
CJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 | 32
CJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 | 41
CJ-20 U1.5/8"X12 | U1.5/8"X12 57 | 155 | 44 50
E
i/ —— DJ
C c
e
| SLHIJIC A IRZT4° Py HE =T
E Eg JIC FEMALE 74°SEAT TEE
L\YQ S1
o 24 THREADE JU <} DIMENSIONS
PART NO. E F C S1 S2
DJ-04 U7/16"X20 U7/16"X20 85 | 11 17
DJ-05 U1/2"X20 U1/2"X20 95 | M 19
DJ-06 U9/16"X18 U9/16"X18 10 14 19
DJ-08 U3/4"X16 U3/4"X16 11 19 24
DJ-10 U7/8"X14 U7/8"X14 11 22 | 27
DJ-12 U1.1/16"X12 | U1.1/16"X12 135 | 27 32
DJ-16 U1.5/16"X12 | U1.5/16"X12 145 | 33 | 41
DJ-20 U1.5/8"X12 | U1.5/8"X12 155 | 44 50




Hydraulic Adapters

www.lomoflex.com

E

%%UJICV\}J%&MW\J%E/
KNICHMRLTA°HMESy S =38

JIC FEMALE 74° SEAT/
JIC MALE 74°CONE BRANCH TEE

1o 240  THREADE JU 5 DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/16"X20 U7/16"X20 24 8.5 1 17
EJ-05 U1/2"X20 U1/2"X20 27 9.5 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 1 19 24
EJ-10 u7/8"X14 U7/8"X14 33 1 22 27
EJ-12 U1.1/16"X12 U1.1/16"X12 40 13.5 27 32
EJ-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 15.5 44 50
E
R F
iy J
B
\Z IE ‘ LHICHIRLT4° N 4EN KEHIIIC
At’ g SMBLTAHME Sy % 3l JIC
A S1 FEMALE 74° SEAT/
JIC MALE 74°CONE BRANCH TEE
fo 24 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/16"X20 U7/16"X20 24 8.5 1 17
EJ-05 U1/2"X20 U1/2"X20 27 9.5 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 1 19 24
EJ-10 u7/8"X14 u7/8"X14 33 1 22 27
EJ-12 U1.1/16"X12 U1.1/16"X12 40 13.5 27 32
EJ-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 15.5 44 50

- 245 -



Hydraulic Adapters www.lomoflex.com

D G
e AJNJ
) : S1
o 1 FHIIICHMRE L T4 M
| A HE 4 AMB 02y 2 =
A —1—F B JIC MALE 74°CONE/
. . NPT MALE BRANCH TEE
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
AJNJ-04 U7/16"X20 Z1/4"X18 27 27 14
AJNJ-04-02-04 U7/16"X20 Z1/8"X27 24 24 11
AJNJ-05-02-05 U1/2"X20 Z1/8"X27 27 27 14
AJNJ-05-04-05 U1/2"X20 Z1/4"X18 27 27 14
AJNJ-06 U9/16"X18 Z3/8"X18 28 28 17
AJNJ-06-04-06 | U9/16"X18 Z1/4"X18 27 27 14
AJNJ-08 U3/4"X16 Z1/2"X14 33 33 22
AJNJ-08-06-08 U3/4"X16 Z3/8"X18 30 30 19
AJNJ-10-08-10 u7/8"X14 Z1/2"X14 33 33 22
AJNJ-10-12-10 U7/8"X14 Z3/4"X14 40 40 27
AJINJ-12 U1.1/16"X12 Z23/4"X14 40 40 27
AJNJ-16 U1.5/16"X12 Z1"X11.5 49 49 33
AJNJ-20 U1.5/8"X12 |Z1.1/4"X11.5 57 57 44

- 246 -




Hydraulic Adapters

www.lomoflex.com

AJJN

FKHIJICHMR L T74° 41 HE
A HEE SMR G S =0
JIC MALE 74°CONE/

NPT MALE RUN TEE

o i24 THREADE R~ DIMENSIONS
PART NO. E F A B | sI
AJJIN-04 U7/16"X20 | Z1/4"X18 27 | 27 | 14
AJIN-04-04-02| U7/16"X20 | Z1/8"X27 24 | 24 | 1
AJUN-05-05-02|  U1/2"X20 Z1/8"X27 27 | 27 | 14
AJIN-05-05-04|  U1/2"X20 Z1/4"X18 27 | 27 | 14
AJJN-06 U9/16"X18 | Z3/8"X18 28 | 28 | 17
AJJN-06-06-04| U9/16"X18 | Z1/4"X18 27 | 27 | 14
AJJN-08 U3/4"X16 | Z1/2"X14 33 | 33 | 22
AJJIN-08-08-06|  U3/4"X16 Z3/8"X18 30 | 30 | 19
AJIN-10-10-08|  U7/8"X14 | Z1/2"X14 33 | 33 | 22
AJIN-10-10-12|  U7/8"X14 Z3/4"X14 40 | 40 | 27
AJIN-12 | U1.1/16"X12 | Z3/4"X14 40 | 40 | 27
AJIN-16 | U1.5/16"X12 | Z1"X11.5 49 | 49 | 33
AJJIN-20 U1.5/8"X12 |Z1.1/4"X11.5 57 | 57 | 44

- 247 -




Hydraulic Adapters www.lomoflex.com

E
g AJJ6J
% 72>
FRANIICHMRLT A SNHEE AR A Sk 3252 =3l
“/ JIC MALE 74°CONE BULKHEAD RUN
—T TEE
A B
o 22 THREADE JU <} DIMENSIONS
PART NO. E A B S1
AJJ6J-04 U7/16"X20 24 | 404 | 11
AJJBJ-06 U9/16"X18 27 | 46 | 14
AJJBJ-08 U3/4"X16 30 | 535 | 19
AJJBJ-10 u7/8"X14 33 | 607 | 22
AJJBJ-12 U1.1/16"X12 40 | 67.8 | 27
AJJBJ-16 U1.5/16"X12 49 71 33
AJJ6J-20 U1.5/8"X12 57 | 79.2 | 44
E
11D
. AJ6JJ
y 1
Z 3 RBIJICHMRL 74 ° S HE I Sk 73 5 =38
A I JIC MALE 74°CONE BULKHEAD BRANCH
1 TEE
A A
RE i#4  THREADE JU <} DIMENSIONS
PART NO. E A B S1
AJBJJ-04 U7/16"X20 24 | 404 | 11
AJBJJ-06 U9/16"X18 27 | 46 | 14
AJBJJ-08 U3/4"X16 30 | 535 | 19
AJBJJ-10 U7/8"X14 33 | 60.7 | 22
AJBJI-12 U1.1/16"X12 40 | 67.8 | 27
AJBJJ-16 U1.5/16"X12 49 71 33

- 248 -



Hydraulic Adapters

www.lomoflex.com

S1

KJNJ

FHIIICHMELTAHHE
ATHER WIRSr S =0
JIC MALE 74°CONE/

A NPT FEMALE BRANCH TEE

=] 22 THREADE JU  sf DIMENSIONS
PART NO. E F A B S1
KJINJ-04 U7/16"X20 Z1/4"X18 30 | 224 | 19
KJNJ-04-02-04| U7/16"X20 Z1/8"X27 28 | 16.8 | 17
KJNJ-05-02-05|  U1/2"X20 Z1/8"X27 28 | 16.8 | 17
KJNJ-05-04-05|  U1/2"X20 Z1/4"X18 30 | 224 | 19
KJNJ-06 U9/16"X18 Z3/8"X18 33 | 259 | 22
KJNJ-06-04-06| U9/16"X18 Z1/4"X18 30 | 224 | 19
KJNJ-08 U3/4"X16 Z1/2"X14 40 | 312 | 27
KJNJ-08-06-08|  U3/4"X16 Z3/8"X18 40 | 259 | 27
KJNJ-10-08-10|  U7/8"X14 Z1/2"X14 40 | 312 | 27
KJNJ-12 U1.1/16"X12 | Z3/4"X14 49 | 345 | 33
KJNJ-16 U1.5/16"X12 | Z1"X11.5 57 | 411 | 44

- 249 -




Hydraulic Adapters

www.lomoflex.com

E

N

=

LJIN

y SL g

b % | S HIICHMRLLTA S L/

AR AR 25—l

JIC MALE 74°CONE/

A B NPT FEMALE RUN TEE
=] 22 THREADE JU  sf DIMENSIONS

PART NO. E F A B s
LJIN-04 U7/16"X20 | Z1/4"X18 30 | 251 | 19
LJIN-04-04-02 | U7/16"X20 | Z1/8"X27 28 | 168 | 17
LJJN-06 U9/16"X18 | Z3/8"X18 33 | 268 | 22
LJIN-06-06-04 | U9/16"X18 | Z1/4"X18 30 | 225 | 19
LJJN-08 U3/4"X16 Z1/2"X14 40 33 | 27
LJJN-08-08-06 | U3/4"X16 Z3/8"X18 40 | 259 | 27
LJJN-10-10-08 |  U7/8"X14 Z1/2"X14 40 | 312 | 27
LJIN-12 U1.1/16"X12 | Z3/4"X14 49 39 | 33
LJIN-16 U1.5/16"X12 | Z1"X11.5 57 | 439 | 27
LJJN-20 U1.5/8"X12  |Z1.1/4"X11.5 57 | 433 | 44

- 250 -




Hydraulic Adapters

www.lomoflex.com

s

S2
%@;

AJOJ-0OG

FKHINICHMRL T4 H1HE

ZZ SAESMZELH O el 4y 3 — il
JIC MALE 74°CONE/
JC SAE O-RING BOSS BRANCH TEE
A S1a
= i24; THREADE L~} DIMENSIONS

PART NO. E F A B Sl S2
AJOJ-040G | U7/16"X20 | U7/16"X20 24 | 272 | 11 17
AJOJ-050G | U1/2"X20 U1/2"X20 27 | 29 | 14 | 17
AJOJ-05-04-050G U1/2"X20 | U7/16"X20 27 | 30 | 14 | 17
AJOJ-060G | U9/16"X18 | U9/16"X18 27 | 318 | 14 | 19
AJOJ-06-04-060G| U9/16"X18 | U7/16"X20 27 | 30 | 14 | 17
AJOJ-06-05-060G| U9/16"X18 | U1/2"X20 27 | 30 | 14 | 17
AJOJ-080G | U3/4"X16 U3/4"X16 30 | 368 | 19 | 24
AJOJ-08-06-080G U3/4"X16 | U9/16"X18 30 | 335 | 19 | 19
AJOJ-100G | U7/8"X14 u7/8"X14 33 | 44 | 22 | 27
AJOJ-10-08-100G U7/8"X14 U3/4"X16 33 | 40 | 22 | 24
AJOJ-120G  |U1.1/16"X12 [U1.1/16"X12 33 | 51 24 | 32
AJOJ-12-08-120G|U1.1/16"X12 | U3/4"X16 33 | 44 | 24 | 24
AJOJ-12-10-120G|U1.1/16"X12 | U7/8"X14 33 | 49 | 24 | 27
AJOJ-160G  |U1.5/16"X12 |U1.5/16"X12 49 | 545 | 33 | 41
AJOJ-20-16-200G| U1.5/8"X12  |U1.5/16"X12 57 | 595 | 44 | 41
AJOJ-200G | U1.5/8"X12 | U1.5/8"X12 57 | 59 | 44 | 50

- 251 -



Hydraulic Adapters

www.lomoflex.com

o

fuar Dy

2B

ot

AJJO-0G

FKHIICHMRL T4 H1HE
SAESMRZUH O ] 1= 37 =3
JIC MALE 74°CONE/
SAE O-RING BOSS RUN

TEE

A B
s 124 THREADE /L -} DIMENSIONS
PART NO. E F Al B | st ] s
AJJO-040G | U7/16"X20 | U7/16"X20 24 272 | 11 | 17
AJJO-050G | U1/2"X20 | U1/2"X20 27 | 29 | 14 | 17
AJJO-05-05-040G  U1/2"X20 | U7/16"X20 27 | 30 | 14 | 17
AJJO-060G | U9/16"X18 | U9/16"X18 27 | 318 | 14 | 19
AJJO-06-06-040G U9/16"X18 | U7/16"X20 27 | 301 | 14 | 17
AJJO-06-06-050G U9/16"X18 | U1/2"X20 27 | 30 | 14 | 17
AJJO-06-06-080G U9/16"X18 | U3/4"X16 30 |375 | 19 | 24
AJJO-080G | U3/4"X16 | U3/4"X16 30 [368 | 19 | 24
AJJO-08-08-060G U3/4"X16 | U9/16"X18 30 [335| 19 | 19
AJJO-08-08-100G U3/4"X16 | U7/8"X14 33 | 44 | 22 | 27
AJJO-100G | U7/8"X14 | U7/8"X14 33 | 44 | 22 | 27
AJJO-10-10-080G  U7/8"X14 | U3/4"X16 33 | 395 | 22 | 24
AJJO-120G  |U1.1/16"X12 |U1.1/16"X12 33 | 51 | 24 | 32
AJJO-12-12-080G U1.1/16"X12 | U3/4"X16 33 | 43 | 24 | 24
AJJO-12-12-100G U1.1/16"X12 | U7/8"X14 33 | 49 | 24 | 27
AJJO-160G  |U1.5/16"X12 |U1.5/16"X12 49 | 545 | 33 | 41
AJJO-200G | U1.5/8"X12 | U1.5/8"X12 57 | 59 | 44 | 50

- 252 -




Hydraulic Adapters

www.lomoflex.com

S2

g
J

§S1 A

AJGJ-0OG

JICHNRL T4 41 HE
A IMRLORY B 7 >
JIC MALE 74°CONE/
BSP MALE O-RING BRANCH TEE

A
fou 124 THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s2
AJGJ-04-02- U7/16"X20 | G1/8"X28 24 | 262 | 11 | 14
Y RJcu-040G | u71e™X20 | G1/4X19 27 | 318 | 14 | 19
AJGJ-05-02- U1/2'X20 | G1/8"X28 27 | 20 | 14 | 19
RIGT05-04- U1/2"X20 | G1/4"X19 27 | 318 | 14 | 19
AJCT06-04- U9/16"X18 | G1/4"X19 27 | 31 | 14 | 19
VoR3Gu-060G | U9ex18 | G3/8"x19 28 | 368 | 17 | 22
AJGJ-08-06- U3/4"X16 | G3/8"X19 30 | 37 | 19 | 22
U8QScl-080G | usmxie | G214 33 | 432 | 22 | 27
AJGJ-10-08- U7/8"X16 | G1/2"X14 33 | 435 | 22 | 27
856u-1206 | ur.116"™x12 | G3/4"X14 33 | 51 | 24 | 32
AJGJ-160G | U1.5/16"X12 | G1"X11 49 | 53 | 33 | a1
E
Za AJJG-0G
e .
2
) JICHMEZLTA BN B
AMRZCORY S 37 =3l JIC
! JHHM MALE 74°CONE/
—JC BSP MALE O-RING RUN TEE
A St
e 24 THREADE JU  ~J DIMENSIONS
PART NO. E F A ] B | st | s2
AJJG-040G | U7/16"X20 | G1/4"X19 27 [ 319 | 14 | 19
AJJG-05-05- U1/2'X20 | G1/4"X19 27 [ 313 | 14 | 19
Y RJuG-060G | u9arex18 | G3/8"X19 28 | 368 | 17 | 22
AJJG-06-06- U9/16"X18 | G1/4"X19 27 [ 313 ] 14 | 19
AJIG.08-08- U3/4"X16 | G3/8"X19 30 | 368 19 | 22
R iG-080G | usm4xie | G1/27x14 33 | 432 | 22 | 27
AJJG-10-10- U7/8"X16 | G1/2"X14 33 | 44 | 22 | 27
UOR7uG-120G | U1.116"x12 | G3/4"X14 33 | 495 | 24 | 32
AJJG-160G | U1.5/16"X12 | G1"X11 49 | 53 | 33 | 4

- 253 -



Hydraulic Adapters

www.lomoflex.com

44 |

7

AJJH-OG

FKHNIICHMRL T4 SMEN L2 ifilAb
SRLCAT Y [ AR 25—l JIC
MALE 74°CONE/METRIC MALE
ADJUSTABLE STUD END

A ST B
fon 124, THREADE R/ DIMENSIONS

PART NO. E F A | B | st | s2
AJJH-04-04- U7/16"X20 | M10x1 24 | 265 | 11 | 14
AJAF04-04- U7/16"X20 | M12x1.5 27 | 325 | 14 | 17
AJ3F205-05- U1/2'x20 | M12x1.5 27 | 32 | 14 | 17
AJJ7.05-05- U1/2"X20 | M14x1.5 27 | 32 | 14 | 19
A3AF.06-06- U9/16"X18 | M14x1.5 27 | 32 | 14 | 19
A37.06-06- U9/16"X18 | M16x1.5 28 | 348 | 17 | 22
AJ7T.08-08- U3/4"X16 | M16x1.5 30 | 3 | 19 | 22
AJS1Y08-08- U3/4"X16 | M18x1.5 30 | 37 | 19 | 24
AJTT10-10- U7/8"X14 | M18x1.5 33 | 305 | 22 | 24
A3 10-10- U7/8"X14 | M22x1.5 33 | 402 | 22 | 27
AJTR12-12- | UT.1/16"X12 | M22x1.5 33 | 44 | 24 | 27
A0R12-12- | U162 | M27x2 40 | 485 | 27 | 32
9P 16-16- | U1.5116X12 | M27x2 49 | 52 | 33 | 32
270G

- 254 -




Hydraulic Adapters

www.lomoflex.com

L
NB500
JICAHIEFE
Z JIC METRIC SLEEVE
foe I#4r THREADE | % 14M+# TUBE ]~} DIMENSIONS
PART NO. O.Dm D L
NB500-06 | U7/16"X20 (3 9.7 10.4
NB500-08 U1/2"X20 8 11.3 11.2
NB500-10 | U9/16"X18 10 12.7 12.7
NB500-12 U3/4"X16 12 17.3 14.2
NB500-14 u7/8"X16 14 20.2 16.8
NB500-15 u7/8"X16 15 20.2 16.8
NB500-16 u7/8"X16 16 20.2 16.8
NB500-18 | U1.1/16"X12 18 24.7 17.3
NB500-20A | U1.1/16"X12 20 24.7 17.3
NB500-20 | U1.3/16"X12 20 27.8 19.3
NB500-22 | U1.3/16"X12 22 27.8 19.3
NB500-25 | U1.5/16"X12 25 31 19.8
NB500-28 | U1.5/8"X12 28 38.9 23.1
NB500-30 | U1.5/8"X12 30 38.9 23.1
NB500-32 | U1.5/8"X12 32 38.9 23.1
NB500-35 | U1.7/8"X12 35 45.3 28.4
NB500-38 | U1.7/8"X12 38 453 28.4
NB500-50 | U2.1/2"X12 50 61.2 30.2

- 255 -




Hydraulic Adapters

www.lomoflex.com

L
JICTEHE o £
Z JIC INCH SLEEVE
Fo I#4r THREADE | % 14Mf TUBE U~} DIMENSIONS

PART NO. O.0n D L

NB300-04 | U7/16"X20 1/4" 95 10.5

NB300-06 | U9/16"X18 3/8" 125 13

NB300-08 | U3/4"X16 1/2" 17 14

NB300-10 | U7/8"X16 5/8" 20 17

NB300-12 | U1.1/16"X12 3/4" 245 175

NB300-16 | U1.5/16"X12 1" 31 20

NB300-20 | U1.5/8"X12 1.1/4" 39 235

S1
FHIIICY O & LR R
o JIC FLARE TUBE END NUT

fon i24; THREADE R - DIMENSIONS

PART NO. E S
00TSUM- U7/16"X20 17
gorsum- U9/16"X18 19
98TSUM- U3/4"X16 24
88T SuM- U7/8"X16 27
0dTEUM- | u1.1/16"X12 32
06TSUM- | U1.5/16"X12 38
QBTEUM- U1.5/8"X12 50
601 SUM- U1.7/8"X12 55
24NB

- 256 -




Hydraulic Adapters

www.lomoflex.com

L
A
1F
% FHIORFSHMRLLORY el ~F rf 4 =}
7 < ORFS MALE O-RING
S|

R 124 THREADE U~} DIMENSIONS
PART NO. E F A B sl L

1F-04 U9/16"X18 U9/16"X18 12 12 17 30
1F-04-06 U9/16"X18 | U11/16"X16 12 14 19 32
1F-04-08 U9/16"X18 | U13/16"X16 12 15 22 36

1F-06 U11/16"X16 | U11/16"X16 14 | 14 19 34
1F-06-08 U11/16"X16 | U13/16"X16 14 | 15 22 38
1F-06-10 U11/16"X16 U1"X14 14 | 165 | 27 39.5

1F-08 U13/16"X16 | U13/16"X16 15 | 15 22 39
1F-08-10 U13/16"X16 U1"X14 15 | 165 | 27 40.5
1F-08-12 U13/16"X16 | U1.3/16"X12 15 | 17 32 41

1F-10 U1"x14 U1"x14 16.5 | 165 | 27 42
1F-10-12 U1"X14 U1.3/16"X12 16.5 | 17 32 42.5

1F-12 U1.3/16"X12 | U1.3/16"X12 17 | 17 32 43
1F-12-16 U1.3/16"X12 | U1.7/16"X12 17 | 185 | 41 47.5
1F-12-20 U1.3/16"X12 | U1.11/16"X12 17 | 195 | 46 50

1F-16 U1.7/16"X12 | U1.7/16"X12 185 | 185 | 41 49
1F-16-20 U1.7/16"X12 | U1.11/16"X12 185 | 195 | 46 51.5

1F-20 U1.11/16"X12 | U1.11/16"X12 19.5 | 195 | 46 52.5

1F-24 u2"X12 U2"X12 235 | 235 | 55 64

- 257 -




Hydraulic Adapters

www.lomoflex.com

1F4

45° 5% | ORFSHMRLLO MY [l 11 %
45°0ORFS MALE O-RING

A S1

= 24 THREADE JU  ~] DIMENSIONS
PART NO. E F A B Sl
1F4-04 U9/16"X18 U9/16"X18 22 | 22 | 14
1F4-04-06 U9/16"X18 | U11/16"X16 25 | 25 | 19
1F4-06 U11/16"X16 | U11/16"X16 25 | 25 | 19
1F4-06-08 | U11/16"X16 | U13/16"X16 27 | 271 | 22
1F4-08 U13/16"X16 | U13/16"X16 27 | 271 | 22
1F4-08-12 | U13/16"X16 | U1.3/16"X12 37 | 37 33
1F4-10 U1"x14 U1"x14 33 | 33 | 27
1F4-12 U1.3/16"X12 | U1.3/16"X12 37 | 37 33
1F4-16 U1.7/16"X12 | U1.7/16"X12 40 | 40 | 44
1F4-20 U1.11/16"X12 | U1.11/16"X12 40 | 40 | 44
1F4-24 U2"X12 U2"X12 47 | 47 | 53

F
7
1F9
- p
h 90°3& HIORFSHMRLLO A [~ i %
 a— 90°ORFS MALE O-RING

i24. THREADE JU s} DIMENSIONS
0 E F A B s1
TSl | u9re'x1s U9/16"X18 29 | 27 | 14
1F9-04-06 U9/16"X18 | U11/16"X16 30 | 29 | 17
1F9-06 U11/16"X16 | U11/16"X16 30 | 29 | 17
1F9-06-08 | U11/16"X16 | U13/16"X16 37 | 37 | 22
1F9-08 U13/16"X16 | U13/16"X16 37 | 37 | 22
1F9-08-12 | U13/16"X16 | U1.3/16"X12 40 | 52 | 27
1F9-10 U1"x14 u1"X14 40 | 43 | 27
1F9-12 U1.3/16"X12 | U1.3/16"X12 40 | 47 | 27
1F9-16 U1.7/16"X12 | U1.7/16"X12 45 | 55 33
1F9-20 U1.11/16"X12 | U1.11/16"X12 57 | 55 | 44
1F9-24 U2"X12 U2"x12 57 | 57 | 48

- 258 -




Hydraulic Adapters www.lomoflex.com

S1 52

A 7[ ]

g 2F
FEHIORFSAHMEZL O P& -1 2% 3H/ORF S P 12

L) o

e N

ORFS MALE O-RING/ORFS FEMALE

= 124 THREADE U~} DIMENSIONS
PART NO. E F A C S1 S2
2F-04 U9/16"X18 U9/16"X18 12 10 17 19
2F-04-06 U9/16"X18 | U11/16"X16 12 11 17 22
2F-04-08 U9/16"X18 | U13/16"X16 12 12 19 24
2F-06-04 U11/16"X16 | U11/16"X16 14 | 10 | 19 19
2F-06 U11/16"X16 | U11/16"X16 14 | 1 19 22
2F-06-08 U11/16"X16 | U13/16"X16 14 | 12 19 24
2F-06-10 U11/16"X16 U1"X14 14 | 135 | 24 | 32
2F-08-06 U13/16"X16 | U11/16"X16 15 | 11 22 | 22
2F-08 U13/16"X16 | U13/16"X16 15 | 12 22 | 24
2F-08-10 U13/16"X16 U1"X14 15 | 135 | 24 | 32
2F-08-12 U13/16"X16 | U1.3/16"X12 15 | 135 | 30 | 36
2F-10-08 U1"X14 U13/16"X16 16.5 | 12 27 | 24
2F-10 U1"X14 U1"X14 16.5 | 135 | 27 | 32
2F-10-12 U1"X14 U1.3/16"X12 16.5 | 135 | 30 | 36
2F-10-16 U1"X14 U1.7/16"X12 16.5 | 145 | 36 | 41
2F-12-08 | U1.3/16"X12 | U13/16"X16 17 | 12 32 | 24
2F-12-10 | U1.3/16"X12 U1"X14 17 | 135 | 32 | 32
2F-12 U1.3/16"X12 | U1.3/16"X12 17 | 135 | 32 | 36
2F-12-16 | U1.3/16"X12 | U1.7/16"X12 17 | 145 | 36 | 41
2F-16-12 | U1.7/16"X12 | U1.3/16"X12 185 | 135 | 41 36
2F-16 U1.7/16"X12 | U1.7/16"X12 185 | 145 | 41 41
2F-16-20 | U1.7/16"X12 | U1.11/16"X12 185 | 155 | 41 50
2F-20-16 | U1.11/16"X12 | U1.7/16"X12 195 | 145 | 46 | 41
2F-20 U1.11/16"X12 | U1.11/16"X12 195 | 155 | 46 | 50

- 259 -




Hydraulic Adapters

www.lomoflex.com

2F4

7 45°F1|ORFSHMELOR!
S F# 1 2 14 JORFS Py R4
45°0ORFS MALE
O-RING/ORFS FEMALE
A S1
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A C S1 S2
2F4-04 U9/16"X18 U9/16"X18 22 10 14 19
2F4-06 U11/16"X16 | U11/16"X16 22 11 17 22
2F4-08 U13/16"X16 | U13/16"X16 27 12 22 24
2F4-10 U1"X14 U1"x14 33 | 135 | 27 32
2F4-12 U1.3/16"X12 | U1.3/16"X12 37 | 135 | 33 36
2F4-16 U1.7/16"X12 | U1.7/16"X12 40 | 145 | 44 M
2F4-20 U1.11/16"X12 | U1.11/16"X12 40 | 155 | 44 50
F
) S2
)
an 2F9
7 90°2% HIORFSHMEZ L0
2 |11 % 1 /ORF S Py B8 4(
k 90°ORFS MALE
 — O-RING/ORFS FEMALE
A S1
o= 22 THREADE JU  sf DIMENSIONS
PART NO. E F A C S1 S2
2F9-04 U9/16"X18 U9/16"X18 29 10 14 19
2F9-06 U11/16"X16 | U11/16"X16 30 11 17 22
2F9-08 U13/16"X16 | U13/16"X16 37 12 22 24
2F9-10 U1"X14 U1"x14 40 | 135 | 27 32
2F9-12 U1.3/16"X12 | U1.3/16"X12 40 | 135 | 27 36
2F9-16 U1.7/16"X12 | U1.7/16"X12 45 | 145 | 33 M
2F9-20 U1.11/16"X12 | U1.11/16"X12 57 | 155 | 44 50

- 260 -




Hydraulic Adapters

www.lomoflex.com

S1

S1

o b

3F

21HORFS N 12 4L
ORFS FEMALE

o i24 THREADE <} DIMENSIONS
PART NO. E F c Si
3F-04 U9/16"X18 | U9/16"X18 10 19
3F-06 U11/16"X16 | U11/16"X16 11 22
3F-08 U13/16"X16 | U13/16"X16 12 24
3F-10 U1"X14 U1"X14 135 32
3F-12 U1.3/16"X12 | U1.3/16"X12 135 36
3F-16 U1.7/16"X12 | U1.7/16"X12 145 41
3F-20 U1.11/16"X12 | U1.11/16"X12 15.5 50
L
A
4F
% ) FHIORFSHMZELORY fel 1 ] % £ 3% 3k
ORFS MALE O-RING PLUG
S1
e i24 THREADE <} DIMENSIONS
PART NO. E A s1 L
4F-04 U9/16"X18 12 19 18
4F-06 U11/16"X16 14 22 22
4F-08 U13/16"X16 15 27 24
4F-10 U1"X14 16.5 30 26
4F-12 U1.3/16"X12 17 36 27
4F-16 U1.7/16"X12 185 41 30
4F-20 U1.11/16"X12 19.5 50 36

- 261 -



Hydraulic Adapters

www.lomoflex.com

A B
oF
%/ S HIORFSHMRLLO R Pl > 11 2 i W 4223k
Zi ORFS MALE O-RING BULKHEAD
S1
o i24 THREADE <} DIMENSIONS

PART NO. E A B s1 L

6F-04 U9/16"X18 12 315 | 19 49.5

6F-06 U11/16"X16 14 | 34 | 22 56

6F-08 U13/16"X16 15 | 365 | 27 61

6F-10 U1"X14 165 | 406 | 30 67

B6F-12 U1.3/16"X12 17 | 417 | 36 70

6F-16 U1.7/16"X12 185 | 422 | 41 72

6F-20 U1.11/16"X12 195 | 422 | 50 79
oF4

7
45°F | ORFSHMELO R pl V- [f 2 ik B2
45°0ORFS MALE O-RING BULKHEAD
o i24 THREADE <} DIMENSIONS

PART NO. E A B S1
6F4-04 U9/16"X18 22 | 424 | 14
6F4-06 U11/16"X16 22 | 485 | 17
6F4-08 U13/16"X16 27 | 51 | 22
6F4-10 U1"X14 33 | 566 | 27
6F4-12 U1.3/16"X12 37 | 607 | 33
6F4-16 U1.7/16"X12 40 | 652 | 44

- 262 -




Hydraulic Adapters www.lomoflex.com

E
6F9
-
z 90° 2 I ORFS ML SO JBl 7 11 2 e 42 3
\\)) 90°ORFS MALE O-RING BULKHEAD
A | \st
o 22 THREADE JU  sf DIMENSIONS
PART NO. E A B S1
6F9-04 U9/16"X18 29 47 14
6F9-06 U11/16"X16 30 52 17
6F9-08 U13/16"X16 37 55.5 22
6F9-10 U1"X14 40 63 27
6F9-12 U1.3/16"X12 40 67.2 27
6F9-16 U1.7/16"X12 45 71.2 33

- 263 -



Hydraulic Adapters

www.lomoflex.com

S1

e

2

L

8F

S HIORFSH 1}
ORFS LOCK NUT

e i24; THREADE L~} DIMENSIONS
PART NO. E A S1
8F-04 U9/16"X18 7 19
8F-06 U11/16"X16 8 22
8F-08 U13/16"X16 9 27
8F-10 uU1"X14 10.4 30
8F-12 U1.3/16"X12 10.4 36
8F-16 U1.7/16"X12 10.4 41
8F-20 U1.11/16"X12 10.4 50
8F-24 uU2"Xx12 10.4 60
S1
EHIORFS N IEL 3k
@ 7 ORFS FEMALE PLUG
C

o i22. THREADE &~ DIMENSIONS
PART NO. E C S1
9F-04 U9/16"X18 11 19
9F-06 U11/16"X16 10 22
9F-08 U13/16"X16 11 27
9F-10 uU1"X14 13.5 30
9F-12 U1.3/16"X12 13 36
9F-16 U1.7/16"X12 15 41
9F-20 U1.11/16"X12 17.5 50

- 264 -




Hydraulic Adapters

www.lomoflex.com

L

gg
I

1FN

5 I ORFSHMRLLOM fel 1 [ 4 ]/

% Aé ATHERE SR

\\ ORFS MALE O-

S1 F RING/ NPT

MALE
foe 24 THREADE JU <} DIMENSIONS

PART NO. E F A B S1 L
1FN-04-02 U9/16"X18 Z1/8"X27 10 | 10 | 17 26
1FN-04 U9/16"X18 Z1/4"X18 10 | 14 | 17 30
1FN-04-06 U9/16"X18 Z3/8"X18 10 | 14 | 17 30
1FN-06-04 | U11/16"X16 | Z1/4"X18 11 14 19 31
1FN-06 U11/16"X16 |  Z3/8"X18 11 14 | 19 31
1FN-06-08 | U11/16"X16 | Z1/2"X14 11 19 22 | 38
1FN-08-04 | U13/16"X16 | Z1/4"X18 12 | 14 22 | 34
1FN-08-06 | U13/16"X16 | Z3/8"X18 12 14 22 | 34
1FN-08 U13/16"X16 | Z1/2"X14 12 19 22 | 39
1FN-08-12 | U13/16"X16 | Z3/4"X14 12 | 195 | 27 | 40
1FN-10-08 U1"X14 Z1/2"X14 135 | 19 27 | 41
1FN-10-12 U1"x14 Z3/4"X14 135 [ 195 | 27 | 42
1FN-12-08 | U1.3/16"X12 Z1/2"X14 135 | 19 32 | 41
1FN-12 U1.3/16"X12 Z3/4"X14 135 | 195 | 32 | 42
1FN-12-16 | U1.3/16"X12 | Z1"X11.5 135 | 24 | 36 | 48
1FN-16-12 | U1.7/16"X12 Z3/4"X14 145 | 195 | 41 46
1FN-16 U1.7/16"X12 | Z1"X11.5 145 | 24 | 41 51
1FN-16-20 | U1.7/16"X12 | Z1.1/4"X11.5 145 | 25 | 46 | 53
1FN-20-16 | U1.11/16"X12 | Z1"X11.5 155 | 24 | 46 | 53
1FN-20 | U1.11/16"X12 | Z1.1/4"X11.5 155 | 25 | 46 | 54
1FN-20-24 | U1.11/16"X12 | Z1.1/2"X11.5 155 | 25 50 | 57

- 265 -




Hydraulic Adapters www.lomoflex.com

i
1FN4
- 45°: 1HIORFS S £ O [ - [f 3 4/
M SR 2L
45°0RFS MALE O-
A St RING/ NPT
MALE
e i22.  THREADE U~ DIMENSIONS

PART NO. E F A B S1
1FN4-04-02 U9/16"X18 Z1/8"X27 22 22 14

1FN4-04 U9/16"X18 Z1/4"X18 22 22 14
1FN4-04-06 U9/16"X18 Z3/8"X18 22 22 17
1FN4-06-04 U11/16"X16 Z1/4"X18 25 25 19

1FN4-06 U11/16"X16 Z3/8"X18 25 25 19
1FN4-06-08 U11/16"X16 Z1/2"X14 27 27 22
1FN4-08-06 U13/16"X16 Z3/8"X18 27 27 22

1FN4-08 U13/16"X16 Z1/2"X14 27 27 22
1FN4-10-08 uU1"X14 Z1/2"X14 33 33 27

1FN4-12 U1.3/16"X12 Z3/4"X14 37 37 33

1FN4-16 U1.7/16"X12 Z1"X11.5 40 40 44

1FN4-20 U1.11/16"X12 | Z1.1/4"X11.5 40 40 44

- 266 -




Hydraulic Adapters

www.lomoflex.com

1FN9

90° 3 TH|ORFSHMERLLOMY - i # f/

M) AR MR
90°ORFS MALE O-
A S1 RING/ NPT
MALE
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1
1FN9-04-02 | U9/16"X18 Z1/8"X27 29 | 27 | 14
1FN9-04 U9/16"X18 Z1/4"X18 29 | 27 | 14
1FN9-06-04 | U11/16"X16 | Z1/4"X18 33 | 33 | 19
1FN9-06 U11/16"X16 |  Z3/8"X18 33 | 33 | 19
1FN9-06-08 | U11/16"X16 | Z1/2"X14 37 | 37 | 22
1FN9-08-06 | U13/16"X16 | Z3/8"XI8 37 | 37 | 22
1FN9-08 U13/16"X16 |  Z1/2"X14 37 | 37 | 22
1FN9-08-12 | U13/16"X16 | Z3/4"X14 4 | 40 | 27
1FN9-10-08 U1"X14 Z1/2"X14 40 | 40 | 27
1FN9-10-12 U1"X14 Z3/4"X14 4 | 40 | 27
1FN9-12-08 | U1.3/16"X12 Z1/2"X14 4 | 40 | 27
1FN9-12 U1.3/16"X12 Z3/4"X14 40 | 40 | 27
1FN9-12-16 | U1.3/16"X12 | Z1"X11.5 45 | 45 | 33
1FN9-16-12 | U1.7/16"X12 Z3/4"X14 45 | 45 | 33
1FN9-16 u1.7/16"X12 | Z1"X11.5 45 | 45 | 33
1FN9-20-16 | U1.11/16"X12 | Z1"X11.5 57 | 57 | 44
1FN9-20 | U1.11/16"X12 | Z1.1/4"X11.5 57 | 57 | 44

- 267 -



Hydraulic Adapters www.lomoflex.com

1FH

I ORFSHMRLLORY Pl V-1 2 B /23 il Sh iR

N

Y 4L

ORFS MALE O-RING/METRIC MALE O-

RING

s1

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B Sl L
1FH-04-10 U9/16"X18 M10x1 12 11 17 29
1FH-04-12 U9/16"X18 | M12x1.5 12 11 17 29
1FH-06-12 | U11/16"X16 | M12x1.5 14 | 11 19 31
1FH-06-14 | U11/16"X16 | M14x1.5 14 | 11 19 31
1FH-06-16 | U11/16"X16 | M16x1.5 14 | 11 22 | 33
1FH-08-16 | U13/16"X16 | M16x1.5 15 | 11 22 | 34
1FH-08-18 | U13/16"X16 | M18x1.5 15 | 11 24 | 34
1FH-08-22 | U13/16"X16 | M22x1.5 15 12 27 | 36
1FH-10-22 U1"X14 M22x1.5 165 | 12 27 | 37
1FH-12-22 | U1.3/16"X12 | M22x1.5 17 12 32 | 38
1FH-12-27 | U1.3/16"X12 M27x2 17 13 32 | 39

- 268 -




Hydraulic Adapters

www.lomoflex.com

S2

A \S1

1FH4-0G

45° L T ORFSHMR L O MY [l 1 i 4 &/
O NIRRT I [ AT S
45°0ORFS MALE O-RING/
METRIC MALE ADJUSTABLE
STUD END

fou 1240 THREADE R I DIMENSIONS
PART NO. E F A | B | sl
1FH4-04- U9/16"X18 | M14x1.5 22 | 205 | 14
1FH%06- U11/16"X16 | M14x1.5 25 | 33 | 19
1FHF 06- U11/16"X16 | M16x1.5 25 |335 | 19
1PHF o8- U13/16"X16 | M16x1.5 27 | 335 | 22
1PH% 0s- U13/16"X16 | M18x1.5 27 | 36 | 22
1FHE10- U1"X14 M22x1.5 33 | 385 | 27
TEHT 12- U1.3M16"X12 | M22x1.5 37 | 395 | 33
TEHR12- U1.316"X12 | M27x2 37 | 40 | 33

200G
E
1FH9-0G
% | 90°3% HIORFSAMALLOM i V- 4 44/
ON T R AT 1 [ A i
)(j 90°ORFS MALE O-RING/
A \g METRIC MALE ADJUSTABLE
STUD END

e 22  THREADE JU  sf DIMENSIONS
PART NO. E F A | B | st
1FH9-04- U9/16"X18 | M12x1.5 29 | 32 | 14
1FHE 06- U11/16"X16 | M14x1.5 33 | 355 | 19
1FHY 06- U11/16"X16 | M16x1.5 33 | 38 | 19
1PHS o8- U13/16"X16 | M16x1.5 37 | 405 | 22
1PHS o8- U13/16"X16 | M18x1.5 37 | 43 | 22
1FHG08- U13/16"X16 | M22x1.5 40 | 445 | 27
7EHG 10- U1"X14 M22x1.5 40 | 48 | 27
TFHG12- U1.316"X12 |  M27x2 40 | 50 | 27

210G




Hydraulic Adapters

www.lomoflex.com

L
sf

1FO

K| ORFSHMERLLOR 1 [f ¥ 1/
KSR L O el R 47
ORFS MALE O-RING/
SAE O-RING BOSS S-SERIES

o i24; THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1FO-04 U9/16"X18 | U7/16"X20 12 | 10 | 17 | 28
1F0-04-05 | U9/16"X18 | U1/2"X20 12 | 10 | 17 | 28
1F0-04-06 | U9/16"X18 | U9/16"X18 12 | 12 | 17 | 30
1F0-04-08 | U9/16"X18 | U3/4"X16 12 | 12 | 22 | 32
1F0-06-04 | U11/16"X16 | U7/16"X20 14 | 10 | 19 | 30
1F0-06-05 | U11/16"X16 | U1/2"X20 14 | 10 | 19 | 30
1F0-06 | U11/16"X16 | U9/16"X18 14 | 12 | 19 | 32
1F0-06-08 | U11/16"X16 | U3/4"X16 14 | 12 | 22 | 34
1F0-06-10 | U11/16"X16 | U7/8"X14 14 | 135 | 27 | 37
1F0-08-06 | U13/16"X16 | U9/16"X18 15 | 12 | 22 | 35
1F0-08 | U13/16"X16 | U3/4"X16 15 | 12 | 22 | 35
1F0-08-10 | U13/16"X16 | U7/8"X14 15 | 135 | 27 | 38
1F0-08-12 | U13/16"X16 |U1.1/16"X12 15 | 16 | 32 | 40
1FO-10 U1"X14 U7/8"X14 165 | 135 | 27 | 39
1F0-10-08 U1"X14 U3/4"X16 165 | 12 | 27 | 38
1F0-10-12 U1"X14  |U1.1/16"X12 165 | 16 | 32 | 42
1F0-12-10 | U1.3/16"X12 | U7/8"X14 17 | 135 | 32 | 41
1FO-12 | U1.3/16"X12 |U1.1/16"X12 17 | 16 | 32 | 42
1F0-12-16 | U1.3/16"X12 |U1.5/16"X12 17 | 17 | 41 | 46
1FO-16-12 | U1.7/16"X12 |U1.1/16"X12 185 | 16 | 41 | 46
1FO-16 | U1.7/16"X12 |U1.5/16"X12 185 | 17 | 41 | 47
1F0-16-20 | U1.7/16"X12 | U1.5/8"X12 185 | 18 | 50 | 53
1F0-20-16 |U1.11/16"X12|U1.5/16"X12 195 | 17 | 46 | 50
1F0-20  |U1.11/16"X12| U1.5/8"X12 195 | 18 | 50 | 54

- 270 -




Hydraulic Adapters

www.lomoflex.com

"

1FO4-0G

45°L THORFSHMRLL O[] V- If % £/

%
FHISAESME LT O T &
45°0ORFS MALE O-
A \ﬂ RING/ SAE O-RING
BOSS

on 124, THREADE R I DIMENSIONS
PART NO. E F A B | sl | s2
1F04-040G | U9/16"X18 | U7/16"X20 2 | 26 | 14 | 17
1FO4-04- U9/16"X18 | U9/16"X18 22 | 28 | 14 | 19
YR8% 06- U11/16"X16 | U7/16"X20 25 | 273 | 19 | 17
V4P84-060G | U11/16"X16 | U9/16"X18 25 295 | 19 | 19
1FO4-06- U11/16"X16 | U3/4"X16 25 325 | 19 | 24
1FO%-08- U13/16"X16 | U9/16"X18 27 | 308 | 22 | 19
Y9¥84-080G | U13/16"X16 | U3/4"X16 27 | 34 | 22 | 24
1F04-08- U13/16"X16 | U7/8"X14 27 395 | 22 | 27
1FoZ.08- U13/16"X16 |U1.1/16"X12 33 | 44 | 27 | 32
1FOZ10- U1"X14 | U3/4"X16 33 | 34 | 27 | 24
Y9F84-100G6 | uUrx14 | U7/B"X14 33 | 415 | 27 | 27
1FO4-10- U1"™14  |U1.1/16"X12 33 | 44 | 27 | 32
1FO%12- U1.3/16"X12 | U7/8"X14 37 | 42 | 33 | 27
"4FB4-1206G | u1.3/16"x12 [U1.1/16"X12 37 | 455 | 33 | 32
1FO4-12- U1.3/16"X12 |U1.5/16"X12 37 |479 | 33 | 41
1Poz-16- U1.7/16"X12 [U1.1/16"X12 40 | 479 | 44 | 32
19884-160G | U1.7/16"X12 [U1.5/16"X12 40 | 479 | 44 | a1
1FO4-16- U1.7/16"X12 | U1.5/8"X12 40 | 485 | 44 | 50
“3F84-200G |U1.11/16"X12| U1.5/8"X12 40 | 488 | 44 | 50
1F04-20-240GU1.11/16"X12 | U1.7/8"X12 47 | 51 | 53 | 55

-271 -




Hydraulic Adapters

www.lomoflex.com

=

1FO9-0G

90° 5 HIORFSHMZRLL O Y el - 1f % 4/

= ‘ SEHISAESMELCH O
)< 90°ORFS MALE O-
([ \J RING/ SAE O-RING
A o BOSS

o B 124, THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s2
1F09-040G | U9/16"X18 | U7/16"X20 29 [ 303 | 14 | 17
1F09-04- U9/16"X18 | U9/16"X18 29 | 32 | 14 | 19
YR8 06- U11/16"X16 | U7/16"X20 33 | 335 | 19 | 17
Y4F89-060G | U11/16"X16 | U9/16"X18 33 | 345 | 19 | 19
1F09-06- U11/16"X16 | U3/4"X16 33 | 38 | 19 | 24
1FBY9-.06-100G U11/16"X16 | U7/8"X14 37 | 47 | 22 | 27
1F09-08- U13/16"X16 | U9/16"X18 37 | 37 | 22 | 19
U9P80-080G | U13/16"X16 | U3/4"X16 37 | 405 | 22 | 24
1F09-08- U13/16"X16 | U7/8"X14 37 | 453 | 22 | 27
18808 U13/16"X16 |U1.1/16"X12 40 | 52 | 27 | 32
1Fo8.10- U1"X14 | U3/4"X16 40 | 45 | 27 | 24
U9F8o-100G | utx14 | u7e"x14 40 | 508 | 27 | 27
1F09-10- U1"™14  |U1.1/16"X12 40 | 52 | 27 | 32
1FO8-12- U1.3/16"X12 | U7/8"X14 40 | 528 | 27 | 27
T4880-1206 | u1.3/16"x12 [U1.1/16"X12 40 | 54 | 27 | 32
1F09-12- U1.3/16"X12 |U1.5/16"X12 45 | 555 | 33 | 4
1PB8-16- U1.7/16"X12 |U1.1/16"X12 45 | 59 | 33 | 32
19¥B8e-160G | U1.7/16"X12 |U1.5/16"X12 45 | 59 | 33 | a1
1F09-200G |U1.11/16"X12| U1.5/8"X12 57 | 605 | 44 | 50
1F09-20-240GU1.11/16"X12 | U1.7/8"X12 57 | 665 | 48 | 55

- 272 -




Hydraulic Adapters

www.lomoflex.com

- : 1FG
K HIORFSHMRLLORY [~ 1 2 4/
77 Y HMZE L O MY P
z %/% ORFS MALE O-
J RING/ BSP MALE
O-RING
S1
R 24, THREADE L~} DIMENSIONS
PART NO. E F A B S1 L
1FG-04-02 U9/16"X18 G1/8"X28 10 9 17 25
1FG-04 U9/16"X18 G1/4"X19 10 12 19 28
1FG-04-06 U9/16"X18 G3/8"X19 10 13.5 22 31
1FG-06 U11/16"X16 | G3/8"X19 11 13.5 22 32
1FG-06-04 U11/16"X16 | G1/4"X19 11 12 19 29
1FG-06-08 u11/16"X16 | G1/2"X14 11 16 27 36
1FG-08 U13/16"X16 | G1/2"X14 12 16 27 37
1FG-08-06 U13/16"X16 | G3/8"X19 12 13.5 22 33
1FG-08-12 U13/16"X16 | G3/4"X14 12 18.5 32 40
1FG-10-08 u1"X14 G1/2"X14 13.5 16 27 39
1FG-10-12 u1"xX14 G3/4"X14 13.5 | 18.5 32 42
1FG-12-08 U1.3/16"X12 | G1/2"X14 13.5 16 32 39
1FG-12 U1.3/16"X12 | G3/4"X14 13.5 | 18.5 32 42
1FG-12-16 U1.3/16"X12 G1"X11 13.5 | 205 41 46
1FG-16-12 U1.7/16"X12 | G3/4"X14 145 | 185 41 45
1FG-16 U1.7/16"X12 G1"X11 145 | 20.5 41 47
1FG-20 U1.11/16"X12| G1.1/4"X11 156.5 | 20.5 50 53
1FG-20-16 | U1.11/16"X12 G1"X11 156.5 | 20.5 46 49

-273 -




Hydraulic Adapters

www.lomoflex.com

S2

1FG4-0G

2 45°5C IORFSHMERLLORY fel V- [ % 1}/
YL HMRELLOMY
45°0RFS MALE O-
A | \s RING/ BSP MALE O-
RING
e 124 THREADE </ DIMENSIONS
PART NO. E F A B S1 S2
1FG4-040G | U9/16"X18 | G1/4"X19 22 27 14 19
1FG4-04-020G U9/16"X18 G1/8"X28 22 24.8 14 14
1FG4-04-060G U9/16"X18 | G3/8"X19 22 30 17 22
1FG4-060G | U11/16"X16 | G3/8"X19 25 31 19 22
1FG4-06-040G U11/16"X16 | G1/4"X19 25 28 19 19
1FG4-06-080G U11/16"X16 | G1/2"X14 27 36 22 27
1FG4-080G | U13/16"X16 | G1/2"X14 27 36 22 27
1FG4-08-060G U13/16"X16 | G3/8"X19 27 32 22 22
1FG4-10-080G U1"X14 G1/2"X14 33 37.5 27 27
1FG4-10-120G u1"X14 G3/4"X14 33 42 27 32
1FG4-120G | U1.3/16"X12 | G3/4"X14 37 | 425 33 32
1FG4-12-080G U1.3/16"X12 | G1/2"X14 37 | 38.5 33 27
1FG4-12-160G U1.3/16"X12 G1"X11 37 44 33 41
1FG4-160G | U1.7/16"X12 G1"X11 40 | 445 44 41
1FG4-16-120G U1.7/16"X12 | G3/4"X14 40 | 445 44 32
1FG4-200G |U1.11/16"X12| G1.1/4"X11 40 | 475 44 50

- 274 -




Hydraulic Adapters

www.lomoflex.com

S2

J?V‘—T

1FG9-0G

% 90° % 1l ORF S AR AL O Y Pl ~~1fii 2% da/
YA AMREL O
5@ 90°ORFS MALE O-
RING/ BSP MALE O-
A S1 RING

e 22 THREADE JU  sf DIMENSIONS
PART NO. E F A B S1 S2
1FG9-04-020G U9/16"X18 | G1/8"X28 29 | 29 14 14
1FG9-040G | U9/16"X18 | G1/4"X19 29 (313 | 14 19
1FG9-04-060G U9/16"X18 | G3/8"X19 30 | 358 | 17 22
1FG9-06-040G U11/16"X16 | G1/4"X19 33 | 335 | 19 19
1FG9-060G | U11/16"X16 | G3/8"X19 33 | 368 | 19 22
1FG9-06-080G U11/16"X16 | G1/2"X14 37 | 432 | 22 | 27
1FG9-08-060G U13/16"X16 | G3/8"X19 37 | 395 | 22 | 22
1FG9-080G | U13/16"X16 | G1/2"X14 37 | 432 | 22 | 27
1FG9-10-080G  U1"X14 G1/2"X14 40 | 465 | 27 | 27
1FG9-10-120G  U1"X14 G3/4"X14 40 | 493 | 27 | 32
1FG9-12-080G U1.3/16"X12 | G1/2"X14 40 | 475 | 27 | 27
1FG9-120G | U1.3/16"X12 | G3/4"X14 40 | 52 27 | 32
1FG9-12-160G U1.3/16"X12 |  G1"X11 45 | 53 33 | 41
1FG9-16-120G| U1.7/16"X12 | G3/4"X14 45 | 56 33 | 32
1FG9-160G | U1.7/16"X12 |  G1"X11 45 | 56 33 | 41
1FG9-20-160G U1.11/16"X12|  G1"X11 57 | 60 44 | M
1FG9-200G |U1.11/16"X12| G1.1/4"X11 57 | 60 44 | 50

- 275 -




Hydraulic Adapters

www.lomoflex.com

20F

L HISAESMELL O 7 R 41/
ORFS WiZ4r

SAE O-RING BOSS S-
SERIES/ ORFS

c FEMALE
e i22. THREADE &~} DIMENSIONS
PART NO. E F A c s1 | s2
20F-04 U7/16"X20 | U9/16"X18 10 | 10 | 14 | 19
20F-04-06 | U7/16"X20 | U11/16"X16 10 | 11 | 17 | 22
20F-06-04 | U9/16"X18 | U9/16"X18 12 | 10 | 17 | 19
20F-06 U9/16"X18 | U11/16"X16 12 | 11 | 17 | 22
20F-06-08 | U9/16"X18 | U13/16"X16 12 | 12 | 19 | 27
20F-08-06 | U3/4"X16 | U11/16"X16 12 | 11 | 22 | 22
20F-08 U3/4"X16 | U13/16"X16 12 | 12 | 22 | 27
20F-10-08 | U7/8"X14 | U13/16"X16 135 | 12 | 27 | 27
20F-10 u7/8"x14 | U1"X14 135 | 135 | 27 | 32
20F-12-10 |U1.1/16"X12|  U1"X14 16 | 135 | 32 | 32
20F-12  [U1.1/16"X12| U1.3/16"X12 16 135 | 32 | 36
20F-16-12  |U1.5/16"X12| U1.3/16"X12 17 | 135 | 41 | 36
20F-16  [U1.5/16"X12| U1.7/16"X12 17 | 145 | 41 | 41
20F-20-16 | U1.5/8"X12 | U1.7/16"X12 18 | 145 | 50 | 41
20F-20 U1.5/8"X12 |U1.11/16"X12 18 | 155 | 50 | 50

- 276 -




Hydraulic Adapters www.lomoflex.com

E

o AFF6F
S
n e
Z: K HIORFSAMRL O R [&]-
]_yy l [LTRES pUR €25/ S s ]
. ORFS MALE O-RING
BULKHEAD RUN
TEE
A B
o 24 THREADE JU <} DIMENSIONS
PART NO. E A B S1
AFF6F-04 U9/16"X18 27 | 47 | 14
AFF6F-06 | U11/16"X16 30 | 52 | 19
AFF6F-08 | U13/16"X16 33 | 555 | 22
AFF6F-10 U1"X14 33 | 63 | 24
AFF6F-12 | U1.3/16"X12 40 | 672 | 27
AFF6F-16 | U1.7/16"X12 45 | 712 | 33
AFF6F-20 | U1.11/16"X12 57 | 755 | 44
E
T

AFBFF

- 2 HIORFSHME L O 8 °F-
[REESPUN 2 s =
i ORFS MALE O-RING
— BULKHEAD BRANCH

TEE
A A
e 22 THREADE JU  sf DIMENSIONS
PART NO. E A B S1
AF6FF-04 U9/16"X18 27 47 14
AFBFF-06 | U11/16"X16 30 52 19
AFBFF-08 | U13/16"X16 33 | 555 | 22
AF6FF-10 U1"X14 33 63 24
AF6FF-12 | U1.3/16"X12 40 | 672 | 27
AF6FF-16 | U1.7/16"X12 45 | 712 | 33
AFBFF-20 | U1.11/16"X12 57 | 755 | 44

- 277 -



Hydraulic Adapters

www.lomoflex.com

/%%_

I

A 1 g

AFFG-0G

K| ORFSHMERLLOR e T [f 1}/
P SMRSORY 8 5 il
ORFS MALE O-RING/

BSP MALE O-RING RUN TEE

o 24 THREADE JU <} DIMENSIONS
PART NO. E F A | B | st | s2
AFFG-040G | U9/16"X18 | G1/4"X19 27 [ 313 14 | 19

AFFG-04-04- U9/16"X18 | G3/8"X19 28 | 355 | 17 | 22
APF G-06-06- U11/16"X16 | G1/4"X19 30 [335| 19 | 19
VA APFG-060G | U11/16"X16 | G3/8"X19 30 [368 | 19 | 22
AFFG-08-08- | U13/16"X16 | G3/8"X19 33 | 395 | 22 | 22
VOAPFG-080G | U13/16"X16 | G1/2"X14 33 | 432 | 22 | 27
AFFG-10-10- U1'X14 | G3/4"X14 40 | 493 | 27 | 32
TeRPFG-1206G | U1.3/16"X12 | G3/4"X14 40 | 535 | 27 | 32
AFFG-160G | U1.7/16"X12 |  G1"X11 45 | 56 | 33 | 41
F
% 52 A F G F - O G
y % 2 HIORFSAMERLLO MY P& - [f1] % Ff/
YL AR L O B 4y 37 —IH
ORFS MALE O-RING/
\ BSP MALE O-RING RUN TEE
A \ﬂ A
= 22  THREADE JU I DIMENSIONS
PART NO. E F A | B | st | s
AFGF-040G | U9/16"X18 | G1/4"X19 27 [ 313 | 14 | 19
AF GF-04-06- U9/16"X18 | G3/8"X19 28 | 355 | 17 | 22
V4 FGF-060G | U11/16"X16 | G3/8"X19 30 |368 | 19 | 22
AFGF-08-06- | U13/16"X16 | G3/8"X19 33 | 395 | 22 | 22
VS GF-080G | U13/116"X16 | G1/2"X14 33 | 432 | 22 | 27
AFGF-10-12- U1'X14 | G3/4"X14 40 | 493 | 27 | 32
ORfGF-120G | U1.3/16"X12 | G3/4"X14 40 | 535 | 27 | 32

AFGF-160G | U1.7/16"X12 |  G1"X11 45 | 56 | 33 | 41

- 278 -




Hydraulic Adapters

www.lomoflex.com

s AFOF-0OG
%17 %/_
- 7 I ORFS SMB L0 Al Y- 55 11/
K HISAESMELHT O & 4 57—l
\ g ORFS MALE O-RING/
‘o1 SAE O-RING BOSS BRANCH TEE
A A
fou 124, THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s2
AFOF-040G | U9/16"X18 | U7/16"X20 27 | 303 | 14 | 17
AFOF-04-06- U9/16"X18 | U9/16"X18 27 | 32 | 14 | 19
VA AEOF-060G | U11/16"X16 | U9/16"X18 30 [355 | 19 | 19
AFOF-06-08- | U11/16"X16 | U3/4"X16 30 | 38 | 19 | 24
VoAt OF-080G | U13/16"X16 | U3/4"X16 33 | 405 | 22 | 24
AFOF-08-10- | U13/16"X16 | U7/8"X14 33 | 453 | 22 | 27
AFOF-08-12- | U13/16"X16 |U1.1/16"X12 33 | 54 | 24 | 32
USONFOF-100G | u1'x14 | u7/s"x14 40 | 508 | 27 | 27
AFOF-10-12- U114 |U1.1/16"X12 40 | 52 | 27 | 32
TOONFOF-120G | U1.3/16"X12 |U1.1/16"X12 40 | 553 | 27 | 32
AFOF-160G | U1.7/16"X12 |U1.5/16"X12 45 593 | 33 | 4
AFOF-200G | U1.11/16"X12| U1.5/8"X12 57 | 605 | 44 | 50

- 279 -




Hydraulic Adapters www.lomoflex.com

. AFFO-0G

FHIORFSHMRLLORY el V- 1f 5 £}/
‘b: FKHISAESMRLCHF O 8] 1: 37 =3

\

A \ﬂ B

ORFS MALE O-RING/
SAE O-RING BOSS RUN TEE

on 124, THREADE R/ DIMENSIONS
PART NO. E F A | B | st | s
AFFO-040G | U9/16"X18 | U7/16"X20 27 | 30 | 14 | 17
AFFO-04-04- U9/16"X18 | U9/16"X18 27 | 32 | 14 | 19
VO REFO-060G | U11/16"X16 | U9I16"X18 30 [355 | 19 | 19
AFFO-06-06- | U11/16"X16 | U3/4"X16 30 38 | 19 | 24
AFFG-08-08- | U13/16"X16 | U9/16"X18 33 | 375 | 22 | 19
VOO F0-080G | U13/16"X16 | U3/4"X16 33 | 405 | 22 | 24
AFFO-08-08- | U13/16"X16 | U7/8"X14 33 | 453 | 22 | 27
AFF3-08-08- | U13/16"X16 |U1.1/16"X12 33 | 54 | 24 | 32
1eONFFO-100G6 | u1'x14 | u7/s"™X14 40 | 508 | 27 | 27
AFFO-10-10- U1"X14  |U1.1/16"X12 40 | 52 | 27 | 32
TE5AEFO-120G | U1.3/16"X12 |U1.1/16"X12 40 | 553 | 27 | 32
AFFO-16-16- | U1.7/16"X12 | U1.1/16"X12 45 | 595 | 33 | 32
12ONEFO-160G | U1.7/16"X12 |U1.5/16"X12 45 | 593 | 33 | 4
AFFO-200G | U1.11/16"X12| U1.5/8"X12 57 | 605 | 44 | 50

- 280 -




Hydraulic Adapters

www.lomoflex.com

AFFH-0OG

FKHIORFSHMRLLORY [l ~F [ 4 B}/
O3 IANREORT Y [ AT S 32 =38
ORFS MALE O-RING/ METRIC

MALE ADJUSTABLE STUD END RUN TEE

fou i24; THREADE O%fE ORING K~ DIMENSIONS
PART NO. E F Fis A B s1 | s2
AFFH-04-04- U9/16"X18 | M14x1.5 |11.3x2.4 27 | 335 | 14 | 19
AEFPH-06-06- U11/16"X16| M16x1.5 |13.3x2.4 30 | 38 | 19 | 22
_08-08- U13/16"X16| M22x1.5 |19.3x2.4 33 | 445 | 24 7
ARPH 13/16"X16 1 2 2
AFFH-10-10- U1"X14 | M22x1.5 [19.3x2.4 40 | 48 | 27 | 27
AFPH-12-12-  |U1.3116"X12| M27x2 | 23.5x3 4 | 50 | 27 | 32
270G
F
T - AFHF-OG
o
4 /
v % 5 HIORFSAMRLL OB BT 1] 2% F}/
2 OISR I RS 4 32 =3
ORFS MALE O-RING/ METRIC
\ g MALE ADJUSTABLE STUD END BRANCH
A \s1 R TEE
on 2. THREADE 0%l O RING K < DIMENSIONS
PART NO. E F s A B st | s2
AFHF-04-14-040G U9/16"X18 | M14x1.5 |11.3x2.4 27 | 23 | 14 | 19
AFHF-06-16- U11/16"X16| M16x1.5 |13.3x2.4 30 | 27 | 19 | 22
RPRIF-08-22- U13/16"X16| M22x1.5 [19.3x2.4 33 | 31 | 24 | 27
RFAF-10-22- U1"X14 | M22x1.5 [19.3x2.4 40 | 365 | 27 | 27
APRE-12-27-  |u1.3/16"x12| M27x2 | 23.5x3 40 | 405 | 27 | 32
120G

- 281 -




Hydraulic Adapters

www.lomoflex.com

1G

S HMRLOM
BSP MALE O-RING

e 22 THREADE JU  sf DIMENSIONS
PART NO. E S1 L
1G-02 G1/8"x28 9 14 24
1G-04 G1/4"x19 12 19 30
1G-06 G3/8"x19 13.5 22 35
1G-08 G1/2"x14 16 27 41
1G-12 G3/4"x14 18.5 32 47
1G-16 G1"x11 20.5 41 53
1G-20 G1.1/4"x12 20.5 50 55
1G-24 G1.1/2"x11 23 55 62
4G
YL AMRASO MY Rl b Sk
BSP MALE O-RING PLUG

R i24. THREADE JU I DIMENSIONS
PART NO. E A Sl L
4G-04 G1/4"x19 12 19 18
4G-06 G3/8"x19 135 22 21
4G-08 G1/2"x14 16 27 25
4G-12 G3/4"x14 18.5 32 28
4G-16 G1"x11 20.5 41 32

- 282 -




Hydraulic Adapters

www.lomoflex.com

A B
1GT
2
Iy MBSO T B AR
il BSP MALE O-RING/BSPT MALE
W
o 24 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 L
1GT-04-04 | G1/4"X19 | ZG1/4"X19 12 14 19 32
1GT-06-04 | G3/8"X19 | ZG1/4"X19 135 | 14 22 35.5
1GT-06-06 | G3/8"X19 | ZG3/8"X19 135 | 14 22 35.5
1GT-08-06 | G1/2"X14 | ZG3/8"X19 16 14 27 38
1GT-08-08 | G1/2"X14 | ZG1/2"X14 16 19 27 43
1GT-12-08 | G3/4"X14 | ZG1/2"X14 185 | 19 32 48
1GT-12-12 | G3/4"X14 | ZG3/4"X14 185 | 195 | 32 48
1GT-16-16 G1"X11 ZG1"X11 205 | 24 | 41 55
1GT-20-20 | G1.1/4"X11 [ ZG1.1/4"X11 205 | 25 50 62
1GT-24-24 | G1.1/2"X11 | ZG1.1/2"X11 23 | 25 | 55 65
1GT-32-32 G2"X11 ZG2"X11 255 | 29 70 72
L
A
4HN
S1
j\ NHISMBESUR R FI N 7N A H Sk
Z 4 METRIC MALE L-
SERIES HOLLOW
HEX PLUG
fo 24 THREADE JU  sf DIMENSIONS
PART NO. E A S1 L
4HN-10 M10x1 11 5 14
4HN-12 M12x1.5 11 6 14
4HN-14 M14x1.5 11 6 14
4HN-16 M16x1.5 11 8 13.5
4HN-18 M18x1.5 11 8 14.5
4HN-22 M22x1.5 12 10 15
4HN-27 M27x2 13 12 16

- 283 -




Hydraulic Adapters www.lomoflex.com

A A
KN ISMREU RS
& ! METRIC MALE L-SERIES
foe 22 THREADE JU <} DIMENSIONS
PART NO. E A S1 L
1H-10 M10x1 11 14 28
1H-12 M12x1.5 11 17 28
1H-14 M14x1.5 11 19 28
1H-16 M16x1.5 11 22 30
1H-18 M18x1.5 11 24 30
1H-22 M22x1.5 12 27 33
1H-27 M27x2 13 32 35

4H

I3 IAMREUR R AUk
METRIC MALE L-SERIES PLUG

R 24 THREADE JU ] DIMENSIONS
PART NO. E A Sl L
4H-10 M10x1 1 14 17
4H-12 M12x1.5 1 17 17
4H-14 M14x1.5 1 19 17
4H-16 M16x1.5 11 22 19
4H-18 M18x1.5 1 24 19
4H-22 M22x1.5 12 27 21
4H-27 M27x2 13 32 22

- 284 -




Hydraulic Adapters

www.lomoflex.com

1M

I3 TISMERE60 ° A HE SN S 5 T 41 2
METRIC MALE DOUBLE FOR 60°
CONE SEAT BONDED SEAL

o 24 THREADE JU  ~] DIMENSIONS
PART NO. E F A B sl L
1M-12 M12x1.5 M12x1.5 10 | 10 17 30
1M-12-14 M12x1.5 M14x1.5 10 | 11 19 31
1M-14 M14x1.5 M14x1.5 11 11 19 32
1M-14-16 M14x1.5 M16x1.5 11 12 22 35
1M-16 M16x1.5 M16x1.5 12 12 22 36
1M-16-18 M16x1.5 M18x1.5 12 12 24 36
1M-18 M18x1.5 M18x1.5 12 12 24 36
1M-18-22 M18x1.5 M22x1.5 12 14 | 27 38
1M-22 M22x1.5 M22x1.5 14 14 | 27 42

- 285 -




Hydraulic Adapters www.lomoflex.com

A
—{ 4M
I IIMBE60° Py HE s i 5 T AL 3 55 BB 3
METRIC MALE DOUBLE FOR 60°
CONE SEAT BONDED SEAL PLUG
1o 24, THREADE R </ DIMENSIONS
PART NO. E F A S1 L
4M-12 M12x1.5 M12x1.5 10 17 18
4M-14 M14x1.5 M14x1.5 1 19 19
4M-16 M16x1.5 M16x1.5 12 22 21
4M-18 M18x1.5 M18x1.5 12 24 21
4M-22 M22x1.5 M22x1.5 14 27 24
L
A
4MN-WD
S1
L I EISMRLUEH BB 5 F0 8 S
METRIC MALE
g CAPTIVE SEAL
HOLLOW HEX PLUG
y

o i24. THREADE R <} DIMENSIONS
PART NO. E A D H S1 L
4MN-12WD M12x1.5 10 14.2 1.2 6 15
4MN-14WD M14x1.5 11 16.3 1.2 6 16
4MN-16WD M16x1.5 12 18.7 1.2 8 17
4MN-18WD M18x1.5 12 20.7 1.2 8 17
4MN-22WD M22x1.5 14 24 1 1.2 10 19

- 286 -



Hydraulic Adapters

www.lomoflex.com

L

S

B

10

K HISAESMRAL T O ]
SAE O-RING BOSS

o i24; THREADE &~ DIMENSIONS
PART NO. E F A B sl L
10-04 U7/16"X20 | U7/16"X20 10 | 10 | 14 | 26
10-04-06 | U7/16"X20 | U9/16"X18 10 | 12 | 17 | 28
10-06 U9/16"X18 | U9/16"X18 12 | 12 | 17 | 30
10-06-08 | U9/16"X18 | U3/4"X16 12 | 12 | 22 | 31
10-08 U3/4"X16 | U3/4"X16 12 | 12 | 22 | 31
10-08-12 U3/4"X16 | U1.1/16"X12 12 | 16 | 32 | 34
10-10 U7/8"x14 | U7/8"X14 135 | 135 | 27 | 35
10-12 U1.1/16"X12 | U1.1/16"X12 16 | 16 | 32 | 41
10-16 | U1.5/16"X12 | U1.5/16"X12 17 | 17 | 41 | 44
10-20 U1.5/8"X12 | U1.5/8"X12 18 | 18 | 50 | 485
10-24 U1.7/8"X12 | U1.7/8"X12 185 | 185 | 55 | 55

L
A S1 R
10T

S HISAESMRLL O [/ HAE A MR L

. SAE O-RING BOSS/BSPT MALE

e i THREADE U -} DIMENSIONS
PART NO. E F A B | si L
10T-04-04 | U7/16"X20 | ZG1/4"-19 10 | 14 | 14 | 30
10T-04-06 | U7/16"X20 | ZG3/8"-19 10 | 14 | 17 | 30
10T-06-06 | U9/16"X18 | ZG3/8"-19 12 | 14 | 17 | 33
10T-06-08 | U9/16"X18 | Z2G1/2"-14 12 | 19 | 22 | 38
10T-08-08 | U3/4"X16 | 2G1/2"-14 12 | 19 | 22 | 385
10T-08-12 | U3/4"X16 | ZG3/4"-14 12 | 29 | 32 | 39
10T-12-12 | U1.1/16"X12 | ZG3/4"-14 16 | 29 | 32 | 53
10T-16-16 | U1.5/16"X12 | ZG1"-11 17 | 29 | 41 | s5
10T-20-20 | U1.5/8"X12 | ZG1.1/4"-11 18 | 29 | 50 | 58
10T-24-24 | U1.7/8"X12 | 2G1.1/2"-11 185 | 29 | 55 | 60

- 287 -




Hydraulic Adapters

www.lomoflex.com

S1

S2

20U

SAESMRZATO R/
%_%% FHINPSM A #2460 °4 Mk
SAE O-RING BOSS /
\F_ NPSM FEMALE 60°CONE
- C,

o i24; THREADE ] -} DIMENSIONS
PART NO. E F A c | s1 | s2
20U-04 U7/16"X20 | Z1/4"X18 10 | 55 | 14 | 19

20U-04-06 | U7/16"X20 | Z3/8"X18 10 | 65 | 17 | 22
20U-06 U9/16"X18 |  Z3/8"X18 12 | 65 | 19 | 22
20U-06-08 | U9/16"X18 | Z1/2"X14 12 8 | 22 | 27
20U-08 U3/4"X16 | Z1/2"X14 12 8 | 22 | 27
20U-08-06 | U3/4"X16 | Z3/8"X18 12 | 65 | 22 | 22
20U-10-08 | U7/8"X14 | Z1/2"X14 135 | 8 | 27 | 27
20U-12-08 |U1.1/16"X12| Z1/2"X14 16 8 | 32 | 27
20U-12  |U1.1/16"X12| Z3/4"X14 16 | 115 | 32 | 32
20U-12-16  |U1.1/16"X12| Z1"X11.5 16 | 115 | 36 | 41
20U-16  |U1.5/16"X12| Z1"X115 17 | 115 | 41 | 41
20U-20 | U1.5/8"X12 Z1.1/4"X11.5 18 | 12 | 50 | 50
20U-24 | U1.7/8"X12 | Z1.1/2"X11.5 185 | 13 | 55 | 55

- 288 -




Hydraulic Adapters

www.lomoflex.com

L
A
FHISAESMRL A O el 4 3k
SAE O-RING BOSS PLUG
e 240 THREADE & -] DIMENSIONS
PART NO. E A S1 L
40-04 U7/16"X20 10 14 16
40-05 U1/2"X20 10 17 16
40-06 U9/16"X18 12 17 18
40-08 U3/4"X16 12 22 20
40-10 u7/8"X14 13.5 27 23
40-12 U1.1/16"X12 16 32 26
40-16 U1.5/16"X12 17 41 28
40-20 U1.5/8"X12 18 50 32
40-24 U1.7/8"X12 18.5 55 35
40-32 U2.1/2"X12 22 70 40
L
A
N 40N
K HISAESMZRLL T ORY & N /- 1 1 3k
% SAE O-RING BOSS HOLLOW HEX
PLUG
s 22y THREADE I -] DIMENSIONS
PART NO. E A sl L
40N-04 U7/16"X20 10 12
40N-05 U1/2"X20 10 12
40N-06 U9/16"X18 12 15
40N-08 U3/4"X16 12 15
40N-10 u7/8"X14 13.5 10 16.5
40N-12 U1.1/16"X12 16 14 20
40N-16 U1.5/16"X12 17 16 21
40N-20 U1.5/8"X12 18 19 22

- 289 -




Hydraulic Adapters

www.lomoflex.com

A

s
s/

1P

FEHISAESMEZ90 ° A
SAE MALE 90°CONE

=) #2240 THREADE JU  ~] DIMENSIONS
PART NO. E A S1 L
1P-04 U7/16"X20 13 14 32
1P-05 U1/2"X20 14 14 34
1P-06 U5/8"X18 16 17 38
1P-08 U3/4"X16 19 22 46
1P-10 U7/8"X14 225 24 52.5
1P-12 U1.1/16"X12 25.5 30 60.5
L
A
T 4P
K HISAESMRL90 S HE Sk
SAE MALE 90°CONE PLUG

= ig2  THREADE JU  ~] DIMENSIONS
PART NO. E A S1 L
4P-04 U7/16"X20 13 14 19
4P-05 U1/2"X20 14 14 20
4P-06 U5/8"X18 16 17 22
4P-08 U3/4"X16 19 22 27
4P-10 U7/8"X14 225 24 30
4P-12 U1.1/16"X12 25.5 30 35

- 290 -




Hydraulic Adapters www.lomoflex.com

B
E
A\ 72D\ ]
I/ ? FL
O L-SERIES SPLIT FLANGE CLAMPS
Rz 2 0 (R JU  ~F DIMENSIONS
PART NO. | FLANGE BOL A B c D E
FL-08 SIZE, n M&x25 54 | 46 | 381 | 9 |175
FL-12 3/4" M10x30 651 | 52 | 476 | 11 | 222
FL-16 I M10x30 698 | 59 | 524 | 11 | 262
FL-20 1.1/4" M10x30 794 | 73 | 587 | 11 | 302
FL-24 1.1/2" M12x35 937 | 83 | 69.8 | 135 | 357
FL-32 o M12x35 1016 | 97 | 77.8 | 135 | 42.9
FL-40 2.1/4" M12x40 114 | 108 | 89 | 135 | 50.8
FL-48 3 M16x50 135 |130.6 [106.4 | 16.7 | 62
B
E
RN ) ]
I/ ? FS
S JZ RGN Ik

MDD S-SERIES SPLIT FLANGE CLAMPS
fo= 2 0 e JU ] DIMENSIONS
PART NO. | FLANGE BOL A | B c D E
FS-08 SIZEy o0 M8x30 563 | 47 | 405 | 9 | 182
FS-12 3/4" M10x35 714 | 60 | 508 | 11 | 23.8
FS-16 " M12x45 809 | 70 | 571 | 13 | 278
FS-20 1.1/4" M14x30 952 | 77 | 667 | 15 | 318
FS-24 1.1/2" M16x55 1127 | 95 | 795 | 17 | 365
FS-32 2 M20x70 1333 | 114 | 968 | 21 | 445

- 291 -




Hydraulic Adapters www.lomoflex.com

B
E H
N7 1
Q- FL-W
S i 5 RIHEAI 2 e
LN - L-SERIES WHOLE FLANGE CLAMPS
o iR W U~} DIMENSIONS
PART NO. | FLANGE BOL A | B Cc D E H
FL-osw | SEipr Méx25 54 | 46 | 381 ] 9 [175 | 62
FL-12W 3/4" M10x30 651 | 52 | 476 | 11 | 222 | 62
FL-16W " M10x30 69.8 | 59 | 524 | 11 | 262 | 7.5
FL-20W 1.1/4" M10x30 794 | 73 | 587 | 11 [302 | 75
FL-24W 1.172" M12x35 937 | 83 | 698 | 135 | 357 | 75
FL-32W 2 M12x35 1016 | 97 | 77.8 | 135 | 429 | 9
FL-40W 2.1/4" M12x40 114 | 108 | 89 | 135 | 508 | 9
FL-48W 3 M16x50 135 |130.6 1064 | 16,7 | 62 | 9
B
E H
Jzan\T/an) N
GG\ FS-W
XU L B RYIIEARYS2E I
51\ L] S-SERIES WHOLE FLANGE CLAMPS
o iR 2k U~} DIMENSIONS
PART NO. | FLANGE BOL A | B c D E H
Fs-08w | S%Eir M8x30 563 | 47 | 405 | 9 |182 | 7.2
FS-12W 3/4" M10x35 714 | 60 | 508 | 11 |238 | 82
FS-16W T M12x45 809 | 70 | 571 ] 13 [278 | o
FS-20W 1.1/4" M14x30 952 | 77 | 667 | 15 | 318 | 98
FS-24W 1.172" M16x55 1127 ] 95 | 795 | 17 | 365 | 12
FS-32W 2 M20x70 1333 | 114 | 968 | 21 | 445 | 12

-292 -



Hydraulic Adapters

www.lomoflex.com

1

Z

L1

1CFL

AR R ER R R
METRIC MALE BITE
TYPE/ L-SERIES
FLANGE

foe IR §4 2% T R Y R ~F DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L L1 d1 S1
1CFL-22-08 M22x1.5 S o 05 7 35 | 302 | 24
1CFL-26-12 M26x1.5 3/4" 18 7 | 46 | 381 | 30
1CFL-30-12 M30x2 3/4" 22 7 | 46 | 381 | 32
1CFL-36-16 M36x2 1" 28 82 | 50 | 444 | 41
1CFL-45-20 M45x2 1.1/4" 35 82 | 66 |508 | 41
1CFL-52-24 M52x2 1.1/2" 42 82 | 70 | 603 | 46
S1 <L
, B 1DFL
| ' ARSI R
/ % METRIC MALE BITE
TYPE/ L-SERIES
0 FLANGE
e R WS | TV JC ) DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L L1 d1 S1
1DFL-24-08 M24x1.5 S T 7 | 35 | 302 | 24
1DFL-24-12 M24x1.5 3/4" 20 7 | 46 | 381 | 27
1DFL-30-12 M30x2 3/4 20 7 | 46 | 381 | 30
1DFL-36-12 M36x2 3/4" 25 7 | 46 | 381 | 30
1DFL-42-16 M42x2 1" 30 82 | 50 | 444 | 36
1DFL-36-20 M36x2 1.1/4" 25 82 | 66 |508 | 41
1DFL-42-20 M42x2 1.1/4" 30 82 | 66 |508 | 41
1DFL-52-20 M52x2 1.1/4" 38 82 | 66 |508 | 46
1DFL-52-24 M52x2 1.1/2" 38 82 | 70 | 603 | 46

- 293 -




Hydraulic Adapters

www.lomoflex.com

d1

=

Nk

1CFL9

90° A FIRA R B/ RIIE 2
90°METRIC MALE BITE

N TYPE/ L-SERIES
FLANGE
S1

o IR 022 T e R '} DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L A d1 S1
1CFL9-22-08 |  M22x1.5 S5 b5 7 36 | 302 | 22
1CFL9-26-12 M26x1.5 3/4" 18 7 42 | 381 | 27
1CFL9-30-12 M30x2 3/4" 22 7 42 | 381 | 27
1CFL9-36-16 M36x2 1 28 82 | 45 | 444 | 33
1CFL9-45-20 M45x2 1.1/4" 35 82 | 50 |508 | 44
1CFL9-52-24 M52x2 1.1/2" 42 82 | 55 | 60.3 | 50

d1
%
, 00° A HINBECF45X/48 RI %%
“TIV 90°METRIC MALE BITE
| TYPE/ L-SERIES
FLANGE
s1

R RZL esme | TR JU <1 DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L A d1 S1
1DFL9-24-08 M24x1.5 S g O 7 36 | 302 | 27
1DFL9-30-12 M30x2 3/4" 20 7 42 | 381 | 27
1DFL9-36-12 M36x2 3/4" 25 7 42 | 381 | 33
1DFL9-42-16 M42x2 1 30 82 | 45 | 444 | 44
1DFL9-36-20 M36x2 1.1/4" 25 82 | 50 | 508 | 44
1DFL9-42-20 M42x2 1.1/4" 30 82 | 50 | 508 | 44
1DFL9-52-20 M52x2 1.1/4" 38 82 | 50 | 508 | 50
1DFL9-52-24 M52x2 112" 38 82 | 55 | 603 | 50

- 294 -




Hydraulic Adapters www.lomoflex.com

1DFS

AR R ERER YL
METRIC MALE BITE
TYPE/ S-SERIES

1

- FLANGE
foe IR 2% T AN J <} DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L L1 d1 S1
1DFS-24-08 M24x1.5 S o Obes 79 | 37 317 | 24
1DFS-24-12 M24x1.5 3/4" 16 89 | 51 |413 | 30
1DFS-30-12 M30x2 3/4" 20 89 | 51 |413 | 30
1DFS-36-12 M36x2 3/4" 25 89 | 51 |413 | 30
1DFS-36-16 M36x2 1" 25 96 | 53 | 476 | 36
1DFS-42-16 M42x2 1" 30 96 | 53 | 476 | 36
1DFS-42-20 M42x2 1.1/4" 30 104 | 70 | 54 | 41
1DFS-52-20 M52x2 1.1/4" 38 104 | 70 | 54 | 46
1DFS-52-24 M52x2 1.1/2" 38 127 | 80 | 635 | 46
’ d1
= 1DFS9
«TV 90° A R L & E RIE=
| 90°METRIC MALE BITE
H \\; TYPE/ S-SERIES
FLANGE
S1
= IR 2k A TR N ' DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L A d1 S1
1DFS9-24-08 | M24x1.5 S b6 79 | 39 | 317 | 24
1DFS9-24-12 |  M24x1.5 3/4" 16 89 | 48 | 413 | 30
1DFS9-30-12 M30x2 3/4 20 89 | 48 | 413 | 30
1DFS9-36-12 M36x2 3/4 25 89 | 48 | 413 | 36
1DFS9-36-16 M36x2 1" 25 96 | 60 | 476 | 41
1DFS9-42-16 M42x2 1" 30 96 | 60 | 476 | 41
1DFS9-42-20 M42x2 1.1/4" 30 104 | 68 | 54 | 46
1DFS9-52-20 M52x2 1.1/4" 38 104 | 68 | 54 | 46
1DFS9-52-24 M52x2 1.1/2" 38 127 | 76 | 635 | 46

- 295 -



Hydraulic Adapters

www.lomoflex.com

A ——
1FFL
| F HIORFSHMZLL O P& - 1
B RV
2 % ORFS MALE O-
RING/ L-SERIES
FLANGE
=2 IR AL ! R~ DIMENSIONS
PART NO. | THREADE FLANGE I d1 A
1FFL-12 U1.3/16'x12 | 34" 7 381 | 17
1FFL-16 U1.7/16"x12 1" 82 | 444 | 185
1FFL-20 U1.11/16"x12 1.1/4" 82 | 508 | 195
di1
g
. 90°2£ HIORFSAMZ L O Fl T~ 1fi
- BB R
§<j 90°ORFS MALE O-
A \g RING/ L-SERIES
FLANGE
e REL s JU <} DIMENSIONS
PART NO. | THREADE FLANGE [ d1 A B S
1FFLO-12 U1.316"x12 | 2 3/4n 7 | 381 ] 43 | 541 | &
1FFL9-16 U1.7/16"x12 1" 82 | 444 | 59 | 602 | 44
1FFL9-20 | U1.11/16"x12 1.1/4" 82 | 508 | 59 | 665 | 44
e 1FFS
| F i ORFSHMERZLO T [&] > i
BB RV
7 % ORFS MALE O-
RING/  S-SERIES
FLANGE
K5 HRZL V2L JU ] DIMENSIONS
PART NO. | THREADE FLANGE I d1 A
1FFS-12 U1.316"x12 | 54 89 | 413 | 17
1FFS-16 U1.7/16"x12 1 96 | 476 | 185
1FFS-20 U1.11/16"x12 1.1/4" 104 | 54 | 195




Hydraulic Adapters

www.lomoflex.com

!
%

1FFS9

90° 5 HIORFSAMRLO R [~ [

~ T RS
v ) 90°ORFS MALE O-
N \s1 RING/ S-SERIES
FLANGE
=" W2 ! IN '} DIMENSIONS
PART NO. | THREADE FLANGE | d1 A B S
1FFS9-12 | U1.3M6"x12 | o 3/4" 89 | 413 | 40 |41 | 27
1FFS9-16 | U1.7/16"x12 1" 96 | 476 | 49 | 602 | 33
1FFS9-20 | U1.11/16"x12 | 1.1/4" 104 | 54 | 57 | 665 | 44
A A
. 1JFL
0 /' S BIICHBATA NI R 51
%f JIC MALE 74°CONE/L-SERIES
FLANGE
e 2L e JU_ I DIMENSIONS
PART NO. | THREADE FLANGE | d1 A
1JFL-08 U316 | o1 7 | 302 | 167
1JFL-08-12 U3/4"X16 3/4" 7 | 381 | 167
1JFL-10-08 u7/8"X14 1/2" 7 | 302 | 195
1JFL-10-12 u7/8"X14 3/4" 7 | 3841 | 195
1JFL-12-08 | U1.1/16"X12 1/2" 7 | 302 | 22
1JFL-12 U1.1/16"X12 3/4" 7 | 381 | 22
1JFL-12-16 | U1.1/16"X12 " 82 | 444 | 22
1JFL-16-12 | U1.5/16"X12 3/4" 7 | 381 | 23
1JFL-16 U1.5/16"X12 " 82 | 444 | 23
1JFL-16-20 | U1.5/16"X12 1.1/4" 82 | 50.8 | 23
1JFL-20-16 | U1.5/8"X12 " 82 | 44.4 | 245
1JFL-20 U1.5/8"X12 1.1/4" 82 | 508 | 24.5
1JFL-20-24 | U1.5/8"X12 1.1/2" 82 | 603 | 24.5
1JFL-24-20 | U1.7/8"X12 1.1/4" 82 | 508 | 27.5
1JFL-24 U1.7/8"X12 1.172" 82 | 603 | 275
1JFL-24-32 | U1.7/8"X12 2 98 | 714 | 275
1JFL-32 U2.1/2"X12 2" 98 | 714 | 34

- 297 -




Hydraulic Adapters www.lomoflex.com

1JFL4

\ 45° K HIJICHMRB T4/ R A1
45°JIC MALE 74°CONE/L-ERIES

A \S1

FLANGE

=" IRar 22 g N '} DIMENSIONS
PART NO. | THREADE FLANGE | d1 A B S
1JFL4-08 us/4Tx16 | o1 7 | 302 25 | 37 | 1b
1JFL4-10-08 U7/8"X14 12" 7 302 | 27 | 37 | 22
1JFL4-10-12 U7/8"X14 3/4" 7 | 381 | 33 | 401 | 27
1JFL4-12 U1.1/16"X12 3/4" 7 | 381 | 33 | 401 | 27
1JFL4-12-16 | U1.1/16"X12 " 82 | 444 | 37 | 47 | 33
1JFL4-16 U1.5/16"X12 1" 82 | 444 | 37 | 47 | 33
1JFL4-16-12 | U1.5/16"X12 3/4" 7 | 381 | 37 | 42 | 33
1JFL4-16-20 | U1.5/16"X12 1.1/4" 82 | 508 | 40 |51.8 | 44
1JFL4-20 U1.5/8"X12 1.1/4" 82 | 508 | 40 | 51.8 | 44
1JFL4-20-16 | U1.5/8"X12 " 82 | 444 | 40 | 51 | 44
1JFL4-20-24 | U1.5/8"X12 1.1/2" 82 | 603 | 47 | 605 | 53
1JFL4-24-20 | U1.7/8"X12 1.1/4" 82 | 508 | 47 | 54 | 53
1JFL4-24 U1.7/8"X12 1.1/2" 82 | 603 | 47 | 605 | 53
1JFL4-32 U2.1/2"X12 2" 98 | 714 | 55 | 762 | 65

- 298 -




Hydraulic Adapters

www.lomoflex.com

dl

i

1JFL9

90°E HIJICHMEBL T4 SN/ R A5 %
/ —-5{/ 90°JIC MALE 74°CONE/L-ERIES
A \g FLANGE

= B ! N '} DIMENSIONS
PART NO. | THREADE FLANGE [ d1 A B S
1JFL9-08 us/4nx16 | o1 7 | 302 | 33 | 44 | 1b
1JFL9-10-08 U7/8"X14 12" 7 302 | 37 | 44 | 22
1JFLO-10-12 U7/8"X14 3/4" 7 | 381 | 43 | 5441 | 27
1JFLO-12 U1.1/16"X12 3/4" 7 | 381 | 40 | 401 | 27
1JFLO-12-16 | U1.1/16"X12 1" 82 | 444 | 49 | 602 | 33
1JFLO-16 U1.5/16"X12 1" 82 | 444 | 49 | 602 | 33
1JFL9-16-12 | U1.5/16"X12 3/4" 7 | 381 | 49 | 58 | 33
1JFL9-16-20 | U1.5/16"X12 1.1/4" 82 | 508 | 57 | 665 | 44
1JFL9-20 U1.5/8"X12 1.1/4" 82 | 508 | 57 |665 | 44
1JFL9-20-16 | U1.5/8"X12 1" 82 | 444 | 57 | 65 | 44
1JFL9-20-24 | U1.5/8"X12 1.1/2" 82 | 603 | 57 |793 | 48
1JFL9-24-20 | U1.7/8"X12 1.1/4" 82 | 508 | 57 | 755 | 48
1JFLO-24 U1.7/8"X12 1.1/2" 82 | 603 | 57 |793 | 48
1JFLO-32 U2.1/2"X12 2" 98 | 714 | 66 | 108 | 65

- 299 -




Hydraulic Adapters

www.lomoflex.com

A
. 1JFS
2 /'\ S BIICAEATA T R 5
% JIC MALE 74°CONE/S-ERIES
FLANGE
e 22 e JU_ 5] DIMENSIONS
PART NO. | THREADE FLANGE | d1 A
1JFS-08 us/4Tx16 | o1 79 | 317 | 16.7
1JFS-10-08 U7/8"X14 12" 79 | 317 | 195
1JFS-10-12 U7/8"X14 3/4" 89 | 413 | 22
1JFS-12 U1.1/16"X12 3/4" 89 | 413 | 22
1JFS-12-16 | U1.1/16"X12 " 89 | 413 | 22
1JFS-16 U1.5/16"X12 " 96 | 476 | 23
1JFS-16-12 | U1.5/16"X12 3/4" 96 | 476 | 23
1JFS-16-20 | U1.5/16"X12 1.1/4" 96 | 476 | 23
1JFS-20 U1.5/8"X12 1.1/4" 10.4 | 54 | 245
1JFS-20-16 | U1.5/8"X12 " 10.4 | 54 | 245
1JFS-20-24 | U1.5/8"X12 1.172" 10.4 | 54 | 245
1JFS-24-20 | U1.7/8"X12 1.1/4" 12.7 | 635 | 275
1JFS-24 U1.7/8"X12 1.1/2" 12.7 | 635 | 275

- 300 -




Hydraulic Adapters

www.lomoflex.com

A \ S1

1JFS4

45° K HIICHMRLB T4 I/ R 411
45°JIC MALE 74°CONE/S-ERIES

FLANGE
= PR 22 g R ' DIMENSIONS

PART NO. | THREADE FLANGE | d1 A B S
1JFS4-08 us/4rx16 | o1 79 | 317 | 25 | 38 | 18
1JFS4-10-08 U7/8"X14 12" 79 | 317 | 27 | 39 | 22
1JFS4-10-12 U7/8"X14 3/4" 89 | 413 | 27 |401 | 22
1JFS4-12 U1.1/16"X12 3/4" 89 |413 | 33 | 401 | 27
1JFS4-12-16 | U1.1/16"X12 1" 89 | 413 | 37 | 47 | 33
1JFS4-16 U1.5/16"X12 1" 96 | 476 | 37 | 47 | 33
1JFS4-16-12 | U1.5/16"X12 3/4" 96 |476 | 37 | 45 | 33
1JFS4-16-20 | U1.5/16"X12 1.1/4" 96 | 476 | 40 | 52 | 44
1JFS4-20 U1.5/8"X12 1.1/4" 104 | 54 | 40 | 52 | 44
1JFS4-20-16 | U1.5/8"X12 1" 104 | 54 | 40 | 52 | 44
1JFS4-20-24 | U1.5/8"X12 1.1/2" 104 | 54 | 40 | 605 | 44
1JFS4-24 U1.7/8"X12 1.1/2" 127 | 635 | 47 | 275 | 53

- 301 -




Hydraulic Adapters www.lomoflex.com

dl

1JFS9

‘ 90° L HIJICHMELT 4 HNE T R B4

—-S(J 90°JIC MALE 74°CONE/S-ERIES

A \ﬂ FLANGE

=] B ! N ' DIMENSIONS
PART NO. | THREADE FLANGE | d1 A B S
1JFS9-08 us4Tx16 | 12 79 | 317 | 33 | 44 | 1b
1JFS9-10-08 |  U7/8"X14 12" 79 | 317 | 37 | 46 | 22
1JFS9-10-12 | U7/8"X14 3/4" 89 | 413 | 37 | 541 | 22
1JFS9-12 | U1.1/16"X12 3/4" 89 | 413 | 40 | 541 | 27
1JFS9-12-16 | U1.1/16"X12 " 89 | 413 | 49 | 602 | 33
1JFS9-16 | U1.5/16"X12 " 96 | 476 | 49 | 602 | 33
1JFS9-16-12 | U1.5/16"X12 3/4" 96 | 476 | 49 | 57 | 33
1JFS9-16-20 | U1.5/16"X12 1.1/4" 96 | 476 | 57 | 665 | 44
1JFS9-20 U1.5/8"X12 1.1/4" 104 | 54 | 57 | 665 | 44
1JFS9-20-16 | U1.5/8"X12 " 104 | 54 | 57 | 65 | 44
1JFS9-20-24 | U1.5/8"X12 1.1/2" 104 | 54 | 57 | 793 | 44
1JFS9-24 U1.7/8"X12 1.1/2" 127 | 635 | 57 | 793 | 48

- 302 -




Hydraulic Adapters

www.lomoflex.com

i

1TFLW

e BRI IR
L-SERIES FLANGE/BUTT-WELD

TUBE
gz 2L DXt JU  ~F DIMENSIONS
PART NO. | FLANGE | d1 D
1FLW-08-16xd 14E1/2" 16x2 7 | 302 | 16
1FLW-08- 12" 20x2.5 7 | 302 | 20
PEW-12-25x3 34" 25x3 7 | 381 | 25
1FLW-16-25X3 1" 25x3 82 | 444 | 25
1FLW-16-28X3 " 28x3 82 | 444 | 28
1FLW-16-30X4 " 30x4 82 | 444 | 30
1FLW-16-38X5 " 38x5 82 | 444 | 38
1FLW-20-25X3  1.1/4" 25x3 82 | 508 | 25
1FLW-20-30X4  1.1/4" 30x4 82 | 508 | 30
1FLW-20-38X5  1.1/4" 38x5 82 | 508 | 38
1FLW-20-42Xg  1.1/4" 42x6 82 | 50.8 | 42
1FLW-24-38X4  1.1/2" 38x4 82 | 603 | 38
1FLW-24-42Xd  1.1/2" 42x6 82 | 603 | 42
1FLW-24-45X5  1.1/2" 45x5 82 | 60.3 | 45
1FLW-24-50Xg  1.1/2" 50x6 82 | 603 | 50
1FLW-32-55X5 2" 55%5 98 | 714 | 55
1FLW-32-60X8 2" 60x8 98 | 714 | 60
1FLW-40-65X§  2.1/2" 65%6
1FLW-40- 212" 70x7.5
"NE'W-48-80x6 3" 80x6
1FLW-48-90X8 3" 90x8

- 303 -




Hydraulic Adapters www.lomoflex.com

1TFSW

HRINELINEEE

% Z ‘ S-SERIES FLANGE/BUTT-WELD
TUBE
g= 22 0 DXt N '} DIMENSIONS
PART NO. | FLANGE I | a1 | D
1FSW-08- SIZE /o 16x2 79 | 317 | 16
1FSV-08- 12" 20x2.5 79 | 317 | 20
FIPEW-12- 3/4" 16x2 89 | 413 | 16
1ESY-12- 3/4" 20x2.5 89 | 413 | 20
FHESW-12- 3/4" 25x4 89 | 413 | 25
TPSW-16- " 25x3 96 | 476 | 25
TPSW-16- " 30x4 96 | 476 | 30
TFSW-16- T 38x5 96 | 476 | 38
TESW-20- 1.1/4" 25x3 104 | 54 | 25
TRSW-20- 1.1/4" 30x4 104 | 54 | 30
TFSW-20- 1.1/4" 38x5 104 | 54 | 38
’?%VV-ZO- 1.1/4" 42x6 10.4 54 42
1F8W-24- 1.172" 38x5 12.7 | 635 | 38
1PSW-24- 1.172" 45x2.5 12.7 | 635 | 45
PFEW-24- 1.172" 48x8 12.7 | 635 | 48
1RSW-24- 1.1/2" 50x8 127 | 635 | 50
TFSW-32- 2 60x8 127 | 714 | 60
FEW-32- 2 60x10 127 | 714 | o0
oUX10

- 304 -



Hydraulic Adapters www.lomoflex.com

L
|
4FL
O B R A
| L-SERIES FLANGE PLUG
e 2L g N ' DIMENSIONS
PART NO. | FLANGE D | d | L
4FL08 | SZEi e 302 | 24 | 7 | 16
4FL-12 3/4" 381 315 | 7 | 17
4FL-16 " 444 | 38 | 82 | 17
4FL-20 1.1/4" 508 | 43 | 82 | 17
4FL-24 1.172" 603 | 50 | 82 | 19
4FL-32 2" 714 | 62 | 98 | 19
4FL-40 2.1/4" 841 | 74 | 98 | 40
4FL-48 3" 1016 | 9 | 9.8 | 45
L
|
4FS
/ TRIIEH,
I S-SERIES FLANGE PLUG

R L JU  ~] DIMENSIONS
PART NO. | FLANGE D | di | L
4Fs-08 | S4Eipn 317 | 24 | 79 | 18
4FS-12 3/4" 413 | 32 | 89 | 18
4FS-16 " 476 | 38 | 96 | 18
4FS-20 1.1/4" 54 | 44 | 104 | 18
4FS-24 1.172" 635 | 51 |12.7 | 20
4FS-32 2" 794 | 67 | 127 | 30

- 305 -



Hydraulic Adapters www.lomoflex.com

L
|
4FL-M
FERIPT I 1L
L-SERIES FLANGE PLUG
e 2L g N ' DIMENSIONS
PART NO. | FLANGE D | o1 | L
4FL-08M | SZEp 302 | 24 | 7 | 16
4FL-12M 3/4" 384 | 315 | 7 | 17
4FL-16M " 444 | 38 | 82 | 17
4FL-20M 1.1/4" 508 | 43 | 82 | 17
4FL-24M 112" 603 | 50 | 82 | 19
4FL-32M 2" 714 | 62 | 98 | 19
4FL-40M 2.1/4" 841 | 74 | 98 | 40
4FL-48M 3" 1016 | 9 | 98 | 45
L
|
4FS-M
BRI IE 2k
S-SERIES FLANGE PLUG
g= 2L gl N '} DIMENSIONS
PART NO. | FLANGE D | o1 | L
4Fs-08M | S1ZE1 317 | 24 | 79 | 18
4FS-12M 3/4" 413 | 32 | 89 | 18
4FS-16M " 476 | 38 | 96 | 18
4FS-20M 1.1/4" 54 | 44 | 104 | 18
4FS-24M 1.1/2" 635 | 51 | 127 | 20
4FS-32M 2" 794 | 67 |127 | 30

- 306 -




i 1

ZS H Bk B RE RS 25 2 3 RST RER ] al g -5 552 B

P

-

P g
AT 5 TS AR A T2 A i, T A I B
i EL 5 A T R,

AR ) IR S0 R sRUE B EL O 250 L B i, T
X7 L At 0 25, T S 7 A 1S o, 4 ) OF AR B AR, 76
JEORF 2 B S T BB A2 Pl TSRS S 4 1

NOT
ES

The drawings in this catalogue are for reference only, and their
dimensions and proportions may be a little different from those of the
real products. Products included in this catalogue don't refer to all ,
so if customers are interested in other products, pleasedon'thesitateto
contactourcompanyforfurther information.

Our company has made much effort to record the correct data
in this publication. However, in order to promote our products,

we may make some changes of their size or description, which
haven't been shown yet. We reserve the rights for explanation, but
sorry for no further notice to customer the change of
products' design, description or even stop of some products'

manufacture in future.



